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á➫à➶æ➤ß➤Ý✐ð➫õ➫ö➫ð➫ïÓç✉á➫÷➮×❊ÕåÜ➬î✯Ö✳êÒÕ➶÷⑩á➫à➶Õ➶ß④Ý❣ø➣â✹Ü❶Ö❊Ú➤æ➫ùûú✘ô➽è❺Ü❶Õ➶à➶ß➤ü Minh ý Duc.Hua@inria.fr Ý Pascal.Morin@inria.fr Ý
Claude.Samson@inria.fr

† þ Ü❶âÒæsÿ❑Û✚Ü❶è✤æsà❛Õ➶ß✠é✟Õ ê✹×☎ë✁�✥ç✳ô➞ä✔í✟ì✠ç⑩Ý●ó♦æsß▼î✚à✄✂➫á➫â Õ êÒ×➮è✤æsß④Ý✆☎✖Ütê④ù✫ú❈Ù➮Úsà➶Õ➶ã➮æ✝☎✚Ý➌ï➫ð➫ð➫ð➍í✔á➫Ù❊êÒæ✫ã➮æsß▼ó♦Ù➮ÚsÕ➶á➫à➶æsß④Ý✞☎✖Þ❛ù✄✟➤ï✠✟➫Ý
ð➫õ➫ö➫ð✡�❺ç✉á➫÷➮×➮ÕåÜ➙î✯Ö✳êÒÕ➶÷⑩á➫à➶Õ➶ß④Ý❊ø➣â✹Ü❶Ö➮Úsæ➫ù❖ú✘ô➽è❺Ü❶Õ➶à⑥ü thamel@i3s.unice.fr
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②t⑧q➀❶➠❾❝✳rt♣✉➸➙❴♦♥q❿q②t⑧❾❽❛➝⑥❼⑩✈✘❝✉♣✉➸✫♣④❴❛③➛❽✘♣✉➸❺♣➤✇❛➈✘❜❞❼❾②④③➛✈❛❝❊♣➑❼⑩②t❝❚➎➌❝✳✈❛❝✉②t❼❾➝➢➝➛♥ ✔✺✄✒✦✫✢✬✞✠✭✫✮✬✆✘✔✝✭☎✆✻✢✱✦ ➭✂❫✫❴❛❝✉♣④❝❚➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✑❼⑩②t❝
➈❈❼❾♣④③➛➀✉❼⑩➝➛➝➢♥❩➀✥⑧❾❜❞❽❖⑧➌♣④❝✉❿➯⑧❾➜✔❼☎❜➯❼⑩③➛✈❱➈❖⑧♦❿❛♥❩③➛❜❞❜❞❝✳②❶♣➤❝❊❿❞③➢✈➑❼☎➧✘✇❛③⑥❿➯❜❞❝✉❿q③➛✇❛❜ ➻ ❼❾③➢②➙⑧❾②✴➟➙❼⑩r④❝✉②❶➪✥➸➌❼⑩✈❈❿❞r④❴❛❝✉♥➯❼⑩②t❝
➀✳⑧❾❜❞❜❞⑧❾✈❛➝➛♥✑➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✉❿✑➡●③⑥❼➯③➽➪✤❼❞❽❛②t⑧❾❽❛✇✘➝➛♣④③➢➡➌❝➍r④❴❛②t✇✘♣➤r❺➜➞⑧❾②❶➀✥❝☎❿❛③➢②t❝✉➀✥r④❝✉❿➼❼❾➝➢⑧➌✈❛➎❱❼❞➈❈⑧q❿q♥●➲✹➳❛➵q❝✉❿➼❽❛②t③➛➡●③➛➝➛❝✳➎❾❝❊❿
❼⑩➵q③➛♣✉➸➌❼❾✈✘❿❩③➢③➽➪▼❼❆rt⑧❾②❶⑤➌✇✘❝✤➡❾❝✉➀✥r④⑧➌②❨➟✤③➺rt❴❱⑧❾✈❛❝➌➸⑩rs➟➙⑧✜⑧❾②❨rt❴❛②t❝✳❝❺➀✥⑧➌❜❞❽❛➝➢❝✉❜❞❝✳✈●rt❼❾②④♥✝③➢✈✘❿❛❝✳❽❖❝✳✈✘❿q❝✉✈●r➙➀✥⑧➌❜❞❽❈⑧➌✈❛❝✳✈●rt♣
③➛✈➯➀❶❴✘❼⑩②t➎❾❝➙⑧⑩➜❰❜❞⑧q❿q③➺➜➞♥♦③➛✈❛➎✜rt❴❛❝✤➈❈⑧q❿q♥ ✓ ♣❨⑧❾②t③➛❝✳✈●rt❼⑩r④③➛⑧❾✈✔➭✚❫✫❴❛❝✉♣④❝✤➡❾❝✉❴❛③➛➀✳➝➢❝❊♣❨❼⑩②t❝✫✇❛✈✘❿q❝✉②t❼➌➀➫r④✇❈❼➣r④❝❊❿❩③➢✈❩r④❴✘❝❺♣➤❝✉✈✘♣➤❝
rt❴✘❼➣r❊➸⑩❼⑩❽✘❼❾②➤r✟➜➞②④⑧➌❜✷rt❴❛❝✫❿q③➢②t❝✉➀✥r④③➛⑧❾✈❑❼➌♣④♣④⑧q➀✥③⑥❼➣rt❝✉❿➍➟✤③➢r④❴☎rt❴❛❝▼rt❴❛②t✇✘♣sr✚➜➞⑧❾②❶➀✥❝➌➸❊r④❴❛❝✴⑧⑩r④❴✘❝✳②✚❽❈⑧●♣④♣④③➢➈✘➝➢❝➙❿q③➢②t❝✉➀✥r④③➛⑧❾✈✟➻Ò♣t➪
⑧❾➜✔❿q③➛♣④❽❛➝⑥❼❾➀✳❝✳❜❞❝✳✈●r✮③⑥♣❣➻Ò❼⑩②t❝❊➪✠✈❛⑧❾r✴❿q③➛②④❝❊➀➫rt➝➢♥❞❼❾➀✥r④✇✘❼⑩r④❝✉❿✔➭✚➹➘✈●rt❝✳②t❝✉♣➤r④③➛✈❛➎❾➝➛♥❾➸❾r④❴❛❝❣❼❾➈❈⑧➣➡➌❝✥➲❬❜❞❝✳✈●r④③➛⑧❾✈❛❝❊❿❞♣srt②④✇✘➀✥r④✇❛②❶❼⑩➝
♣④③➛❜❩③➛➝➛③➺rt✇✘❿q❝➍❴✘❼❾♣✫♣④❝✳➝⑥❿q⑧❾❜ ➈❖❝✳❝✉✈✪♣④♥q♣srt❝✳❜➯❼➣rt③➛➀✉❼⑩➝➛➝➢♥❞❝✳➵♦❽✘➝➢⑧➌③➺rt❝✉❿➑r④⑧❞❿q❝✳➡➌❝✳➝➛⑧❾❽✑❼✝➎❾❝✉✈❛❝✳②❶❼⑩➝❰➀✥⑧➌✈●r④②t⑧❾➝❈➜➞②t❼❾❜❩❝✉➟✴⑧➌②④➠
➜➞⑧➌②☎rt❴❛❝✉♣④❝➑➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✉➭❚➾▼❼⑩②t③➛⑧❾✇✘♣❑②④❝❊❼❾♣④⑧❾✈✘♣☎➀✉❼⑩✈☛➈❖❝✑❽✘②④⑧➌❽❈⑧●♣➤❝❊❿✖➭❚➆❛⑧➌②❑③➛✈✘♣sr❶❼⑩✈✘➀✳❝❾➸✠rt❴❛❝✳②t❝➑❝✳➵♦③⑥♣➤r❑③➢❜❞❽❖⑧❾②④rt❼❾✈➌r
❿❛③ ✘❰❝✳②t❝✳✈✘➀✳❝✉♣➍➈❖❝✥rs➟➙❝✳❝✉✈Ó❼❾✈✣❼❾③➢②t❽❛➝⑥❼⑩✈❛❝➯❼❾✈✘❿❀❼➼♣④❴❛③➛❽✔➭➑❫✫❴❛❝❩➳✘②❶♣sr☎➡➌❝✳❴❛③⑥➀✥➝➛❝❞❝✳➡➌⑧❾➝➛➡❾❝✉♣❆③➛✈☛❼⑩③➛②☎❼⑩✈✘❿✣➅✩✥❣➲❬♣④❽✘❼➌➀✥❝❾➸
➟✤❴✘❝✳②t❝✉❼❾♣❣r④❴✘❝❩⑧❾r④❴❛❝✉②✐③⑥♣➯➻➞❽❈❼⑩②④r④➝➛♥q➪❣③➛❜❩❜❞❝✉②t♣④❝✉❿➬③➢✈✣➟➙❼⑩r④❝✉②❆❼❾✈✘❿❚❝❊♣④♣④❝✳✈●r④③⑥❼⑩➝➛➝➛♥❍❜❩⑧➣➡➌❝✉♣✐⑧❾✈✣❼✪➉✩✥❺➲❬❽❛➝⑥❼⑩✈❛❝✯✼✖r④❴❛❝
❼❾❜❑➈❛③➛❝✳✈●r▼➧❈✇❛③➛❿❱③➛♣✴✈❛⑧⑩r✴r④❴❛❝❆♣④❼❾❜❞❝❣❼⑩✈✘❿❱③➺r➙❽❛②④⑧q❿q✇❈➀✥❝✉♣✮❝✳③➢r④❴❛❝✉②✴❼❾❝✳②t⑧♦❿❛♥●✈❈❼⑩❜❞③➛➀❺⑧❾②✮❴♦♥q❿q②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀✫②④❝❊❼❾➀➫rt③➢⑧➌✈
➜➞⑧➌②t➀✳❝✉♣❩➟✤③➢r④❴➥❿q③ ✘❰❝✳②t❝✳✈●r➯❽❛②t⑧❾❽❖❝✳②④r④③➛❝✉♣❞❼⑩✈❈❿➴❜➯❼⑩➎➌✈❛③➺rt✇✘❿q❝✯✼➙➎➌②t❼➮➡♦③➢rs♥Ó③➛♣❞✈❛⑧❾r❱➀✥⑧❾❜❞❽❖❝✳✈✘♣t❼➣rt❝✉❿➨➈●♥➨➈❛✇❛⑧➣♥➌❼❾✈✘➀✥♥
③➛✈òrt❴❛❝☛➀✳❼➌♣➤❝❀⑧⑩➜✝❼❾✈✷❼⑩③➛②t❽❛➝➛❼❾✈❛❝❾➸❣➈❛✇qr❍➝➢③➢➜➽r➤➲✹➜➞⑧❾②❶➀✥❝✣❝ ✘❰❝✉➀✥rt♣➼❼⑩②t❝➬❜❞⑧➌②④❝Ó♣➤♥q♣➤r④❝✉❜❞❼⑩r④③⑥➀➬❼❾✈✘❿ò❽❛②t❝✳❽❖⑧❾✈❈❿q❝✳②❶❼⑩✈●r✽✼
❜➯❼➌♣④♣➤➲❬❼➌❿❛❿q❝❊❿❀❝ ✘❖❝❊➀➫r❶♣☎❜❞⑧➌♣➤r④➝➛♥✣➀✳⑧❾✈✘➀✳❝✳②t✈☛♣➤❴❛③➛❽✘♣✉➸❨♣➤✇❛➈✘❜❞❼❾②④③➛✈❛❝❊♣✳➸✠❼⑩✈✘❿Ó➈✘➝➢③➛❜❞❽✘♣✬✼❨❝✳rt➀❾➭❚❷❺✈❛⑧❾r④❴❛❝✉②❑❽❛②t⑧❾➈✘❼❾➈❛➝➛❝
②t❝✉❼➌♣➤⑧➌✈Ó③➛♣❑❴❛③➛♣➤r④⑧➌②④③⑥➀✳❼❾➝✘✾❩❼⑩❝✉②④⑧●♣➤❽✘❼➌➀✥❝➯❼⑩✈❈❿☛✈✘❼➮➡➣❼⑩➝▼❝✉✈❛➎❾③➛✈❛❝✉❝✳②t③➢✈❛➎❀➀✥⑧❾❜❞❜✝✇❛✈❛③➢r④③➛❝✉♣☎③➛✈♦➡❾⑧➌➝➢➡➌❝✉❿✣③➢✈Órt❴❛❝✑➀✳⑧❾✈●r④②t⑧❾➝
⑧❾➜✠r④❴❛❝❊♣➤❝☎➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣❣❴✘❼➮➡❾❝✜✈✘⑧⑩r✐❼➌❿❛❿q②t❝✉♣t♣➤❝❊❿✪➀✳⑧❾❜❞❜❞⑧❾✈❍③⑥♣④♣④✇❛❝❊♣❑➻➽rt❴❛❝✝❿❛❝✉♣④③➢➎➌✈❍⑧⑩➜▼❼⑩✇qrt⑧❾❽❛③➛➝➛⑧⑩rt♣✉➸❛➜➞⑧➌②❣③➛✈✘♣➤rt❼⑩✈❈➀✥❝❊➪
③➛✈➴❼❚➀✳⑧●⑧➌②t❿❛③➢✈✘❼⑩r④❝❊❿❀❜➯❼❾✈❛✈❛❝✳②❊➸✚✈❛⑧❾②❑❼⑩r☎r④❴✘❝✑♣t❼⑩❜❞❝❞r④③➛❜❞❝❾➸✠✈❛⑧❾②✝➟✤③➺rt❴Ór④❴❛❝✪♣④❼❾❜❞❝❱➀✥⑧❾✈❈♣srt②t❼❾③➢✈●rt♣➑➻➞❽❛❴♦♥q♣➤③⑥➀✳❼❾➝Ò➸
❝❊➀✥⑧➌✈❛⑧❾❜❞③⑥➀✳❼⑩➝✹➸➣❝✥r❶➀⑩➭➶➪➫➸➌✈❛⑧❾②❨❝✉➡❾❝✳✈❩➟✤③➢r④❴❩r④❴❛❝❺♣t❼⑩❜❞❝✤❼⑩❽✘❽❛②④⑧●❼❾➀❶❴❛❝❊♣✳➭✯❫✫❴❛❝✤❽❛②t❝✉♣④❝✳✈●r✚❽❈❼⑩❽❖❝✳②✮❼❾③➢❜➯♣❨❼➣r▼❿q❝✉➡❾❝✉➝➢⑧➌❽❛③➢✈✘➎
❼✝➎❾➝➛⑧❾➈❈❼⑩➝❰❼⑩❽❛❽❛②t⑧➌❼➌➀❶❴❞➜➞⑧❾②➙r④❴✘❝➍➀✳⑧❾✈●r④②t⑧❾➝❖⑧⑩➜✟r④❴❛③⑥♣➙➜ ❼⑩❜❞③➛➝➢♥➯⑧❾➜✟✇❛✈✘❿q❝✉②t❼➌➀➫rt✇✘❼➣rt❝✉❿❱➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✉➸♦➠♦✈❛⑧➣➟✤③➢✈✘➎☎r④❴❈❼➣r✫r④❴❛❝
✈♦✇❛❜✝➈❈❝✉②❣⑧❾➜❨➀✳③➢➡♦③➛➝➢③⑥❼⑩✈❚❼❾✈✘❿➼❜❞③➢➝➛③➢rt❼⑩②t♥➼❼⑩❽❛❽❛➝➛③⑥➀✳❼➣rt③➢⑧➌✈✘♣✤③➛✈♦➡❾⑧❾➝➛➡♦③➢✈✘➎❩➡➣❼❾②④③➛⑧❾✇✘♣❣❼⑩✇qrt⑧❾✈❛⑧➌❜❩⑧➌✇✘♣✤②t⑧❾➈❖⑧⑩rt③➛➀✜➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣
③⑥♣✤➀✥⑧➌✈●r④③➛✈●✇✘⑧❾✇✘♣④➝➢♥➑➎❾②t⑧➣➟✤③➢✈❛➎❈➭

❷❣✈❛⑧⑩rt❴❛❝✳②❞③➛❜❩❽❖⑧❾②④rt❼❾✈●r✝❜❞⑧⑩rt③➢➡➣❼➣rt③➢⑧➌✈➨⑧❾➜❺r④❴❛③⑥♣❩➟✴⑧➌②④➠Ó③⑥♣❑②t❝✳➝⑥❼➣rt❝✉❿➴r④⑧➬②t⑧❾➈✘✇✘♣srt✈❛❝✉♣t♣✝③➛♣t♣➤✇✘❝✉♣✉➸▼➟✤❴❛③⑥➀❶❴➨➀✳❼❾✈
➈❖❝Ó➀✥②t③➺rt③➛➀✉❼⑩➝✐➜➞⑧❾②✑r④❴❛❝❊♣➤❝Ó♣➤♥q♣➤r④❝✉❜❞♣✪❿q✇❛❝❀r④⑧➥❼ ➀✥⑧❾❜✝➈❛③➛✈✘❼➣rt③➢⑧➌✈✍⑧⑩➜☎➜ ❼➌➀➫r④⑧➌②t♣✉➭ ➆✚③➢②❶♣sr❊➸❺rt❴❛❝✣➀✳⑧❾❜❞❽❛➝➛❝✥➵q③➢rs♥ ⑧❾➜
❼❾❝✳②t⑧ ✛➣❴●♥q❿q②t⑧⑩➲➘❿q♥♦✈✘❼❾❜❩③⑥➀➍❝ ✘❰❝✉➀✥rt♣➍③➛❜❞❽❈❝❊❿q❝✉♣➍⑧➌➈qrt❼❾③➢✈❛③➛✈❛➎❍❼✑❽❛②④❝❊➀✥③⑥♣➤❝❞❿q♥♦✈✘❼❾❜❩③⑥➀✳❼❾➝✠❜❩⑧q❿q❝✉➝Ò➸✯➡➣❼⑩➝➛③➛❿❀③➢✈Ó❼✑➝➛❼❾②④➎➌❝
⑧➌❽❈❝✉②t❼⑩r④③➛✈❛➎✐❿❛⑧❾❜➯❼⑩③➛✈✔➭✯❫✫❴✘❝✳✈✔➸➮rt❴❛❝✉♣④❝✴➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✚❼⑩②t❝✮⑧❾➜➽r④❝✉✈✝♣④✇❛➈q⑨s❝✉➀✥r④❝❊❿☎rt⑧❣❽❖❝✳②④r④✇❛②t➈✘❼➣rt③➢⑧➌✈✘♣➙➻➞➟✤③➛✈✘❿❑➎➌✇✘♣➤rt♣✉➸⑩♣➤❝❊❼
➀✳✇❛②t②④❝✉✈➌r❶♣✳➸❾❝✥rt➀❾➭ ➪✝➟✤❴❛③⑥➀❶❴➯❜➯❼➮♥❑➈❖❝❣②❶❼⑩❽❛③⑥❿q➝➛♥✝➀❶❴✘❼❾✈❛➎❾③➛✈❛➎☎❼❾✈✘❿❞➟✤❴❛⑧➌♣④❝✤❜➯❼⑩➎➌✈❛③➺rt✇✘❿q❝❣➀✉❼⑩✈➯➈❖❝❣➀✥⑧➌❜❞❜❩❝✉✈✘♣④✇❛②t❼❾➈❛➝➛❝
➟✤③➢r④❴✑r④❴✘❝➍❼➮➡➣❼❾③➢➝⑥❼⑩➈❛➝➛❝✐❼➌➀➫rt✇✘❼➣rt③➢⑧➌✈➑❽❖⑧➣➟✴❝✉②✉➭❨➆✚③➢✈❈❼⑩➝➛➝➢♥➌➸q❜❩❝❊❼❾♣④✇❛②t❝✳❜❞❝✳✈●r✜✛➣❝✉♣➤r④③➛❜➯❼➣r④③➛⑧❾✈➯❝✉②④②t⑧❾②❶♣✴⑧⑩➜✟rt❴❛❝➍➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣
❽❖⑧➌♣④❝✤➀✳❼❾✈❑➈❖❝❺♣➤③➛➎❾✈❛③➢➳❈➀✉❼⑩✈●r✉➭❨❹❣➜❖➀✥⑧➌✇❛②❶♣➤❝➌➸➮r④❴❛❝❊♣➤❝✫③⑥♣④♣④✇❛❝✉♣✚❴✘❼➮➡➌❝✴➝➛⑧❾✈✘➎❆➈❖❝✳❝✉✈✝③➛✈♦➡❾❝❊♣srt③➢➎●❼➣r④❝❊❿✜➜➞⑧➌②❨❜❞❼❾✈♦♥➍rs♥●❽❖❝✉♣✠⑧❾➜
➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✟③➢✈☎r④❴❛❝✫➀✥⑧➌✈➌rt❝✥➵♦r✯⑧❾➜❛➝➢③➛✈❛❝❊❼⑩②✯➀✳⑧❾✈●r④②t⑧❾➝❖➻ ♣④❝✳❝✴❝❾➭ ➎✘➭❀✿✥❁⑩➸☎❂♦➸➮➋❛➸➣➉❾➄❄❃q❼⑩✈❈❿➍r④❴❛❝✴②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝✉♣✔r④❴❛❝✉②④❝✉③➢✈❈➪✥➭✚❤❚⑧❾②t❝
➎➌❝✳✈❛❝✉②t❼❾➝➢➝➛♥❾➸❊❼⑩➝➛➝⑩➠♦③➢✈❈❿❛♣✔⑧❾➜●➝➛③➢✈✘❝✉❼⑩②✯➀✥⑧❾✈●rt②④⑧➌➝⑩❜❞❝✥r④❴✘⑧♦❿✘♣▼➻➞❽❖⑧❾➝➛❝▼❽❛➝⑥❼❾➀✳❝✳❜❞❝✳✈●r✉➸

H2
❼❾✈✘❿

H∞
⑧➌❽qr④③➛❜❞③➢➩❊❼➣r④③➛⑧❾✈✟➸❊➚❆❅❆❸

⑧➌❽qr④③➛❜➯❼⑩➝♦➀✥⑧➌✈➌rt②④⑧➌➝Ò➸➮❝✳rt➀⑩➭➶➪✜❴❈❼➮➡❾❝▼➈❖❝✳❝✉✈✝❼⑩❽✘❽❛➝➢③➛❝✉❿☎r④⑧❣r④❴❛❝❊♣➤❝✫♣➤♥q♣➤r④❝✉❜❞♣✉➭✯❫✫❴✘❝✳♥✜➀✥⑧➌✈✘➀✥❝✉②④✈✝❧q③➢✈❛➎➌➝➢❝✳➲✹➹➘✈✘❽❛✇qr➤➲s❧♦③➛✈❛➎❾➝➛❝✥➲
❹✐✇❛r④❽❛✇qr✤➻Ò❧q➹➤❧✘❹➍➪ ✑ ⑧➌✈●r④②t⑧❾➝♦❷❺✇❛➎➌❜❩❝✉✈●r④❝✉❿❩❧♦♥q♣srt❝✳❜➯♣✫➻ ✑ ❷❆❧❛➪✚❼❾♣t♣➤⑧q➀✥③⑥❼➣rt❝✉❿➍➟✤③➢r④❴❑r④❴❛❝✫②t❝✳➎❾✇✘➝➛❼⑩r④③➛⑧❾✈✜⑧⑩➜❖❼✐♣④③➢✈✘➎❾➝➛❝
➡➣❼❾②④③⑥❼⑩➈❛➝➛❝➯➻➞❽❛③➢rt➀❶❴✟➸✘♥➌❼➮➟✜➸q②t⑧❾➝➛➝✔❼⑩✈✘➎❾➝➛❝❾➸✘❼❾➝➺rt③➺rt✇✘❿q❝❾➸✘➝➢⑧➌✈❛➎❾③➢r④✇✘❿❛③➢✈✘❼❾➝✔➡❾❝✉➝➢⑧q➀✳③➺rs♥➌➸❛❝✥r❶➀⑩➭➶➪➯❼❾♣✫➟➙❝✳➝➛➝✟❼❾♣✤❤❚✇❛➝➺rt③➺➲❬➹➘✈❛❽❛✇❛r➤➲
❤❚✇❛➝➺rt③➺➲➤❹✐✇qrt❽❛✇qr❺➻ ❤❍➹s❤✣❹➍➪✟➡➌❝✳②❶♣➤③➛⑧❾✈❈♣✟⑧❾➜✘r④❴✘❝✉♣④❝➙♣④♥q♣srt❝✳❜➯♣✳➭✩❇❺⑧➣➟➙❝✳➡➌❝✳②❊➸✉rt❴❛❝✳♥❑➎❾✇✘❼❾②t❼❾✈➌rt❝✳❝➙❼❣➝➛③➢❜❞③➢r④❝❊❿✝❿q⑧➌❜➯❼⑩③➛✈
⑧❾➜❛♣sr❶❼⑩➈❛③➛➝➢③➢rs♥✐❼❾✈✘❿✜❼⑩②t❝❨⑧⑩➜➽rt❝✳✈✜➈✘❼➌♣➤❝❊❿❆⑧❾✈✜②t❝✉♣➤r④②t③➛➀✥r④③➛➡❾❝▼❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✘♣✮➻➞❝❾➭ ➎✘➭✟❴❛⑧➣➡❾❝✉②④③➛✈❛➎✫②④❝✉➎❾③➛❜❞❝❨➟✤③➺rt❴❛⑧❾✇qr✚➟✤③➢✈❈❿
➎➌✇✘♣➤rt♣➍➜➞⑧➌②☎➾✐❫❣❹❆➚➥➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣❶➪➫➭✪➆❛⑧❾②☎r④❴❛❝❊♣➤❝❱②t❝✉❼➌♣➤⑧➌✈✘♣✉➸✔✈❛⑧❾✈✘➝➢③➛✈❛❝✉❼❾②☎➀✥⑧➌✈➌rt②④⑧➌➝✮❿q❝❊♣➤③➛➎❾✈Ó❜❞❝✥rt❴❛⑧q❿❛♣❱➻➽➜➞❝✉❝✉❿q➈❈❼❾➀❶➠
➝➛③➛✈❛❝✉❼❾②④③➛➩✉❼⑩r④③➛⑧❾✈✔➸➣➈✘❼➌➀❶➠q♣srt❝✳❽❛❽❛③➛✈❛➎❈➸❾♣➤➝➛③⑥❿q③➢✈✘➎✜❜❩⑧q❿q❝➌➸➌❝✳rt➀❾➭ ➪☎❴✘❼➮➡❾❝✫➈❖❝✳❝✳✈➯③➛✈✘➀✳②④❝❊❼❾♣④③➢✈❛➎➌➝➢♥✜③➛✈♦➡❾❝❊♣srt③➢➎●❼➣r④❝❊❿❑③➛✈➯②t❝✉➀✥❝✉✈●r
♣➤r④✇❈❿q③➢❝❊♣❈✿ ➅q➸❉❁➮➉♦➸✒❁✳➃❛➸✒❁☛❂●➸❛➉✺❁⑩➸✘➉⑩➃❛➸❛➉☎❊❋❃❬➭❨❸✤⑧❾➈❛✇❈♣srt✈❛❝✉♣t♣➙③➛♣t♣➤✇✘❝✉♣➙❼⑩②t❝❣❽✘❼❾②➤rt③➛➀✳✇❛➝➛❼❾②④➝➛♥➯➀✥②t③➺rt③➛➀✉❼⑩➝❈➜➞⑧❾②✫➝➛③➢➎➌❴➌r✤❼⑩✈❈❿ ✛➮⑧➌②
♣④❜➯❼⑩➝➛➝❈➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✉➸●➝➢③➛➠❾❝✐➈❛➝➢③➛❜❞❽✘♣✫❼⑩✈✘❿❱②④❝❊❿q✇✘➀✥❝❊❿♦➲➘♣④➀✉❼⑩➝➛❝❺➾✐❫❣❹❆➚➬➡❾❝✳❴✘③➛➀✳➝➢❝❊♣✳➸●➡❾❝✉②④♥➯♣④❝✳✈✘♣④③➺rt③➢➡➌❝✤r④⑧❩➟✤③➛✈✘❿♦➲❬③➢✈✘❿❛✇✘➀✥❝❊❿
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❽❖❝✳②④r④✇✘②④➈✘❼⑩r④③➛⑧❾✈✘♣✉➭✠❫✫❴❛❝❣➝⑥❼❾♣➤r➙❿q❝❊➀✳❼➌❿q❝✉♣✮❴✘❼➮➡❾❝❺➟✤③➢r④✈✘❝✉♣t♣➤❝❊❿❱❼⑩✈❱③➛✈✘➀✳②④❝❊❼❾♣④③➢✈❛➎❑③➢✈●r④❝✉②④❝❊♣sr➙③➢✈❱r④❴❛❝➍➀✥⑧➌✈✘♣srt②④✇❈➀➫r④③➛⑧❾✈➯⑧❾➜
rt❴❛❝✉♣④❝✮➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✚❼⑩✈❈❿➍r④❴❛❝➙❿q❝✳➡➌❝✳➝➛⑧❾❽❛❜❞❝✉✈➌r✚⑧⑩➜✘♣④❽❈❝❊➀✥③➢➳❈➀✮➀✳⑧❾✈●r④②t⑧❾➝●❼⑩❽❛❽✘②④⑧●❼❾➀❶❴❛❝❊♣❰➜➞⑧❾②✠❼⑩✇qrt⑧❾✈❛⑧➌❜❞⑧❾✇✘♣✟✈✘❼➮➡♦③➢➎●❼➣r④③➛⑧❾✈✟➭
➚✟❝✥r❣✇❈♣❣❜❞❝✳✈●rt③➢⑧➌✈➼r④❴❛❝✝❝✥➵❛❼⑩❜❞❽❛➝➛❝✉♣❣⑧⑩➜✠r④❴❛❝ ❇❺⑧➣➡➌❝✳②✖✤▼♥❾❝ ✿➶➄♦➸❰➂q➸❰➉❾➅q➸✖➉➣➃☛❃❬➸✙✘✐➃⑩➲✹➧✘♥❾❝✉② ✿✥❁✫❁⑩➸❖➅❾➊❋❃❬➸❰③⑥❧●r❶❼⑩② ✿✷❁❊➂❋❃✹➸❖⑧❾②
❷✯➾✠❷❨❫✯❷✐❸ ✿ ➉ ❂✽❃✐➾❆❫❣❹❆➚✏➡❾❝✉❴❛③➛➀✳➝➢❝❊♣✳➸✤❼❾✈✘❿➦r④❴❛❝✣❷✤❢❣❸❺❹❆❸❺❷ ❼⑩③➛②❶♣➤❴❛③➛❽ ✿ ➉❛➸➙➉❾➊❋❃✹➭✙❫✫❴❛③⑥♣❱③➛✈●r④❝✳②t❝✉♣➤r➑③⑥♣➯❜❑✇❈➀❶❴
②t❝✳➝⑥❼➣rt❝✉❿➥rt⑧➨rt❴❛❝Ó➡❾❝✉②t♣t❼➣rt③➢➝➛③➺rs♥ ⑧⑩➜❑r④❴❛❝❊♣➤❝Ó♣➤♥q♣➤r④❝✉❜❞♣✑➜➞⑧➌②➼♣④✇❛②t➡❾❝✉③➢➝➛➝➛❼❾✈✘➀✥❝❀❼⑩✈✘❿ ③➢✈✘♣④❽❖❝✉➀➫rt③➢⑧➌✈ ❜❞③⑥♣④♣④③➢⑧➌✈✘♣✉➸✐❼⑩✈❈❿
rt⑧☛r④❴✘❝✣❿q❝✉➡❾❝✉➝➢⑧➌❽❛❜❞❝✳✈●r➑⑧⑩➜✜➝➛⑧➣➟✫➲❬➀✳⑧➌♣➤r✑❼⑩✈❈❿➥➝➢⑧➣➟✫➲❬➟✴❝✉③➢➎➌❴●r❱❝✳❜❑➈❈❼⑩②t➠❾❝✉❿➥♣④❝✳✈✘♣④⑧❾②❶♣❚➻ ➹➘✈❛❝✳②④r④③⑥❼⑩➝➍❤❍❝✉❼➌♣➤✇✘②④❝✉❜❩❝✉✈●r
❢❣✈❛③➢rt♣✉➸✔➀✳❼⑩❜❞❝✉②t❼➌♣✳➸❈❝✥rt➀❾➭ ➪✥➭ ❇❺⑧➣➟➙❝✳➡❾❝✉②✉➸❖✈❛⑧➌✈❛➝➢③➛✈❛❝❊❼⑩②✐➀✳⑧❾✈●r④②t⑧❾➝✚♣srt✇✘❿q③➛❝✉♣✐➜➞⑧q➀✥✇✘♣④③➛✈❛➎➑⑧➌✈❚②④⑧➌➈❛✇✘♣➤r④✈❛❝❊♣④♣✐③⑥♣④♣④✇❛❝✉♣❺➜➞⑧❾②
rt❴❛❝✉♣④❝❞♣➤♥q♣➤r④❝✳❜➯♣✉➸✔➝➛③➢➠➌❝ ✿➶➉q➸✔➉⑩➊❛➸✟➉➣➃☛❃❨➜➞⑧➌②❆③➛✈✘♣➤rt❼❾✈✘➀✥❝➌➸✟❼⑩②t❝❑✈❛⑧❾r✜✈●✇✘❜❩❝✉②④⑧➌✇✘♣✉➭❑❫✫❴❛❝❞❽❛②t❝✉♣④❝✳✈●r❆❽❈❼⑩❽❖❝✳②➍③➛♣✜❼❾➝➛♣④⑧✑❼
➀✳⑧❾✈●r④②t③➛➈❛✇qr④③➛⑧❾✈✑r④⑧❩rt❴❛❝☎❿q❝✉♣④③➛➎❾✈➼❼⑩✈✘❿➼❼⑩✈❈❼⑩➝➛♥♦♣④③⑥♣✴⑧❾➜✯②t⑧❾➈❛✇❈♣sr✤✈❛⑧➌✈❛➝➢③➛✈❛❝❊❼⑩②❺➀✥⑧➌✈●r④②t⑧❾➝❰➝➛❼➮➟❺♣✉➭

❫✫❴❛❝✑➀✥⑧❾✈●rt②④⑧➌➝✮❿q❝✉♣④③➛➎❾✈✣➜➞②t❼❾❜❞❝✳➟➙⑧❾②t➠❚❴❛❝✳②t❝➯❽❛②t⑧❾❽❖⑧➌♣④❝✉❿Ó❼⑩❽✘❽❛➝➢③➛❝✉♣✜r④⑧➬❼➼➝⑥❼⑩②t➎❾❝❱➀✳➝➛❼➌♣④♣✜⑧❾➜✤✇❛✈✘❿q❝✉②t❼➌➀➫r④✇❈❼➣r④❝❊❿
➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✜❼❾✈✘❿Ó♣➤❝✉➡❾❝✉②t❼❾➝▼➀✥⑧❾✈●rt②④⑧➌➝❨❜❩⑧q❿q❝❊♣➍rs♥♦❽❛③⑥➀✳❼⑩➝➛➝➛♥❀❼❾♣t♣④⑧♦➀✳③➛❼⑩r④❝❊❿➬➟✤③➢r④❴☛❿q③ ✘❖❝✉②④❝✉✈●r❑➝➢❝✉➡❾❝✉➝➛♣➍⑧❾➜✫❜❞⑧❾r④③➛⑧❾✈☛❼⑩✇q➲
rt⑧❾✈❛⑧➌❜❑♥➌➭ ⑦❨❼❾②➤rt③➛➀✳✇❛➝➛❼❾②➯❼➣r➤rt❝✳✈●r④③➛⑧❾✈ ③⑥♣➯❽✘❼⑩③⑥❿➨r④⑧Ór④❴✘❝➼r④❴❛②t❝✳❝✪➜➞⑧❾➝➛➝➛⑧➣➟✤③➢✈❛➎✣❽❛②t⑧❾➈❛➝➛❝✳❜➯♣✽✾➼③⑥➪❞♣➤rt❼❾➈❛③➢➝➛③➛➩✉❼➣rt③➢⑧➌✈➦⑧❾➜
➻Ò❿q❝✉♣④③➛②④❝❊❿✘➪❆②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝❩r④❴❛②t✇✘♣➤r✝❿q③➛②④❝❊➀➫r④③➛⑧❾✈❈♣✳➸✯③➢③➽➪✜♣➤rt❼⑩➈✘③➢➝➛③➢➩❊❼➣rt③➢⑧➌✈❀⑧❾➜➙②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝➯➝➛③➢✈✘❝✉❼⑩②✜➡➌❝✳➝➛⑧q➀✥③➢r④③➛❝✉♣✉➸✯❼⑩✈❈❿❀③➛③➛③⑥➪
♣➤rt❼❾➈❛③➛➝➢③➛➩✉❼⑩r④③➛⑧❾✈Ó⑧⑩➜✤②t❝✥➜➞❝✳②t❝✳✈❈➀✥❝❱❽❖⑧➌♣④③➺rt③➢⑧➌✈q➲✹r④②❶❼➣⑨s❝✉➀✥r④⑧➌②④③➛❝✉♣✉➭✑❫✫❴❛❝❱➳✘②t♣➤r✝❼❾✈✘❿☛♣➤❝❊➀✥⑧➌✈✘❿✣❽❛②④⑧➌➈❛➝➛❝✳❜➯♣☎②t❝✳➝⑥❼➣rt❝❞rs♥●❽✘③➺➲
➀✉❼⑩➝➛➝➢♥➼rt⑧➼❜❞❼❾✈♦✇✘❼⑩➝❖⑨s⑧➣♥q♣srt③➛➀❶➠●➲➘❼⑩✇❛➎➌❜❞❝✳✈●r④❝❊❿♦➲❬➀✳⑧❾✈●r④②t⑧❾➝✔♣④③➢r④✇✘❼⑩r④③➛⑧❾✈✘♣✉➸✔➟✤❴❛❝✉②④❝❊❼❾♣❣r④❴❛❝❩r④❴✘③➢②❶❿➬⑧➌✈❛❝❞③➛♣➍❼➌♣④♣④⑧q➀✥③⑥❼➣r④❝❊❿
➟✤③➢r④❴❚➜➞✇❛➝➢➝➛♥❍❼⑩✇qrt⑧❾✈❛⑧➌❜❞⑧❾✇✘♣✤❜❞⑧❾r④③➛⑧❾✈❚❼⑩❽✘❽❛➝➢③⑥➀✳❼⑩r④③➛⑧❾✈✘♣✉➭✤➹➘✈❍rt❴❛③➛♣❣❽✘❼⑩❽❖❝✳②❊➸❖➟✴❝❑➀✳⑧❾✈✘♣④③⑥❿q❝✳②❣r④❴❛❝❩➀✳❼❾♣④❝✜⑧⑩➜▼➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣
❜❞⑧➣➡♦③➛✈❛➎✜③➢✈❱➅ ✥❺➲➘♣④❽✘❼❾➀✳❝✤➟✤③➺rt❴➯➜➞⑧❾✇❛②✴③➢✈❈❿q❝✳❽❖❝✳✈✘❿❛❝✳✈●r➙❼➌➀➫r④✇❈❼➣r④⑧➌②t♣✤➻ ⑧❾✈❛❝❣➜➞⑧❾②❶➀✥❝❺❼❾✈✘❿❩r④❴❛②t❝✳❝❺r④⑧❾②❶⑤●✇❛❝✉♣❶➪➫➸➌➠♦✈❛⑧➣➟✤③➢✈✘➎
rt❴✘❼➣r✜♣④③➺➵➬❼➌➀➫r④✇❈❼➣r④⑧➌②t♣✐➟➙⑧❾✇❛➝⑥❿❚➈❖❝✝✈✘❝✉➀✥❝❊♣④♣t❼⑩②t♥✪➜➞⑧❾②✐➜➞✇❛➝➛➝▼❼❾➀➫rt✇✘❼➣rt③➢⑧➌✈✔➭☎❷➙r➍r④❴❛❝✝➳✘②❶♣sr➍➎❾➝⑥❼⑩✈❈➀✥❝❾➸❖rt❴❛❝❞❽❛②④⑧➌❽❈⑧●♣➤❝❊❿
❼❾❽❛❽❛②t⑧➌❼➌➀❶❴➑③⑥♣✤②④❝✉❜❞③➢✈❛③⑥♣t➀✥❝✳✈●r✤⑧⑩➜✠❜❞❝✥rt❴❛⑧q❿❛♣❣❿q❝❊♣④➀✳②④③➛➈❖❝✉❿✑③➢✈ ✿ ❊q➸❈➉⑩➃❛➸❖➉❾➋❋❃✔➜➞⑧❾②✫rt❴❛❝❑♣➤rt❼❾➈❛③➢➝➛③➛➩✉❼➣rt③➢⑧➌✈✑⑧❾➜✚❴✘⑧➣➡❾❝✳②t③➛✈❛➎
➾❆❫❣❹❆➚Ó➡❾❝✉❴❛③➛➀✳➝➢❝❊♣✳➸✘➈✘❼❾♣④❝✉❿✪⑧❾✈✪rt❴❛❝☎③⑥❿q❝✉❼❞⑧❾➜✠✇❈♣➤③➛✈❛➎❞r④❴✘❝✜r④❴❛②t✇✘♣➤r❺➜➞⑧❾②❶➀✥❝✜❼❾✈✘❿✪r④❴❛❝❑➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✤⑧➌②④③➛❝✳✈●r❶❼➣r④③➛⑧❾✈➼❼❾♣
➀✳⑧❾✈●r④②t⑧❾➝✯➡➣❼⑩②t③➛❼❾➈❛➝➢❝❊♣✤rt⑧✪♣➤rt❼❾➈❛③➢➝➛③➛➩✳❝☎rt❴❛❝❩➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣❣➡❾❝✳➝➛⑧q➀✥③➢rs♥❍❼⑩✈✘❿ ✛➣⑧❾②✐❽❈⑧●♣➤③➢r④③➛⑧❾✈ ✼✔❼❾✈✘❿➼rt❴❛❝✳✈❀⑧⑩➜✮❼⑩❽✘❽❛➝➢♥♦③➛✈❛➎✑❼
➀✳➝➛❼➌♣④♣④③⑥➀✳❼⑩➝❰➈✘❼➌➀❶➠q♣srt❝✳❽❛❽❛③➛✈❛➎❩❽❛②t⑧♦➀✳❝✉❿q✇✘②④❝➍⑧❾②✤❼❞❴❛③➛➎❾❴❛➲✹➎●❼⑩③➛✈✑➀✥⑧➌✈●r④②t⑧❾➝➛➝➢❝✉②✮rt⑧❱❿q❝✥rt❝✳②t❜❩③➛✈❛❝❆r④⑧➌②t⑤●✇❛❝✳➲✹③➛✈❛❽❛✇❛rt♣✤➀✳❼❾❽✘❼➣➲
➈✘➝➢❝✤⑧❾➜❖♣➤rt❼⑩➈✘③➢➝➛③➢➩✉③➢✈✘➎✐rt❴❛❝❺❿q❝❊♣➤③➛②④❝❊❿❑⑧➌②④③➛❝✳✈●r❶❼➣r④③➛⑧❾✈✟➭✟➹➘✈❩r④❴❛③⑥♣❨❽✘❼❾❽❈❝✉②✉➸❾③➢✈✘♣➤r④❝❊❼❾❿✝⑧⑩➜❖r④❴❛❝✤⑧➌②④③➛❝✳✈●r❶❼➣r④③➛⑧❾✈✟➸➣➟✴❝✫✇✘♣④❝✫r④❴❛❝
➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣➍❼⑩✈❛➎➌✇❛➝⑥❼⑩②➍➡❾❝✉➝➢⑧q➀✥③➢rs♥❚❼❾♣❆③➛✈●r④❝✳②t❜❞❝✉❿q③⑥❼⑩②t♥❚➀✥⑧➌✈●r④②t⑧❾➝✠③➢✈✘❽❛✇qr✉➭➯❫✫❴❛③⑥♣☎♣④❝✳❝✉❜❩③➛✈❛➎➌➝➢♥✛✚④♣➤❜➯❼❾➝➢➝✢✜❩❿q③ ✘❖❝✉②④❝✉✈✘➀✥❝
③⑥♣✉➸❾③➛✈➯➜ ❼❾➀✥r✉➸♦➀✥⑧❾✈❈♣➤❝❊⑤➌✇✘❝✳✈●r④③⑥❼⑩➝❛➈❖❝✉➀✉❼⑩✇✘♣④❝✤③➢r➙❼⑩➝➛➝➛❝✳➡♦③➛❼⑩r④❝❊♣▼❼✜➀✥❝✉②➤r❶❼⑩③➛✈➯✈●✇✘❜❑➈❖❝✳②▼⑧❾➜✖❿❛③➺➷❱➀✥✇✘➝➺rt③➢❝❊♣✴❼➌♣④♣④⑧q➀✥③⑥❼➣r④❝❊❿❑➟✤③➢r④❴
➀✳⑧❾✈●r④②t⑧❾➝✮③➢✈❛❽✘✇qrt♣❩➟✤❴❛③⑥➀❶❴☛➈❈❝✉➝➢⑧➌✈❛➎❚rt⑧❀❼❚➀✳⑧❾❜❞❽✘❼➌➀➫r❑❜➯❼⑩✈✘③➺➜➞⑧➌➝➛❿➴❼❾✈✘❿☛❝✉✈➌rt❝✳②❑r④❴❛❝➼♣➤♥q♣➤r④❝✉❜✠✓ ♣☎❝❊⑤●✇✘❼➣rt③➢⑧➌✈☛③➢✈➨❼
✈✘⑧❾✈q➲➘❼➣➷➯✈❛❝❑➻ ✈❛⑧❾✈✘➝➢③➛✈❛❝✉❼❾②❶➪❨❜❞❼❾✈❛✈❛❝✉②✉➭✠➹❬r➙❼❾➝➛♣④⑧❑❼❾➝➢➝➛⑧➣➟❺♣▼⑧➌✈❛❝✤r④⑧❩➀✳❼➌♣sr➙➝➢③➛✈❛❝✉❼❾②✮➡➌❝✳➝➛⑧♦➀✳③➺rs♥❞❼⑩✈❈❿➯❽❈⑧●♣➤③➢r④③➛⑧❾✈❱➀✳⑧❾✈●r④②t⑧❾➝
❽✘②④⑧➌➈❛➝➢❝✉❜➯♣▼❼❾♣❨✈❈❼➣r④✇✘②t❼❾➝❛❝✥➵♦r④❝✉✈✘♣④③➢⑧➌✈✘♣▼⑧❾➜❖rt❴❛❝❺➈✘❼➌♣➤③⑥➀➙r④❴✘②④✇✘♣➤r➙❿❛③➢②t❝✉➀✥r④③➛⑧❾✈➯➀✥⑧➌✈➌rt②④⑧➌➝❛⑧❾✈✘❝❾➭✠❷❺✈❛⑧❾r④❴❛❝✉②✮⑧❾②t③➛➎❾③➛✈✘❼⑩➝➛③➺rs♥
⑧❾➜▼r④❴✘③➛♣❆❽✘❼❾❽❈❝✉②❆➝➛③➛❝✉♣❆③➢✈❀r④❴✘❝❑rt②④❝❊❼➣r④❜❞❝✉✈➌r➍⑧⑩➜✴✇❛✈❛❜❞⑧q❿q❝✳➝➛❝✉❿✣❿q♥♦✈✘❼⑩❜❞③⑥➀✳♣✉➭✜➹❬r✜③➛♣❆➟➙❝✳➝➛➝➺➲❬➠♦✈❛⑧➣➟✤✈➼➜➞②④⑧➌❜ ✑ ⑧❾✈●r④②t⑧❾➝
❫✫❴✘❝✳⑧❾②t♥➯rt❴✘❼➣r❺③➛✈●r④❝✳➎➌②t❼❾➝✔➀✥⑧➌②④②t❝✉➀✥r④③➛⑧❾✈➼➀✥⑧❾✈❈♣srt③➺rt✇qr④❝❊♣❺❼⑩✈➼❝ ✘❰❝✉➀✥r④③➛➡❾❝✜❜❞❝✉❼❾✈✘♣✫rt⑧❱➀✥⑧❾❜❞❽❖❝✳✈✘♣t❼➣rt❝❆➜➞⑧❾②❺❜❞⑧q❿q❝✳➝➛③➛✈❛➎✘➸
❜❞❝❊❼❾♣④✇❛②④❝✉❜❞❝✳✈●r✉➸✘❼❾✈✘❿ ✛➣⑧❾②❺❝❊♣srt③➢❜➯❼➣rt③➢⑧➌✈❚♣sr❶❼➣rt③➛➀✜❝✉②④②t⑧❾②❶♣✜➻➞➈✘③➛❼➌♣➤❝❊♣t➪✥➭✚❇❣⑧➣➟✴❝✉➡❾❝✉②✉➸q③➢r✐③⑥♣❣❼❾➝➛♣④⑧➯➟✴❝✉➝➢➝➢➲❬➠●✈✘⑧➣➟✤✈✑rt❴✘❼➣r
rt❴❛③⑥♣✫rs♥♦❽❈❝➍⑧⑩➜❨➀✥⑧➌②④②t❝✉➀✥r④③➛⑧❾✈✑❜❞❼➮♥➑➎❾❝✳✈✘❝✳②❶❼➣r④❝➍♣④⑧⑩➲➘➀✳❼⑩➝➛➝➛❝✉❿❱➟✤③➛✈✘❿q✇✘❽✪❽✘②④⑧➌➈❛➝➢❝✉❜➯♣✳➭❨❤❚❼❾✈●♥✑➀✥⑧❾✈●rt②④⑧➌➝❰❿❛❝✉♣④③➢➎➌✈➑rt❝✉➀❶❴q➲
✈✘③➛⑤●✇❛❝❊♣✚❼➌❿❛❿q②t❝✉♣t♣➤③➛✈❛➎✤rt❴❛❝✉♣④❝➙❽❛②④⑧➌➈❛➝➛❝✳❜➯♣✚❴✘❼➮➡❾❝✴➈❈❝✉❝✳✈❑❽✘②④⑧➌❽❈⑧●♣➤❝❊❿☎❿q✇❛②t③➢✈✘➎❣rt❴❛❝✴➝⑥❼❾♣➤r❨❿q❝✉➀✉❼❾❿q❝❊♣✳➸➣➝➛③➢➠➌❝▼rt❴❛❝✫✈❛❝✉♣➤r④❝❊❿
♣t❼➣rt✇❛②❶❼➣r④③➛⑧❾✈❈♣❺❼⑩❽❛❽✘②④⑧●❼❾➀❶❴➴➻ ♣④❝✳❝✝❝❾➭ ➎✘➭ ✿✷❁❊➊q➸❖➅✝❁✕❃➞➪➫➭➍❫✫❴❛❝✉♣④❝❑❜❞❝✥rt❴❛⑧q❿❛♣✐♥●③➛❝✳➝⑥❿➼rt⑧➑➈❖⑧❾✇❛✈✘❿➬③➢✈●rt❝✳➎❾②❶❼⑩➝✚➀✥⑧➌②④②t❝✉➀✥r④③➛⑧❾✈
rt❝✳②t❜➯♣✯③➛✈☎rt❴❛❝✤➀✥⑧➌✈➌rt②④⑧➌➝➌③➛✈❛❽❛✇❛rt♣✉➭✯➹➘✈❞❿q⑧❾③➛✈❛➎❆♣➤⑧❈➸➮r④❴❛❝✫②t③➛♣④➠✜⑧⑩➜❈♣t❼➣rt✇❛②❶❼➣r④③➛✈❛➎❣r④❴❛❝✫❼❾➀✥r④✇✘❼⑩r④⑧❾②❶♣✚❼⑩✈✘❿❺⑨s❝✳⑧❾❽❈❼⑩②❶❿q③➢➩✉③➢✈✘➎
rt❴❛❝❑♣➤rt❼❾➈❛③➢➝➛③➢rs♥➑⑧⑩➜✚r④❴✘❝❑➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✉❿✪♣④♥♦♣➤r④❝✉❜➱③⑥♣❺②t❝✉❿q✇❈➀✥❝✉❿✪❝ ✘❖❝❊➀➫r④③➛➡❾❝✉➝➢♥➌➭ ❇❣⑧➣➟✴❝✉➡❾❝✳②❊➸♦r④❴✘③➛♣❺❿❛⑧●❝❊♣✤✈❛⑧❾r❣❽❛②t❝✳➡❾❝✉✈●r
rt❴❛❝➯③➛✈➌rt❝✳➎➌②t❼❾➝✠r④❝✳②t❜➯♣❆r④❴❛❝✉❜➯♣➤❝✉➝➢➡➌❝✉♣➍rt⑧✪➎➌②④⑧➣➟ ❼⑩②t➈❛③➢r④②❶❼⑩②t③➢➝➛♥❍➝➛❼❾②④➎➌❝❾➸✖✈❛⑧➌②✜r④❴✘❝❱❼❾♣t♣➤⑧q➀✥③⑥❼➣rt❝✉❿➬❽❛②④⑧➌➈❛➝➛❝✳❜✤✣♦➝➢③➢r➤rt➝➢❝
❼➌❿❛❿q②t❝✉♣t♣➤❝❊❿➼③➢✈❚r④❴❛❝✝➝➢③➢r④❝✉②t❼⑩r④✇❛②t❝✥✣✑⑧❾➜✮♣➤➝➛⑧➣➟✏❿q❝✉♣t❼➣rt✇❛②❶❼➣r④③➛⑧❾✈❍➟✤❴✘③➛➀❶❴❚❜➯❼➮♥✪③➢✈❈➀✥②t❝✉❼❾♣④❝✜rt❴❛❝❩♣④♥q♣srt❝✳❜ ✓ ♣✤r④③➛❜❞❝✝②t❝✥➲
♣④❽❖⑧❾✈✘♣④❝❑❝✳➵q➀✳❝✉♣t♣➤③➛➡❾❝✉➝➢♥➌➭✐❫✫❴❛❝❩✈❛⑧➌✈❛➝➢③➛✈❛❝❊❼⑩②❣③➛✈●r④❝✉➎❾②❶❼➣r④⑧➌②❣➈❖⑧❾✇❛✈❈❿q③➢✈✘➎❱r④❝❊➀❶❴❛✈❛③⑥⑤●✇❛❝✝❴✘❝✳②t❝❑❽❛②t⑧❾❽❖⑧➌♣④❝✉❿❍❿q❝❊❼⑩➝⑥♣❣➟✤③➢r④❴
rt❴❛③⑥♣❣❽❛②t⑧❾➈✘➝➢❝✉❜ ❼❾✈✘❿❍③⑥♣❣❼⑩✈✘⑧⑩r④❴✘❝✳②✐➀✳⑧❾✈●r④②t③➛➈❛✇qr④③➛⑧❾✈❍⑧❾➜❨r④❴❛❝✝❽✘❼⑩❽❖❝✳②❊➭❣➆✚③➛✈✘❼⑩➝➛➝➢♥➌➸✘rt❴❛❝❩➟➙❼➮♥✑❝✳✈❛❝✉②④➎➌♥✪❿q③⑥♣t♣➤③➛❽✘❼➣rt③➢⑧➌✈
❽✘②④⑧q❿q✇✘➀✳❝✉❿✣➈♦♥➬❜❞⑧⑩rt③➢⑧➌✈Ó②④❝❊❼❾➀➫rt③➢⑧➌✈➬➜➞⑧➌②t➀✳❝✉♣➍③⑥♣✜❝✥➵q❽❛➝➛⑧❾③➢r④❝❊❿✖➸✯➜➞⑧❾②☎➈❖⑧⑩rt❴Ór④❴❛❝❱➀✳⑧❾✈●r④②t⑧❾➝▼❿q❝❊♣➤③➛➎❾✈☛❼❾✈✘❿Ó♣sr❶❼⑩➈❛③➛➝➢③➢rs♥
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➀✳➝➛❼➌♣④♣✝⑧⑩➜❆♣➤♥q♣➤r④❝✳❜➯♣❩➀✥⑧➌✈✘♣➤③⑥❿q❝✉②④❝❊❿➴❼⑩②t❝➑②t❝✉➀✉❼⑩➝➛➝➢❝❊❿☛③➢✈✍❧♦❝❊➀➫r④③➛⑧❾✈➥➉♦➭➦❧♦⑧➌❜❞❝✑❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✘♣❩⑧➌✈☛r④❴❛❝➼❝✳➵●rt❝✳②t✈✘❼⑩➝
➜➞⑧➌②t➀✳❝✉♣✴❼⑩❽❛❽❛➝➛♥♦③➢✈✘➎☎r④⑧❑r④❴❛❝➍♣④♥♦♣➤r④❝✉❜ ➻➞➎❾②❶❼➮➡♦③➺rs♥➌➸●❼❾❝✳②t⑧ ✛➣❴●♥q❿q②t⑧⑩➲➘❿q♥♦✈✘❼❾❜❩③⑥➀✮➜➞⑧❾②❶➀✥❝✉♣✉➸●❝✥rt➀❾➭ ➪❩❼❾②④❝❺③➛✈●r④②t⑧q❿q✇✘➀✥❝❊❿❱❼⑩✈❈❿
❿❛③➛♣t➀✥✇✘♣t♣④❝✉❿➍③➛✈✜r④❴❛③⑥♣✚♣➤❝❊➀➫r④③➛⑧❾✈✟➭✟➹➘✈❛③➢r④③⑥❼⑩➝●➀✥⑧❾✈●rt②④⑧➌➝❾➝⑥❼➮➟❺♣✔❼⑩②t❝✮❿q❝✉②④③➛➡❾❝❊❿➍③➢✈✝❧q❝✉➀➫rt③➢⑧➌✈☎➅✤✇❛✈✘❿❛❝✳②✠❼❾♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈✘♣✔✇✘❽❈⑧➌✈
rt❴❛❝➑➀✳⑧❾✈●r④②t③➢➈✘✇qr④③➛⑧❾✈☛⑧❾➜➙rt❴❛❝❱❝✳➵●rt❝✳②t✈✘❼⑩➝▼➜➞⑧❾②❶➀✥❝✉♣❑❼❾➀➫rt③➢✈✘➎❚⑧❾✈✣r④❴✘❝➑➡❾❝✉❴❛③⑥➀✥➝➛❝❾➭❍❫✫❴❛❝❱②t❝✉♣④✇❛➝➢r④③➛✈❛➎❚♣➤③➛❜❞❽❛➝➛③➺➳❈➀✉❼➣rt③➢⑧➌✈
➜ ❼➌➀✥③➛➝➢③➢rt❼⑩r④❝❊♣☎rt❴❛❝➑❝✳➵♦❽❖⑧➌♣④③➢r④③➛⑧❾✈➴⑧❾➜✤r④❴❛❝✑❜❞❼❾③➢✈➨➝➢③➛✈❛❝✉♣✝⑧⑩➜❣r④❴❛❝✪❼⑩❽❛❽❛②t⑧➌❼➌➀❶❴✔➭❚➹➘✈➦❧q❝✉➀➫rt③➢⑧➌✈➴➃❛➸❨rt❴❛❝✑➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②❶♣
❼❾②④❝❩❜❞⑧q❿q③➺➳❈❝✉❿❀③➢✈✣⑧❾②❶❿q❝✳②❆rt⑧➼➀✳⑧❾❜❞❽❛➝➛♥❍➟✤③➺rt❴Ó❜❩⑧➌②④❝❩②t❝✉❼⑩➝➛③⑥♣srt③➛➀❩❼❾♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈✘♣✉➭❩❧♦③➛❜❑✇✘➝➛❼⑩r④③➛⑧❾✈✣②④❝❊♣➤✇❛➝➢rt♣✐➜➞⑧➌②➍❼
❽❈❼⑩②④r④③⑥➀✥✇❛➝⑥❼⑩②✜❜❞⑧q❿q❝✳➝✴⑧⑩➜✤❼❍➾✐❫❣❹❆➚➥➡➌❝✳❴❛③⑥➀✥➝➛❝❱❼⑩②t❝❱❿q❝❊♣④➀✳②④③➛➈❈❝❊❿✣③➢✈➨❧♦❝❊➀➫rt③➢⑧➌✈☛➄➼r④⑧❍③➛➝➢➝➛✇✘♣➤r④②❶❼➣r④❝❞rt❴❛❝➑➀✳⑧❾✈✘➀✳❝✳❽qr❶♣✳➭
➆✚③➛✈✘❼⑩➝➛➝➛♥❾➸✤♣➤⑧➌❜❞❝✪②t❝✳❜➯❼❾②④➠q♣❞⑧❾✈ rt❴❛❝❍❽❛②t⑧❾❽❖⑧➌♣④❝✉❿ ➀✥⑧❾✈●rt②④⑧➌➝❺♣srt②t❼⑩r④❝✳➎➌♥➨❼⑩✈❈❿ ❼☛❿❛③➛♣t➀✥✇✘♣t♣④③➢⑧➌✈ ❼❾➈❈⑧➌✇qr❱❽❈⑧●♣④♣④③➛➈❛➝➢❝
➜➞✇❛r④✇❛②t❝✜➟✴⑧➌②④➠❱➀✳⑧❾✈✘➀✳➝➢✇❈❿q❝❆r④❴❛❝✜❽✘❼❾❽❈❝✉②✉➭
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➹ ✤ ✤ ✤ ✣ ✑ ✥ ✑ ➭❈❫✫❴✘❝☎❽❛②t❝✉♣④❝✳✈●r✤❽✘❼⑩❽❖❝✳②❣➀✳⑧❾✈●rt❼❾③➢✈❈♣✤♣➤✇❛➈❈♣sr❶❼⑩✈●r④③⑥❼⑩➝✔❝✳➵♦r④❝✳✈❈♣➤③➛⑧❾✈✘♣✫⑧❾➜✯rt❴❛❝❑➀✳⑧❾✈q➜➞❝✉②④❝✉✈✘➀✥❝➍❽✘❼❾❽❈❝✉②✉➭✴➹➘✈
❽❈❼⑩②④r④③⑥➀✥✇❛➝⑥❼⑩②❊➸ ✵ ✁ rt❴❛❝✤➎❾❝✉✈❛❝✳②❶❼⑩➝q➀✳❼➌♣➤❝✫⑧❾➜❈➡❾❝✉❴❛③⑥➀✥➝➛❝✉♣✠❜❞⑧➣➡♦③➢✈❛➎❆③➛✈❞➅ ✥❺➲➘♣④❽✘❼❾➀✳❝➙③⑥♣✠❴❛❝✉②④❝✤➀✥⑧➌✈✘♣④③➛❿q❝✉②④❝❊❿✖➸⑩➟✤❴❛❝✉②④❝❊❼❾♣ ✿✥❁✉➅❋❃
➟✫❼❾♣✫➝➛③➛❜❩③➢r④❝❊❿✪r④⑧❞rt❴❛❝✜❽❛➝⑥❼⑩✈✘❼❾②❺➀✳❼❾♣④❝❾➸ ✵✤✵ ✁ ❼❞➀✥⑧➌✈●r④②t⑧❾➝✔♣④⑧❾➝➛✇qr④③➛⑧❾✈✪rt❼❾➠♦③➢✈❛➎❩rt❴❛❝❑➀✥⑧➌✈✘♣➤r④②❶❼⑩③➛✈➌r✤⑧❾➜✚✇❛✈✘③➛❿q③➛②t❝✉➀➫rt③➢⑧➌✈✘❼⑩➝
rt❴❛②t✇✘♣sr➙③➢✈●rt⑧✝❼❾➀✉➀✥⑧➌✇❛✈●r✮③➛♣➙❽❛②t⑧❾❽❖⑧➌♣④❝✉❿❍➻✹❧♦❝✉➀✥r④③➛⑧❾✈➑➅✘➭ ➄❾➪➫➸ ✵✤✵✤✵ ✁ ♣④⑧❾❜❞❝✐➀✳⑧❾✈●r④②t⑧❾➝❛❜❞⑧q❿q③➢➳❈➀✳❼⑩r④③➛⑧❾✈✘♣➙❼⑩②t❝❺③➛✈●r④②t⑧♦❿❛✇✘➀✥❝❊❿
rt⑧❀③➛❜❞❽❛②t⑧➣➡❾❝➑②t⑧❾➈✘✇✘♣srt✈❛❝✉♣t♣❩❽❛②t⑧❾❽❖❝✳②④r④③➛❝✉♣✝➟✜➭ ②❊➭ r❊➭➦♣④⑧❾❜❞❝✪❜❩❝❊❼❾♣④✇❛②t❝✳❜❞❝✳✈●r❞⑧❾②❩❝✉♣➤r④③➛❜❞❼⑩r④③➛⑧❾✈➦❝✳②t②④⑧➌②t♣✪➻Ò❧♦❝❊➀➫rt③➢⑧➌✈
➃●➪➫➸ ✵✄✂ ✁ ♣➤rt❼⑩➈✘③➢➝➛③➺rs♥➦❽❛②t⑧●⑧❾➜ ♣❩➜➞⑧❾②➯rt❴❛❝❍❽❛②t⑧❾❽❖⑧➌♣④❝✉❿ ➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✳②❶♣❞❼⑩②t❝➼❽❛②④⑧➣➡♦③⑥❿q❝✉❿✔➸➙❼❾✈✘❿ ✂ ✁ ❼☛➀✳❼❾♣④❝❍♣srt✇✘❿q♥➦③➛♣
❽✘②④❝❊♣➤❝✉✈➌rt❝✉❿ò❼❾➝➢⑧➌✈❛➎➨➟✤③➢r④❴✙♣④③➢❜✝✇❛➝➛❼⑩r④③➛⑧❾✈✷②④❝❊♣➤✇❛➝➢rt♣✑➟✤❴❛③⑥➀❶❴✷③➛➝➛➝➢✇✘♣➤r④②❶❼➣rt❝❚rt❴❛❝Ó②④⑧➌➈❛✇✘♣➤r④✈❛❝❊♣④♣✑⑧⑩➜☎rt❴❛❝☛❼⑩❽❛❽✘②④⑧●❼❾➀❶❴
➟✜➭ ②❊➭ r❊➭❨✇❛✈❛❜❞⑧q❿q❝✳➝➛❝✉❿✪❿q♥♦✈✘❼⑩❜❞③⑥➀✳♣❺❼❾✈✘❿✑❽❈❝✉②➤rt✇❛②④➈❈❼➣r④③➛⑧❾✈❈♣✜➻Ò❧♦❝❊➀➫r④③➛⑧❾✈❍➄❾➪✥➭

☎ ✆ ✁✜✆✯✬➍✆✯✲✥✁❑✄ ✬☎✄✪✦ � ✁➯✦✪✢✤✡✥✲✥✄✞✝

✟✡✠☞☛ ✌✎✍✑✏✓✒✔✏✖✕✗✍✙✘
➹➘✈❩rt❴❛③➛♣▼❽✘❼⑩❽❖❝✳②❊➸⑩➟➙❝✴➜➞⑧q➀✳✇✘♣❨⑧❾✈❞➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✠➟✤❴❛③⑥➀❶❴❞➀✳❼⑩✈❞➈❖❝✤❜❞⑧♦❿❛❝✳➝➛❝✉❿❞❼❾♣✠②t③➢➎➌③➛❿✝➈❖⑧♦❿❛③➢❝❊♣❨③➢❜❞❜❞❝✳②❶♣④❝✉❿✝③➢✈➯❼✐➧✘✇❛③⑥❿✖➭
❫✫❴✘❝✐➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎❞✈❛⑧⑩r❶❼➣r④③➛⑧❾✈✪③⑥♣✫✇✘♣➤❝❊❿✖➭

✚ G
③⑥♣✫rt❴❛❝✜➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣✤➀✳❝✳✈●r④❝✉②✫⑧⑩➜✠❜❞❼➌♣④♣✉➸

m
③➺r❶♣✤❜➯❼❾♣t♣✳➸❛❼❾✈✘❿

J
③➢rt♣✤③➛✈❛❝✳②④r④③⑥❼❩❜➯❼➣r④②t③➢➵❰➭

✚ I ✛ {O;−→ı o,−→ o,
−→
k o}

③⑥♣➯❼❀➳❛➵q❝✉❿✙➻➞③➛✈❛❝✉②➤rt③➛❼❾➝✤⑧❾②✢✜➍❼⑩➝➛③➢➝➛❝✉❼❾✈❈➪❑➜➞②t❼❾❜❞❝✪➟✜➭ ②❊➭ r❊➭ ➻➞➟✤③➢r④❴➥②④❝❊♣➤❽❖❝✉➀✥r❞r④⑧●➪
➟✤❴❛③⑥➀❶❴❑rt❴❛❝✫➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣❨❼❾➈✘♣➤⑧➌➝➢✇❛r④❝✫♣➤③➢r④✇✘❼⑩r④③➛⑧❾✈✪➻➞❽❖⑧➌♣④③➺rt③➢⑧➌✈✤✣✍⑧❾②t③➢❝✉✈➌r❶❼➣rt③➢⑧➌✈❈➪✔③⑥♣✠❜❞❝✉❼➌♣➤✇❛②t❝✉❿✔➭✯❫✫❴❛③⑥♣✯➜➞②t❼❾❜❩❝
③➛♣✜➀❶❴✘⑧➌♣④❝✳✈❀❼➌♣✐r④❴❛❝➯❡ ✤ ✥ ➜➞②❶❼⑩❜❞❝✪➻Ò❡❺⑧➌②➤rt❴q➲ ✤✴❼❾♣➤r➤➲ ✥❣⑧➣➟✤✈❈➪❣➟✤③➢r④❴❀r④❴❛❝➯➡➌❝✉➀➫rt⑧❾② −→ı o

❽❖⑧❾③➛✈●r④③➛✈❛➎✪r④⑧✪r④❴❛❝
❡❺⑧➌②➤rt❴✔➸❛rt❴❛❝☎➡❾❝❊➀➫rt⑧❾② −→ o ❽❈⑧➌③➢✈●rt③➢✈❛➎❱r④⑧❞r④❴✘❝✟✤✮❼❾♣➤r✉➸❖❼⑩✈✘❿✪rt❴❛❝☎➡➌❝✉➀➫rt⑧❾② −→

k o
❽❖⑧❾③➛✈➌rt③➢✈✘➎❞r④⑧➯rt❴❛❝❑➀✥❝✉✈●r④❝✳②

⑧⑩➜✐r④❴❛❝➼❝✉❼❾②➤rt❴✔➭ B ✛ {G;−→ı ,−→ ,
−→
k } ③⑥♣➯❼➬➜➞②t❼❾❜❩❝❍❼⑩r➤rt❼➌➀❶❴❛❝✉❿➴r④⑧❀r④❴❛❝➼➈❖⑧q❿q♥❾➭➥❫✫❴❛❝➼➡❾❝❊➀➫r④⑧➌② −→

k
③➛♣

❽✘❼⑩②❶❼⑩➝➛➝➛❝✳➝✔rt⑧➑rt❴❛❝☎rt❴❛②t✇✘♣sr❆➜➞⑧❾②❶➀✥❝❩❼➣➵q③⑥♣✳➭❆❫✫❴❛③➛♣✐➝➛❝✉❼➮➡❾❝❊♣✤rs➟➙⑧➑❽❖⑧➌♣t♣➤③➛➈❛➝➛❝✝❼❾✈✘❿❍⑧❾❽✘❽❈⑧●♣➤③➢r④❝❩❿q③➢②t❝✉➀✥r④③➛⑧❾✈✘♣❺➜➞⑧❾②
r④❴❛③⑥♣✠➡❾❝❊➀➫rt⑧❾②❊➭✟➹➘✈❑❽✘②t❼➌➀➫r④③⑥➀✥❝➌➸⑩♣➤❝✉➝➢❝❊➀➫rt③➢✈❛➎❆⑧❾✈✘❝✴⑧❾➜✘r④❴✘❝✳❜✂➀✉❼⑩✈❑➈❖❝✫②④❝✉➝➛❼⑩r④❝❊❿✜r④⑧➍➀✥⑧➌✈✘♣④③➛❿q❝✉②④③➛✈❛➎❆❼ ✚➤✈❛⑧❾❜❞③➛✈✘❼⑩➝✢✜
❜❞⑧⑩r④③➛⑧❾✈➼❼❾♣t♣④⑧♦➀✳③➛❼⑩r④❝❊❿❱➟✤③➢r④❴✑r④❴❛❝✜➡➌❝✳❴❛③⑥➀✥➝➛❝❆❼❾✈✘❿✪➀❶❴❛⑧♦⑧➌♣④③➢✈❛➎❑r④❴❛❝☎❿❛③➢②t❝✉➀✥r④③➛⑧❾✈➑➟✤❴✘③➛➀❶❴✪❜➯❼⑩➠❾❝❊♣✴r④❴❛❝☎♣t➀✳❼❾➝➛❼❾②
❽❛②t⑧♦❿❛✇✘➀➫r❆➈❈❝✳rs➟✴❝✉❝✳✈❚rt❴❛❝☎rt❴❛②t✇✘♣sr❆➜➞⑧❾②❶➀✥❝❑➡❾❝✉➀✥r④⑧➌②✐❼⑩✈❈❿ −→

k
❝✉③➺rt❴❛❝✳②❆❽❖⑧➌♣④③➺rt③➢➡➌❝❑⑧❾②✐✈❛❝✳➎●❼➣rt③➢➡➌❝❾➭✦✥✍❴✘❝✳②t❝✉❼❾♣

r④❴❛❝✴❽❈⑧●♣➤③➢r④③➛➡❾❝✴⑧❾❽qrt③➢⑧➌✈✜➟✴⑧➌✇❛➝⑥❿✜➀✥⑧❾②t②t❝✉♣④❽❈⑧➌✈✘❿✐r④⑧✤rt❴❛❝✮❴❛❝❊❼❾❿q③➛✈❛➎❣❿❛③➢②t❝✉➀✥r④③➛⑧❾✈☎⑧❾➜q❼❣♣➤❴❛③➛❽☎❜❞⑧➣➡♦③➢✈✘➎✤➜➞⑧❾②t➟➙❼❾②t❿✔➸
➟✴❝➍❴✘❼➮➡➌❝✐⑧➌❽qr④❝❊❿➑❴✘❝✳②t❝❣➜➞⑧➌②✫r④❴❛❝➍✈❛❝✉➎➌❼➣rt③➢➡➌❝✐⑧➌✈❛❝➍③➢✈✪⑧❾②❶❿q❝✉②✴rt⑧❞➈❈❝✜➀✥⑧➌✈✘♣④③➛♣➤r④❝✉✈➌r✤➟✤③➢r④❴✑r④❴❛❝☎➀✳⑧❾✈♦➡❾❝✉✈●r④③➛⑧❾✈
✇✘♣④❝✉❿✑➜➞⑧❾②✤➾❆❫❣❹❆➚❀➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✜➻ ➟✤③➺rt❴ −→

k
❽❈⑧➌③➢✈●rt③➢✈❛➎➯❿q⑧➣➟✤✈♦➟✫❼⑩②❶❿❱✈❛⑧➌❜❞③➢✈✘❼❾➝➢➝➛♥❛➪➫➭
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➆✚③➛➎❾✇❛②t❝ ❁✫✾❨➹➘✈❛❝✉②➤rt③➛❼❾➝✔❼⑩✈✘❿✑➈❖⑧♦❿❛♥➌➲✹➳❛➵q❝✉❿➑➜➞②❶❼⑩❜❞❝✉♣✉➭

✚ ❫✫❴❛❝➑➡➌❝✉➀✥r④⑧❾②❑⑧⑩➜❺➀✥⑧♦⑧❾②❶❿q③➛✈✘❼➣rt❝✉♣✜⑧❾➜
G

③➢✈Órt❴❛❝➑➈❈❼❾♣④③➛♣❑⑧⑩➜✫r④❴❛❝➑➳❛➵q❝✉❿Ó➜➞②❶❼⑩❜❞❝ I ③⑥♣❑❿❛❝✳✈❛⑧❾r④❝✉❿☛❼➌♣
x =

(x1, x2, x3)
T ➟✤③➺rt❴➴rt❴❛❝✪❫➙➲➘♣④♥●❜✝➈❈⑧➌➝✮✇✘♣④❝✉❿➴➜➞⑧❾②❑r④❴❛❝✪⑧❾❽❖❝✳②❶❼➣rt③➢⑧➌✈☛⑧⑩➜✤r④②❶❼⑩✈❈♣➤❽❖⑧➌♣④③➺rt③➢⑧➌✈✔➭❀❫✫❴✘❝✳②t❝✥➜➞⑧❾②t❝❾➸

−−→
OG = x1

−→ı o + x2
−→ 0 + x3

−→
k o

➸❛❼✝②④❝✉➝➛❼⑩r④③➛⑧❾✈➑r④❴✘❼⑩r✫➟➙❝❆➟✤③➢➝➛➝✔❼⑩➝⑥♣➤⑧❩➟✤②t③➺rt❝✐③➛✈✪❼❩❜❞⑧❾②t❝✐➀✳⑧❾✈✘➀✳③➛♣④❝❆➟➙❼➮♥
❼❾♣ −−→

OG = (−→ı o,−→ o,
−→
k o)x

➭
✚ ❫✫❴❛❝➯⑧❾②t③➛❝✳✈●rt❼⑩r④③➛⑧❾✈➬⑧❾➜✮rt❴❛❝➯➈❈⑧q❿q♥●➲✹➳❛➵q❝✉❿➬➜➞②t❼❾❜❞❝ B ➟✜➭ ②✉➭ r✉➭❞rt❴❛❝❞③➢✈✘❝✳②④r④③⑥❼⑩➝✠➜➞②❶❼⑩❜❞❝ I ③⑥♣➍②t❝✳❽❛②t❝✉♣④❝✳✈●r④❝❊❿

➈♦♥➨rt❴❛❝➬②t⑧⑩r❶❼➣r④③➛⑧❾✈➥❜➯❼➣rt②④③➢➵
R
➭✏❫✫❴❛❝➬➀✳⑧❾➝➛✇❛❜❞✈✍➡❾❝❊➀➫r④⑧➌②t♣❱⑧⑩➜

R
➀✳⑧❾②t②④❝❊♣➤❽❖⑧❾✈✘❿➨r④⑧➴r④❴❛❝❀➡❾❝✉➀✥r④⑧➌②t♣❞⑧❾➜

➀✥⑧♦⑧❾②❶❿q③➛✈✘❼➣rt❝✉♣➙⑧⑩➜ −→ı , −→ ,
−→
k

❝✳➵q❽❛②④❝❊♣④♣④❝✉❿➑③➢✈✪rt❴❛❝✜➈✘❼❾♣④③⑥♣✫⑧⑩➜ I ➭
✚ ❫✫❴❛❝☎➡➌❝✉➀➫rt⑧❾②✤⑧❾➜✠➀✳⑧●⑧➌②t❿❛③➢✈✘❼⑩r④❝❊♣✤❼❾♣t♣➤⑧q➀✥③⑥❼➣rt❝✉❿✑➟✤③➺rt❴➼r④❴❛❝❑➝➢③➛✈❛❝✉❼❾②✤➡❾❝✉➝➢⑧q➀✥③➢rs♥➑⑧❾➜

G
➟✜➭ ②✉➭ r✉➭ I ③➛♣❺❿❛❝✳✈❛⑧❾r④❝✉❿

❼❾♣
ẋ = (ẋ1, ẋ2, ẋ3)

T ➟✤❴❛❝✉✈❀❝✳➵♦❽✘②④❝❊♣④♣④❝✉❿❍③➛✈❀r④❴❛❝❞➈✘❼➌♣➤③⑥♣➍⑧⑩➜ I ➸✯❼⑩✈❈❿➬❼❾♣
v = (v1, v2, v3)

T ➟✤❴❛❝✉✈
❝✥➵q❽❛②t❝✉♣t♣➤❝❊❿➑③➛✈✪r④❴❛❝➍➈✘❼➌♣➤③⑥♣✫⑧⑩➜ B ➸q③Ò➭ ❝❾➭ −→v = d

dt

−−→
OG = (−→ı o,−→ o,

−→
k o)ẋ = (−→ı ,−→ ,

−→
k )v

➭
✚ ❫✫❴❛❝➯❼⑩✈❛➎➌✇❛➝⑥❼⑩②❆➡❾❝✳➝➛⑧q➀✥③➢rs♥❍➡❾❝❊➀➫r④⑧➌②➍⑧⑩➜✮rt❴❛❝❞➈❈⑧q❿q♥●➲✹➳❛➵q❝✉❿❚➜➞②t❼❾❜❩❝ B ②t❝✳➝⑥❼➣r④③➛➡❾❝❑r④⑧✪r④❴✘❝✝➳✘➵♦❝❊❿❚➜➞②❶❼⑩❜❞❝ I ➸

❝✥➵q❽❛②t❝✉♣t♣➤❝❊❿➑③➛✈ B ➸♦③⑥♣❺❿q❝✉✈❛⑧⑩rt❝✉❿✪❼❾♣
ω = (ω1, ω2, ω3)

T ➭

✚ ❫✫❴❛❝✮❼❾❜❑➈❛③➛❝✳✈●r✔➧✘✇✘③➛❿✜➡➌❝✳➝➛⑧q➀✥③➢rs♥❣➟✜➭ ②✉➭ r✉➭✟r④❴❛❝❨➳✘➵♦❝❊❿➍➜➞②❶❼⑩❜❞❝ I ③⑥♣✟❿q❝✉✈❛⑧⑩rt❝✉❿✜❼❾♣ −→v f = (−→ı o,−→ o,
−→
k o)ẋf

= (−→ı ,−→ ,
−→
k )vf

➭
✚ ❫✫❴❛❝ ✚④❼⑩❽❛❽✘❼❾②④❝✉✈●r✚➡➌❝✳➝➛⑧♦➀✳③➺rs♥ ✜✴⑧❾➜❈rt❴❛❝✫➈❈⑧q❿q♥ −→v a

③⑥♣✚r④❴❛❝❺❿q③ ✘❰❝✳②t❝✳✈✘➀✳❝✤➈❈❝✳rs➟✴❝✉❝✳✈✝r④❴❛❝✤➡➌❝✳➝➛⑧♦➀✳③➺rs♥❑⑧⑩➜
G

❼⑩✈❈❿
r④❴❛❝❆❼⑩❜✝➈❛③➢❝✉✈●r✮➧✘✇❛③⑥❿➯➡➌❝✳➝➛⑧♦➀✳③➺rs♥➌➸➌③✹➭ ❝❾➭ −→v a = −→v −−→v f

➭✠➹❬r❶♣▼➡❾❝❊➀➫rt⑧❾②✮⑧❾➜✟➀✥⑧♦⑧❾②❶❿q③➛✈✘❼➣rt❝✉♣❨③⑥♣
ẋa = ẋ− ẋf❝✥➵q❽❛②t❝✉♣t♣➤❝❊❿✪③➢✈✪r④❴✘❝☎➈✘❼❾♣④③⑥♣✤⑧⑩➜✠r④❴✘❝✜➳❛➵q❝✉❿✑➜➞②❶❼⑩❜❞❝ I ➸❰❼⑩✈✘❿

va = v − vf
❝✳➵q❽❛②④❝❊♣④♣④❝✉❿✑③➛✈➼r④❴❛❝☎➈❈❼❾♣④③➛♣✤⑧❾➜

r④❴❛❝✜➈❖⑧q❿q♥●➲Ò➳✘➵♦❝❊❿✑➜➞②t❼❾❜❩❝ B ➸q③Ò➭ ❝❾➭ −→v a = (−→ı o,−→ o,
−→
k o)ẋa = (−→ı ,−→ ,

−→
k )va

➭
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✚ {e1, e2, e3}
❿q❝✳✈❛⑧❾r④❝❊♣➯r④❴✘❝❀➀✳❼❾✈❛⑧❾✈✘③➛➀✉❼⑩➝❺➈✘❼➌♣➤③⑥♣➯⑧❾➜

R
3 ➸✤③✹➭ ❝➌➭

e1 = (1, 0, 0)T
➸

e2 = (0, 1, 0)T
➸

e3 = (0, 0, 1)T
➭

✚ ➆❛⑧➌②❆❼❾✈●♥✪➡❾❝❊➀➫rt⑧❾②
u ∈ R

3 ➸ S(u)
❿❛❝✳✈❛⑧❾r④❝✉♣❣r④❴✘❝✝♣④➠❾❝✳➟✫➲➘♣④♥●❜❞❜❞❝✥rt②④③⑥➀✜❜➯❼➣rt②④③➢➵❍❼❾♣t♣➤⑧q➀✥③⑥❼➣rt❝✉❿➼➟✤③➢r④❴➬r④❴❛❝

➀✥②t⑧➌♣t♣❨❽❛②t⑧q❿q✇✘➀➫r✴➈●♥
u
➸➌③✹➭ ❝➌➭

S(u)v = u× v
➜➞⑧❾②➙❼⑩✈♦♥❩➡❾❝✉➀✥r④⑧➌②

v ∈ R
3 ➸●➟✤③➢r④❴ × rt❴❛❝✐➀✳②④⑧●♣④♣➤➲✹❽✘②④⑧q❿q✇✘➀✥r

⑧❾❽❖❝✳②❶❼➣rt③➢⑧➌✈✔➭
✚ ❫✫❴❛❝ ✤▼✇✘➀✳➝➢③⑥❿q❝❊❼⑩✈➼✈❛⑧❾②t❜ ③➛✈

R
3 ③⑥♣❺❿q❝✉✈❛⑧⑩rt❝✉❿➼❼❾♣ |.| ➭

✚ ❷ ➜➞✇✘✈✘➀➫rt③➢⑧➌✈
y : [to, +∞) −→ R

p ③⑥♣❑✇✟➭ ➈✔➭➥➻➽➜➞⑧➌② ✔✺✡ ✆✘✵ ☛ ✭☛✆✰✢✣✡✁�✄✂✱✁☛✔✺✄✪✦✯✢✱✦ ➪❑➈●♥☛❼❚➀✳⑧❾✈✘♣➤rt❼❾✈●r
c
➸✠③➢➜

r④❴❛❝✉②④❝➼❝✳➵♦③⑥♣➤rt♣➯❼❀r④③➛❜❞❝
T

♣④✇✘➀❶❴➴rt❴✘❼➣r |y(t)| ≤ c, ∀t ≥ T
➭➥❷❺✈➥⑧❾✇❛r④❽❛✇qr

y = h(x, t) ∈ R
p③➛♣➍✇✟➭ ✇✔➭ ➈✔➭✪➻➽➜➞⑧❾② ✔✺✄✴✵ ✌✣✁☛✞✥☛ ✡☎� ✔✺✡ ✆✟✵ ☛ ✭☎✆✻✢✬✡☎�✆✂✱✁☛✔✺✄✪✦✯✢✱✦ ➪✐➈♦♥➬❼✑➀✳⑧❾✈✘♣➤rt❼❾✈●r

c
❼⑩➝➛⑧❾✈❛➎➑r④❴❛❝➯♣④⑧❾➝➛✇qr④③➛⑧❾✈❈♣❣rt⑧✪❼

❿q③ ✘❖❝✉②④❝✉✈➌rt③➛❼❾➝✠❝✉⑤●✇✘❼➣rt③➢⑧➌✈
ẋ = f(x, t)

③➺➜s➸❰➜➞⑧➌②➍❼❾✈♦♥
(xo, to)

➸
y(.) = h(x(., xo, to))

③➛♣❆✇✔➭ ➈✔➭✜➈♦♥
c
➸

➟✤❴❛❝✳②t❝
x(τ, xo, to)

❿q❝✳✈❛⑧❾r④❝❊♣❣rt❴❛❝➯♣➤⑧➌➝➢✇❛r④③➛⑧❾✈➬❼⑩r❆rt③➢❜❞❝
τ

⑧❾➜
ẋ = f(x, t)

➟✤③➺rt❴❀③➛✈❛③➢r④③⑥❼⑩➝❨➀✥⑧➌✈✘❿q③➢r④③➛⑧❾✈
xo

❼⑩r
t = to

➭

✟✡✠ ✟ ✝✟✞✡✠ ✏☞☛✍✌ ✌ ✍✏✎✑☛✍✒☞✕ ✘✡✓
✥✣❝✝➀✳⑧❾✈✘♣④③⑥❿q❝✳②❆❜❞❝✉➀❶❴✘❼❾✈❛③➛➀✉❼⑩➝✚♣➤♥q♣➤r④❝✳❜➯♣✐➟✤③➺rt❴❍➜➞⑧❾✇✘②❆➀✳⑧❾✈●r④②t⑧❾➝✯③➢✈❛❽✘✇qrt♣✽✾❺⑧❾✈✘❝☎➜➞⑧❾②❶➀✥❝❑③➢✈❛❽✘✇qr

T
➻ ❼⑩➝⑥♣④⑧❱②④❝✳➜➞❝✳②t②④❝❊❿

rt⑧❚❼❾♣➍rt❴❛❝ ✚sr④❴✘②④✇✘♣➤r ✜➯③➛✈❛❽❛✇qr➫➪✜❼⑩➝➛⑧❾✈❛➎➼rt❴❛❝❱➈❖⑧q❿q♥●➲Ò➳❛➵q❝❊❿✣❿❛③➢②t❝✉➀✥r④③➛⑧❾✈ −→
k

rt⑧❚➀✥②t❝✉❼⑩r④❝➯➝➛⑧❾✈❛➎➌③➺rt✇✘❿q③➛✈✘❼⑩➝▼❜❞⑧❾r④③➛⑧❾✈✔➸
❼❾✈✘❿✪r④❴✘②④❝✉❝☎③➢✈❈❿q❝✳❽❖❝✳✈✘❿❛❝✳✈●r❣rt⑧❾②❶⑤➌✇✘❝✜③➢✈❛❽✘✇qrt♣❣r④⑧➑➀✳②④❝❊❼➣rt❝✜②④⑧❾rt❼➣rt③➢⑧➌✈✘❼⑩➝✟❜❩⑧❾r④③➛⑧❾✈❚❼❾✈✘❿➼❜❞⑧❾✈❛③➢r④⑧➌②✤r④❴❛❝✝➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣
❼⑩r➤rt③➺rt✇✘❿q❝❾➭✐❫✫❴❛③➛♣✐➀✥⑧➌②④②t❝✉♣④❽❈⑧➌✈✘❿❛♣➙rt⑧✑❼❞rs♥♦❽❛③⑥➀✳❼❾➝✟❼⑩②t②t❼❾✈❛➎❾❝✉❜❞❝✳✈●r✫r④❴✘❼⑩r❆➀✳❼❾✈❍➈❈❝❑➜➞⑧❾✇❛✈❈❿❍⑧❾✈❍➾❆❫❣❹❆➚☛➡❾❝✉❴❛③➛➀✳➝➢❝❊♣✳➸
❼❾③➢②t❽❛➝⑥❼⑩✈❛❝❊♣✳➸✟➈❛➝➢③➛❜❞❽✘♣✉➸✟②t⑧♦➀❶➠➌❝✥r❶♣✳➸✔❝✳rt➀❾➭✢✥❀❝✑❼❾♣t♣➤✇❛❜❞❝❩r④❴❈❼➣r✜r④❴✘❝❞r④❴❛②t✇✘♣➤r −→

T = −T
−→
k

❼❾❽❛❽❛➝➛③➢❝❊♣✜❼➣r❑❼➼❽❖⑧❾③➛✈➌r
➝➛③➢r➤r④➝➛❝➼❿q③➛♣➤rt❼❾✈●r❑➜➞②t⑧❾❜ r④❴❛❝✪❼➣➵q③⑥♣ {G;

−→
k } ♣➤⑧❚r④❴✘❼⑩r❩③➢r❩❿q⑧♦❝❊♣❑✈❛⑧❾r❞➀✳②④❝❊❼➣rt❝➑❼⑩✈➴③➛❜❞❽❈⑧➌②➤r❶❼⑩✈●r❑rt⑧❾②❶⑤●✇❛❝➑❼➣r

G
➭

❫✫❴✘❝☎r④⑧➌②t⑤●✇❛❝❩❼❾➀✥r④✇✘❼⑩r④③➛⑧❾✈❍③⑥♣❺rs♥♦❽❛③⑥➀✳❼❾➝➢➝➛♥➼⑧❾➈qr❶❼⑩③➛✈❛❝✉❿❍➡♦③⑥❼➑♣④❝✉➀✳⑧❾✈✘❿❛❼❾②④♥✑❽❛②t⑧❾❽❖❝✳➝➛➝➢❝✉②t♣✝➻ ✘❣➃❾➲❬➆✚➝➛♥❾❝✉②❶➪✥➸❈②t✇✘❿❛❿q❝✉②t♣✐⑧❾②
➧❖❼⑩❽✘♣❺➻✘❇❺⑧➣➡➌❝✳②✖✤▼♥❾❝➮➪➫➸➌➀✳⑧❾✈●r④②t⑧❾➝✘❜❩⑧➌❜❞❝✳✈●r✮➎❾♥♦②t⑧➌♣✤➻Ò♣➤❝✉❝ ✿ ➅●➉❄❃➞➪➫➸♦❝✥r❶➀⑩➭ ✑ ⑧❾❜❞❽❛➝➛❝✥rt❝✤r④⑧➌②t⑤●✇❛❝❺❼➌➀➫r④✇❈❼➣r④③➛⑧❾✈➯❼❾➝➢➝➛⑧➣➟❺♣✠r④⑧
❜❞⑧q❿q③➢➜➞♥❩r④❴❛❝✐➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✴❼➣r➤rt③➺rt✇✘❿q❝✐③➢✈❱⑧➌②t❿❛❝✳②❨rt⑧❑❿q③➛②④❝❊➀➫r✮rt❴❛❝❺rt❴❛②t✇✘♣sr➙❼➣r✴➟✤③➛➝➛➝Ò➭❨❷❺➝➛➝❈r④❴❛❝✐⑧⑩r④❴✘❝✳②▼➜➞⑧➌②t➀✳❝✉♣✴❼❾➀➫rt③➢✈✘➎
⑧➌✈❑rt❴❛❝✫➡❾❝✉❴❛③➛➀✳➝➢❝✜➻ ➎❾②❶❼➮➡●③➢rs♥✜❼⑩✈✘❿✝➈❛✇❛⑧➣♥●❼⑩✈✘➀✳♥❆➜➞⑧❾②❶➀✥❝✉♣✉➸⑩❼❾❿✘❿q❝✉❿♦➲❬❜➯❼❾♣t♣✯➜➞⑧❾②❶➀✥❝✉♣✉➸⑩❼⑩✈❈❿✝❿q③⑥♣t♣➤③➛❽✘❼➣rt③➢➡➌❝✤❼⑩❝✳②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀
⑧➌②✮❴♦♥q❿q②t⑧♦❿❛♥●✈❈❼⑩❜❞③➛➀❺②④❝❊❼❾➀➫rt③➢⑧➌✈❩➜➞⑧❾②❶➀✥❝✉♣❶➪▼❼❾②④❝✐♣➤✇❛❜❞❜❞❝✉❿❱✇❛❽❱③➛✈✑❼✜➡➌❝✉➀➫rt⑧❾② −→

F e
➸q♣④⑧✜r④❴✘❼⑩r✴rt❴❛❝❺rt⑧⑩r❶❼⑩➝❖②④❝❊♣➤✇❛➝➢rt❼❾✈●r

➜➞⑧➌②t➀✳❝✜❼⑩❽❛❽❛➝➛③➛❝✉❿➑r④⑧❞r④❴✘❝❆➡➌❝✳❴❛③⑥➀✥➝➛❝✜③⑥♣
−→
F = −T

−→
k +

−→
F e

➹➘✈❀r④❴✘❝❞❼❾➈✘♣④❝✳✈✘➀✳❝❑⑧⑩➜➙❜❞⑧⑩r④③➛⑧❾✈❀②④❝❊❼❾➀✥r④③➛⑧❾✈❚➜➞⑧➌②t➀✳❝✉♣✐❝✥➵q❝✳②④r④❝❊❿❚➈♦♥❍rt❴❛❝➯❼⑩❜❑➈✘③➢❝✉✈➌r❆➧✘✇❛③⑥❿❀⑧❾✈❚rt❴❛❝❞➡❾❝✉❴❛③➛➀✳➝➢❝➌➸✖⑧❾✈❛➝➛♥
➎➌②t❼➮➡♦③➢rs♥❾➸✫❝✳➡➌❝✳✈●r④✇❈❼⑩➝➛➝➢♥ ➀✥⑧❾✇✘✈➌rt❝✳②❶❼❾➀✥r④❝✉❿➥➈♦♥ ➈❛✇❛⑧➣♥●❼⑩✈✘➀✳♥➴➜➞⑧❾②❶➀✥❝❊♣❱⑧❾➜☎②④⑧➌✇❛➎❾❴❛➝➛♥➦➀✳⑧❾✈✘♣➤rt❼❾✈●r➑❜➯❼⑩➎❾✈✘③➺rt✇✘❿q❝❾➸✐❼⑩②t❝
❽✘②④❝❊♣➤❝✉✈➌r✫③➛✈ −→

F e
➭▼❫✫❴❛③⑥♣➙➜➞⑧❾②❶➀✥❝➍➀✳❼❾✈➑rt❴❛❝✳✈➼➈❖❝❆❜❞⑧q❿q❝✉➝➢❝❊❿✑❼➌♣✤❼✝➀✳⑧❾✈✘♣➤rt❼❾✈➌r✤➡➌❝✉➀➫rt⑧❾②➙❽✘❼⑩②❶❼⑩➝➛➝➛❝✳➝❖r④⑧❩r④❴✘❝ {0;

−→
k o}❼⑩➵q③➛♣➯❼➌♣④♣④⑧q➀✥③⑥❼➣r④❝❊❿➴➟✤③➢r④❴ r④❴✘❝➼➳❛➵q❝✉❿➨➜➞②t❼❾❜❩❝ I ➭ ❇❺⑧➣➟➙❝✳➡❾❝✉②✉➸✴❿q✇❛❝➼r④⑧☛❼❾❝✳②t⑧♦❿❛♥●✈❈❼⑩❜❞③➛➀✑⑧❾②➯❴♦♥q❿q②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀

②t❝✉❼➌➀➫rt③➢⑧➌✈☎➜➞⑧❾②❶➀✥❝❊♣✳➸➮rt❴❛③⑥♣✠➡❾❝✉➀✥r④⑧➌②✯➎➌❝✳✈❛❝✉②t❼❾➝➢➝➛♥☎❿q❝✳❽❖❝✳✈❈❿❛♣✠⑧❾✈✝r④❴❛❝✤❼❾❽❛❽✘❼⑩②t❝✳✈●r✠➈❈⑧q❿q♥❑➡❾❝✳➝➛⑧q➀✥③➢rs♥☎❼⑩✈✘❿❩❼❾➀✉➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈
➻ ➡♦③➛❼❞❼❾❿✘❿q❝✉❿♦➲❬❜➯❼❾♣t♣➙❝ ✘❰❝✉➀➫r❶♣t➪✥➸q③Ò➭ ❝❾➭❨⑧➌✈

(ẋa, ẍa, ω, ω̇)
❼❾♣✫➟➙❝✳➝➛➝✔❼❾♣✫⑧❾✈✑r④❴✘❝❆➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣✤❼➣r④r④③➢r④✇✘❿❛❝

R
➭✠➹❬r❺❜➯❼➮♥

❼❾➝➛♣④⑧➑❿q❝✉❽❈❝✉✈✘❿❀⑧❾✈❍rt❴❛❝✝➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣✐❽❈⑧●♣➤③➢r④③➛⑧❾✈❀➟✤❴❛❝✳✈➬r④❴❛❝❞➀❶❴✘❼⑩②❶❼❾➀✥r④❝✉②④③⑥♣srt③➛➀✉♣✤⑧⑩➜✮r④❴❛❝❞❼⑩❜✝➈❛③➢❝✉✈●r❣➧✘✇❛③⑥❿➬❼❾②④❝✝✈❛⑧⑩r
rt❴❛❝➯♣④❼❾❜❞❝✝❝✉➡❾❝✳②t♥♦➟✤❴❛❝✳②t❝❾➭☎➆✘⑧❾②➍♣➤③➛❜❞❽❛➝➛③➛➀✳③➺rs♥➌➸✖r④❴❛③⑥♣➍➝⑥❼➣r➤rt❝✳②✜❿q❝✉❽❈❝✉✈✘❿q❝✳✈❈➀✥❝❞➟✤③➢➝➛➝❨✈❛⑧❾r❆➈❖❝➯➀✥⑧❾✈❈♣➤③⑥❿q❝✳②t❝✉❿➬③➢✈❀r④❴✘③➛♣
❽❈❼⑩❽❖❝✳②❊➭✯❤❍⑧➌②④❝✉⑧➣➡❾❝✳②❊➸❊➟✤❴❛❝✳②t❝✉❼➌♣✔rt❴❛❝✤❿q❝✳❽❖❝✳✈✘❿❛❝✳✈✘➀✳❝✴⑧➌✈❩❼➌➀✳➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈✘♣✟③➛♣✚②t⑧❾✇❛➎➌❴❛➝➛♥❆➝➛③➛✈❛❝✉❼❾②✉➸➣③➢r❨③➛♣✚➠♦✈❛⑧➣➟✤✈☎rt❴✘❼➣r
rt❴❛❝❣③➛✈●r④❝✉✈✘♣➤③➢r④③➛❝✉♣✴⑧⑩➜✖❜❞⑧⑩rt③➢⑧➌✈❱②t❝✉❼❾➀✥r④③➛⑧❾✈❩➜➞⑧❾②❶➀✥❝❊♣▼➡➣❼⑩②t♥❩➝➢③➛➠❾❝✤rt❴❛❝✐♣t⑤●✇✘❼⑩②t❝❺⑧❾➜ |ẋa| ➭❨❫✫❴❛❝✉②④❝✳➜➞⑧❾②t❝❾➸⑩rt❴❛❝❣③➛✈●r④❝✉✈✘♣➤③➢rs♥
❼❾✈✘❿❱❿q③➛②t❝✉➀➫rt③➢⑧➌✈❱⑧⑩➜ −→

F e
➀✉❼⑩✈❱➡➣❼⑩②t♥❞③➢✈✑➝➛❼❾②④➎➌❝❺❽❛②t⑧❾❽❖⑧❾②④r④③➛⑧❾✈✘♣✮❼❾♣➙♣➤⑧♦⑧❾✈✑❼❾♣❨rt❴❛❝❆➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣➙❿q❝✉♣④③➛②④❝❊❿➯➡❾❝✉➝➢⑧q➀✥③➢rs♥❩③➛♣
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❜❞⑧q❿q③➢➳✘❝✉❿✝♣➤③➛➎❾✈✘③➺➳❈➀✉❼⑩✈●r④➝➛♥❾➸➣⑧➌②✚❿❛✇❛❝➙r④⑧❆③➢❜❞❽❖⑧❾②④rt❼⑩✈●r✠❜❞⑧♦❿❛③➺➳❈➀✉❼➣rt③➢⑧➌✈✘♣✚⑧⑩➜❛rt❴❛❝✤❼⑩❜❑➈✘③➢❝✉✈➌r✚❝✳✈♦➡♦③➢②t⑧❾✈✘❜❩❝✉✈●r✫➻ ➟➙❼➮➡➌❝✉♣✉➸
➟✤③➛✈✘❿➦➎❾✇✘♣➤rt♣✉➸▼❝✳rt➀⑩➭➶➪➫➭➥❤❍⑧q❿q❝✉➝➢③➛✈❛➎❀r④❴❛❝➼➡➣❼⑩②t③➢⑧➌✇✘♣❩➀✥⑧❾❜❞❽❖⑧❾✈❛❝✉✈●rt♣❩⑧⑩➜✐r④❴❛③⑥♣❩➜➞✇❛✈✘➀✥r④③➛⑧❾✈ ③➛♣✉➸✮③➛✈➦➎➌❝✳✈❛❝✉②t❼❾➝Ò➸✠rt③➢❜❞❝
➀✳⑧❾✈✘♣④✇❛❜❞③➛✈❛➎✪❼❾✈✘❿➬➀✳⑧➌♣➤r④➝➛♥❾➭❑❫✫❴✘③➛♣❆❜❞⑧q❿q❝✳➝➛③➢✈✘➎✑❝ ✘❖⑧➌②➤r✜③⑥♣✐✈✘❝✉➀✥❝❊♣④♣t❼⑩②t♥✑➜➞⑧❾②✜♣➤③➛❜❑✇✘➝➛❼⑩r④③➛⑧❾✈➬❽✘✇❛②④❽❖⑧➌♣④❝✉♣✉➸✔❼⑩✈❈❿➬❼⑩➝⑥♣④⑧
➜➞⑧➌②✮rt❴❛❝❆⑧❾❽qrt③➢❜❞③➛➩✉❼➣rt③➢⑧➌✈❱⑧⑩➜✟r④❴❛❝❆➡❾❝✉❴❛③➛➀✳➝➢❝❊♣ ✓●➎❾❝✉⑧❾❜❞❝✥rt②④③⑥➀✳❼❾➝✘❼⑩✈❈❿❱❜❞❝✉➀❶❴✘❼❾✈❛③⑥➀✳❼⑩➝❖➀❶❴✘❼⑩②❶❼❾➀✥r④❝✉②④③⑥♣srt③➛➀✉♣✳➭✚❷ ❜❞⑧q❿q❝✉➝❖⑧❾➜
−→
F e

➀✉❼⑩✈✪❼⑩➝⑥♣➤⑧✝➈❈❝➍⑧⑩➜✯✇✘♣➤❝❆➜➞⑧➌②➙➀✳⑧❾✈●r④②t⑧❾➝❰❿q❝✉♣④③➛➎❾✈➑❽✘✇❛②④❽❖⑧➌♣④❝✉♣✉➭ ❇❺⑧➣➟➙❝✳➡➌❝✳②❊➸❾rt❴❛❝✐➠♦✈❛⑧➣➟✤➝➛❝✉❿❛➎❾❝❣⑧❾➜✚❼✝❽❛②t❝✉➀✥③⑥♣④❝✐❼⑩✈❈❿
➟➙❝✳➝➛➝➢➲Òrt✇❛✈❛❝✉❿❩❜❞⑧q❿q❝✳➝❈❜➯❼➮♥❑✈❛⑧❾r▼➈❈❝❣❼➌♣▼➀✥②t③➢r④③⑥➀✳❼⑩➝➛➝➛♥❑③➛❜❩❽❖⑧❾②④rt❼❾✈●r✮❼❾♣✠➜➞⑧➌②✮♣➤③➛❜❑✇✘➝➛❼⑩r④③➛⑧❾✈✔➭✠❫✟➟➙⑧☎➀✥➝⑥❼❾♣t♣④③➛➀✉❼⑩➝q②t❝✉❼❾♣④⑧❾✈❈♣
❼❾②④❝❆rt❴✘❼➣r❺③➽➪✤❼❞➟➙❝✳➝➛➝➺➲➘❿q❝✉♣④③➛➎❾✈❛❝❊❿➯➜➞❝✳❝❊❿q➈✘❼➌➀❶➠✑➀✥⑧➌✈●r④②t⑧❾➝✖③⑥♣✤❝✥➵q❽❖❝✉➀➫rt❝✉❿✑r④⑧➯➎➌②t❼❾✈●r✫②t⑧❾➈✘✇✘♣srt✈❛❝✉♣t♣➙➲❬③➢✈✪r④❴✘❝☎♣➤❝✉✈✘♣➤❝✜⑧❾➜
❽❖❝✳②④➜➞⑧❾②t❜➯❼⑩✈✘➀✳❝❣③➛✈✘♣④❝✳✈✘♣④③➺rt③➢➡♦③➢rs♥●➲✚➟✜➭ ②✉➭ r✉➭✠❜❞⑧q❿q❝✳➝❰③➛✈✘❼❾➀✉➀✥✇❛②❶❼❾➀✳③➢❝❊♣✳➸♦❼⑩✈❈❿❱③➛③⑥➪✮✇✘♣④③➢✈❛➎❩⑧❾✈❛➲✹➝➛③➢✈✘❝❣❜❞❝✉❼➌♣➤✇❛②t❝✳❜❞❝✉✈➌r❶♣✮⑧➌②✉➸
❜❞⑧➌②④❝✴②④❝❊❼⑩➝➛③➛♣➤r④③⑥➀✳❼❾➝➢➝➛♥❾➸➮❝✉♣➤r④③➛❜➯❼➣rt③➢⑧➌✈✘♣✚⑧⑩➜ −→

F e
➈❈❼❾♣④❝✉❿✜⑧➌✈✝❼❆➀✥②t✇✘❿q❝➙❜❩⑧q❿q❝✉➝Ò➸❾③➢✈✝r④❴❛❝✫➀✥⑧➌✈●r④②t⑧❾➝♦➀✳❼⑩✈✝➈❈❝✫❽❛②t❝✥➜➞❝✉②t❼❾➈❛➝➛❝

rt⑧➼✇✘♣➤③➛✈❛➎❚❼➼♣④⑧❾❽❛❴❛③⑥♣➤r④③⑥➀✳❼➣rt❝✉❿❀➈❛✇qr❑✈✘⑧❾✈❛❝✳r④❴❛❝✉➝➢❝❊♣④♣➍③➛❜❞❽❈❝✉②➤➜➞❝❊➀➫r✜➜➞✇❛✈✘➀✥r④③➛⑧❾✈✘❼❾➝▼❜❞⑧q❿q❝✳➝▼⑧❾➜✴rt❴❛③⑥♣➍➜➞⑧❾②❶➀✥❝➌➭➯➹➘✈ ✿✥❁✉➅☛❃✹➸
❼❾✈➬❝❊♣srt③➢❜➯❼➣rt③➢⑧➌✈➬⑧❾➜ −→

F e
➈✘❼➌♣➤❝❊❿❚⑧❾✈➬r④❴❛❝❞❜❞❝✉❼➌♣➤✇✘②④❝✉❜❩❝✉✈●r❆⑧❾➜▼r④❴❛❝❞➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣❆➡❾❝✳➝➛⑧q➀✥③➢r④③➛❝✉♣➍❼⑩✈❈❿➬❼✑❴❛③➢➎➌❴❀➎●❼⑩③➛✈

⑧➌➈✘♣④❝✳②t➡❾❝✳②❨③⑥♣▼❽✘②④⑧➌❽❈⑧●♣➤❝❊❿✖➭✚❧♦③➛✈✘➀✳❝✤r④❴❛❝✉②④❝❣❝✥➵q③➛♣➤rt♣✴❼✜➡➣❼⑩②t③➢❝✳rs♥❑⑧❾➜✖♣④⑧❾➝➛✇qrt③➢⑧➌✈✘♣✠r④⑧☎r④❴❛③⑥♣▼❽❛②t⑧❾➈✘➝➢❝✉❜✪➸●➟➙❝✤❴❛❝✳✈✘➀✳❝✥➜➞⑧➌②➤rt❴
❼➌♣④♣④✇❛❜❞❝✫r④❴❈❼➣r −→

F e
❼⑩✈❈❿❞③➺r❶♣❨r④③➛❜❞❝✥➲➘❿q❝✳②t③➛➡➮❼⑩r④③➛➡❾❝❺❼❾②④❝❺❜❞❝❊❼❾♣④✇❛②④❝❊❿❞❼⑩✈✘❿ ✛➣⑧❾②❨❝❊♣srt③➢❜➯❼➣rt❝✉❿❞➟✤③➢r④❴❱➎➌⑧♦⑧♦❿➯❼➌➀✳➀✳✇❛②t❼➌➀✥♥➌➭

❷❣➝➺rt❴❛⑧❾✇✘➎❾❴❩r④❴❛❝✤❽✘②④❝❊♣➤❝✉✈➌r❨❽✘❼❾❽❈❝✉②✠➜➞⑧q➀✥✇✘♣④❝✉♣❨⑧➌✈❩➀✳⑧❾✈●r④②t⑧❾➝❛❼➌♣➤❽❖❝✉➀✥rt♣❨❼❾➝➢❜❞⑧➌♣➤r❨❝✥➵❛➀✥➝➛✇✘♣④③➢➡➌❝✳➝➛♥❾➸⑩➟➙❝✤❼⑩②t❝✤❼➮➟➙❼❾②④❝✴r④❴✘❼⑩r✉➸
➜➞⑧➌②✠❜❞❼❾✈♦♥❑❼⑩❽❛❽✘➝➢③⑥➀✳❼⑩r④③➛⑧❾✈✘♣✉➸➣❝✉♣➤r④③➛❜➯❼➣r④③➛⑧❾✈❩③⑥♣④♣④✇❛❝✉♣✚③➛✈❞②④❝✉➝➛❼⑩r④③➛⑧❾✈☎rt⑧❆r④❴❛❝✤❿q❝❊♣➤③➛➎❾✈❞❼⑩✈✘❿❑✇✘♣④❝➙⑧❾➜❖❼➌❿q❝✉⑤●✇✘❼⑩r④❝✤♣➤❝✉✈✘♣④⑧❾②❶♣
❼❾②④❝➍➀✥⑧➌❜❞❽❛➝➢❝✉❜❞❝✳✈●rt❼❾②④♥➑❼❾✈✘❿✪➀✥②t③➺rt③➛➀✉❼⑩➝➛➝➢♥❱③➛❜❞❽❈⑧➌②➤r❶❼⑩✈●r✉➭

❷❣❽❛❽❛➝➛♥●③➛✈❛➎✪r④❴✘❝✝➜➞✇✘✈✘❿❛❼⑩❜❞❝✉✈➌r❶❼⑩➝✠rt❴❛❝✳⑧➌②④❝✉❜ ⑧⑩➜➙❤❚❝✉➀❶❴✘❼❾✈❛③➛➀✉♣✝➻Ò❡❺❝✉➟✫r④⑧❾✈ ✓ ♣✜♣④❝✉➀✳⑧❾✈✘❿➬➝➛❼➮➟❣➪❣③➢✈❀r④❴✘❝❞➀✳⑧♦⑧❾②❶❿q③➺➲
✈❈❼➣r④❝❊♣

x
♥♦③➢❝✉➝➛❿❛♣

mẍ = −TRe3 + Fe(ẋ, ẍ, R, ω, ω̇, t)
➻✍❁❊➪

➟✤③➢r④❴
Fe

rt❴❛❝✑➀✳⑧❾❜❞❽❈⑧➌✈❛❝✳✈●r❶♣☎⑧⑩➜ −→
F e

③➛✈Ór④❴❛❝✑③➢✈❛❝✉②➤rt③➛❼❾➝▼➜➞②❶❼⑩❜❞❝❾➭❚❻➙♥✣❝✥➵q❽❛②t❝✉♣t♣➤③➛✈❛➎➼rt❴❛❝✑❿q♥♦✈✘❼❾❜❞③➛➀✉♣☎③➛✈☛r④❴❛❝
➈❖⑧q❿q♥●➲Ò➳✘➵♦❝❊❿❍➜➞②❶❼⑩❜❞❝ B ➸✔❼⑩✈❈❿❚➈♦♥❍✇✘♣④③➢✈❛➎☞✤▼✇❛➝➛❝✳② ✓ ♣❆rt❴❛❝✳⑧➌②④❝✉❜ ⑧⑩➜✴❼❾✈❛➎❾✇❛➝⑥❼⑩②❆❜❞⑧❾❜❞❝✳✈●rt✇❛❜➼➸✖⑧❾✈❛❝❩⑧❾➈qr❶❼⑩③➛✈✘♣✐r④❴❛❝
➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎✝❝❊⑤●✇✘❼➣rt③➢⑧➌✈✘♣

(Σ) :















(Σ1) :





ẋ
mv̇

Ṙ



 =





Rv
−mS(ω)v − Te3 + RTFe(ẋ, ẍ, R, ω, ω̇, t)

RS(ω)





(Σ2) : Jω̇ = −S(ω)Jω + Γ + Γe(ẋ, ẍ, R, ω, ω̇, t)

➻Ò➉❾➪

➟✤❴✘❝✳②t❝
Γ = (Γ1, Γ2, Γ3)

T ③⑥♣▼rt❴❛❝✐➡➌❝✉➀✥r④⑧❾②✴⑧⑩➜✖rt⑧❾②❶⑤➌✇✘❝❣③➛✈❛❽❛✇qr❶♣✴❼❾✈✘❿
Γe

②④❝✉❽❛②④❝❊♣➤❝✉✈●rt♣❨rt❴❛❝❣❝✳➵♦r④❝✳②t✈✘❼❾➝✘rt⑧❾②❶⑤➌✇✘❝
③➛✈✘❿q✇❈➀✥❝✉❿❀➈♦♥➼r④❴❛❝❞❝✳➵●rt❝✳②t✈✘❼⑩➝✚➜➞⑧➌②t➀✳❝✉♣✉➭

Γe
③➛♣✜❼ ✚s❽❈❼⑩②❶❼❾♣④③➺rt③➛➀✥✜☎r④⑧❾②❶⑤●✇❛❝❩③➢✈❀r④❴❛❝➯♣④❝✳✈✘♣④❝✝r④❴✘❼⑩r➍③➢r✜③➛♣❆✈❛⑧❾r✜❝✉❼❾♣④③➛➝➢♥

➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✉❿✖➭✣➆❛⑧❾②✝r④❴✘③➛♣❩②t❝✉❼❾♣④⑧❾✈✟➸✚③➢rt♣❞➀✳⑧❾❜❞❽❈⑧➌✈❛❝✳✈●r❶♣❑♣④❴❛⑧❾✇❛➝⑥❿➨❼⑩r❩❼❾➝➢➝✴r④③➛❜❞❝✉♣❩➈❈❝✪➠❾❝✉❽qr❩♣④❜➯❼⑩➝➛➝➢❝✉②❑rt❴✘❼⑩✈➨r④❴❛❝
❜➯❼⑩➵♦③➛❜➯❼⑩➝❰❼⑩❜❞❽❛➝➛③➺rt✇✘❿q❝❊♣✮⑧❾➜✔r④❴❛❝➍➀✥⑧➌②④②t❝✉♣④❽❖⑧❾✈✘❿q③➛✈❛➎☎➀✳⑧❾❜❞❽❈⑧➌✈❛❝✳✈●r❶♣✮⑧❾➜✖r④❴❛❝➍➀✥⑧➌✈➌rt②④⑧➌➝❛rt⑧❾②❶⑤➌✇✘❝

Γ
➭❨❷✤➀✉➀✥⑧❾②❶❿q③➛✈❛➎❾➝➛♥❾➸

❜❞⑧●♣sr✮➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✮❼⑩②t❝❺♣➤❴✘❼❾❽❈❝❊❿➯♣➤⑧➍rt❴✘❼➣r✮r④❴❛❝✐②④❝❊♣➤✇❛➝➢rt❼❾✈●r❨r④⑧❾②❶⑤●✇❛❝✤⑧⑩➜✖❝✳➵●rt❝✳②t✈✘❼⑩➝❛➜➞⑧❾②❶➀✥❝✉♣✮❼❾➀➫rt③➢✈✘➎✜⑧❾✈❞r④❴✘❝❺➡❾❝✉❴❛③➛➀✳➝➢❝
③⑥♣➍♣➤❜➯❼❾➝➢➝✤➻ ❼⑩r✜➝➢❝❊❼❾♣➤r➍❼❾②④⑧➌✇❛✈✘❿❍✈❛⑧➌❜❞③➢✈✘❼❾➝❨➀✥⑧❾✈❈❿q③➺rt③➢⑧➌✈✘♣❆⑧⑩➜✮⑧➌❽❈❝✉②t❼⑩r④③➛⑧❾✈❈➪✥➭❑❡❺⑧❾r④❝❩❴❛⑧➣➟➙❝✳➡❾❝✉②❺rt❴✘❼➣r➍r④❴✘③➛♣❆rt⑧❾②❶⑤➌✇✘❝
➀✉❼⑩✈➨❼❾➝➛♣④⑧➬➈❖❝✪✇✘♣➤❝❊❿Ór④⑧✣❽❛②t⑧➣➡♦③➛❿q❝❱r④❴❛❝➼➡❾❝✉❴❛③⑥➀✥➝➛❝➑➟✤③➢r④❴➦❿❛❝✉♣④③➢②t❝✉❿☛❽✘②④⑧➌❽❈❝✉②➤rt③➢❝❊♣❑③➛✈➴rt❴❛❝✪❼❾➈✘♣④❝✳✈✘➀✳❝➑⑧⑩➜❣➀✳⑧❾✈●r④②t⑧❾➝
❼➌➀➫rt③➢⑧➌✈❀➻➞➟✤❴✘❝✳✈

Γ = 0
➪✥➭▼➆❛⑧❾②✫③➛✈✘♣➤rt❼⑩✈❈➀✥❝❾➸●rt❴❛❝➍➟✴❝❊❼➣r④❴✘❝✳②✫❴❛❝✳➝➛❜ rt✇❛✈❛③➛✈❛➎✝⑧❾➜✚❼❩♣④❼❾③➢➝➛➈❖⑧➌❼➣r✫③⑥♣➙❿❛③➢②t❝✉➀✥r④➝➛♥❱②④❝✉➝➛❼⑩r④❝❊❿

rt⑧❑rt❴❛③⑥♣✤③➛♣t♣④✇❛❝❾➭❨❷❺✈❈❿✑♣④⑧✝③⑥♣✤❼⑩➝⑥♣④⑧❑rt❴❛❝➍❽❛②④⑧➌❽❈❝✉✈✘♣④③➺rs♥➯⑧❾➜✚❼✝❽❛➝➛❼❾✈❛❝❆r④⑧➯❼⑩➝➛③➛➎❾✈➑③➢rt♣✫➝➛⑧❾✈✘➎❾③➢r④✇✘❿q③➛✈✘❼❾➝❰❼⑩➵q③➛♣➙➟✤③➢r④❴✪r④❴❛❝
❼❾❽❛❽✘❼❾②④❝✉✈➌r☎➟✤③➛✈✘❿☛❿q③➛②t❝✉➀➫rt③➢⑧➌✈ò➻ ♣➤rt❼❾➈❛➝➢❝✑♣sr❶❼➣r④❝➑➝➢⑧➌✈❛➎❾③➢r④✇✘❿❛③➢✈✘❼❾➝▼❜❞⑧q❿q❝❊➪✥➸✚⑧➌②☎rt⑧❚②④❝❊❿q✇✘➀✳❝❞r④❴❛❝✑②④⑧➌➝➢➝✮❼❾✈❛➎❾➝➛❝❱❼⑩✈❈❿
❜➯❼❾③➢✈●rt❼❾③➢✈➼❼❩❴❛⑧❾②t③➛➩✳⑧❾✈●r❶❼⑩➝✖♣srt②t❼❾③➢➎➌❴●r✴➧✘③➛➎❾❴●r❑➻Ò❼❩♣t❼➣➜➞❝✳rs♥➯➜➞❝✉❼⑩r④✇❛②t❝❆➜➞⑧❾②❺❼❞✈♦✇❛❜✝➈❈❝✉②✤⑧⑩➜✚➀✳②④✇✘③➛♣④❝➍❽❛➝➛❼❾✈❛❝✉♣❶➪➫➭

❷✏②❶❼⑩❽✘③➛❿✪③➛✈✘♣➤❽❖❝✉➀✥r④③➛⑧❾✈❍⑧❾➜✯rt❴❛❝❑♣④♥♦♣➤r④❝✉❜ ➻✹➉❾➪✫♣④❴❛⑧➣➟❺♣✫r④❴❈❼➣r✤r④❴✘❝❑❿q♥♦✈✘❼⑩❜❞③⑥➀✳❼❾➝✟♣➤✇✘➈✘♣➤♥q♣➤r④❝✉❜
(Σ2)
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❼⑩✈✘❿ |Γe|
③⑥♣➯♣➤❜➯❼⑩➝➛➝❺❼⑩✈❈❿➦➀✉❼⑩✈➨➈❖❝❍✈❛❝✉➎❾➝➛❝✉➀➫rt❝✉❿✖➭➦➹➘✈ r④❴❛③⑥♣➯➀✳❼➌♣➤❝➌➸▼⑧❾✈❛❝

❜➯❼➮♥✑➡●③➛❝✳➟
ω

❼❾♣❺❼❾✈❍③➢✈●rt❝✳②t❜❩❝❊❿q③⑥❼⑩②t♥➑➀✥⑧➌✈➌rt②④⑧➌➝✔③➛✈❛❽❛✇qr❊➭➙➹➘✈❍❽✘②t❼➌➀➫r④③⑥➀✥❝➌➸❛rt❴❛③➛♣✐➀✥⑧➌②④②t❝✉♣④❽❈⑧➌✈✘❿❛♣➙rt⑧❞r④❴❛❝❑➀✳➝➛❼➌♣④♣④③⑥➀✳❼⑩➝
❿❛❝✉➀✥⑧➌✇❛❽❛➝➛❝✉❿❍➀✳⑧❾✈●r④②t⑧❾➝✚❼⑩②❶➀❶❴❛③➺rt❝✉➀✥r④✇❛②t❝✜➈❈❝✳rs➟✴❝✉❝✳✈❚③➛✈❛✈❛❝✉②✐❼❾✈✘❿❍⑧❾✇❛r④❝✳②✐➝➢⑧♦⑧➌❽✘♣✳➭✐❫✫❴❛❝❑③➛✈❛✈❛❝✉②✐➀✥⑧➌✈●r④②t⑧❾➝✟➝➛⑧♦⑧❾❽❍❽❛②t⑧⑩➲
➡♦③⑥❿q❝✉♣✐❴❛③➛➎❾❴❚➎●❼⑩③➛✈❚♣sr❶❼⑩➈❛③➛➝➛③➢➩❊❼➣r④③➛⑧❾✈❍⑧❾➜❨r④❴❛❝❩➡❾❝✉❴❛③⑥➀✥➝➛❝✩✓ ♣❣❼⑩✈✘➎❾✇❛➝⑥❼⑩②✐➡❾❝✳➝➛⑧q➀✥③➢rs♥✑➈❈❼❾♣④❝✉❿➼⑧❾✈❀❿q③➢②t❝✉➀✥r✐❜❞❝✉❼➌♣➤✇✘②④❝✉❜❩❝✉✈●r
⑧❾➜✫r④❴❛❝➑❼❾✈❛➎❾✇✘➝➛❼❾②☎➡❾❝✉➝➢⑧q➀✥③➢rs♥❚➜➞②t⑧❾❜❦r④❴❛❝✑➹➘✈❛❝✳②④r④③⑥❼⑩➝✴❤❍❝✉❼➌♣➤✇❛②t❝✳❜❞❝✉✈➌r❑❢❣✈❛③➢r✉➭➬❫✫❴❛❝➑⑧❾✇qrt❝✳②❑➀✳⑧❾✈●r④②t⑧❾➝▼➝➛⑧♦⑧❾❽Ó✇✘♣④❝✉♣
❽❖⑧➌♣④❝➑❜❞❝❊❼❾♣④✇❛②④❝✉❜❞❝✳✈●r✝❼⑩➝➛⑧❾✈✘➎❚➟✤③➺rt❴➴❝✉♣➤r④③➛❜➯❼➣rt③➢⑧➌✈➴⑧❾②✝❜❩❝❊❼❾♣④✇❛②t❝✳❜❞❝✳✈●r✝⑧❾➜✤r④❴❛❝✑➝➢③➛✈❛❝❊❼⑩②❩➡❾❝✳➝➛⑧q➀✥③➢rs♥✣❼➌♣❑♣④❝✳✈✘♣④⑧❾②
③➛✈❛❽❛✇❛rt♣✉➸❖❼❾✈✘❿✪r④❴❛❝❩❼⑩✈❛➎➌✇❛➝⑥❼⑩②❺➡➌❝✳➝➛⑧♦➀✳③➺rs♥➼♣④❝✥r❣❽❖⑧❾③➛✈●r❆❼⑩✈❈❿✪r④❴❛②t✇✘♣➤r❣③➢✈●rt❝✳✈✘♣④③➺rs♥❍❼➌♣❺➀✥⑧➌✈➌rt②④⑧➌➝✔③➛✈❛❽❛✇qr❶♣✳➭❣➆✘⑧❾②✐❜❩⑧●♣sr
❼❾❽❛❽❛➝➛③➛➀✉❼➣rt③➢⑧➌✈✘♣✳➸❾r④❴❛❝✐r④③➛❜❞❝✥➲➘♣④➀✉❼⑩➝➛❝❣♣④❝✳❽✘❼❾②t❼⑩r④③➛⑧❾✈❞➈❈❝✳rs➟✴❝✉❝✳✈➯rt❴❛❝✐rs➟✴⑧☎➝➛⑧♦⑧❾❽✘♣✮③➛♣➙♣④✇q➷❱➀✥③➛❝✳✈●r✮rt⑧❑❝✳✈❈♣➤✇❛②t❝✤rt❴✘❼➣r➙r④❴❛❝
③➛✈●r④❝✉②t❼➌➀➫r④③➛⑧❾✈❱r④❝✳②t❜➯♣✤➀✳❼❾✈➑➈❖❝❆③➛➎❾✈✘⑧❾②t❝✉❿❱③➛✈❱rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝❰❿q❝✉♣④③➢➎➌✈✔➭❨❫✫❴❛❝✳②t❝✥➜➞⑧➌②④❝➌➸♦③➢✈➑r④❴❛❝✜♣④❝✉⑤●✇❛❝✳➝✖➟➙❝➍➀✥⑧❾✈❈♣➤③⑥❿q❝✳②
T

❼⑩✈✘❿
ω

❼❾♣➙r④❴✘❝☎➀✥⑧❾✈●rt②④⑧➌➝❖③➛✈❛❽❛✇❛rt♣✉➸✘❼⑩✈✘❿✪➟➙❝❆➜➞⑧♦➀✳✇✘♣✤⑧➌✈➑rt❴❛❝☎➀✥⑧➌✈➌rt②④⑧➌➝❰⑧⑩➜✚r④❴❛❝✜♣④✇❛➈✘♣④♥♦♣➤r④❝✉❜
(Σ1)

➭

✟✡✠✁� ✂ ✠ ✠☎✄✑✌✝✆✦✏✓✕☞✍✙✘✑✠

❫✯⑧❑♣④③➢❜❞❽❛➝➛③➢➜➞♥❩➈❖⑧⑩rt❴❞r④❴❛❝❆➀✥⑧➌✈➌rt②④⑧➌➝✘❿q❝❊♣➤③➛➎❾✈❱❼❾✈✘❿❩r④❴❛❝❆❼❾♣t♣➤⑧q➀✳③➛❼⑩r④❝✉❿❞❼❾✈✘❼⑩➝➛♥q♣➤❝❊♣✳➸⑩➟➙❝❺❜➯❼⑩➠➌❝❣♣④⑧❾❜❞❝❣❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✘♣
❿❛③➛♣t➀✥✇✘♣t♣④❝✉❿✑❴❛❝✳②t❝✉❼⑩➜➽r④❝✳②❊➭

➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✍✌
Fe

✦✯✢✻✛✝✢✣✄✒✦❋✖ ✁☛✄✝✡✁� ✁☛✄ ✆ ✑ ✢ ✂☛✢✜✑✺✵✶✮✣✡✥✢✏✎ ✖ ✡ ✵✤✄✪✢✱✭☎✞ ✂☛✢✣✡✥✁✽✮✬✵✤✆ �
ẋ

✭☛✄✒✦ ✆ ✑ ✢❈✵✤✄✒✦✫✢✰✛ ✢✬✄✪✦✯✢✣✄✴✆✂✆✟✵ ☛ ✢
✂☛✭☛✞✕✵✶✭ ✂✣✡✥✢

t ✑
� ✁☛✞✜✢✜✁ ✂❋✢✬✞✠✞ ✵✤✆❉✵ ✖ ✮✜✁☎✄✝✆✟✵✤✄✝✔✝✁☎✔✓✖✱✡✁� ✦☛✵ ✒ ✢✬✞✠✢✬✄✝✆✟✵✶✭ ✂✬✡✷✢✔✓

✑
✞
✑
✆
✑

✆ ✑ ✢✣✖✬✢ ✂☛✭☛✞✕✵✶✭ ✂✬✡✷✢✣✖✠✞✩✭☛✄✒✦❈✆✤✑✝✢✒✌✱✔✺✄✪✮✬✆✘✵✶✁☎✄ ✖

t 7−→ Fe(ẋ, t)
✞
t 7−→ ∂Fe

∂ẋ (ẋ, t)
✞☞✭☎✄✪✦

t 7−→ ∂Fe

∂t (ẋ, t)
✭☎✞✠✢✑✂✱✁☎✔✺✄✪✦✫✢✱✦ ✔✺✄✴✵ ✌✣✁☛✞✥☛ ✡☎�✕✓

✑
✞
✑
✆
✑ ẋ

✵✤✄ ✮✱✁ ☛ ✛✝✭✫✮✬✆
✖✬✢✬✆✶✖

✑
❫✫❴✘❝❣✈❛⑧➌✈q➲❬❿❛❝✳❽❖❝✳✈✘❿q❝✉✈✘➀✥❝✐⑧⑩➜ −→

F e
⑧❾✈❞rt❴❛❝❆➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✴❼➣r➤rt③➺rt✇✘❿q❝❆③➛♣✴❽❛❴♦♥q♣➤③⑥➀✳❼❾➝➢➝➛♥✐⑨s✇✘♣srt③➺➳❈❝✉❿❱➟✤❴✘❝✳✈➯rt❴❛❝❆❼❾❝✳②t⑧q❿q♥●➲

✈❈❼⑩❜❞③➛➀✝➻ ❼❾✈✘❿ ✛➮⑧➌②✴❴♦♥q❿q②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀✉➪✠➜➞⑧➌②t➀✳❝✉♣➙❿q⑧❑✈✘⑧⑩r✤❿q❝✳❽❖❝✳✈✘❿✑⑧❾✈❱r④❴❛❝➍➡❾❝✉❴❛③⑥➀✥➝➛❝✩✓ ♣✮⑧➌②④③➛❝✳✈●rt❼⑩r④③➛⑧❾✈✔➸♦❼☎❽✘②④⑧➌❽❈❝✉②➤rs♥
➟✤❴✘③➛➀❶❴➼❿q❝✳❽❖❝✳✈❈❿❛♣✫❝✉♣t♣➤❝✉✈●r④③⑥❼⑩➝➛➝➢♥➯⑧➌✈➑rt❴❛❝✜➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣✫♣④❴✘❼⑩❽❖❝❾➭❨❫✫❴❛③⑥♣✤❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✪③➛♣✤➀✳➝➢❝❊❼⑩②t➝➢♥➯➡♦③➛⑧❾➝⑥❼➣rt❝✉❿❱③➛✈✪r④❴❛❝
➀✉❼❾♣④❝❱⑧⑩➜❣❼❾③➢②t❽❛➝⑥❼⑩✈❛❝❊♣☎➟✤❴❛③⑥➀❶❴➦❼❾②④❝✑♣➤✇❛➈❛⑨s❝✉➀➫rt❝✉❿Órt⑧❀➝➛③➢➜➽r✝➜➞⑧➌②t➀✳❝✉♣☎➟✤❴✘⑧➌♣④❝➑③➛✈➌rt❝✳✈✘♣④③➢r④③➛❝✉♣❩❼⑩②t❝❱➡❾❝✉②④♥Ó♣➤❝✉✈✘♣④③➺rt③➢➡➌❝❱r④⑧
❽✘③➺r❶➀❶❴❚❼⑩✈❛➎➌➝➢❝❊♣✳➸❛➈✘✇qr❣③➢r❣➈❈❝✳r➤rt❝✳②❆❴❛⑧❾➝⑥❿❛♣✤③➛✈➼r④❴❛❝✝➀✳❼❾♣④❝✜⑧⑩➜❨➾❆❫❣❹❆➚Ó➡❾❝✳❴✘③➛➀✳➝➢❝❊♣✳➸❖❼❾♣✤❝✳➵q❼❾❜❞❽❛➝➢③➢➳✘❝❊❿➼➈●♥➑r④❴❛❝☎✚✍❇❣⑧➣➡➌➲
❝✉② ✤✮♥❾❝✥✜❣⑧❾➜✯❻➙❝✳②④r④③➛✈➑❫✯❝✉➀❶❴❛✈❛⑧➌➝➢⑧➌➎❾③➛❝✉♣ ✜❆②④⑧➌✇❛❽✔➭❨❷❣♣✴➜➞⑧❾②➙rt❴❛❝✐✈✘⑧❾✈q➲➘❿q❝✳❽❖❝✳✈❈❿q❝✳✈✘➀✳❝✐✇✘❽❈⑧➌✈❱r④❴✘❝➍❼❾✈❛➎❾✇✘➝➛❼❾②✮➡❾❝✉➝➢⑧q➀✳③➺rs♥
ω
➸✠rt❴❛❝➼❼❾♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈➨③⑥♣❑➈❖❝✥r④r④❝✉②✐⑨s✇❈♣srt③➺➳✘❝❊❿➨➟✤❴✘❝✳✈➨③➽➪☎r④❴❛❝✪❝✥➵♦r④❝✉②④✈❈❼⑩➝✴➜➞⑧❾②❶➀✥❝✉♣❩❼⑩❽✘❽❛➝➢♥☛❼⑩r❩❽❖⑧❾③➛✈●rt♣❩➀✥➝➛⑧➌♣④❝❱r④⑧

rt❴❛❝❑➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣❣➀✳❝✳✈●r④❝✉②❣⑧❾➜▼❜❞❼➌♣④♣✉➸✘③➛③➽➪❺❜❞⑧⑩rt③➢⑧➌✈❍②④❝❊❼❾➀✥r④③➛⑧❾✈➼➜➞⑧❾②❶➀✥❝❊♣✤②t❝✉♣④✇❛➝➺rt③➢✈✘➎❱➜➞②t⑧❾❜ r④❴❛❝✝➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣❣②④⑧❾rt❼➣rt③➢⑧➌✈
➀✉❼⑩✈✣➈❈❝➯✈✘❝✳➎❾➝➛❝✉➀✥r④❝❊❿❀➟✤❴✘❝✳✈☛➀✥⑧➌❜❩❽❈❼⑩②t❝✉❿❍rt⑧➼r④❴❛⑧●♣➤❝❞❽❛②t⑧q❿q✇✘➀✳❝✉❿✣➈♦♥❍r④②❶❼⑩✈✘♣④➝⑥❼➣r④③➛⑧❾✈❈❼⑩➝✠❜❞⑧⑩r④③➛⑧❾✈✟➭❱➆✯③➛✈✘❼❾➝➢➝➛♥❾➸✯r④❴❛❝
✈✘⑧❾✈q➲➘❿q❝✳❽❖❝✳✈❈❿q❝✳✈✘➀✳❝❑⑧➌✈❍r④❴❛❝❞❼❾➀✉➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈➼➡➣❼⑩②t③➛❼❾➈❛➝➢❝❊♣

ẍ
❼⑩✈✘❿

ω̇
③➛♣✮⑨s✇✘♣➤r④③➢➳✘❝✉❿➬➟✤❴❛❝✳✈✣❼❾❿❛❿q❝❊❿♦➲❬❜❞❼➌♣④♣❣❝ ✘❰❝✉➀✥rt♣

➀✉❼⑩✈❍➈❖❝☎✈❛❝✉➎❾➝➛❝✉➀➫rt❝✉❿✖➭❺❫✫❴✘❝✉♣④❝☎❝ ✘❰❝✉➀✥rt♣✉➸✘➟✤❴❛③⑥➀❶❴➬❿q❝✉❽❈❝✉✈✘❿➼❝✉♣t♣➤❝✉✈●r④③⑥❼⑩➝➛➝➢♥✪⑧❾✈➼rt❴❛❝❑❼⑩❜✝➈❛③➛❝✳✈●r❺➧✘✇❛③⑥❿❚➀❶❴✘❼❾②t❼➌➀➫rt❝✳②t③➛♣➤➲
rt③➛➀✉♣✳➸❛➀✉❼⑩✈✪➈❈❝➍③➛➎❾✈❛⑧➌②④❝❊❿❱➟✤❴❛❝✉✈➑rt❴❛❝✜❿q❝✳✈❈♣➤③➢rs♥❱⑧⑩➜✯r④❴❛❝➍➈❖⑧q❿q♥❱③⑥♣✫❜❑✇✘➀❶❴✪❜❞⑧❾②t❝✐③➛❜❞❽❈⑧➌②➤r❶❼⑩✈●r✴rt❴✘❼⑩✈✑r④❴❈❼➣r❺⑧⑩➜✯r④❴❛❝
❝✉✈♦➡●③➛②t⑧❾✈❛❜❞❝✳✈●r❊➭✚❫✫❴❛❝➍❝✳➵q❼❾❜❞❽❛➝➢❝❆⑧⑩➜✠❼✝❿❛❝✳✈✘♣④❝❆♣④❽❛❴❛❝✉②④③⑥➀✳❼❾➝❰➈❈⑧q❿q♥❱➟✤❴✘⑧➌♣④❝❆➀✳❝✳✈●r④❝✉②✫➀✳⑧❾③➛✈✘➀✥③⑥❿q❝❊♣✴➟✤③➢r④❴✪③➢rt♣✤➀✥❝✉✈●r④❝✳②
⑧❾➜✯❜➯❼❾♣t♣✫➀✳❼❾✈➑➈❖❝✜✇✘♣➤❝❊❿❱rt⑧❩➀✳⑧❾✈✘➀✳②④❝✳r④③➛➩✳❝➍❼❩❽❛❴♦♥♦♣④③⑥➀✳❼⑩➝✖♣④③➺rt✇✘❼➣rt③➢⑧➌✈➑➜➞⑧➌②✫➟✤❴❛③➛➀❶❴➼❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈ ❁✐❴✘⑧❾➝⑥❿❛♣✫➟✤③➺rt❴✪❼
➎➌⑧♦⑧♦❿✪❼⑩❽✘❽❛②④⑧➮➵q③➛❜➯❼➣r④③➛⑧❾✈✟➭

❫✫❴❛❝✮➜➞⑧❾➝➛➝➢⑧➣➟✤③➛✈❛➎✫rs➟➙⑧❣➀✥⑧➌❜❞❽❛➝➢❝✉❜❞❝✳✈●rt❼❾②④♥❆❼❾♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈✘♣✟❼❾②④❝❨❜✝✇✘➀❶❴✜➝➛❝✉♣t♣✔②t❝✉♣➤r④②t③➛➀✥r④③➛➡❾❝❨rt❴✘❼⑩✈➍rt❴❛❝✮❽❛②t❝✳➡♦③➛⑧❾✇✘♣
⑧➌✈❛❝❾➭ ❇❣⑧➣➟✴❝✉➡❾❝✉②✉➸✠rt❴❛❝✳♥➨❼❾②④❝✑➡❾❝✉②④♥Ó③➛❜❩❽❖⑧❾②④rt❼❾✈●r✝➜➞⑧➌②✝rt❴❛❝➼➀✥⑧❾✈●rt②④⑧➌➝➙❿q❝❊♣➤③➛➎❾✈ ❼⑩✈✘❿➦❼⑩✈✘❼❾➝➢♥q♣④❝✉♣✝❽❛②t❝✉♣④❝✳✈●r④❝❊❿➴③➛✈
❧q❝✉➀➫rt③➢⑧➌✈✑➃❈➭

➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✗✖ ✎✒✑ ✢✬✞✠✢ ✢✙✘✯✵ ✖✕✆❀✆✚✓❀✁ ✞✜✢✜✭☎✡ ✄✝✔✗☛ ✂✱✢✣✞✱✖
c1 ≥ 0, c2 > 0

✖✕✔✝✮✱✑ ✆ ✑ ✭☛✆

|Fe(ẋ, t)| ≤ c1 + c2|ẋ|2 , ∀(ẋ, t) ∈ R
2 × R
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❁❊➊ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✁� ✎✒✑ ✢✬✞✠✢ ✢✙✘✯✵ ✖✕✆❀✆✚✓❀✁ ✞✜✢✜✭☎✡ ✄✝✔✗☛ ✂✱✢✣✞✱✖
c3 ≥ 0, c4 > 0

✖✕✔✝✮✱✑ ✆ ✑ ✭☛✆

ẋTFe(ẋ, t) ≤ c3|ẋ| − c4|ẋ|3 , ∀(ẋ, t) ∈ R
2 × R

➻ ➃●➪
❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈➬➉❩③➢✈✘❿❛③➛➀✉❼➣r④❝❊♣✤rt❴✘❼➣r❺rt❴❛❝☎③➛✈●r④❝✳✈❈♣➤③➢rs♥✑⑧❾➜ −→

F e
➀✳❼❾✈❛✈❛⑧❾r❣➎❾②t⑧➣➟ò➜ ❼➌♣srt❝✳②✤rt❴✘❼⑩✈➼rt❴❛❝❑♣t⑤➌✇❈❼⑩②t❝✜⑧⑩➜✠r④❴❛❝

③➛✈●r④❝✉✈✘♣➤③➢rs♥ ⑧⑩➜➍r④❴❛❝➬➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣➑➡❾❝✳➝➛⑧q➀✥③➢rs♥➨➡➌❝✉➀➫rt⑧❾②❊➭❘❫✫❴✘③➛♣➑③➛♣✑➀✥⑧❾✈❈♣➤③⑥♣srt❝✳✈●r❱➟✤③➢r④❴ ❼❾➝➢➝❆➀✥⑧❾❜❞❜❞⑧❾✈➥❜❞⑧q❿q❝✳➝⑥♣❱⑧❾➜
❼❾❝✳②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀☎❼⑩✈✘❿❚❴●♥q❿q②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀☎❿q②❶❼⑩➎➬➻Ò❼⑩✈✘❿❚➝➢③➢➜➽r❶➪❺➜➞⑧❾②❶➀✥❝❊♣✳➭❆❫✫❴❛❝❩➀✳⑧❾✈✘♣➤rt❼❾✈●r

c1
❼⑩➝➛➝➢⑧➣➟❺♣❣⑧❾✈❛❝❑r④⑧❱r❶❼⑩➠➌❝

rt❴❛❝❱➜➞⑧➌②t➀✳❝➑⑧❾➜❺➎❾②❶❼➮➡●③➢rs♥➬③➛✈●r④⑧✣❼❾➀✳➀✳⑧❾✇❛✈●r❊➸✚➟✤❴✘❝✳✈➴③➢r❩③⑥♣❩❼❾➀➫rt③➢➡➌❝❾➸❨❼❾♣✝➟➙❝✳➝➛➝➙❼➌♣✜r④❴✘❝✪❼➌➀➫r④③➛⑧❾✈☛⑧❾➜❣❽❖❝✳②④r④✇❛②t➈✘❼➣rt③➢⑧➌✈
➜➞⑧➌②t➀✳❝✉♣❑❽❛②④⑧q❿q✇❈➀✥❝✉❿Ó➈♦♥Ó➟✤③➛✈✘❿☛⑧❾②❩♣➤❝❊❼➣➲➘➀✥✇❛②t②t❝✳✈●r✉➭❍❷❣♣❑➜➞⑧❾②❞❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈➨➅❛➸❨③➺r❩❝✉♣t♣➤❝✉✈➌rt③➛❼❾➝➢➝➛♥Ó❼❾➀✳➀✳⑧❾✇❛✈●r❶♣➍➜➞⑧❾②
rt❴❛❝ ✚④❿q③⑥♣④♣④③➛❽✘❼➣rt③➢➡♦③➢rs♥ ✜➫➸❾⑧➌② ✚➤❽✘❼❾♣t♣④③➢➡♦③➢rs♥ ✜➫➸❾❽✘②④⑧➌❽❈❝✉②➤rs♥❞❼❾♣t♣➤⑧q➀✳③➛❼⑩r④❝✉❿❞➟✤③➢r④❴✑❿q②t❼❾➎✜➜➞⑧❾②❶➀✥❝❊♣✳➭✚➹➘✈❱❽✘❼❾②➤rt③➛➀✳✇❛➝⑥❼⑩②❊➸❾③➢r➙♣t❼➮♥♦♣
rt❴✘❼➣r✠➜➞⑧➌②✚➝⑥❼⑩②t➎❾❝➙➡❾❝✉➝➢⑧q➀✳③➺rt③➢❝❊♣✳➸➮rt❴❛❝✤✈❛❝✳➎●❼➣rt③➢➡➌❝✴➟➙⑧❾②t➠➍⑧⑩➜❖❿❛②t❼❾➎❣➜➞⑧➌②t➀✳❝✉♣✚③➢✈❈➀✥②t❝✉❼❾♣④❝✉♣✯➝➛③➢➠➌❝✴rt❴❛❝✤➀✥✇❛➈❖❝✤⑧⑩➜❈r④❴❛❝✫➈❖⑧q❿q♥ ✓ ♣
❼❾❽❛❽✘❼❾②④❝✉✈➌r✫➡❾❝✉➝➢⑧q➀✳③➺rs♥➑❼❾✈✘❿✑➈❈❝❊➀✥⑧❾❜❞❝❊♣✫❽❛②④❝❊❿q⑧❾❜❞③➛✈✘❼⑩✈●r❊➭

➆✚③➛✈✘❼⑩➝➛➝➢♥➌➸qr④⑧➯❼➮➡➌⑧❾③⑥❿➯✈❛⑧❾✈❛➲✹❝❊♣④♣④❝✳✈●r④③⑥❼⑩➝✖➀✳⑧❾❜❞❽❛➝➛③➛➀✉❼➣r④③➛⑧❾✈❈♣✴③➛✈✑r④❴❛❝☎❼❾✈✘❼⑩➝➛♥q♣➤❝❊♣✳➸q❼❩➝➛❼➌♣sr✤❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✪③➛♣✫❜➯❼➌❿q❝✫✼
③➢r❺③⑥♣✤➀✥➝➛❝✉❼⑩②t➝➛♥❱➝➢③➢r➤rt➝➢❝✜②t❝✉♣➤r④②t③⑥➀➫r④③➛➡❾❝✐➜➞②t⑧❾❜➱❼❾✈➼❼❾❽❛❽❛➝➛③➛➀✉❼➣rt③➢⑧➌✈➑➡♦③➢❝✉➟✤❽❈⑧➌③➢✈●r❊➭
➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✄✂ ✎✒✑ ✢ ✞✜✢✶✌✣✢✬✞✠✢✬✄✪✮✱✢✞✂❋✢✬✡✷✁❄✮✣✵✤✆ � −→v r

✵ ✖ ✂✱✁☛✔✺✄✒✦✫✢✱✦ ✵✤✄ ✄✪✁☛✞✥☛ ✂ � ✭✳✮✱✁☛✄✝✖✕✆✻✭☎✄✝✆
v̄r

✞ ✭☛✄✒✦ ✵✤✆✘✖
☎❀✞✱✖✕✆ ✭☛✄✒✦ ✖✬✢✱✮✱✁☛✄✪✦ ✁☛✞✠✦✯✢✣✞ ✆✟✵ ☛ ✢✣✗✍✦✯✢✣✞✕✵✄✂☛✭☛✆✟✵✄✂❋✢✣✖ d

dt
−→v r

✭☛✄✒✦ d2

dt2
−→v r

✭☛✞✠✢ ✓❀✢✣✡✤✡ ✗✍✦✫✢✆☎✂✄✪✢✱✦ ✭☛✄✪✦ ✂✱✁☛✔✺✄✪✦✯✢✱✦
✑

✝ ✞ ✬❑✓✟✲✥✭➙✓➱✁☎☞➨✆✯✎✪✢û✭✴✁☎✄✝✆✟✞✠✁☎✡➴✦✪✢✤✓✟✲ ✝☎✄

❢✐♣➤③➛✈❛➎➯❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✳❁⑩➸qrt❴❛❝☎♣④✇❛➈✘♣④♥♦♣➤r④❝✉❜
(Σ1)

⑧⑩➜❨❧♦♥q♣srt❝✳❜ ➻Ò➉❾➪✫➀✉❼⑩✈✪➈❈❝✜②t❝✳➟✤②t③➢r➤r④❝✉✈✪❼➌♣






ẋ = Rv
v̇ = −S(ω)v − ue3 + RTγe(ẋ, t)

Ṙ = RS(ω)

➻Ò➄❾➪

➟✤③➢r④❴
γe(ẋ, t) := Fe(ẋ, t)/m

➀✳❼❾➝➢➝➛❝✉❿❀rt❴❛❝ ✚④❼⑩❽❛❽❈❼⑩②t❝✳✈●r☎❼❾➀✳➀✳❝✳➝➛❝✳②❶❼➣rt③➢⑧➌✈ ✜❶➸✯❼⑩✈✘❿
u := T/m

❼⑩✈✘❿
ω

✇✘♣④❝✉❿
❴✘❝✳②t❝✉❼➣➜➽rt❝✳②✤❼❾♣➙rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝❰③➢✈✘❽❛✇qrt♣✉➭

❫✫❴❛③⑥♣❺♣④❝✉➀✥r④③➛⑧❾✈✪③➛♣✤❿q❝✉➡❾⑧❾r④❝✉❿➑r④⑧❩rt❴❛❝☎♣sr❶❼⑩➈❛③➛➝➛③➢➩❊❼➣r④③➛⑧❾✈✪⑧⑩➜✠❝✳③➢r④❴✘❝✳②✫r④❴✘❝✜➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✴r④❴✘②④✇✘♣➤r❣❿q③➛②④❝❊➀➫rt③➢⑧➌✈✔➸q⑧❾②✤③➢rt♣
➝➛③➛✈❛❝✉❼❾②✮➡❾❝✉➝➢⑧q➀✳③➺rs♥➌➸➌⑧➌②✮③➢rt♣➙❽❈⑧●♣➤③➢r④③➛⑧❾✈✟➭✠❫✫❴✘❝✐❼⑩✈✘➎❾✇❛➝⑥❼⑩②▼➡➌❝✳➝➛⑧q➀✥③➢rs♥

ω3
❼❾➈❈⑧➌✇qr✮rt❴❛❝❺rt❴❛②④✇❈♣sr✤❼➣➵q③⑥♣▼③⑥♣✮✈❛⑧❾r✴③➛✈♦➡❾⑧❾➝➛➡❾❝❊❿

③➛✈➴rt❴❛❝✪②④❝❊❼⑩➝➛③➢➩❊❼➣r④③➛⑧❾✈➨⑧⑩➜✤r④❴✘❝✉♣④❝✪➀✳⑧❾✈●r④②t⑧❾➝➙⑧❾➈q⑨s❝❊➀➫rt③➢➡➌❝✉♣✉➸▼♣➤⑧➬r④❴✘❼⑩r✝rt❴❛③➛♣❞❿q❝✉➎❾②t❝✳❝✑⑧⑩➜❺➜➞②t❝✳❝❊❿q⑧❾❜ ➀✳❼❾✈➨➈❖❝✑✇❈♣➤❝❊❿
➜➞⑧➌②✤➀✥⑧❾❜❞❽❛➝➛❝✳❜❞❝✉✈➌r❶❼⑩②t♥❞⑧❾➈q⑨s❝❊➀➫r④③➛➡❾❝❊♣✫❼⑩✈✘❿✪❿q❝✥➳❈✈❛❝✉❿✪➀✳❼➌♣➤❝✳➲✹➈♦♥●➲❬➀✉❼❾♣④❝❺❿q❝✳❽❖❝✳✈❈❿q③➢✈✘➎❩⑧➌✈➑rt❴❛❝✜➀✥⑧➌✈✘♣➤③⑥❿q❝✉②④❝❊❿➯➡❾❝✉❴❛③➛➀✳➝➢❝
❼❾✈✘❿➼❼⑩❽❛❽✘➝➢③⑥➀✳❼⑩r④③➛⑧❾✈✔➭ ✆ ✛✒✞✕✵✶✁☛✞✕✵ ➸❖r④❴✘❝✳②t❝☎❼⑩②t❝✜③➢✈q➳❈✈❛③➺rt❝✳➝➛♥✑❜➯❼❾✈●♥✪❽❖⑧➌♣t♣➤③➛➈❛③➛➝➢③➢r④③➛❝✉♣❺❼⑩r❺r④❴✘③➛♣❣➝➢❝✉➡❾❝✳➝✹➸❈♣➤rt❼❾②➤rt③➢✈✘➎❩➟✤③➢r④❴
rt❴❛❝✝♣④③➛❜❩❽✘➝➢❝❊♣sr➍➀❶❴❛⑧❾③⑥➀✥❝

ω3 = 0
➭❣➹➘✈★✿ ➉➌➉❄❃✤➻➞❽✘❼❾➎❾❝✉♣ ❁✉➊●➄ ✣✪❁❊➊❾➋●➪▼rt❴❛③⑥♣❣➡➣❼⑩②t③⑥❼⑩➈❛➝➛❝☎③⑥♣❣❿q❝✳r④❝✳②t❜❞③➢✈✘❝✉❿❍③➛✈➬⑧➌②t❿q❝✉②✤r④⑧

r❶❼⑩➠➌❝❩❼➌❿q➡➣❼⑩✈●rt❼❾➎❾❝❩⑧⑩➜✴➝➛③➢➜➽r✜➜➞⑧❾②❶➀✥❝✉♣✜❼➌♣④♣④⑧q➀✥③⑥❼➣rt❝✉❿❚➟✤③➢r④❴Ó❼⑩✈Ó❼❾♣④♥♦❜❞❜❩❝✳r④②t③➛➀❩➾❆❫❣❹❆➚➦➡➌❝✳❴❛③⑥➀✥➝➛❝❾➭❩➹➘✈✣r④❴❛❝➯♣④❝✉⑤●✇❛❝✉➝Ò➸
rt⑧➴♣➤③➛❜❞❽❛➝➛③➺➜➞♥➨r④❴❛❝❚➀✳⑧❾✈●r④②t⑧❾➝❺❿q❝❊♣➤③➛➎❾✈➥❼⑩✈❈❿➨rt❴❛❝❚❼❾♣t♣④⑧♦➀✳③➛❼⑩r④❝❊❿➨❼⑩✈❈❼⑩➝➛♥♦♣④❝✉♣✉➸✮➟➙❝❞⑨s✇✘♣➤r➑❼❾♣t♣➤✇✘❜❩❝✪rt❴✘❼➣r

ω3(t)
③⑥♣

➟➙❝✳➝➛➝➢➲❬❿q❝✳➳✘✈❛❝❊❿✑❼⑩r✤❼❾✈♦♥➯r④③➛❜❞❝☎❼⑩✈✘❿✪➈❖⑧❾✇❛✈✘❿❛❝✉❿✖➭

�✡✠☞☛ ✟✡✠☞☛ ✄✑✠ ✏ ✎✦✕✌☛ ☛✎✍ ✏✖✕✗✍ ✘✏✍ ✍✙✘ ✏✑☛✖✍ ✒
➚✟❝✥r

γ ∈ R
3 ❿q❝✉✈❛⑧⑩rt❝➑❼❍✇❛✈❛③➢r✝➡➌❝✉➀✥r④⑧❾②✑➻ |γ| = 1

➪✜❼❾♣t♣➤⑧q➀✳③➛❼⑩r④❝✉❿✣➟✤③➢r④❴☛rt❴❛❝➑❿q❝❊♣➤③➛②t❝✉❿✍➻➞❽❖⑧➌♣t♣④③➢➈❛➝➛♥✣➡➮❼❾②④♥♦③➛✈❛➎●➪
rt❴❛②t✇✘♣sr▼❿q③➛②t❝✉➀➫rt③➢⑧➌✈✝❼❾✈✘❿❑❝✳➵q❽❛②④❝❊♣④♣④❝✉❿☎③➢✈✝r④❴❛❝✤③➛✈❛❝✉②➤rt③➛❼❾➝➌➜➞②❶❼⑩❜❞❝ I ➭✠➹➘✈✝❽✘②t❼➌➀➫r④③⑥➀✥❝➌➸➮r④❴❛③⑥♣❨❿q❝❊♣➤③➛②④❝❊❿❑❿q③➛②t❝✉➀➫rt③➢⑧➌✈✝❜➯❼➮♥
➀✳⑧❾②t②④❝❊♣➤❽❖⑧❾✈❈❿✪r④⑧✑r④❴❛❝❩⑧❾✈❛❝❞♣④❽❈❝❊➀✥③➢➳✘❝✉❿➬➈●♥❍❼✑❜➯❼⑩✈♦✇✘❼⑩➝❈⑨s⑧➣♥q♣srt③➛➀❶➠❰➭✜❫✫❴❛❝❩⑧❾➈q⑨s❝❊➀➫rt③➢➡➌❝❑③⑥♣❣rt❴❛❝❞♣sr❶❼⑩➈❛③➛➝➢③➛➩✉❼⑩r④③➛⑧❾✈❚⑧❾➜
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�✂✁☎✄✝✆✟✞✠✁☛✡☞✁✍✌✏✎✒✑✓✞✕✔✓✖✕✆✘✗✘✙✚✞✠✁✜✛✝✢✣✡✤✡✥✢✜✦★✧✩✄✪✦✫✢✬✞✠✭✯✮✣✆✟✔✝✭☛✆✰✢✱✦✳✲✴✢✱✑✓✵✶✮✬✡✷✢✕✖ ❁✯❁

rt❴❛❝✜➡❾❝✉❴❛③⑥➀✥➝➛❝✩✓ ♣✮rt❴❛②t✇✘♣sr❣❿❛③➢②t❝✉➀✥r④③➛⑧❾✈➼❼⑩➈❖⑧❾✇qr✫r④❴✘❝✜②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝❆➡➌❝✉➀✥r④⑧❾②
γ

⑧➌②✉➸q❝❊⑤➌✇❛③➛➡➣❼⑩➝➛❝✳✈●r④➝➛♥❾➸♦rt❴❛❝☎♣➤rt❼⑩➈✘③➢➝➛③➢➩❊❼➣rt③➢⑧➌✈
⑧❾➜

RTγ
❼⑩➈❖⑧❾✇qr

e3
➭

✥✐❝✥➳✘✈✘❝
γ̄ := RTγ

➻ ➂➌➪
❼❾✈✘❿✑➝➢❝✳r

θ̃ ∈ (−π; π]
❿q❝✳✈✘⑧⑩r④❝❆rt❴❛❝☎❼⑩✈❛➎➌➝➢❝❆➈❖❝✥rs➟➙❝✳❝✳✈✑r④❴✘❝➍rs➟✴⑧❩✇❛✈❛③➢r❺➡❾❝❊➀➫r④⑧➌②t♣

e3
❼⑩✈❈❿

γ̄
➸❈♣➤⑧✝r④❴✘❼⑩r

cos θ̃ =
γ̄3

➸✚rt❴❛❝❱rt❴❛③➢②❶❿☛➀✥⑧➌❜❞❽❈⑧➌✈❛❝✳✈●r❑⑧❾➜
γ̄
➭❚❫✫❴❛❝➑➀✳⑧❾✈●r④②t⑧❾➝▼⑧➌➈q⑨s❝✉➀✥r④③➛➡❾❝❱③⑥♣❑❼❾➝➛♣④⑧❍❝✉⑤●✇❛③➛➡➣❼⑩➝➛❝✳✈●r☎rt⑧❍r④❴❛❝✪❼❾♣④♥♦❜❩❽❛r④⑧⑩rt③➛➀

♣➤rt❼❾➈❛③➛➝➢③➛➩✉❼⑩r④③➛⑧❾✈➼⑧⑩➜
θ̃ = 0

➭✫❻✫❼❾♣④❝✉❿✪⑧❾✈➼rt❴❛❝❑❼❾➈❈⑧➣➡➌❝❆✈✘⑧⑩rt❼⑩r④③➛⑧❾✈✔➸✘r④❴❛❝☎➳✘②t♣➤r✐➀✳⑧❾✈●r④②t⑧❾➝✖②t❝✉♣④✇❛➝➢r❣⑧⑩➜✠r④❴✘③➛♣❣❽✘❼⑩❽❖❝✳②❺③⑥♣
♣➤rt❼⑩r④❝❊❿➑✈❛❝✳➵♦r✉➭

� ➔ Ð ✞ Ð ➒ ✠ ➓ ✠ Ð☞☛ ✌✂✁ ✢✬✆ ✟ ✦✫✢✬✄✪✁☛✆✰✢ ✭ ✖✕✆✘✞✕✵✶✮✬✆✟✡☎�❈✛ ✁☛✖✕✵✤✆✘✵✄✂☛✢ ✮✜✁☎✄ ✖✕✆✰✭☛✄✝✆ ✞ ✭☛✄✒✦✏✭✱✛✫✛✪✡✁�✏✆ ✑ ✢ ✮✱✁☎✄✝✆✟✞✠✁☛✡ ✡✥✭ ✓















ω1 = − kγ̄2

(1 + γ̄3)2
− γTS(Re1)γ̇

ω2 =
kγ̄1

(1 + γ̄3)2
− γTS(Re2)γ̇

➻✟❂⑩➪

✆✰✁ ✆✤✑✝✢ ✖ �❋✖✕✆✰✢ ☛
Ṙ = RS(ω) ✑

✎✒✑✝✢✣✄ ✆ ✑ ✢ ✢☎✄✣✔✺✵✤✡ ✵ ✂✣✞✕✵✤✔✗☛ ✛✝✁☛✵✤✄✴✆
θ̃ = 0

✁ ✌ ✆✤✑✝✢ ✞✠✢✣✖✱✔✺✡ ✆✘✵✤✄✝✆ ✮✬✡✷✁☛✖✣✢✱✦☎✗✰✡✷✁✽✁✱✛
✖ �❋✖✕✆✰✢ ☛ ✵ ✖ ✢ ✘✣✛ ✁☎✄✪✢✬✄✝✆✟✵✶✭☛✡✤✡☎� ✖✱✆✰✭ ✂✬✡✷✢ ✓ ✵✤✆✤✑ ✦✫✁ ☛ ✭☎✵✤✄✳✁✍✌ ✭☛✆✟✆✘✞✜✭✫✮✬✆✘✵✶✁☎✄ ✢☎✄✣✔✝✭☎✡ ✆✰✁

(−π, π) ✑
❫✫❴✘❝☎❽❛②t⑧●⑧❾➜✚⑧❾➜✯rt❴❛③⑥♣❺❽❛②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➼③➛♣✤➎➌③➢➡➌❝✳✈➼③➛✈❚❷❺❽❛❽❖❝✳✈✘❿❛③➺➵❚❷☎➭✥❁❾➭➙➹➘✈❍➟✤❴✘❼⑩r❺➜➞⑧❾➝➛➝➢⑧➣➟❺♣✉➸q➟➙❝❑♣➤❴✘⑧➣➟✷❴❛⑧➣➟✷r④❴✘③➛♣
➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②✫➀✳❼⑩✈➼➈❖❝✜❝✥➵♦r④❝✉✈✘❿q❝❊❿❱rt⑧❞r④❴❛❝✜➝➛③➢✈✘❝✉❼⑩②✤➡➌❝✳➝➛⑧q➀✥③➢rs♥❱❼⑩✈✘❿✪❽❖⑧➌♣④③➺rt③➢⑧➌✈✪➀✳⑧❾✈●r④②t⑧❾➝❰❽❛②t⑧❾➈❛➝➛❝✳❜➯♣✉➭

�✡✠ ✟ ✞✄☛✍✒✗✍ ✍ ✕ ✏ ✞ ✍ ✍ ✘✙✏✑☛✖✍ ✒
➚✟❝✥r

ẋr
❿q❝✉✈❛⑧⑩rt❝✤r④❴❛❝❣②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝✤➡❾❝✳➝➛⑧q➀✥③➢rs♥✝❝✳➵q❽❛②④❝❊♣④♣④❝✉❿✝③➛✈➯r④❴❛❝❣③➢✈❛❝✉②➤rt③➛❼❾➝q➜➞②❶❼⑩❜❞❝ I ➸

ẍr
rt❴❛❝❺rt③➢❜❞❝✳➲❬❿q❝✉②④③➛➡➣❼➣rt③➢➡➌❝

⑧❾➜
ẋr

➸✠❼⑩✈❈❿
ṽ := RT (ẋ − ẋr)

rt❴❛❝❱➡❾❝✉➝➢⑧q➀✳③➺rs♥❀❝✳②t②④⑧➌②➍r④❝✳②t❜❦❝✳➵q❽❛②④❝❊♣④♣④❝✉❿✣③➛✈Ór④❴❛❝➑➈❈⑧q❿q♥●➲✹➳❛➵q❝✉❿❀➜➞②t❼❾❜❞❝ B ➭
➹➘✈❈♣srt❝✉❼❾❿❞⑧❾➜✟❿q❝✥➳❈✈❛③➢✈✘➎

γ
❼➌♣✴❼☎②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝❺✇❛✈❛③➢r✴➡➌❝✉➀➫rt⑧❾②➙❼❾♣▼③➛✈➯r④❴✘❝✐❽❛②t❝✳➡♦③➛⑧❾✇✘♣✮♣➤✇❛➈❈♣➤❝❊➀➫r④③➛⑧❾✈✟➸➌➟➙❝❣✈❛⑧➣➟✍❿q❝✳➳✘✈❛❝

γ(ẋ, t) := γe(ẋ, t) − ẍr(t)
➻Ò➋➌➪

❹✐✈✘❝✐rt❴❛❝✳✈➼⑧➌➈qrt❼❾③➢✈✘♣➙rt❴❛❝➍➜➞⑧❾➝➛➝➛⑧➣➟✤③➢✈❛➎❩❝✳②t②t⑧❾②✫❜❞⑧♦❿❛❝✳➝

˙̃x = Rṽ
➻✘❊❾❼➌➪

˙̃v = −S(ω)ṽ − ue3 + RTγ(ẋ, t)
➻✘❊⑩➈❈➪

Ṙ = RS(ω)
➻✘❊❾➀✉➪

➟✤③➢r④❴❀❝✳③➢r④❴❛❝✉②
x̃ :=

∫ t

0
(ẋ(s) − ẋr(s)) ds

➸✖rt❴❛❝❩③➢✈●r④❝✉➎❾②❶❼⑩➝✯⑧⑩➜▼rt❴❛❝✝➡➌❝✳➝➛⑧q➀✥③➢rs♥✪❝✉②④②t⑧❾②❊➸❖⑧❾②
x̃ := x − xr

➸❰r④❴❛❝
❽❖⑧➌♣④③➢r④③➛⑧❾✈✑r④②❶❼❾➀❶➠♦③➢✈✘➎✝❝✉②④②t⑧❾②✫➟✤❴❛❝✉✈✪❼❞②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝✐r④②❶❼➣⑨s❝❊➀➫r④⑧➌②④♥

xr
③➛♣✤♣④❽❖❝✉➀✥③➢➳✘❝❊❿✖➭

❫✫❴❛❝➼❽❛②t⑧❾➈✘➝➢❝✉❜ ⑧❾➜❆❼➌♣➤♥♦❜❞❽qr④⑧❾r④③⑥➀➑♣➤rt❼❾➈❛③➢➝➛③➛➩✉❼➣rt③➢⑧➌✈➨⑧❾➜❺r④❴❛❝➼➝➛③➢✈✘❝✉❼⑩②❩➡❾❝✉➝➢⑧q➀✳③➺rs♥Ó❝✳②t②t⑧❾②
ẋ − ẋr

r④⑧✣➩✳❝✉②④⑧❀③➛♣
➀✳➝➢❝❊❼⑩②t➝➢♥➯❝❊⑤●✇❛③➢➡➣❼❾➝➢❝✉✈➌r➙r④⑧❩rt❴❛❝☎❼❾♣④♥♦❜❩❽❛r④⑧⑩rt③➛➀❆♣➤rt❼⑩➈✘③➢➝➛③➢➩❊❼➣rt③➢⑧➌✈✑⑧❾➜

ṽ
r④⑧❞➩✳❝✉②④⑧❈➭ ✤✮⑤●✇✘❼➣rt③➢⑧➌✈✣➻✘❊⑩➈✘➪➙③➛✈✘❿q③⑥➀✳❼⑩r④❝✉♣➙rt❴✘❼➣r

ṽ ≡ 0
③➢❜❞❽❛➝➛③➢❝❊♣✫r④❴❈❼➣r

−ue3 + RTγ(ẋ, t) = 0
➻ ❁❊➊➌➪
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❷✐♣✔➝➛⑧❾✈❛➎❺❼➌♣
γ(ẋ, t)

③➛♣✯❿q③ ✘❖❝✉②④❝✉✈➌r✟➜➞②④⑧➌❜ ➩✳❝✉②④⑧❈➸✉③➢r✟③⑥♣✔❽❖⑧➌♣t♣➤③➛➈❛➝➛❝✠r④⑧❣❿❛❝✥➳✘✈❛❝✴❼✫➝➢⑧q➀✳❼❾➝➢➝➛♥❆✇❛✈❛③⑥⑤➌✇✘❝❨r④❴❛②t✇✘♣➤r✟❿q③➛②④❝❊➀➫r④③➛⑧❾✈
♣④⑧❾➝➛✇qrt③➢⑧➌✈➼r④⑧❱rt❴❛❝✝❼❾➈❈⑧➣➡➌❝✜❝✉⑤●✇✘❼⑩r④③➛⑧❾✈✔➭ ❇❣⑧➣➟✴❝✉➡❾❝✉②✉➸qrt❴❛③⑥♣✐♣④⑧❾➝➛✇qr④③➛⑧❾✈❀➀✳❼⑩✈❍✈✘⑧⑩r✐➈❖❝❑❽✘②④⑧➌➝➢⑧➌✈❛➎❾❝❊❿✑➈♦♥❍➀✥⑧➌✈●r④③➛✈●✇✘③➺rs♥
❼⑩r

γ = 0
➭✜❷❣♣➍❼❱❜➯❼⑩r➤r④❝✉②✐⑧❾➜▼➜ ❼❾➀✥r✉➸❰⑧❾✈✘❝✝➀✳❼❾✈❚➡❾❝✉②④③➢➜➞♥✪r④❴✘❼⑩r✐rt❴❛③⑥♣❆♣④③➛✈❛➎❾✇❛➝⑥❼⑩②t③➢rs♥✪➀✳⑧❾②t②④❝❊♣➤❽❖⑧❾✈✘❿✘♣✫r④⑧✑r④❴❛❝❞➀✳❼➌♣➤❝

➟✤❴✘❝✳✈✪r④❴❛❝❑➝➢③➛✈❛❝✉❼❾②④③➛➩✉❼⑩r④③➛⑧❾✈✪⑧⑩➜✮❧♦♥q♣➤r④❝✳❜ ➻✶❊❾➈❈➪ ✣✖➻✶❊➌➀✳➪✤❼➣r❣❼❾✈♦♥➑❝✉⑤●✇❛③➛➝➛③➢➈❛②t③➛✇❛❜➱❽❖⑧❾③➛✈●r
(ṽ, R) = (0, R∗)

③⑥♣✤✈❛⑧⑩r
➀✳⑧❾✈●r④②t⑧❾➝➛➝⑥❼⑩➈❛➝➛❝❾➭✤➾❨❝✉②④♥❍♣④❽❈❝❊➀✥③➢➳❈➀➑➻Ò❼⑩✈✘❿❚♣➤r④③➛➝➛➝✯❽❛②t⑧➌♣④❽❖❝✉➀➫rt③➢➡➌❝❊➪❺✈❛⑧❾✈❛➝➛③➛✈❛❝✉❼❾②✐➀✥⑧➌✈●r④②t⑧❾➝✖rt❝✉➀❶❴❛✈❛③⑥⑤●✇❛❝✉♣❆❼⑩②t❝☎②t❝✉⑤●✇❛③➛②④❝❊❿
rt⑧☛❼❾❿❛❿q②t❝✉♣t♣❞♣sr❶❼⑩➈❛③➛➝➛③➢➩❊❼➣r④③➛⑧❾✈➦③➛♣t♣④✇❛❝✉♣❞③➛✈ r④❴❛③⑥♣➯➀✳❼➌♣➤❝☛➻ ♣④❝✳❝➼❝➌➭ ➎❈➭ ✿✥❁✽❊☛❃➽➪✥➭➥❫✫❴✘❝✉♣④❝✑rt❝✉➀❶❴❛✈✘③➛⑤●✇❛❝❊♣➯❼⑩②t❝✑✈❛⑧❾r➯r④❴❛❝
♣④✇❛➈q⑨s❝❊➀➫r☎⑧❾➜➙rt❴❛❝❱❽❛②t❝✉♣④❝✳✈●r☎❽✘❼❾❽❈❝✉②☎➈❖❝✉➀✳❼❾✇✘♣④❝❞r④❴❛❝❱➡➣❼❾✈❛③➛♣④❴❛③➛✈❛➎❍⑧⑩➜

γ
❿❛⑧●❝❊♣✜✈❛⑧⑩r❩➀✥⑧❾②t②t❝✉♣④❽❈⑧➌✈✘❿❍rt⑧➬❼➼➎❾❝✉✈❛❝✳②t③➛➀

♣④③➢r④✇✘❼⑩r④③➛⑧❾✈❱➜➞⑧➌②✤❼❑➝⑥❼⑩②t➎❾❝❆➀✥➝⑥❼❾♣t♣✮⑧❾➜✯✇❛✈✘❿❛❝✳②❶❼❾➀➫rt✇✘❼➣rt❝✉❿➯❜❞❝❊➀❶❴✘❼⑩✈❛③⑥➀✳❼❾➝✖♣➤♥q♣➤r④❝✳❜➯♣➍➻➽rt❴❛⑧➌♣④❝✐➜➞⑧❾②✫➟✤❴❛③⑥➀❶❴
γe(ẋr(t), t)③⑥♣✴✈❛⑧❾❜❞③➛✈✘❼⑩➝➛➝➢♥❱❿❛③ ✘❰❝✳②t❝✳✈●r✮➜➞②t⑧❾❜ ➩✉❝✳②t⑧●➪✥➭ ✥✣❝✐❝❊♣④♣④❝✳✈●rt③➛❼❾➝➢➝➛♥➯❿q③➛♣t➀✳❼❾②t❿➯r④❴❛③⑥♣✫❿q③➺➷❱➀✳✇❛➝➺r✤➀✳❼➌♣➤❝✐❴❛❝✳②t❝❣➈♦♥❱❼➌♣④♣④✇❛❜❞③➢✈✘➎

rt❴✘❼➣r

➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✁� ✎✒✑ ✢✬✞✠✢ ✢✙✘✯✵ ✖✕✆✘✖
δ > 0

✖✕✔✝✮✱✑ ✆ ✑ ✭☎✆✂✞✝✌✣✁☎✞ ✭☛✡✤✡
(ẋ, t)

✞ |γ(ẋ, t)| ≥ δ ✑
❷❣➝➺rt❴❛⑧❾✇✘➎❾❴✣r④❴❛③⑥♣☎❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈Ó③⑥♣✜②t❝✉♣➤r④②t③➛➀✥r④③➛➡❾❝❾➸✟③➺r✝♣④③➛❜❩❽✘➝➢③➢➳✘❝✉♣✜r④❴❛❝❱❝✳➵q❽❈⑧●♣➤③➢r④③➛⑧❾✈✣⑧⑩➜❺❼✪➈✘❼❾♣④③⑥➀➯❼⑩✈✘❿✣➎❾❝✉✈❛❝✳②t③⑥➀
➀✳⑧❾✈●r④②t⑧❾➝✚❿q❝✉♣④③➛➎❾✈✔➭❆➹➘✈❀❧♦❝❊➀➫r④③➛⑧❾✈➬➃✘➸❰❴❛⑧➣➟➙❝✳➡❾❝✉②✉➸❈➟✴❝✝➟✤③➢➝➛➝✠➟✴❝❊❼⑩➠➌❝✳✈➼r④❴✘③➛♣❆❼❾♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈➬❼❾✈✘❿❍❽❛②t⑧❾❽❖⑧➌♣④❝❑❼⑩✈✣❼❾❿♦➲
❴✘⑧♦➀❣❼❾❿❛❼❾❽qrt❼⑩r④③➛⑧❾✈➯⑧⑩➜❰rt❴❛❝✐➀✳⑧❾✈●r④②t⑧❾➝✘❿❛❝✉♣④③➢➎➌✈➯③➢✈❱⑧➌②t❿❛❝✳②❨rt⑧❑❝✳✈❈♣➤✇❛②t❝✤rt❴❛❝❣➟➙❝✳➝➛➝➺➲❬❽❖⑧➌♣④❝✉❿q✈❛❝❊♣④♣▼⑧⑩➜❰r④❴❛❝❆➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✳② ✓ ♣
❝✳➵q❽❛②④❝❊♣④♣④③➛⑧❾✈➑❼❾✈✘❿❱❜➯❼⑩③➛✈●rt❼❾③➢✈✪❼❑❜❞③➛✈❛③➢❜➯❼❾➝✔➀✥⑧❾✈●rt②④⑧➌➝❈⑧❾➜✟r④❴✘❝❆➡➌❝✳❴❛③⑥➀✥➝➛❝❆➟✤❴❛❝✳✈ |γ| ➎❾❝✥r❶♣✫➀✥➝➛⑧➌♣④❝❣rt⑧✝➩✉❝✳②t⑧✘➭✔✥✍❴❛❝✳✈
➈❖⑧⑩rt❴❍❷❣♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈➼➄❞❼❾✈✘❿✑②④❝✉➝➛❼⑩r④③➛⑧❾✈Ó➻ ❁✉➊➌➪➙❴❛⑧❾➝⑥❿✖➸q✇✘♣④③➢✈✘➎➬➻ ➂❾➪➙⑧➌✈❛❝☎❿q❝❊❿q✇✘➀✥❝❊♣➙r④❴✘❼⑩r

γ̄ = ±|γ|e3.

➚✟❝✥r
θ̃ ∈ (−π; π]

❿q❝✳✈❛⑧❾r④❝✫rt❴❛❝❣❼⑩✈✘➎❾➝➛❝➙➈❖❝✥rs➟➙❝✳❝✉✈❩r④❴❛❝✫rs➟➙⑧➍✇❛✈❛③➢r✮➡❾❝❊➀➫r④⑧➌②t♣
e3

❼❾✈✘❿ γ̄
|γ|

➸●♣➤⑧➍rt❴✘❼➣r
cos θ̃ = γ̄3

|γ|
➭

❫✫❴✘❝❩➀✳⑧❾✈●r④②t⑧❾➝✯⑧❾➈q⑨s❝❊➀➫r④③➛➡❾❝✝③➢❜❞❽❛➝➛③➛❝✉♣✐r④❴✘❼⑩r❆❝✉③➺rt❴❛❝✳②
θ̃ = 0

➻➞③✹➭ ❝➌➭
γ̄ = |γ|e3

➪❺⑧➌②
θ̃ = π

➻➞③✹➭ ❝➌➭
γ̄ = −|γ|e3

➪
❜✝✇✘♣➤r➍➈❖❝❱❼❾♣④♥♦❜❞❽qr④⑧❾r④③⑥➀✳❼⑩➝➛➝➛♥❚♣sr❶❼⑩➈❛③➛➝➢③➛➩✳❝❊❿✖➭➯❫✫❴❛❝❱➀❶❴❛⑧➌③➛➀✳❝✝➈❖❝✥rs➟➙❝✳❝✉✈❀rt❴❛❝✉♣④❝❩rs➟✴⑧➼❝❊⑤➌✇✘③➢➝➛③➢➈✘②④③⑥❼➑③⑥♣✜⑧❾➜➽r④❝✳✈✣❜➯❼❾❿q❝
➡♦③⑥❼❍♣➤③➛❜❞❽❛➝➛❝➯❽❛❴♦♥♦♣④③⑥➀✳❼⑩➝✴➀✥⑧❾✈❈♣➤③⑥❿q❝✳②❶❼➣rt③➢⑧➌✈✘♣➍♣➤✇❈➀❶❴Ó❼➌♣✜❜❞③➢✈✘③➢❜❞③➛➩✳③➛✈❛➎➼r④❴❛❝➑❝✳✈❛❝✉②④➎➌♥➬➀✥⑧➌✈✘♣➤✇✘❜❩❽❛r④③➛⑧❾✈Ó③➢✈☛②t❝✳➝⑥❼➣rt③➢⑧➌✈
rt⑧➬❼❾➀✥r④✇✘❼⑩r④⑧➌②✍✓ ♣➍❝✥➷❱➀✥③➛❝✳✈❈➀✥♥Ó❼⑩✈✘❿Ó➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣☎♣④❴✘❼⑩❽❖❝❾➸✠⑧❾②❑➈●♥❀rt❼❾➠♦③➢✈❛➎❍③➛✈●r④⑧➬❼➌➀✳➀✳⑧❾✇❛✈●r✜r④❴✘❝➑✇❛✈❛③➛➝⑥❼➣r④❝✉②t❼❾➝➢③➢rs♥➬⑧❾➜
rt❴❛❝❩r④❴❛②t✇✘♣➤r➍❿❛③➢②t❝✉➀✥r④③➛⑧❾✈Ó❼❾♣❆③➢✈➬r④❴❛❝➯➀✉❼❾♣④❝✝⑧❾➜✴❜❞⑧➌♣➤r❆➾❆❫❣❹❆➚➨➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✉➭ ✥✍③➢r④❴✘⑧❾✇qr✜➝➛⑧➌♣t♣✐⑧❾➜✮➎❾❝✉✈❛❝✳②❶❼⑩➝➛③➢rs♥❾➸❰➟✴❝
❴✘❝✳✈✘➀✳❝✥➜➞⑧❾②④r④❴➼❼❾♣t♣④✇❛❜❞❝✐rt❴✘❼➣r✤rt❴❛❝☎➀❶❴❛⑧➌③➛➀✳❝✐❴✘❼➌♣✫➈❈❝✉❝✳✈➼❜➯❼❾❿q❝➍rt⑧➯♣sr❶❼⑩➈❛③➛➝➢③➛➩✳❝

θ̃ = 0
➭

❻✫❼❾♣④❝✉❿❞⑧➌✈❞r④❴❛❝✐❼⑩➈❖⑧➣➡❾❝✤✈❛⑧❾rt❼➣rt③➢⑧➌✈✔➸➌r④❴❛❝❣♣④❝✉➀✳⑧❾✈✘❿➯➀✳⑧❾✈●r④②t⑧❾➝✘②④❝❊♣➤✇❛➝➢r✮⑧❾➜❖rt❴❛③⑥♣▼❽✘❼❾❽❈❝✉②✮③⑥♣✮♣➤rt❼➣rt❝✉❿➯③➛✈❞r④❴✘❝❣✈❛❝✳➵●r
❽✘②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈✔➭

� ➔ Ð ✞ Ð ➒ ✠ ➓ ✠ Ð☞☛ ✖ ✁ ✢✬✆
k1
✞
k2
✞
k3

✦✯✢✣✄✒✁☛✆✰✢ ✖✕✆✟✞✕✵✶✮✣✆✟✡☎�❈✛✝✁❋✖✕✵✤✆✟✵✄✂❋✢ ✮✱✁☛✄✝✖✱✆✰✭☛✄✴✆✶✖✠✞❀✭☛✄✒✦✏✭✱✛✫✛✪✡✁�✏✆ ✑ ✢ ✮✜✁☎✄✝✆✟✞✠✁☛✡❉✡✥✭ ✓



























u = γ̄3 + |γ|k1ṽ3

ω1 = −|γ|k2ṽ2 −
k3|γ|γ̄2

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re1)γ̇

ω2 = |γ|k2ṽ1 +
k3|γ|γ̄1

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re2)γ̇

➻✍❁✫❁❊➪

✆✰✁ ✖ �❋✖✕✆✰✢ ☛ ➻✶❊●➪
✑
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✑
✎✒✑✝✢✣✄ ✞✝✌✣✁☛✞ ✆✤✑✝✢❈✖✕✔ ✂✕✖ �❋✖✕✆✰✢ ☛
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r④⑧❞➩✳❝✉②④⑧❩➟✤❴❛❝✉✈
♣④✇✘➀❶❴➼❼❩➈❛③➛❼➌♣✫③➛♣❺❽❛②④❝❊♣➤❝✉✈●r✉➭❨❫✟⑧❩rt❴❛③➛♣❺❽❛✇❛②t❽❈⑧●♣➤❝➌➸q➝➢❝✳r❺✇✘♣✫③➢✈●rt②④⑧q❿q✇✘➀✳❝❆r④❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎❩③➛✈●r④❝✉➎❾②❶❼⑩➝❖r④❝✉②④❜

Iv(t) :=

∫ t

0
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➸

∀s > 0, h(s2)s < η
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∀s ∈ R, 0 <
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ṽ

➻ ⑧❾②
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ż = x̃
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❼➌➀➫rt✇✘❼➣rt⑧❾②▼➝➛③➢❜❞③➢rt❼⑩r④③➛⑧❾✈✘♣✉➸♦⑧❾✈❛❝❺❴❈❼❾♣✮r④⑧✝♣t❼➣rt✇❛②❶❼➣r④❝✫rt❴❛❝❆③➢✈●r④❝✉➎❾②❶❼⑩➝qrt❝✳②t❜➼➭✠❫✫❴✘③➛♣➙➀✳❼❾✈❱➈❈❝❆❿q⑧❾✈✘❝❣③➛✈❱❜➯❼⑩✈♦♥✝➟✫❼➮♥q♣✳➸
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x̃

z̈ = −2kz ż − k2
z(z − ♣④❼⑩r

∆z) + kzhz(|x̃|2)x̃ (kz > 0, z(0) = 0)
➻ ❁❋❂❾➪

➟✤❴✘❝✳②t❝
hz
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✙✁�
✑ ∀x ∈ R

3 ➸q③➢➜ |x| ≤ ∆
➸✘♣t❼➣r

∆(x) = x
➭

✙✄✂
✑ ∃ ∆̄ > 0

♣④✇✘➀❶❴✪r④❴✘❼⑩r ∀x ∈ R
3 ➸ | ♣t❼➣r ∆(x)| ≤ ∆̄

➭
✙ ☎

✑ ∀(c, x) ∈ R
3 × R

3 ♣➤✇✘➀❶❴✪rt❴✘❼➣r |c| < ∆
➸ | ♣t❼➣r ∆(x + c) − c| ≤ |x| ➭

❷✙❽❖⑧➌♣t♣④③➢➈❛➝➛❝✜➀❶❴❛⑧❾③⑥➀✥❝➍③⑥♣➙r④❴❛❝☎➀✳➝➛❼➌♣④♣④③⑥➀✳❼⑩➝✖♣t❼➣rt✇❛②t❼⑩r④③➛⑧❾✈➑➜➞✇❛✈✘➀➫rt③➢⑧➌✈❍❿q❝✥➳✘✈✘❝✉❿➼❼❾♣

♣④❼⑩r
∆(x) := xmin

(

1,
∆

|x|

)

(∆ > 0)
➻ ❁❊➋➌➪

➜➞⑧➌②✤➟✤❴❛③⑥➀❶❴
∆ = ∆̄

➭
❹✐✈❛❝❞➡➌❝✳②t③➺➳✘❝❊♣✐➜➞②④⑧➌❜ ➻ ❁☛❂➣➪❣r④❴✘❼⑩r☎✇❛➝➺rt③➢❜➯❼⑩r④❝❞✇❛✈❛③➢➜➞⑧❾②t❜✩✇❛❽❛❽❖❝✳②④➲❬➈❈⑧➌✇❛✈✘❿❛♣➍⑧❾➜ |z| ➸ |ż| ➸✯❼⑩✈✘❿ |z̈| ❼⑩②t❝

∆̄ +
ηz/kz

➸
2(kz∆̄ + ηz)

➸❈❼⑩✈✘❿
6kz(kz∆̄ + ηz)

②t❝✉♣④❽❖❝✉➀➫rt③➢➡➌❝✳➝➛♥❾➭
✥✐❝✥➳✘✈✘❝

y := x̃ + z
➻ ❁❄❊➌➪

v̄ := ṽ + RT ż
➻✹➉⑩➊➌➪

γ := γ̂e − ẍr + h(|y|2)y + z̈
➻Ò➉ ❁❊➪

➟✤❴✘❝✳②t❝
γ̂e
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γe

➸➌❼❾✈✘❿
h

③➛♣✴❼✜♣➤❜❞⑧♦⑧⑩rt❴❞➈❈⑧➌✇❛✈✘❿q❝❊❿❩♣➤r④②t③⑥➀➫r④➝➛♥
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η, β > 0
➭
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u = γ̄3 + |γ|k1v̄3

ω1 = −|γ|k2v̄2 −
k3|γ|γ̄2

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re1)γ̇

ω2 = |γ|k2v̄1 +
k3|γ|γ̄1

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re2)γ̇
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σ(0) = 0✭☎✄✪✦
σ(s) > − 1
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u = |γ| + |γ|k1σ(v̄3) (≥ 0)

ω1 = −|γ|k2

(

v̄2 − v̄3
γ̄2

|γ| + γ̄3

)

− k3|γ|γ̄2

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re1)γ̇

ω2 = |γ|k2

(

v̄1 − v̄3
γ̄1

|γ| + γ̄3

)

+
k3|γ|γ̄1

(|γ| + γ̄3)2
− 1

|γ|2 γTS(Re2)γ̇
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σ
❼❾②④❝✤➎➌③➢➡➌❝✳✈✔➸

❝➌➭ ➎❈➭➢➸q➈♦♥

σ(s) =
α

k1
tanh

(

k1s

α

)

,
⑧➌②

σ(s) =
s

√

1 +
k2

1
s2

α2

➟✤③➢r④❴
0 < α ≤ 1
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✆✞✝ → ✎✟✞ ★ ❐✗✌➴➻✹❧♦❽❛❴❛❝✉②④③⑥➀✳❼❾➝✚➡➌❝✳❴❛③⑥➀✥➝➛❝❊➪ ✑ ⑧➌✈✘♣➤③⑥❿q❝✉②➍❼✪♣④❽❛❴❛❝✳②t③⑥➀✳❼⑩➝✠➡➌❝✳❴❛③⑥➀✥➝➛❝❾➸✔➟✤③➢r④❴✣③➢rt♣✜➀✥❝✉✈●r④❝✳②✜⑧❾➜✮❜➯❼❾♣t♣✜➀✥⑧➌③➢✈q➲
➀✳③➛❿❛③➢✈❛➎➯➟✤③➢r④❴➼rt❴❛❝❑♣④❽❛❴❛❝✉②④❝ ✓ ♣❺➀✳❝✳✈●r④❝✉②✉➸❖♣➤✇✘➈❛❜❞③➺r④r④❝✉❿✪rt⑧➯r④❴✘❝❑❼❾➀✥r④③➛⑧❾✈➼⑧⑩➜❨➎❾②❶❼➮➡♦③➺rs♥➌➸❛❿q②❶❼⑩➎❩➜➞⑧❾②❶➀✥❝❊♣✳➸✘❼❾✈✘❿➼❼❾❿❛❿❛❝✉❿♦➲
❜➯❼➌♣④♣❞❝ ✘❖❝❊➀➫rt♣✉➭✷❫✫❴✘❝➼r④②❶❼⑩✈✘♣④➝➛❼⑩r④③➛⑧❾✈✘❼❾➝✤❿q♥♦✈✘❼⑩❜❞③⑥➀✳♣➯⑧❾➜✐rt❴❛❝❍➡❾❝✉❴❛③➛➀✳➝➢❝❍③⑥♣❞➎❾③➛➡❾❝✉✈➥➈●♥✙➻ ❁❊➪❞➟✤③➺rt❴

Fe(ẋ, ẍ) =
−ca|ẋ|ẋ − maẍ + mge3

➸❖❼❾✈✘❿
ca, ma

❽❖⑧➌♣④③➺rt③➢➡➌❝❑➀✥⑧➌✈✘♣➤rt❼⑩✈●r❣✈♦✇❛❜✝➈❈❝✉②t♣✐❼❾♣t♣➤⑧q➀✳③➛❼⑩r④❝✉❿✪➟✤③➢r④❴➬❿❛②t❼❾➎❞➜➞⑧❾②❶➀✥❝✉♣
❼❾✈✘❿❍❼❾❿✘❿q❝✉❿♦➲❬❜➯❼❾♣t♣✫❝ ✘❰❝✉➀✥rt♣❺②t❝✉♣④❽❖❝✉➀➫rt③➢➡➌❝✳➝➛♥❾➭✤❫✫❴❛③⑥♣❺❝❊⑤➌✇❈❼➣r④③➛⑧❾✈❍➀✉❼⑩✈❍➈❖❝☎②④❝✉➟✤②④③➢r➤rt❝✳✈❚❼➌♣☎➻ ➀✳⑧❾❜❞❽✘❼⑩②t❝✜➟✤③➢r④❴➨➻✍❁✉➪④➪
m̄ẍ = −TRe3 + F̄e(ẋ)

➟✤③➺rt❴
m̄ = m + ma

➸❛❼⑩✈✘❿
F̄e(ẋ) = −ca|ẋ|ẋ + mge3

➭▼❫✫❴❛❝❣rt❝✳②t❜
γ(ẋ, t)

⑧❾➜
❝❊⑤●✇✘❼➣rt③➢⑧➌✈✣➻Ò➋❾➪➙③➛♣✤r④❴♦✇✘♣✫➎❾③➛➡❾❝✉✈✑➈♦♥

γ(ẋ, t) =
F̄e(ẋ)

m̄
− ẍr = −ca

m̄
|ẋ|ẋ +

mg

m̄
e3 − ẍr

✥✍❴✘❝✳✈☛❿q②❶❼⑩➎✪❝ ✘❰❝✉➀➫r❶♣✜➀✳❼❾✈❀➈❖❝➯✈❛❝✳➎➌➝➢❝❊➀➫rt❝✉❿ ➻➞③✹➭ ❝➌➭ ca

m̄ |ẋ|ẋ ≈ 0
➪✥➸✯❷✐♣④♣④✇❛❜❞❽qr④③➛⑧❾✈☛➄✑③⑥♣✜✈❛⑧⑩r☎♣t❼➣rt③➛♣➤➳✘❝✉❿❀➟✤❴❛❝✉✈

rt❴❛❝❺②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝❺❼➌➀✳➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈❩➡❾❝❊➀➫r④⑧➌②
ẍr

③➛♣✮❝✉⑤●✇✘❼⑩➝❛r④⑧ mg
m̄ e3

➭❨❷❣♣▼❼☎❜❞❼⑩r➤rt❝✳②✮⑧❾➜❈➜ ❼➌➀➫r❊➸❾rt❴❛❝❣❼⑩➈❖⑧➣➡❾❝✤②t❝✳➝⑥❼➣rt③➢⑧➌✈
❽❖⑧❾③➛✈●rt♣✫⑧➌✇qr✤r④❴✘❼⑩r✤r④❴❛❝✉②④❝✜❼❾➝➢➟✫❼➮♥q♣✴❝✳➵q③➛♣➤rt♣✤❼❩➡❾❝✉➝➢⑧q➀✳③➺rs♥

ẋ
♣④✇✘➀❶❴✑r④❴✘❼⑩r

γ(ẋ, t) = 0
➭

❷❣✈❛⑧⑩rt❴❛❝✳②➙❝✥➵❛❼⑩❜❞❽❛➝➛❝❣➟✤❴✘❝✳②t❝✐❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈➼➄✜③⑥♣✮✈❛⑧❾r➙♣t❼➣rt③➛♣➤➳✘❝✉❿❱③➛♣✴❽❛②t⑧➣➡●③⑥❿q❝❊❿➯➈♦♥❞❼✝♣➤❴✘③➢❽➑❿❛②④③➢➜➽r④③➛✈❛➎❑➟✤③➢r④❴
rt❴❛❝❞♣➤❝❊❼✑➀✳✇❛②④②t❝✳✈●r➍❼➣r✜➩✳❝✉②④⑧✑②④❝✉➝➛❼⑩r④③➛➡❾❝❑➡➌❝✳➝➛⑧q➀✥③➢rs♥❾➭✜➹➘✈✘❿q❝✉❝✉❿✖➸✔r④❴❛❝➯♣④✇❛❜ ⑧⑩➜✮❝✳➵♦r④❝✳②t✈✘❼❾➝✯➜➞⑧➌②t➀✳❝✉♣❆❼⑩❽❛❽✘➝➢③➛❝✉❿❚r④⑧✪r④❴❛❝
♣④❴❛③➛❽❱③⑥♣✴❝❊⑤●✇✘❼⑩➝✘r④⑧❩➩✳❝✳②t⑧☎③➛✈❱rt❴❛③➛♣➙➀✳❼➌♣➤❝➌➭ ✤✮➡❾❝✳✈➑r④❴❛⑧➌✇❛➎❾❴➑⑧❾✈❛❝✐❜❞❼➮♥❞❴❛⑧➌❽❈❝❣r④❴✘❼⑩r✴rt❴❛❝➍♣➤❝✳r✴⑧⑩➜✙✚➤➈✘❼➌❿ ✜❣➡❾❝✉➝➢⑧q➀✥③➢r④③➛❝✉♣
❿❛⑧●❝❊♣❺✈❛⑧❾r❣➈❖❝✳➝➛⑧❾✈❛➎➯rt⑧❱rt❴❛❝☎✈❛⑧➌❜❩③➛✈✘❼❾➝✟⑧❾❽❖❝✳②❶❼➣rt③➢⑧➌✈✘❼⑩➝✯❿q⑧❾❜➯❼⑩③➛✈❍⑧⑩➜❨rt❴❛❝☎➡➌❝✳❴❛③⑥➀✥➝➛❝❾➸❈r④❴❛❝❊♣➤❝❑❝✥➵❛❼⑩❜❞❽❛➝➛❝✉♣❣③➢✈✘❿❛③➛➀✉❼➣r④❝
rt❴✘❼➣r❊➸❾③➛✈❱♣➤⑧➌❜❞❝✫➀✉❼❾♣④❝✉♣✉➸❾❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈❱➄❆③⑥♣✠r④⑧♦⑧☎♣➤r④②t⑧❾✈❛➎❈➭✯❤❍⑧➌②④❝✉⑧➣➡❾❝✳②❊➸➮➟✤❴❛❝✳✈➯③➢r▼③⑥♣❨➡♦③➢⑧➌➝➛❼⑩r④❝✉❿✔➸⑩r④❴✘❝❺➀✥⑧❾✈●rt②④⑧➌➝q③➛♣
✈✘⑧➯➝➢⑧➌✈❛➎❾❝✉②✫❿❛❝✥➳✘✈❛❝❊❿✖➭✴❡❣⑧➣➟✜➸qr④⑧➯❝✉✈✘♣④✇❛②④❝ ✡✷✁❄✮✱✭☛✡ ♣➤rt❼❾➈❛③➢➝➛③➢rs♥❾➸❛③➢r❣③⑥♣❺♣➤✇❛➷➯➀✳③➢❝✉✈●r✤r④❴✘❼⑩r

γ
❿q⑧♦❝✉♣✤✈❛⑧❾r❺➡➣❼⑩✈❛③⑥♣➤❴➼✈❛❝❊❼⑩②

rt❴❛❝❣➀✳⑧❾✈✘♣④③➛❿❛❝✳②t❝✉❿✝②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝✤➡❾❝✳➝➛⑧q➀✥③➢rs♥
ẋr

➭❨❫✫❴❛③⑥♣▼♣➤✇✘➎❾➎❾❝❊♣sr❶♣✚r④⑧☎②t❝✳❽✘➝➛❼➌➀✥❝❺❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈❱➄➍➈♦♥☎rt❴❛❝✤➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎
➟➙❝✉❼❾➠❾❝✉②➙❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈✟➭

➏✑➒✉➒ ✌✏✎✟✞✯➓✡✠ Ð☞☛✠✟ ✎✒✑ ✢✬✞✠✢ ✢✙✘✯✵ ✖✕✆✘✖
δ > 0

✖✕✔✝✮✱✑ ✆ ✑ ✭☎✆✂✞✝✌✣✁☎✞ ✭☛✡✤✡
t
✞ |γ(ẋr(t), t)| ≥ δ ✑

❢❣✈✘❿q❝✉②❺r④❴✘③➛♣❆❼❾♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈✔➸❈r④❴❛❝❩➀✥⑧➌✈➌rt②④⑧➌➝✔➝⑥❼➮➟❺♣❺❽❛②t⑧❾❽❖⑧➌♣④❝✉❿➼③➛✈➬❧♦❝✉➀✥r④③➛⑧❾✈➬➅➑❼⑩②t❝☎➝➢⑧q➀✉❼⑩➝➛➝➢♥✪➟✴❝✉➝➢➝➢➲➘❿q❝✥➳✘✈✘❝✉❿❍❼⑩✈❈❿
❝✉✈✘♣④✇❛②④❝ ✡✷✁✽✮✱✭☎✡ ❼➌♣➤♥♦❜❞❽qr④⑧❾r④③⑥➀❑♣➤rt❼❾➈❛③➢➝➛③➢rs♥✪⑧❾➜❨r④❴❛❝❞❿q❝❊♣➤③➛②④❝❊❿❍②t❝✥➜➞❝✳②t❝✳✈❈➀✥❝☎➡➌❝✳➝➛⑧♦➀✳③➺rs♥ ✛➣❽❈⑧●♣➤③➢r④③➛⑧❾✈✪r④②❶❼➣⑨s❝❊➀➫rt⑧❾②t♥❾➭✐❫✫❴✘③➛♣
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❜➯❼➮♥✑➈❈❝❩♣➤✇q➷❱➀✳③➢❝✉✈➌r✐➜➞⑧❾②✐❜❞❼❾✈♦♥✑❼⑩❽✘❽❛➝➢③⑥➀✳❼⑩r④③➛⑧❾✈✘♣✉➭ ❇❺⑧➣➟➙❝✳➡➌❝✳②❊➸q➜➞⑧❾②❣❽❛②t❼➌➀➫rt③➛➀✉❼⑩➝✟❽✘✇❛②④❽❖⑧➌♣④❝✉♣❺⑧❾✈❛❝☎➟➙⑧❾✇✘➝➛❿➼➝➛③➢➠➌❝✜r④⑧
♣➤rt❼➮♥✐⑧❾✈➍rt❴❛❝✴♣t❼➣➜➞❝✮♣④③⑥❿q❝✴❼❾✈✘❿➍❝✳✈✘♣④✇❛②t❝❨r④❴❈❼➣r✉➸❊➜➞⑧➌②✟③➛✈✘♣sr❶❼⑩✈✘➀✳❝❾➸❊r④❴✘❝✴➀✥⑧➌✈●r④②t⑧❾➝❾➀✉❼⑩➝⑥➀✥✇❛➝⑥❼➣rt③➢⑧➌✈❆③⑥♣✟❼❾➝➢➟✫❼➮♥q♣✖➟➙❝✳➝➛➝➺➲❬❽❈⑧●♣➤❝❊❿
❼❾✈✘❿➯rt❴✘❼➣r✫rt❴❛❝❆r④②❶❼❾➀❶➠♦③➢✈✘➎❑❝✳②t②t⑧❾②❶♣▼②t❝✉♣④✇❛➝➺rt③➢✈✘➎❑➜➞②t⑧❾❜ rt❴❛❝✜➀✥⑧❾✈●rt②④⑧➌➝❖❼➌➀➫r④③➛⑧❾✈✪➀✳❼❾✈➑✈❛❝✉➡❾❝✳②✫❿q③➛➡❾❝✉②④➎➌❝❣❝✥➵q❽❛➝➛⑧➌♣④③➛➡❾❝✳➝➛♥❾➸
➟✤❴❈❼➣r④❝✉➡❾❝✉②➍r④❴❛❝➑❼➌❿q➡❾❝✉②t♣④❝❞❝✳✈♦➡♦③➢②t⑧❾✈✘❜❩❝✉✈●rt❼⑩➝▼➀✳⑧❾✈✘❿❛③➺rt③➢⑧➌✈✘♣☎⑧➌②✜❽❈⑧♦⑧❾②t➝➛♥❀➀❶❴❛⑧●♣➤❝✉✈✣②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝❞rt②t❼⑩⑨s❝✉➀✥r④⑧❾②t③➛❝✉♣✐➜➞⑧❾②
➟✤❴✘③➛➀❶❴

γ
❼⑩❽✘❽❛②④⑧●❼❾➀❶❴❛❝❊♣▼rt❴❛❝✜✈♦✇❛➝➛➝✔➡❾❝❊➀➫r④⑧➌②✤❼➣r❣♣④⑧❾❜❞❝❆r④③➛❜❩❝✳➲✹③➛✈✘♣➤rt❼❾✈➌r❊➭▼❷✤➀✳➀✳⑧❾②❶❿q③➢✈✘➎❾➝➛♥❾➸●r④❴❛❝✜⑧➌➈q⑨s❝✉➀✥r④③➛➡❾❝➍⑧⑩➜✚r④❴❛③⑥♣

♣④❝✉➀✥r④③➛⑧❾✈☎③⑥♣✟r④⑧❆❜❩⑧q❿q③➢➜➞♥➍r④❴✘❝➙➀✳⑧❾✈●r④②t⑧❾➝➛➝➢❝✉②t♣✟⑧⑩➜❈❧♦❝❊➀➫rt③➢⑧➌✈✝➅❺③➛✈❑⑧➌②t❿❛❝✳②✔rt⑧✐❴❈❼➮➡❾❝❨rt❴❛❝✮rt❴❛②t❝✳❝▼➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎❣❽❛②t⑧❾❽❖❝✳②④r④③➛❝✉♣
♣t❼➣rt③➛♣➤➳✘❝❊❿✑♣④③➢❜✝✇❛➝➢rt❼⑩✈✘❝✳⑧❾✇❈♣➤➝➛♥✒✾
✙ ✂ ✁ ➝➛⑧q➀✳❼⑩➝✔❼➌♣➤♥♦❜❞❽qrt⑧⑩r④③⑥➀➍♣sr❶❼⑩➈❛③➛➝➛③➺rs♥❱➟✤❴✘❝✳✈❍❷❣♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈❍➂❩③➛♣✤♣t❼➣rt③➛♣➤➳✘❝✉❿✔➸
✙✁� ✁ ➟➙❝✳➝➛➝➺➲❬❽❖⑧➌♣④❝✉❿q✈❛❝❊♣④♣➙⑧❾➜✯rt❴❛❝✜❝✥➵q❽❛②t❝✉♣t♣➤③➛⑧❾✈❈♣✴⑧❾➜✯rt❴❛❝❑➀✳⑧❾✈●r④②t⑧❾➝❰③➛✈❛❽❛✇qr❶♣✤❝✳➡➌❝✳✈➼➟✤❴❛❝✳✈❍❷✐♣④♣④✇❛❜❞❽qr④③➛⑧❾✈❍➂❩③⑥♣✤✈❛⑧⑩r

♣t❼➣rt③➛♣➤➳✘❝✉❿✔➸
✙✄✂ ✁ ➎➌➝➢⑧➌➈✘❼⑩➝❺✇✘✈❛③➺➜➞⑧➌②④❜ ✇❛➝➢r④③➛❜❞❼⑩r④❝❚➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣❱⑧❾➜❆rt❴❛❝➬♣④♥q♣srt❝✳❜ ✓ ♣❱➡❾❝✳➝➛⑧q➀✥③➢r④③➛❝✉♣

ẋ
❼⑩✈✘❿

ω
❝✳➡➌❝✳✈➥➟✤❴❛❝✉✈

❷✐♣④♣④✇❛❜❞❽qr④③➛⑧❾✈❍➂❩③⑥♣✫➡●③➛⑧❾➝⑥❼➣rt❝✉❿✖➭
❫✫❴✘❝➑❜❞⑧q❿q③➺➳❖➀✳❼➣rt③➢⑧➌✈✘♣❑❼❾②④❝✑➀✳❼⑩②t②t③➢❝❊❿❀⑧➌✇qr❑➜➞⑧➌②☎rt❴❛❝✑➡➌❝✳➝➛⑧q➀✥③➢rs♥✣➀✳⑧❾✈●r④②t⑧❾➝▼⑧➌➈q⑨s❝✉➀✥r④③➛➡❾❝❱⑧❾➜❺⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➨➉q➸✠➈❛✇qr
rt❴❛❝✳♥✣❼⑩②t❝➯❼⑩➝⑥♣➤⑧➼➡➣❼⑩➝➛③➛❿❀➜➞⑧➌②✜⑧⑩r④❴✘❝✳②❑➀✳⑧❾✈●r④②t⑧❾➝✠➝⑥❼➮➟❺♣➍❽❛②④⑧➌❽❈⑧●♣➤❝❊❿➬③➛✈➴❧♦❝✉➀✥r④③➛⑧❾✈☛➅➼❜❞⑧q❿q✇❛➝➛⑧➼❼❍♣➤r④②❶❼⑩③➛➎❾❴●r④➜➞⑧❾②t➟➙❼❾②t❿
rt②t❼❾✈✘♣④❽❈⑧●♣➤③➢r④③➛⑧❾✈✔➭

⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙ � ✁ ③⑥♣✴♣④③➛❜❩❽✘➝➢♥❞⑧❾➈❛rt❼⑩③➛✈❛❝❊❿➯➈♦♥✝❜✝✇❛➝➺rt③➢❽✘➝➢♥♦③➛✈❛➎☎rt❴❛❝✐✇✘✈●➈❖⑧❾✇✘✈✘❿q❝✉❿➯r④❝✳②t❜➯♣
1/|γ| ❼❾✈✘❿ 1/(|γ|+

γ̄3)
③➢✈ r④❴❛❝✣➀✥⑧➌✈➌rt②④⑧➌➝❣❝✳➵♦❽✘②④❝❊♣④♣④③➢⑧➌✈✏➻ ❁✫❁❊➪❱➈♦♥✍❼⑩✈ò❼➌❿q❝✉⑤●✇✘❼⑩r④❝❚➜➞✇✘✈✘➀➫rt③➢⑧➌✈✍rt❼❾➠●③➛✈❛➎☛rt❴❛❝✣➡➮❼❾➝➢✇✘❝➬⑧❾✈✘❝❚③➢✈ r④❴❛❝

✈✘❝✳③➛➎❾❴♦➈❈⑧➌②④❴✘⑧●⑧q❿➼⑧❾➜❨r④❴❛❝❩②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝☎rt②t❼⑩⑨s❝✉➀➫rt⑧❾②t♥✑❼❾✈✘❿❍➩✳❝✉②④⑧✪❼➣r
γ = 0

➭➍➆❛⑧➌②❣③➛✈✘♣➤rt❼⑩✈❈➀✥❝❾➸❰⑧➌✈❛❝✝➀✉❼⑩✈❚✇✘♣④❝✝r④❴❛❝
C1 ➜➞✇❛✈✘➀✥r④③➛⑧❾✈

µτ : [0, +∞) −→ [0, 1]
❿q❝✥➳✘✈✘❝✉❿✪➈♦♥

µτ (s) =

{

sin(πs
2

2τ2 ) ,
③➺➜

s ≤ τ
1 ,

⑧⑩rt❴❛❝✳②t➟✤③➛♣④❝ ➻✹➉➣➃●➪

➜➞⑧➌②❺♣➤⑧➌❜❞❝➍➀✳⑧❾✈✘♣➤rt❼❾✈●r
τ > 0

➭❨❫✫❴❛③➛♣❺♥●③➛❝✳➝⑥❿❛♣➙rt❴❛❝✜❜❞⑧♦❿❛③➺➳✘❝❊❿➼➀✥⑧❾✈●rt②④⑧➌➝❖❝✳➵q❽❛②④❝❊♣④♣④③➛⑧❾✈


























u = γ̄3 + |γ|k1ṽ3

ω1 = −|γ|k2ṽ2 − µτ (|γ| + γ̄3)
k3|γ|γ̄2

(|γ| + γ̄3)2
− µτ (|γ|)

1

|γ|2 γTS(Re1)γ̇

ω2 = |γ|k2ṽ1 + µτ (|γ| + γ̄3)
k3|γ|γ̄1

(|γ| + γ̄3)2
− µτ (|γ|)

1

|γ|2 γTS(Re2)γ̇

➻✹➉❾➄❾➪

❫✫❴✘③➛♣❣❜❩⑧q❿q③➢➳❈➀✉❼➣r④③➛⑧❾✈❚❿❛⑧●❝❊♣❺✈❛⑧❾r❣❽❛②t❝✳➡➌❝✳✈●r❺⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙ ✂ ✁ ➜➞②④⑧➌❜ ➈❖❝✳③➛✈❛➎➑♣t❼➣rt③➛♣➤➳✘❝✉❿✔➭✐❹✐✈➼r④❴❛❝☎⑧❾r④❴❛❝✉②❣❴✘❼❾✈✘❿✖➸
rt❴❛❝❑⑧➌➈qr④❝✉✈●r④③➛⑧❾✈❍⑧⑩➜❨⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙✁✂ ✁ ③⑥♣❺❜❞⑧❾②t❝✜③➢✈♦➡➌⑧❾➝➛➡❾❝✉❿✔➭➙➹❬r❆②④❝✉➝➢③➛❝✉♣❣③➢✈➼rt❴❛❝☎➳❈②t♣➤r❣❽❛➝⑥❼❾➀✳❝☎⑧❾✈➼rt❴❛❝☎➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎
⑧➌➈✘♣④❝✳②t➡➮❼⑩r④③➛⑧❾✈✔➸❊➟✤❴❛③⑥➀❶❴❑③⑥♣✠❼❣❿q③➛②④❝❊➀➫r❨➀✥⑧➌✈✘♣➤❝❊⑤●✇❛❝✳✈✘➀✳❝✮⑧❾➜qr④❴❛❝✤❿q③⑥♣④♣④③➛❽✘❼➣rt③➢➡♦③➢rs♥❆⑧❾➜❈❿q②❶❼⑩➎✤➜➞⑧➌②t➀✳❝✉♣➙➻➞③✹➭ ❝➌➭✚❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈
➅➌➪➫➭
� ➔ Ð ✞ Ð ➒ ✠ ➓ ✠ Ð☞☛ ✟ ✖✪✔❄✛✫✛✝✁❋✖✬✢ ✆ ✑ ✭☎✆ ✆❈✖✱✖✕✔✗☛ ✛✒✆✘✵✶✁☎✄ ✂ ✵ ✖ ✖✬✭☛✆✟✵ ✖ ☎ ✢✱✦ ✭☎✄✪✦ ✆ ✑ ✭☎✆

u
✵ ✖ ✮✱✭☛✡✷✮✬✔✺✡✷✭☎✆✻✢✱✦ ✭✫✮✱✮✱✁☛✞✜✦☛✵✤✄ ✆ ✆✻✁

✭ ✌✣✢✱✢✜✦ ✂✱✭✫✮✠✟ ✡✥✭ ✓ ✖✕✔✝✮✱✑ ✆✤✑✝✭☛✆ ✞✝✌✣✁☛✞ ✖✬✁ ☛ ✢ ✮✱✁☛✄ ✖✕✆✰✭☛✄✴✆✶✖
β1, β2

✞

|u| ≤ β1 + β2|ẋ|
➻✹➉⑩➂➌➪

✎✒✑✝✢✣✄ ✞❆✆ ✑ ✢ ✮✱✁☎✄✝✆✟✞✠✁☛✡✤✡✷✢✱✦ ✂☛✢✜✑✺✵✶✮✣✡✥✢✏✎ ✖ ✡ ✵✤✄✪✢✱✭☎✞ ✂☛✢✣✡✥✁✽✮✬✵✤✆ �
ẋ

✵ ✖ ✔
✑
✔
✑

✂
✑ ✑
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ẍ
✭☛✞✠✢ ✭☛✡ ✖✬✁ ✔

✑
✔
✑

✂
✑ ✑

ë➞ì✚í✔ë➽î

in
ri
a
-0

0
2
5
8
0
9
2
, 
v
e
rs

io
n
 2

 -
 2

8
 F

e
b
 2

0
0
8



�✂✁☎✄✝✆✟✞✠✁☛✡☞✁✍✌✏✎✒✑✓✞✕✔✓✖✕✆✘✗✘✙✚✞✠✁✜✛✝✢✣✡✤✡✥✢✜✦★✧✩✄✪✦✫✢✬✞✠✭✯✮✣✆✟✔✝✭☛✆✰✢✱✦✳✲✴✢✱✑✓✵✶✮✬✡✷✢✕✖ ❁❄❊

� ➔ Ð✔Ð � ❧♦❝✉❝☎❷❺❽❛❽❖❝✳✈❈❿q③➺➵➼❷☎➭ ➂❛➭
❫✫❴❛❝❑⑧❾➈q⑨s❝❊➀➫r④③➛➡❾❝➍③⑥♣✤✈❛⑧➣➟✷r④⑧➯❜❞⑧q❿q③➢➜➞♥❱r④❴✘❝☎❝✥➵q❽❛②t❝✉♣t♣➤③➛⑧❾✈Ó➻ ➋➌➪✫⑧⑩➜

γ(ẋ, t)
♣➤⑧❞rt❴✘❼➣r

u
➸✘❼❾♣❺➎❾③➛➡❾❝✳✈✪➈♦♥✣➻✹➉❾➄➌➪➫➸

➀✉❼⑩✈❍♣t❼➣r④③⑥♣➤➜➞♥➑rt❴❛❝☎❽❛②t⑧❾❽❖❝✳②④rs♥❀➻✹➉⑩➂➌➪✤➟✤③➺rt❴❛⑧❾✇qr❆❿q❝✉♣➤r④②t⑧➣♥♦③➢✈❛➎❩rt❴❛❝☎❽❛②t⑧❾❽❖❝✳②④rs♥➑⑧❾➜✠➝➛⑧q➀✳❼❾➝✟❼❾♣④♥♦❜❩❽❛r④⑧⑩rt③➛➀✜♣➤rt❼❾➈❛③➛➝➢③➢rs♥❾➭
❫✯⑧➍r④❴✘③➛♣✮❽❛✇❛②t❽❈⑧●♣➤❝➌➸❾➝➛❝✥r ♣t❼➣r

∆
❿q❝✳✈✘⑧⑩r④❝✐❼✜➀✥⑧❾✈●rt③➢✈♦✇❛⑧➌✇✘♣✝✚➤♣t❼➣rt✇❛②❶❼➣r④③➛⑧❾✈✝➜➞✇❛✈✘➀✥r④③➛⑧❾✈ ✜❣♣t❼➣rt③➛♣➤➜➞♥♦③➢✈❛➎➍rt❴❛❝❺⑦▼②t⑧❾❽❖❝✳②④r④③➛❝✉♣

✙ ✂ ✞❆✙ � ✞❆✙✁✂ ⑧❾➜✟r④❴✘❝➍➜➞✇❛✈✘➀➫rt③➢⑧➌✈❍♣④❼⑩r
∆

❼❾✈✘❿➼❼⑩➝⑥♣➤⑧✝r④❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎❞❽❛②④⑧➌❽❈❝✉②➤rs♥
✙ ☎

✑
❫✫❴✘❝✳②t❝❆❝✳➵q③➛♣➤rt♣✫❼❞➀✥⑧➌✈➌rt③➢✈♦✇❛⑧➌✇✘♣✴➜➞✇❛✈✘➀✥r④③➛⑧❾✈

φ : R
3 −→ R

♣➤✇✘➀❶❴✑r④❴❈❼➣r ∀(ξ, γ) ∈ R
3 × R

3 ➸ φ(γ) ≤ 1❼❾✈✘❿
ξT

♣t❼➣r
∆(γ) = φ(γ)ξT γ

➻✹➉✯❂⑩➪
❷✙❽❖⑧➌♣t♣④③➢➈❛➝➛❝✜➀❶❴❛⑧❾③⑥➀✥❝➍③⑥♣➙r④❴❛❝☎➀✳➝➛❼➌♣④♣④③⑥➀✳❼⑩➝✖♣t❼➣rt✇❛②t❼⑩r④③➛⑧❾✈➑➜➞✇❛✈✘➀➫rt③➢⑧➌✈❍❿q❝✥➳✘✈✘❝✉❿➼❼❾♣

♣t❼➣r
∆(γ) := γ min

(

1,
∆

|γ|

) ➻✹➉⑩➋➌➪

➚✟❝✥r
γd

❿q❝✉✈❛⑧⑩rt❝✜❼⑩✈♦♥✑➅⑩➲❬❿q③➛❜❞❝✳✈✘♣④③➛⑧❾✈✘❼❾➝❖➈❖⑧❾✇✘✈✘❿q❝✉❿ C1 r④③➛❜❞❝✥➲➘❿q❝✳❽❖❝✳✈❈❿q❝✳✈●r❣➡➌❝✉➀➫rt⑧❾②✫➡➣❼⑩➝➛✇❛❝✉❿✑➜➞✇❛✈❈➀➫r④③➛⑧❾✈❍➟✤❴✘⑧➌♣④❝
❿❛❝✳②t③➢➡➣❼➣rt③➢➡➌❝❞③➛♣☎❼❾➝➛♣④⑧➼➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭➼❫✫❴❛❝➯②④⑧➌➝➢❝➯❼❾✈✘❿☛➀❶❴❛⑧❾③⑥➀✥❝❞⑧❾➜✴rt❴❛③➛♣☎➜➞✇❛✈✘➀✥r④③➛⑧❾✈Ó➟✤③➢➝➛➝✮➈❖❝➑➀✳⑧❾❜❞❜❞❝✳✈●r④❝❊❿❀✇✘❽❈⑧➌✈
➜➞✇✘②➤rt❴❛❝✳②❊➸❛❼⑩➝➛⑧❾✈❛➎❞➟✤③➢r④❴❍♣④⑧❾❜❞❝➍❝✥➵❛❼⑩❜❞❽❛➝➛❝✉♣✉➭ ✥❣❝✳➳✘✈❛❝✜✈❛⑧➣➟

γ
❼❾♣➙➜➞⑧❾➝➛➝➛⑧➣➟❺♣

γ(ẋ, t) := γd(t) +
♣t❼➣r

M (γe,d(ẋ, t)) − ẍr(t)
➻Ò➉✫❊➌➪

➟✤③➢r④❴
γe,d(ẋ, t) := γe(ẋ, t) − γd(t)

➻ ➅➌➊➌➪
➆✘②④⑧➌❜ ➻Ò➉✫❊❾➪✥➸➌❷❣♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈✝➃✘➸⑩r④❴✘❝➙➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣✠⑧⑩➜

γd
➸❾❼⑩✈❈❿☎rt❴❛❝✫➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝✉♣t♣✠⑧⑩➜❈r④❴❛❝➙➜➞✇❛✈❈➀➫r④③➛⑧❾✈ ♣t❼➣r

M
➸

③➢r✤➜➞⑧❾➝➛➝➛⑧➣➟❺♣✮rt❴✘❼➣r✤rt❴❛❝✳②t❝➍❝✥➵q③⑥♣sr❶♣❺❼✝➳✘✈❛③➢r④❝✜➡➣❼⑩➝➛✇❛❝
Q > 0

♣➤✇❈➀❶❴➑rt❴✘❼➣r❊➸❛➟✤❴✘❼➣rt❝✳➡➌❝✳②
ẋ(t)

➸

|γ(ẋ(t), t)| ≤ Q
➻ ➅ ❁➮➪

❫✫❴✘❝✳②t❝✥➜➞⑧❾②t❝❾➸✮③➢✈ ➡♦③➢❝✉➟ ⑧⑩➜✐r④❴❛❝➼❝✥➵q❽❛②t❝✉♣t♣④③➢⑧➌✈➨⑧⑩➜
u

③➢✈✙➻Ò➉➌➄⑩➪✥➸✴③➢✈✘❝✉⑤●✇✘❼⑩➝➛③➢rs♥ ➻Ò➉❾➂➌➪✝③➛♣❩✈❛⑧➣➟ ♣④❼⑩r④③⑥♣s➳❈❝✉❿✖➭➦⑦▼②④③➛⑧❾②
rt⑧☛♣sr❶❼➣r④③➛✈❛➎✣r④❴✘❝✪❜➯❼❾③➢✈✍♣➤rt❼⑩➈✘③➢➝➛③➢➩❊❼➣rt③➢⑧➌✈➨②t❝✉♣④✇❛➝➺r➯⑧❾➜❣r④❴✘③➛♣❱♣④❝✉➀✥r④③➛⑧❾✈✔➸✴➟✴❝➼✈❛❝✉❝✉❿➨r④⑧Ó③➛✈➌rt②④⑧q❿q✇❈➀✥❝❍♣➤⑧➌❜❞❝✪❝✳➵♦r④②❶❼
✈✘⑧⑩rt❼⑩r④③➛⑧❾✈✔➭✜❧♦③➛✈✘➀✥❝

γd
③⑥♣✐➈❈⑧➌✇❛✈✘❿q❝❊❿❚➈♦♥❍❼❾♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈✔➸❰③➺r✐➜➞⑧❾➝➛➝➢⑧➣➟❺♣❣➜➞②t⑧❾❜ ❷❣♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈✘♣➍➉❱❼❾✈✘❿➬➅❀➻➞②t❝✉➀✳❼❾➝➢➝

rt❴✘❼➣r
γe = Fe/m

➪➙❼⑩✈✘❿✣➻ ➅➌➊❾➪✴r④❴❈❼➣r✤r④❴✘❝✳②t❝❆❝✳➵q③➛♣➤r❺➀✥⑧❾✈❈♣sr❶❼⑩✈●r✤✈●✇✘❜❑➈❖❝✳②❶♣
c̄1 ≥ 0, c̄2 > 0, c̄3 ≥ 0, c̄4 > 0♣④✇✘➀❶❴✑r④❴✘❼⑩r✉➸ ∀(ẋ, t) ∈ R

3 × R
➸
{

|γe,d(ẋ, t)| ≤ c̄1 + c̄2|ẋ|2

ẋTγe,d(ẋ, t) ≤ c̄3|ẋ| − c̄4|ẋ|3
➻Ò➅➌➉❾➪

✑ ⑧➌✈✘♣④③➛❿q❝✉②➙r④❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎❩❽❖⑧❾➝➛♥♦✈❛⑧❾❜❞③⑥❼⑩➝✖③➛✈
s
➸❛➟✤③➢r④❴

v̄r > 0
➸

P (s) := c̄4s
3 − c̄2v̄rs

2 − c̄3s − c̄1v̄r

❧q③➢✈✘➀✳❝
c̄4 > 0

➸qr④❴❛❝✉②④❝➍❝✳➵♦③⑥♣➤rt♣✤❼❩✈♦✇❛❜❑➈❖❝✳②
κ(c̄i, v̄r) ≥ v̄r

♣④✇✘➀❶❴➑rt❴✘❼➣r
s ≥ κ(c̄i, v̄r) ⇒ P (s) ≥ 0

➭
❫✫❴❛❝➙➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎❣rt❴❛❝✳⑧➌②④❝✉❜✪➸➣➟✤❴✘⑧➌♣④❝✴❽❛②t⑧♦⑧⑩➜✘③⑥♣❨❿q❝✳rt❼⑩③➛➝➛❝✉❿☎③➛✈❞❷❺❽❛❽❖❝✳✈✘❿❛③➺➵❞❷☎➭ ❂♦➸⑩❽❛②t❝✉♣④❝✳✈●r❶♣✟rt❴❛❝✫❜➯❼⑩③➛✈❑②t❝✉♣④✇❛➝➺r

⑧❾➜✟rt❴❛③➛♣❣♣➤❝❊➀➫r④③➛⑧❾✈✟➭
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�✂✁ ❐♦Ð ➔ ❐ ✎ ✌ ✁ ✢✣✆
k1

✞
k2

✞
k3

✦✯✢✣✄✒✁☛✆✰✢ ✖✕✆✟✞✕✵✶✮✣✆✟✡☎� ✛ ✁☛✖✕✵✤✆✘✵✄✂☛✢ ✮✜✁☎✄ ✖✕✆✰✭☛✄✝✆✘✖
✑

✆ ✛✯✛✪✡☎� ✆ ✑ ✢ ✮✱✁☛✄✴✆✘✞✠✁☎✡ ✡✷✭ ✓ ➻✹➉❾➄⑩➪ ✞
✓ ✵✤✆ ✑

µτ
✭☎✄✪✦

γ
✆✫✵✄✂☛✢✣✄ ✂ � ➻✹➉➣➃●➪ ✭☛✄✒✦ ➻✹➉☎❊❾➪ ✞✠✢✣✖✟✛ ✢✱✮✬✆✘✵✄✂☛✢✣✡✁� ✞ ✆✰✁ ✖ �❋✖✕✆✻✢ ☛ ➻✶❊➌➪

✑
✖✪✔❄✛✫✛✝✁❋✖✬✢ ✆✤✑✝✭☛✆

0 < τ < δ
✞

✓☞✑✝✢✣✞✜✢
τ

✭☛✄✒✦
δ

✭☛✞✠✢ ✆ ✑ ✢ ✮✱✁☛✄✝✖✕✆✻✭☎✄✝✆✘✖ ✵✤✄ ✂☛✁☛✡ ✂☛✢✱✦ ✵✤✄ ✞✜✢✣✡✷✭☎✆✘✵✶✁☎✄ ➻Ò➉⑩➃●➪ ✭☛✄✒✦ ✆ ✖✱✖✱✔✗☛ ✛✪✆✟✵✶✁☛✄☎✄ ✞✠✢✣✖✘✛✝✢✱✮✣✆✟✵✄✂☛✢✣✡☎�
✑✖✪✔❄✛✫✛✝✁❋✖✬✢ ✆✤✑✝✭☛✆ ✆ ✖✜✖✕✔✗☛ ✛✪✆✟✵✶✁☛✄✝✖ ✂ ✞ � ✞ ✂ ✞ ☎ ✞❆✭☎✄✪✦✆✄ ✭☛✞✠✢ ✖✬✭☛✆✟✵ ✖ ☎ ✢✱✦

✑
✎✒✑ ✢✬✄ ✆✤✑✝✢❆✌✣✁☛✡✤✡✷✁ ✓ ✵✤✄ ✆ ✛✒✞✠✁✜✛✝✢✣✞✕✆✟✵✶✢✣✖ ✑ ✁☎✡✷✦✞✝

✂ ✁ ✆ ✑ ✢ ✮✜✁☎✄✝✆✟✞✠✁☛✡❉✵✤✄☎✛✪✔✺✆✘✖
u

✭☛✄✒✦
ω

✭☛✞✜✢ ✓❀✢✬✡✤✡ ✗✍✦✫✢✆☎✂✄✒✢✱✦ ✭☎✄✪✦ ✂✱✁☎✔✺✄✪✦✫✢✱✦ ✭☛✡✷✁☎✄ ✆ ✭☛✄ � ✖ �❋✖✕✆✰✢ ☛ ✎ ✖ ✖✬✁☛✡ ✔✺✆✟✵✶✁☛✄ ✞

� ✁
ẋ

✵ ✖ ✔
✑
✔
✑
✂
✑

✭☛✡✷✁☎✄ ✆ ✭☛✄ � ✖ �❋✖✕✆✰✢ ☛ ✎ ✖ ✖✣✁☎✡ ✔✺✆✟✵✶✁☛✄ ✞

✂ ✁ ✌✣✁☛✞ ✆✤✑✝✢ ✖✕✔ ✂✣✖ �❋✖✕✆✰✢ ☛ ➻✘❊⑩➈❈➪✠✟➌➻✶❊➌➀✉➪ ✞☞✆ ✑ ✢❈✢ ✄✬✔✺✵✤✡ ✵ ✂✬✞✕✵✤✔✗☛ ✛ ✁☎✵✤✄✝✆
(ṽ, θ̃) = (0, 0)

✁ ✌ ✆ ✑ ✢❈✮✣✡✥✁❋✖✬✢✱✦☛✗✰✡✷✁❄✁✜✛ ✖ �❋✖✕✆✻✢ ☛
✵ ✖ ✡✷✁❄✮✱✭☛✡✤✡☎� ✭☛✖ �☞☛ ✛✪✆✰✁☛✆✟✵✶✮✱✭☛✡✤✡☎� ✖✕✆✰✭ ✂✬✡✷✢❈✵ ✌

M > c̄1 + c̄2v̄r

✞ ✓ ✵✤✆✤✑
M

✆✤✑✝✢ ✮✱✁☛✄ ✖✕✆✰✭☛✄✴✆ ✭☛✖✱✖✣✁❄✮✬✵✶✭☛✆✰✢✜✦ ✓ ✵✤✆✤✑ ✆ ✑ ✢
✌✱✔✺✄✪✮✬✆✟✵✶✁☛✄ ♣t❼➣r

M
✵✤✄✝✆✰✢✣✞ ✂☛✢✣✄✴✵✤✄ ✆ ✵✤✄

γ ✑✠✟ ✔✺✞✕✆ ✑ ✢✬✞✥☛ ✁☎✞✠✢✥✞ ✵ ✌
M ≥ c̄1 + c̄2(κ(c̄i, v̄r))

2 ✭☛✄✒✦ |γ(ẋ, t)| ≥
τ ∀(ẋ, t)

✞ ✆✤✑✝✢ ✭☛✆✟✆✟✞✠✭✫✮✬✆✘✵✶✁☎✄ ✦✯✁☞☛ ✭☛✵✤✄ ✵ ✖ ✢☎✄✬✔✝✭☛✡ ✆✰✁
R

3 × (−π, π) ✑
❻➙♥➑➀✳⑧❾❜❞❽✘❼❾②④③⑥♣➤⑧➌✈❱➟✤③➢r④❴✑r④❴❛❝☎➀✳⑧❾✈●r④②t⑧❾➝❖➝➛❼➮➟❺♣✫⑧❾➜✠❧♦❝❊➀➫rt③➢⑧➌✈✪➅q➸♦rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝✠➻Ò➉❾➄➌➪➙❿q❝✳❽❖❝✳✈✘❿✘♣✤⑧❾✈✑❝✥➵♦r④②❶❼✝❿❛❝✉♣④③➢➎➌✈
rt❝✳②t❜➯♣❣➻

τ
➸q❼❾✈✘❿❞r④❴✘❝❺➜➞✇❛✈✘➀✥r④③➛⑧❾✈✘♣ ♣④❼⑩r

M
❼⑩✈✘❿

γd
➪❨➟✤❴❛③⑥➀❶❴➑➀✉❼⑩✈➯➈❖❝❺r④✇✘✈❛❝✉❿❱♣④⑧❑❼➌♣❨r④⑧❑❜❞❼⑩➵q③➢❜❞③➛➩✳❝✤rt❴❛❝✐❿q⑧➌❜➯❼⑩③➛✈

⑧❾➜✠♣➤rt❼❾➈❛③➛➝➢③➢rs♥➑⑧❾➜✯rt❴❛❝☎➀✥➝➛⑧➌♣④❝✉❿♦➲❬➝➛⑧●⑧➌❽✪♣④♥q♣srt❝✳❜➼➭✮➚✟❝✥r❺✇✘♣✤③➛➝➛➝➢✇✘♣➤r④②❶❼➣rt❝➍r④❴❛③⑥♣✫rt✇❛✈❛③➛✈❛➎➯❽❈⑧●♣④♣④③➛➈❛③➢➝➛③➢rs♥➑③➛✈✑rt❴❛❝❑➀✉❼❾♣④❝❆⑧❾➜
rt❴❛❝☎♣④❽❛❴❛❝✳②t③⑥➀✳❼⑩➝❰➡➌❝✳❴❛③⑥➀✥➝➛❝✜❼⑩➝➛②④❝❊❼❾❿q♥❱➀✳⑧❾✈✘♣④③➛❿❛❝✳②t❝✉❿✑③➢✈ ✤❨➵❛❼⑩❜❞❽❛➝➛❝ ❁❾➭
✆✞✝ → ✎✟✞ ★ ❐ ✖✣➻Ò❧q❽❛❴❛❝✳②t③⑥➀✳❼⑩➝✖➡➌❝✳❴❛③⑥➀✥➝➛❝❾➸❛➀✳⑧❾✈●r④③➛✈♦✇❛❝✉❿❈➪✴❫✯⑧➯♣➤③➛❜❞❽❛➝➛③➺➜➞♥➌➸q➟✴❝✜❼❾♣t♣④✇❛❜❞❝❣rt❴✘❼➣r✤rt❴❛❝✜❿q❝✉♣④③➢②t❝✉❿✑➡❾❝✉➝➢⑧q➀✳③➺rs♥
ẋr

③⑥♣✐➀✳⑧❾✈✘♣➤rt❼❾✈●r✉➸✘③✹➭ ❝❾➭
ẍr = 0

➭❣➹➘✈❚r④❴❛③⑥♣✐➀✉❼❾♣④❝❾➸
γe(ẋ) = γ(ẋ) = γg + γae(ẋ)

➸❈➟✤③➢r④❴
γg = (mg/m̄)e3rt❴❛❝❱➎➌②t❼➮➡♦③➢rs♥❚❼❾➀✳➀✳❝✳➝➛❝✳②❶❼➣rt③➢⑧➌✈❀➡➌❝✉➀➫rt⑧❾②➍➳✘❝✉➝➛❿✔➸✚❼❾✈✘❿

γae(ẋ) = −(ca/m̄)|ẋ|ẋ ➻
ca > 0

➪✐r④❴✘❝➑❼❾➀✉➀✥❝✳➝➛❝✳②❶❼➣rt③➢⑧➌✈
➡➌❝✉➀✥r④⑧❾②➙❼❾♣t♣➤⑧q➀✳③➛❼⑩r④❝✉❿❱➟✤③➺rt❴✑❼⑩❝✉②④⑧q❿q♥♦✈✘❼❾❜❞③➛➀❺➜➞⑧❾②❶➀✥❝✉♣✉➭✠➚✔❝✥r✫✇✘♣✫❼❾♣t♣④✇❛❜❞❝❺r④❴❈❼➣r➙r④❴❛❝✐➜➞✇❛✈✘➀✥r④③➛⑧❾✈ ♣④❼⑩r

M
③➛♣✫❿q❝✳➳✘✈❛❝❊❿

➈♦♥☛➻Ò➉❾➋❾➪✳➸❖❼❾✈✘❿❍➀✥⑧➌✈✘♣➤③⑥❿q❝✉②✤rs➟✴⑧➑❽❈⑧●♣④♣④③➢➈✘➝➢❝❑➀❶❴✘⑧❾③⑥➀✥❝✉♣✤➜➞⑧❾②
γd

➻ ❼⑩❜❞⑧➌✈❛➎❱⑧⑩rt❴❛❝✳②❶♣❶➪➫➭❺➆✚③➢②❶♣➤r✉➸✘➝➛❝✥r
γd = γg

➭❣❫✫❴❛❝✉✈
γ = γg +

♣t❼➣r
M (γe,d)

❼❾✈✘❿
γe,d = γae

➭✪❧q③➢✈✘➀✳❝➯r④❴✘❝➯✈❛⑧❾②t❜❦⑧❾➜
γg

③⑥♣☎✈❛⑧➌✈q➲❬➩✳❝✳②t⑧➼❼⑩✈✘❿Ó➀✥⑧➌✈✘♣➤rt❼⑩✈●r❊➸✯❼⑩✈❈❿
♣t❼➣r

M
③⑥♣☎➈❖⑧❾✇❛✈✘❿❛❝✉❿✣➈♦♥

M
➸✠❷❣♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈☛➂➼③➛♣☎♣t❼➣rt③➛♣➤➳✘❝❊❿❀③➢➜

M < mg/m̄
➭✪➹➘✈✣r④❴❛③⑥♣❑➀✉❼❾♣④❝ |γ(ẋ, t)| ≥

mg/m̄ − M > 0
➭✐❤❚⑧❾②t❝✳⑧➣➡❾❝✉②✉➸✘③➺➜

τ < mg/m̄ − M
➸❈rt❴❛❝❩❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇❛❜

(ṽ, θ̃) = (0, 0)
③⑥♣ ✚➤➎❾➝➛⑧❾➈✘❼❾➝➢➝➛♥ ✜

❼➌♣➤♥♦❜❞❽qrt⑧⑩r④③⑥➀✳❼❾➝➢➝➛♥➬♣➤rt❼❾➈❛➝➢❝❚➻ ③Ò➭ ❝❾➭➑r④❴❛❝✑❿q⑧❾❜➯❼⑩③➛✈Ó⑧⑩➜✤❼➣r④r④②❶❼❾➀➫rt③➢⑧➌✈❀③⑥♣
R

3 × (−π, π)
➪✥➭ ❇❣⑧➣➟✴❝✉➡❾❝✉②✉➸✖③➛❜❞❽❈⑧●♣➤③➛✈❛➎

rt❴❛③⑥♣❑③➛✈❛❝✉⑤●✇✘❼❾➝➢③➢rs♥✣⑧❾✈
M

❜➯❼➮♥✣✈❛⑧⑩r❩➈❈❝✪➀✥⑧❾❜❞❽✘❼⑩r④③➛➈❛➝➛❝➑➟✤③➢r④❴☛rt❴❛❝✑♣t❼➣rt③➛♣➤➜ ❼❾➀✥r④③➛⑧❾✈☛⑧⑩➜✤rt❴❛❝➼➀✥⑧❾✈❈❿q③➺rt③➢⑧➌✈
M ≥

c̄1 + c̄2(κ(c̄i, v̄r))
2 ➟✤❴✘③➛➀❶❴☛➎➌✇✘❼⑩②❶❼⑩✈●r④❝✉❝✉♣❆rt❴❛❝❱➝⑥❼⑩②t➎❾❝✉♣➤r✜❽❈⑧●♣④♣④③➛➈❛➝➢❝✑❿q⑧❾❜➯❼⑩③➛✈Ó⑧⑩➜❺❼➣r④r④②❶❼❾➀✥r④③➛⑧❾✈✔➭✪➹➘✈✘❿q❝✉❝✉❿✖➸✠③➛✈

rt❴❛③⑥♣❩➀✉❼❾♣④❝✑⑧➌✈❛❝✪❴✘❼❾♣
c̄1 = c̄3 = 0

➸
c̄2 = c̄4 = ca

➸✮❼❾✈✘❿
κ(c̄i, v̄r) = v̄r

➸✴♣④⑧❚rt❴✘❼➣r❞rt❴❛❝✪➀✳⑧❾✈✘❿❛③➺rt③➢⑧➌✈
M ≥ c̄1 + c̄2(κ(c̄i, v̄r))
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M ≥ cav̄
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➭❘❫✫❴❛❝✳②t❝✥➜➞⑧➌②④❝➌➸✮rt❴❛❝➬♣t❼➣r④③⑥♣➤➜ ❼❾➀➫rt③➢⑧➌✈➦⑧❾➜
❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈➼➂❞❼❾✈✘❿ ✆✫✡✷✁ ✂✜✭☎✡ ❼❾♣④♥♦❜❩❽❛r④⑧⑩rt③➛➀➍♣➤rt❼❾➈❛③➢➝➛③➢rs♥➑❼⑩②t❝➍➎❾✇✘❼❾②t❼❾✈➌rt❝✳❝❊❿❱❽❛②t⑧➣➡♦③➛❿q❝❊❿➯rt❴✘❼➣r

sup |ẋr(t)| <
√

mg/(m̄ca)
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❡❣⑧➣➟✜➸❊r④⑧✐♣➤rt❼❾➈❛③➛➝➢③➛➩✳❝✴➝➛❼❾②④➎➌❝✳②✔②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝▼➡➌❝✳➝➛⑧q➀✥③➢r④③➛❝✉♣✯➟✤❴❛③➛➀❶❴✝❿q⑧❣✈❛⑧❾r✚♣t❼➣rt③➛♣➤➜➞♥❣rt❴❛③⑥♣✯③➛✈❛❝❊⑤➌✇❈❼⑩➝➛③➺rs♥➌➸❊③➢r✠③➛♣✯✈❛❝✉➀✳❝✉♣t♣④❼❾②④♥
rt⑧❱✇✘♣④❝❑➡➣❼⑩➝➛✇❛❝❊♣❣⑧❾➜

M
➝⑥❼⑩②t➎❾❝✉②✤r④❴❈❼⑩✈

mg/m̄
➭ ❇❺⑧➣➟➙❝✳➡➌❝✳②✤rt❴❛❝❑❽❖⑧➌♣④③➢r④③➛➡●③➢rs♥➼⑧⑩➜ |γ(ẋ, t)| ➀✉❼⑩✈❚✈✘⑧❱➝➢⑧➌✈❛➎❾❝✉②❣➈❖❝

➎➌✇✘❼⑩②❶❼⑩✈●rt❝✳❝✉❿✑➝➛⑧♦➀✉❼⑩➝➛➝➢♥✪❼⑩②t⑧❾✇❛✈❈❿✑❼❾✈●♥✑②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝✜➡❾❝✉➝➢⑧q➀✥③➢rs♥❾➭✴➹➘✈➼r④❴❛③⑥♣❣➀✉❼❾♣④❝❾➸❛③➛✈✘♣➤r④❝❊❼❾❿✪⑧⑩➜▼➀❶❴❛⑧♦⑧➌♣④③➛✈❛➎
γd = γg

➸
⑧➌✈❛❝➯❜❞③➢➎➌❴●r❑❼❾♣➍➟➙❝✳➝➛➝✮♣➤❝✳r

γd = 0
➸✠♣➤⑧✪rt❴✘❼➣r

γ =
♣④❼⑩r

M (γe) =
♣t❼➣r

M (γg + γae)
➭ ✥✍③➺rt❴Ór④❴❛③⑥♣❑➀❶❴✘⑧❾③⑥➀✥❝❾➸
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②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝❆➡❾❝✉➝➢⑧q➀✳③➺rs♥➑♣④✇✘➀❶❴✑r④❴✘❼⑩r

ẋr 6=
√

mg/(m̄ca) e3
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M ≥ g + cav̄
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J ≈ diag(J1, J1, J2)
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ẋ

v̇

Ṙ






=







Rv

−S(ω)v − ue3 + gRT e3 + 1
mRTFae − 1

mLS(e3)Γ

RS(ω)







(Σ2) : Jω̇ = −S(ω)Jω + Γ + Mae
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F ae

❝✳➵♦❽✘②④❝❊♣④♣④❝✉❿✣③➛✈Ór④❴❛❝❱➈❈❼❾♣④③➛♣✜⑧❾➜✫r④❴❛❝✑③➢✈❛❝✉②➤rt③➛❼❾➝❨➜➞②❶❼⑩❜❞❝ I ➸
➟✤③➺rt❴ −→

F ae
rt❴❛❝☎♣➤✇✘❜ ⑧⑩➜❨❼⑩➝➛➝✔❼⑩❝✉②④⑧q❿q♥♦✈✘❼❾❜❩③⑥➀✐②④❝❊❼❾➀➫rt③➢⑧➌✈➑➜➞⑧➌②t➀✳❝✉♣➍➻➞➝➛③➢➜➽r✉➸❈❿❛②t❼❾➎✘➸♦❜❞⑧❾❜❞❝✳✈●r④✇✘❜ ❿q②❶❼⑩➎♦➪➫➸

✚ Mae
r④❴❛❝✜❝✳➵♦r④❝✳②t✈✘❼❾➝❰r④⑧❾②❶⑤●✇❛❝➍③➢✈❈❿q✇✘➀✥❝❊❿✪➈●♥❱r④❴❛❝❊♣➤❝❆➜➞⑧❾②❶➀✥❝❊♣✳➸

✚ L
r④❴❛❝☎❿q③⑥♣➤rt❼⑩✈❈➀✥❝✜➈❖❝✥rs➟➙❝✳❝✳✈✑r④❴✘❝✜❽❛➝➛❼❾✈❛❝➍⑧⑩➜❨➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✉❿❱➳✘✈✘♣❺❼❾✈✘❿➑r④❴❛❝✜➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣✤➀✥❝✉✈➌rt❝✳②✤⑧❾➜✚❜➯❼❾♣t♣✉➭

✤▼➵♦❽✘②④❝❊♣④♣④③➢⑧➌✈✘♣✜⑧❾➜
Fae

❼❾✈✘❿
Mae

❼⑩②t❝❱♣④❽❈❝❊➀✥③➢➳✘❝✉❿Ó③➛✈➴❷❺❽❛❽❖❝✳✈❈❿q③➺➵➴❷❑➭✷❁✯❁❾➭ ✥✍③➢✈❈❿✣r④✇❛✈❛✈✘❝✳➝➙❜❩❝❊❼❾♣④✇❛②t❝✳❜❞❝✳✈●rt♣
❼❾✈✘❿❚❼❾❝✳②t⑧♦❿❛♥●✈❈❼⑩❜❞③➛➀➍❜❞⑧q❿q❝✉➝➢③➛✈❛➎❱➜➞⑧➌②❺rt❴❛③➛♣➍➀✳➝➛❼➌♣④♣❣⑧⑩➜▼➾✐❫❣❹❆➚➨➡❾❝✉❴❛③➛➀✳➝➢❝❊♣❺❴✘❼➮➡➌❝☎➈❖❝✳❝✳✈➬②④❝✉❽❈⑧➌②➤rt❝✉❿➼③➛✈★✿➶➉⑩➅❋❃❬➭✐❻➙♥
♣④❝✥r④r④③➛✈❛➎

γe := ge3 +
1

m
Fae −

1

mL
RS(e3)Γ

➻Ò➅❾➂➌➪
rt❴❛❝❣♣④✇❛➈✘♣④♥q♣srt❝✳❜

(Σ1)
③➛✈❚➻ ➅●➄⑩➪✚r❶❼⑩➠❾❝❊♣✠r④❴✘❝✤➜➞⑧❾②t❜✂⑧❾➜✔❧q♥♦♣➤r④❝✉❜ ➻✹➄❾➪➫➭ ❇❣⑧➣➟✴❝✉➡❾❝✳②❊➸⑩❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈ ❁✤③⑥♣▼➡♦③➛⑧❾➝⑥❼➣r④❝❊❿

➈❖❝✉➀✉❼⑩✇✘♣④❝
Fae

❿q❝✉❽❈❝✉✈✘❿❛♣➙⑧❾✈❞rt❴❛❝❆➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✮⑧❾②t③➢❝✉✈➌r❶❼➣rt③➢⑧➌✈❞❼❾✈✘❿❱❼❾✈❛➎❾✇❛➝⑥❼⑩②✮➡❾❝✳➝➛⑧q➀✥③➢rs♥❾➸♦❼⑩✈✘❿➑❼⑩➝⑥♣➤⑧☎➈❖❝✉➀✉❼⑩✇✘♣④❝
Γ
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➉➌➉ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

②t❝✳➝⑥❼➣rt❝✉❿✝r④⑧❑r④❴❛❝✐❼⑩✈❛➎➌✇❛➝➛❼❾②✮❼❾➀✉➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈➯♣➤⑧➍rt❴✘❼➣r
γe

❿❛❝✳❽❖❝✳✈✘❿❛♣➙❼⑩➝⑥♣④⑧✜⑧❾✈❞r④❴✘❝✉♣④❝❣➡➣❼⑩②t③➛❼❾➈❛➝➛❝✉♣✉➭ ✥✐③➛♣t➀✥②t❝✳❽✘❼❾✈✘➀✥③➛❝✉♣
➝➛③➛➠❾❝❩r④❴❛③⑥♣➍⑧❾✈✘❝❩➈❖❝✥rs➟➙❝✳❝✉✈➬rt❴❛❝❞③➛❿❛❝✉❼⑩➝❨❜❞⑧q❿q❝✉➝▼✇✘♣④❝✉❿➬➜➞⑧❾②❆r④❴❛❝❱➀✳⑧❾✈●r④②t⑧❾➝❨❿q❝❊♣➤③➛➎❾✈✣❼⑩✈✘❿➬r④❴✘❝➯❽❛❴♦♥♦♣④③⑥➀✳❼⑩➝❨♣④♥q♣srt❝✳❜
②t❝✳❽✘②④❝❊♣➤❝✉✈➌r➍❼⑩✈✣⑧❾❽❛❽❖⑧❾②④r④✇✘✈❛③➺rs♥➼rt⑧✪r④❝✉♣➤r✜➈♦♥❚♣➤③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈➬rt❴❛❝❞②④⑧➌➈❛✇✘♣➤r④✈❛❝❊♣④♣✐⑧⑩➜✴r④❴❛❝❞❽❛②t⑧❾❽❖⑧➌♣④❝✉❿❀➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✳②❶♣✉➭
❫✫❴✘❝☎➀✥⑧❾❜❞❽❛➝➛❝✥rt❝✜➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣✤♣④③➢r④✇✘❼⑩r④③➛⑧❾✈☛➻➞③✹➭ ❝➌➭

x
❼❾✈✘❿

R
➪➙③⑥♣✤❜❞❝✉❼➌♣➤✇✘②④❝❊❿➑rt⑧❾➎➌❝✥r④❴✘❝✳②✤➟✤③➢r④❴❚❼⑩➝➛➝✖➡❾❝✉➝➢⑧q➀✳③➺rs♥✪➀✥⑧❾❜❩➲

❽❖⑧❾✈✘❝✳✈●rt♣☎➻ ③Ò➭ ❝❾➭
v

❼❾✈✘❿
ω
➪✥➭✴❫✫❴❛❝✝♣➤③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈✑②t❝✉♣④✇❛➝➢rt♣✤❽✘②④❝❊♣➤❝✉✈➌rt❝✉❿✪✈❛❝✳➵●r❺❴❈❼➮➡❾❝➍➈❈❝✉❝✳✈❍⑧➌➈qrt❼❾③➢✈❛❝❊❿✪➟✤③➺rt❴➼r④❴❛❝

❝❊♣srt③➢❜➯❼⑩r④❝✉❿✑❽❛❴♦♥q♣➤③⑥➀✳❼❾➝✖❽✘❼⑩②❶❼⑩❜❞❝✳r④❝✳②❶♣➙⑧⑩➜✯r④❴❛❝✜➡➌❝✳❴❛③⑥➀✥➝➛❝➍➎❾③➛➡❾❝✳✈✪③➛✈➼❫✚❼⑩➈✘➝➢❝ ❁❾➭
⑦❨❼⑩②❶❼⑩❜❞❝✥rt❝✳② ➾▼❼❾➝➢✇✘❝ ❢❣✈❛③➢r
❜ ➅

kg➎ ❊❛➭ ➋
ms−2

J1
➊❛➭✥❁

kgm2

J2
➊✘➭ ➊➌➅

kgm2➚ ➊❛➭➶➉
m❫✯❼❾➈❛➝➛❝ ❁✯✾❨⑦❨❼⑩②❶❼⑩❜❞❝✥rt❝✳②❶♣✴⑧❾➜✟rt❴❛❝✜➡❾❝✉❴❛③➛➀✳➝➢❝➌➭

❫✯⑧❞r④❝❊♣sr✐r④❴❛❝❑②④⑧➌➈❛✇✘♣➤r④✈❛❝❊♣④♣✤⑧❾➜✠r④❴❛❝☎❽✘②④⑧➌❽❈⑧●♣➤❝❊❿✪➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②❶♣✫➟✜➭ ②❊➭ r❊➭✤♣sr❶❼➣r④③⑥➀✜❜❞⑧q❿q❝✳➝➛③➛✈❛➎❱❝✳②t②t⑧❾②❶♣✳➸q➟➙❝❑❼❾♣t♣④✇❛❜❞❝
rt❴✘❼➣r❣r④❴❛❝☎②t❝✉❼❾➝✔➎❾②❶❼➮➡♦③➺rs♥✑❼❾➀✳➀✳❝✳➝➛❝✳②❶❼➣rt③➢⑧➌✈✑③⑥♣

g∗ = 9.81 ms−2 ➸✘rt❴❛❝☎②t❝✉❼⑩➝✟➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✤❜➯❼➌♣④♣✤③⑥♣
m∗ = 3.2 kg

➸
❼❾✈✘❿➑r④❴❛❝✜②t❝✉❼❾➝✖➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✫③➛✈❛❝✳②④r④③⑥❼❩❜➯❼➣r④②t③➢➵➑③➛♣

J∗ = diag(0.13, 0.13, 0.04)
➭

❷❣❜❩⑧➌✈❛➎✐r④❴❛❝✴r④❴❛②t❝✳❝➙➀✥⑧➌✈➌rt②④⑧➌➝❾❜❞⑧q❿q❝✉♣✠➀✳⑧❾✈✘♣④③➛❿❛❝✳②t❝✉❿✜③➛✈✜r④❴✘❝➙❽❈❼⑩❽❖❝✳②❊➸❊❽❖⑧➌♣④③➢r④③➛⑧❾✈✝♣➤rt❼❾➈❛③➛➝➢③➛➩✉❼⑩r④③➛⑧❾✈☎③⑥♣✔rt❴❛❝➙❜❩⑧●♣sr
❼➌❿q➡➣❼⑩✈✘➀✳❝✉❿✑⑧❾✈❛❝➍❼⑩✈❈❿✪♣④③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈✘♣✫❼⑩②t❝✐⑧➌✈❛➝➢♥➑❽❛②④❝❊♣➤❝✉✈●r④❝✉❿➑➜➞⑧❾②✫rt❴❛③⑥♣✫❜❩⑧q❿q❝➌➭▼➆❛⑧➌②✫r④❴❛❝➍➳✘②❶♣➤r✤♣④✇❛➈✘♣④♥q♣srt❝✳❜

Σ1rt❴❛❝❞➀✥⑧❾✈●rt②④⑧➌➝➢➝➛❝✳②✐⑧⑩➜✮⑦▼②t⑧❾❽❖⑧➌♣④③➢r④③➛⑧❾✈❀➄♦➸✖❜❞⑧q❿q③➢➳✘❝✉❿❀❼❾♣✐❽❛②t⑧❾❽❖⑧➌♣④❝✉❿❍③➛✈✣❧♦❝❊➀➫rt③➢⑧➌✈➬➃✘➸❰③⑥♣➍❼⑩❽❛❽❛➝➛③➛❝✉❿✖➭☎❫✫❴❛❝❞❿q❝❊♣➤③➛②④❝❊❿
♥●❼➮➟ ❼❾✈❛➎❾✇✘➝➛❼❾②☎➡❾❝✉➝➢⑧q➀✥③➢rs♥✣③➛♣❩♣➤❝✳r☎r④⑧❀➩✳❝✉②④⑧

ωd,3 = 0
➸❨❼⑩✈✘❿☛❼➬❴❛③➛➎❾❴☛➎➌❼❾③➢✈➴➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②☎③⑥♣❑❼❾❽❛❽❛➝➛③➢❝❊❿Ór④⑧➬r④❴❛❝

♣④❝✉➀✳⑧❾✈✘❿❞♣④✇❛➈✘♣④♥q♣srt❝✳❜
Σ2

③➛✈➯⑧❾②❶❿q❝✳②❨rt⑧❑♣➤rt❼⑩➈✘③➢➝➛③➢➩✉❝✤r④❴✘❝✐❼⑩✈✘➎❾✇❛➝⑥❼⑩②❨➡➌❝✳➝➛⑧♦➀✳③➺rs♥❞❼➣r✮r④❴❛❝❣❿❛❝✉♣④③➢②t❝✉❿❞➡➣❼⑩➝➛✇❛❝
ωd

➟✤❴✘⑧➌♣④❝
➳❈②t♣➤r➍rs➟✴⑧➼➀✥⑧➌❜❩❽❖⑧❾✈✘❝✳✈●rt♣✜❼❾②④❝❩➎❾❝✉✈❛❝✳②❶❼➣rt❝✉❿❀➈●♥❚r④❴❛❝❩➳✘②❶♣sr☎➀✳⑧❾✈●r④②t⑧❾➝➛➝➢❝✉②✉➭❞❡❺⑧❾r④❝❩r④❴❈❼➣r✜r④❴✘❝❞➀❶❴✘⑧❾③⑥➀✥❝❞⑧⑩➜✫❼✑❴✘③➢➎➌❴
➎●❼⑩③➛✈❱➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✳②❨③⑥♣✴❴❛❝✳②t❝❨⑨s✇✘♣➤r④③➢➳✘❝✉❿❱➈●♥❩rt❴❛❝❺➜ ❼➌➀➫r✮rt❴✘❼➣r

Mae
③⑥♣✮✈❛❝✉③➺rt❴❛❝✳②➙❜❞❝✉❼➌♣➤✇❛②t❝✉❿❩✈❛⑧➌②✮❝❊♣srt③➢❜➯❼➣rt❝✉❿✖➭❨❫✫❴❛❝

❼❾❽❛❽❛➝➛③➢❝❊❿✑➀✳⑧❾✈●r④②t⑧❾➝❖rt⑧❾②❶⑤➌✇✘❝❆③⑥♣❺➀✉❼⑩➝⑥➀✥✇❛➝⑥❼➣rt❝✉❿✪❼❾➀✳➀✳⑧❾②❶❿q③➛✈❛➎☎rt⑧

Γ = S(ω)Jωd − JKω(ω − ωd)
➻Ò➅ ❂⑩➪

➟✤③➢r④❴
Kω

❼❩❽❖⑧➌♣④③➺rt③➢➡➌❝✜♣➤♥♦❜❞❜❞❝✥r④②t③⑥➀➍➎➌❼⑩③➛✈➑❜➯❼⑩r④②t③➺➵➑❴✘❝✳②t❝➍➀❶❴✘⑧➌♣④❝✳✈➼❿q③➛❼❾➎❾⑧➌✈✘❼⑩➝✹➭
❫✫❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎✝➎●❼⑩③➛✈✘♣✤❼⑩✈❈❿❱➜➞✇❛✈❈➀➫r④③➛⑧❾✈❈♣❺❼⑩②t❝➍✇✘♣➤❝❊❿
✚ k1 = 0.24

➸
k2 = 0.08

➸
k3 = 12.8

➸
Kω = diag(20; 20; 20)

➸
✚ h(s) = β√

1+β2s/η2

➟✤③➺rt❴
β = 1.28

❼⑩✈✘❿
η = 12

➸

✚ σ(s) = α
k1

tanh
(

k1s
α

) ➟✤③➺rt❴
α = 0.9

➸

✚ kz = 0.8
➸
hz(s) = βz√

1+β2
zs/η

2
z

➟✤③➢r④❴
βz = 0.8

❼⑩✈✘❿
ηz = 0.8

➸

✚ ♣④❼⑩r
∆

❼➌♣✫➎❾③➛➡❾❝✉✈✑➈♦♥❀➻✍❁✉➋●➪➙➟✤③➺rt❴
∆ = 8

➸
✚ γd = 0

➸ ♣④❼⑩r
M

❼➌♣✫➎❾③➛➡❾❝✉✈➑➈♦♥✣➻✹➉⑩➋❾➪➙➟✤③➢r④❴
M = 50

➭
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�✂✁☎✄✝✆✟✞✠✁☛✡☞✁✍✌✏✎✒✑✓✞✕✔✓✖✕✆✘✗✘✙✚✞✠✁✜✛✝✢✣✡✤✡✥✢✜✦★✧✩✄✪✦✫✢✬✞✠✭✯✮✣✆✟✔✝✭☛✆✰✢✱✦✳✲✴✢✱✑✓✵✶✮✬✡✷✢✕✖ ➉❾➅

✚ µτ
❼❾♣➙➎❾③➛➡❾❝✉✈✑➈♦♥Ó➻Ò➉⑩➃➌➪➙➟✤③➺rt❴

τ = 1
➭

❫✫❴✘❝❍➎➌❼⑩③➛✈✘♣
k1

➸
k2

➸
k3

➸
h(0), kz, hz(0)

❴✘❼➮➡❾❝➼➈❖❝✳❝✉✈ò❿q❝✥rt❝✳②t❜❩③➛✈❛❝❊❿➥➡●③⑥❼☛❼Ó❽❖⑧❾➝➛❝❚❽❛➝⑥❼❾➀✥❝✉❜❞❝✳✈●r❱❽❛②t⑧♦➀✳❝✥➲
❿❛✇❛②④❝✣❽❖❝✳②④➜➞⑧❾②t❜❩❝❊❿✍⑧❾✈ r④❴❛❝✣➝➛③➢✈❛❝❊❼⑩②t③➢➩✉❝✉❿ò♣④♥q♣srt❝✳❜ ⑧❾➜❩❧♦♥q♣srt❝✳❜✱➻✘❊➌➪ ✣❛❧♦♥q♣srt❝✳❜✱➻✍❁❋❂➣➪✪❼➣r✪r④❴✘❝❀❝❊⑤➌✇✘③➢➝➛③➢➈✘②④③➛✇❛❜
(z = 0, ż = 0, x̃ = 0, ṽ = 0, R = I)

③➢✈✪rt❴❛❝✜❽✘❼⑩②④r④③⑥➀✥✇✘➝➛❼❾②❺➀✳❼❾♣④❝➍⑧⑩➜❨❼❞②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝❆r④②❶❼➣⑨s❝✉➀✥r④⑧➌②④♥❱➀✳⑧❾✈✘♣④③➛♣➤r④③➛✈❛➎
⑧❾➜▼❼❩➳❛➵q❝✉❿➼❽❖⑧❾③➛✈➌r❊➸✘➟✤③➢r④❴❚❼❾➝➢➝✯❝✥➵♦r④❝✉②④✈✘❼❾➝✖➜➞⑧❾②❶➀✥❝❊♣✫➈❈❝✉③➢✈✘➎❱✈❛❝✳➎➌➝➢❝❊➀➫rt❝✉❿✖➭ ✥❣❝✳rt❼❾③➢➝⑥♣❺⑧❾➜✚rt❴❛③⑥♣❺➎➌❼❾③➢✈✪rt✇❛✈❛③➛✈❛➎❱❽❛②t⑧q➀✥❝✥➲
❿❛✇❛②④❝✜❼❾②④❝➍➎❾③➛➡❾❝✉✈➑③➛✈❍❷❺❽❛❽❖❝✳✈✘❿❛③➺➵❍❷☎➭✥❁✉➊q➭▼❫✯➟➙⑧❞♣④③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈✪➀✉❼❾♣④❝✉♣✫❼⑩②t❝➍②④❝✉❽❈⑧➌②➤rt❝✉❿✖➭

� ✠ ✎ ✌ ★Ò→q➓ ✠ Ð ☛ ✌ ↕➍➒✉➓✉→❛➐ ✠ ★ ✠✂✁➌→q➓ ✠ Ð ☛ Ð �✤➓ ✁ ❐☎✄ �✝✆✟✞✡✠ ❐ ✁ ✠ ↔✩★ ❐ →q➓➯→✣➒✳➓❊→q➓ ✠ Ð ☛ →q➔ ❒ ✞ Ð ✠ ☛ ➓☞☛
❫✫❴❛❝✑➀✥⑧❾✈●rt②④⑧➌➝❨⑧❾➈q⑨s❝❊➀➫r④③➛➡❾❝➯③⑥♣✜rt⑧❚♣sr❶❼⑩➈❛③➛➝➛③➢➩✉❝❞r④❴❛❝✑➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣✜➀✳❝✳✈●r④❝✉②☎⑧⑩➜✤❜➯❼❾♣t♣

G
➸✠③➢✈❛③➢r④③⑥❼⑩➝➛➝➛♥➬②t❝✉♣➤r④③➛✈❛➎❚❼➣r

rt❴❛❝❞❽❈⑧●♣➤③➢r④③➛⑧❾✈
x(0) = (8, 5,−8)T

➭❩❫✫❴✘❝❩③➛✈❛③➢r④③⑥❼⑩➝❨➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣➍❼➣r➤rt③➺rt✇✘❿q❝➯③⑥♣➍➎❾③➛➡❾❝✉✈➬➈♦♥
R(0) = I3

➭❩❫✫❴✘③➛♣
➀✳⑧❾②t②④❝❊♣➤❽❖⑧❾✈❈❿❛♣✤rt⑧❱r④❴✘❝✝❝❊⑤➌✇✘③➢➝➛③➢➈✘②④③➛✇❛❜✩❼➣r④r④③➢r④✇✘❿❛❝❩❼➌♣④♣④⑧q➀✥③⑥❼➣r④❝❊❿❍➟✤③➢r④❴❀❼❱➳❛➵q❝✉❿❀❿q❝✉♣④③➢②t❝✉❿❚❽❈⑧●♣➤③➢r④③➛⑧❾✈❚③➛✈❚rt❴❛❝➯❼⑩➈q➲
♣④❝✳✈❈➀✥❝➑⑧❾➜❣➟✤③➛✈✘❿✖➭☛❫✫❴❛❝➼❿q❝✉♣④③➢②t❝✉❿➴❽❈⑧●♣➤③➢r④③➛⑧❾✈➦③➛♣

xr = (0, 0, 0)T
➭☛➹➘✈❛③➢r④③⑥❼⑩➝➛➝➛♥❾➸❨rt❴❛❝✳②t❝➑③⑥♣❩✈❛⑧➬➟✤③➛✈✘❿✖➸▼➈✘✇qr❞❼

❴✘⑧❾②t③➢➩✉⑧❾✈●rt❼❾➝❨➟✤③➢✈✘❿➨♣srt❝✳❽☛➡❾❝✉➝➢⑧q➀✳③➺rs♥
ẋf = (4, 0, 0)T

③⑥♣❑③➛✈●r④②t⑧q❿q✇✘➀✥❝❊❿✣➈❈❝✳rs➟✴❝✉❝✳✈☛rt❴❛❝➯r④③➛❜❞❝✥➲❬③➢✈❈♣sr❶❼⑩✈●rt♣
30 s❼❾✈✘❿

70 s
➸q➜➞⑧➌➝➢➝➛⑧➣➟➙❝✉❿✪➈♦♥✪❼❞➝⑥❼⑩②t➎❾❝✉②✤⑧❾✈❛❝➑➻

ẋf = (8, 0, 0)T
➪✫r④❴❛❝✉②④❝❊❼➣➜➽r④❝✉②✉➭✤❫✫❴❛③⑥♣❣♣④③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈✪➟✫❼❾♣❣❿q❝✳➡♦③⑥♣➤❝❊❿

rt⑧❩r④❝✉♣➤r✤r④❴✘❝✜②④⑧➌➈❛✇✘♣➤r④✈❛❝❊♣④♣✫⑧❾➜✟r④❴✘❝✜❽❛②④⑧➌❽❈⑧●♣➤❝❊❿✑➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②➙➟✤❴❛❝✳✈➼✈❛❝✉③➺rt❴❛❝✳②❺❜❞❝❊❼❾♣④✇❛②④❝✉❜❞❝✳✈●r➙✈✘⑧❾②✤❝✉♣➤r④③➛❜➯❼➣rt③➢⑧➌✈
⑧❾➜✮❼⑩❝✉②④⑧q❿q♥♦✈✘❼❾❜❩③⑥➀➍②t❝✉❼❾➀✥r④③➛⑧❾✈➼➜➞⑧➌②t➀✳❝✉♣✤③⑥♣✐❼➮➡➣❼❾③➢➝⑥❼⑩➈❛➝➛❝❾➭✐❫✟⑧➯rt❴❛③⑥♣❣❽❛✇✘②④❽❖⑧➌♣④❝❾➸❖➟✴❝✝❴✘❼➮➡❾❝✜✇❈♣➤❝❊❿

γ̂e = ge3
③➢✈➬r④❴❛❝

➀✳⑧❾✈●r④②t⑧❾➝✔➀✉❼⑩➝⑥➀✥✇❛➝⑥❼➣rt③➢⑧➌✈✔➸✘➟✤❴✘❝✳②t❝✉❼❾♣➙rt❴❛❝❑②t❝✉❼❾➝✔➡➣❼⑩➝➛✇❛❝✜⑧⑩➜
γe

③➛♣❣➎❾③➛➡❾❝✉✈✪➈♦♥Ó➻ ➅➌➂➌➪✫➟✤③➢r④❴
g = g∗

❼⑩✈✘❿
m = m∗ ➭➹❬r☎❜➯❼⑩r➤r④❝✉②t♣➍❼❾➝➛♣④⑧✪r④⑧➼③➢➝➛➝➛✇✘♣srt②t❼⑩r④❝❩r④❴✘❝➯②④⑧➌➝➢❝❞❼⑩✈✘❿❀③➛❜❩❽❖⑧❾②④rt❼❾✈✘➀✥❝❞⑧❾➜✴rt❴❛❝❞③➢✈●r④❝✉➎❾②❶❼➣rt⑧❾②✜❿q❝✥➳❈✈❛❝✉❿❀➈♦♥ ➻✍❁❋❂➣➪✥➭➯➹➘✈

rt❴❛③⑥♣❺②t❝✉♣④❽❈❝❊➀➫r✉➸❛rs➟✴⑧❱➀✳⑧❾✈●r④②t⑧❾➝✖➡➌❝✳②❶♣➤③➛⑧❾✈✘♣✤❼❾②④❝➍✇✘♣④❝✉❿✪➜➞⑧➌②❺➀✥⑧➌❜❩❽❈❼⑩②t③➛♣④⑧❾✈✪❽❛✇❛②t❽❈⑧●♣➤❝❊♣✳➭➙❫✫❴❛❝➍➳✘②❶♣sr✐⑧❾✈❛❝☎❿q⑧♦❝❊♣✤✈❛⑧⑩r
③➛✈✘➀✳⑧❾②t❽❈⑧➌②t❼⑩r④❝✝❼✑❽❖⑧➌♣④③➺rt③➢⑧➌✈➬③➛✈➌rt❝✳➎➌②t❼❾➝✠❼➌➀➫rt③➢⑧➌✈✔➭❑❫✫❴❛③⑥♣✜➀✥⑧➌②④②t❝✉♣④❽❈⑧➌✈✘❿❛♣❺r④⑧❍♣➤❝✳r➤rt③➢✈❛➎✑r④❴✘❝✝rt❝✳②t❜➯♣

z, ż, z̈
❝✉⑤●✇✘❼❾➝

rt⑧✝➩✉❝✳②t⑧✘➭❨❫✫❴❛❝✜♣④❝✉➀✥⑧➌✈✘❿❱⑧➌✈❛❝➍➀✥⑧❾✈●r❶❼⑩③➛✈✘♣✴r④❴❛❝➍③➛✈➌rt❝✳➎➌②t❼❾➝❰❼➌➀➫rt③➢⑧➌✈➑②t❝✉♣④✇❛➝➺rt③➢✈✘➎❑➜➞②t⑧❾❜ rt❴❛❝✜➀✳❼⑩➝⑥➀✥✇✘➝➛❼⑩r④③➛⑧❾✈➑⑧❾➜
z
❼⑩✈❈❿

③➢rt♣✴➳✘②❶♣➤r✫❼❾✈✘❿➑♣④❝✉➀✳⑧❾✈✘❿➑⑧❾②❶❿q❝✳②✮r④③➛❜❩❝✳➲❬❿❛❝✳②t③➢➡➣❼➣rt③➢➡➌❝✉♣✴➜➞②t⑧❾❜ ➻ ❁☛❂⑩➪➫➭❨❫✫❴❛❝➍❝✉➡❾⑧❾➝➛✇qrt③➢⑧➌✈❱⑧⑩➜✔rt❴❛❝➍➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣✴❽❖⑧➌♣④③➺rt③➢⑧➌✈
❼❾✈✘❿❚❼⑩r➤r④③➢r④✇❈❿q❝✝③⑥♣➍♣➤❴✘⑧➣➟✤✈❍⑧❾✈❀➆✚③➛➎❾✇❛②t❝✉♣❆➉❱❼❾✈✘❿➬➅q➭ ✥✍③➢r④❴❀➈❈⑧❾r④❴❀➀✳⑧❾✈●r④②t⑧❾➝✯➡❾❝✉②t♣④③➢⑧➌✈✘♣✉➸✘rt❴❛❝✝❽❖⑧➌♣④③➢r④③➛⑧❾✈❚⑧❾➜▼r④❴❛❝
➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣✤➀✥❝✉✈●r④❝✳②❣⑧⑩➜✠❜❞❼➌♣④♣

G
➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✉♣✴r④⑧❱❼❩➳✘➵♦❝❊❿✪❽❈⑧●♣➤③➢r④③➛⑧❾✈✔➭ ❇❺⑧➣➟➙❝✳➡➌❝✳②❊➸q③➢✈✪r④❴❛❝❑✈❛⑧⑩➲❬③➢✈●rt❝✳➎❾②❶❼⑩➝✔❼➌➀➫rt③➢⑧➌✈

➀✉❼❾♣④❝☎➻ ♣④❝✳❝❆➆✯③➛➎❾✇✘②④❝✐➉❾➪➫➸●r④❴❛❝✐❽❈⑧●♣➤③➢r④③➛⑧❾✈➯❝✉②④②t⑧❾②✴❿q⑧♦❝✉♣▼✈✘⑧⑩r➙➀✳⑧❾✈♦➡❾❝✉②④➎➌❝➙r④⑧☎➩✉❝✳②t⑧✘➸➌❿❛✇❛❝❺rt⑧❑❝✉♣➤r④③➛❜➯❼➣rt③➢⑧➌✈➯❝✳②t②④⑧➌②t♣✠⑧➌✈
rt❴❛❝❑➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣❺❽✘❴●♥q♣④③➛➀✉❼⑩➝✯❽✘❼⑩②❶❼⑩❜❞❝✥rt❝✳②❶♣❺❼⑩✈❈❿❍❽❈⑧♦⑧➌②④➝➛♥✑❜❞⑧q❿q❝✉➝➢❝❊❿❚❼⑩❝✉②④⑧q❿q♥♦✈✘❼❾❜❩③⑥➀✜②t❝✉❼➌➀➫r④③➛⑧❾✈➼➜➞⑧➌②t➀✳❝✉♣✉➭❣➆✚③➢➎➌✇❛②t❝
➅❩♣④❴❛⑧➣➟❺♣✴r④❴✘❼⑩r➙rt❴❛❝✜③➛✈✘➀✥⑧➌②④❽❖⑧❾②❶❼➣rt③➢⑧➌✈❱⑧⑩➜✯r④❴❛❝➍❽❛②t⑧❾❽❖⑧➌♣④❝✉❿➑③➢✈●r④❝✉➎❾②❶❼⑩➝✖❼❾➀✥r④③➛⑧❾✈✑❜❞❼❾➠❾❝❊♣✮rt❴❛③⑥♣✫❝✳②t②④⑧➌②➙➀✳⑧❾✈♦➡❾❝✉②④➎➌❝❺r④⑧
➩✉❝✳②t⑧✘➭✠❡❺⑧❾r④❝✤rt❴✘❼➣r✫❷❣♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈ ✵✄✂ ✁ ⑧❾➜✔⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➑➄➯➻

lim
s→+∞

h(s2)s > |c| ➸♦➟✤③➺rt❴
c = γ̂e− γe

➪❨❜✝✇✘♣sr
➈❖❝❍♣④❼⑩r④③⑥♣s➳❈❝✉❿Órt⑧✣➎➌✇✘❼⑩②❶❼⑩✈●rt❝✳❝➯rt❴❛❝❍♣sr❶❼⑩➈❛③➛➝➢③➢rs♥☛⑧⑩➜❣r④❴❛❝❍➀✥⑧➌✈●r④②t⑧❾➝➛➝➢❝❊❿➴♣➤♥q♣➤r④❝✉❜ ❼⑩✈✘❿ ➀✥⑧➌❜❩❽❖❝✳✈❈♣④❼⑩r④❝✑➜➞⑧❾②❩➝➛❼❾②④➎➌❝
➟✤③➛✈✘❿♦➲❬③➛✈✘❿q✇✘➀✳❝✉❿❩❽❈❝✉②➤rt✇❛②t➈✘❼➣rt③➢⑧➌✈✘♣✳➭✔✥✍❴❛❝✉✈

η
➸❾r④❴❛❝❺✇✘❽❛❽❈❝✉②➤➲❬➈❖⑧❾✇❛✈✘❿❩⑧❾➜

h(s2)s
➸➌③➛♣✮♣➤❜➯❼⑩➝➛➝➛❝✳②✠r④❴❈❼⑩✈

10
❼❾✈✘❿✝r④❴❛❝

➟✤③➛✈✘❿➼➡➌❝✳➝➛⑧♦➀✳③➺rs♥✑③➛♣ ✚④♣srt②④⑧➌✈❛➎☞✜➯➻
ẋf = 8e1

➪ ✣●③✹➭ ❝❾➭✤➟✤❴❛❝✉✈❍❜❩⑧q❿q❝✉➝➢③➛✈❛➎❱❝✉②④②t⑧❾②❶♣✫⑧❾✈❍❝✳➵♦r④❝✳②t✈✘❼❾➝✖➜➞⑧❾②❶➀✥❝❊♣❺❼⑩②t❝✜➡❾❝✉②④♥
➝⑥❼⑩②t➎❾❝ ✣❣➟✴❝✴❴✘❼➮➡❾❝✴⑧❾➈✘♣④❝✳②t➡❾❝❊❿❆③➢✈❩♣➤③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈✜r④❴✘❝➙❿q③➛➡❾❝✉②④➎➌❝✳✈✘➀✳❝▼⑧⑩➜qrt❴❛❝➙❽❈⑧●♣➤③➢r④③➛⑧❾✈☎❝✉②④②t⑧❾②✚❿q❝✉♣④❽❛③➢r④❝✮r④❴❛❝➙③➢✈●rt❝✳➎❾②❶❼⑩➝
❼➌➀➫rt③➢⑧➌✈✔➭✚❫✫❴✘③➛♣✴❝✥➵q❽❛➝⑥❼⑩③➛✈✘♣✮r④❴❛❝✐✇✘♣➤❝✐⑧⑩➜✯❼☎➝➛❼❾②④➎➌❝✳②✮➡➣❼❾➝➢✇❛❝✐⑧⑩➜

η
➻➞③✹➭ ❝❾➭

η ✛ ❁❊➉❾➪❨③➢✈➑r④❴❛❝✐②④❝✉❽❈⑧➌②➤rt❝✉❿❱♣④③➢❜✝✇❛➝⑥❼➣r④③➛⑧❾✈❈♣✳➭
❸❺❝✉➀✳❼❾➝➢➝✮❴❛⑧➣➟✴❝✉➡❾❝✉②➍r④❴✘❼⑩r✉➸❨❼❾♣☎❿❛③➛♣t➀✥✇✘♣t♣④❝✉❿✣③➢✈➨❧q✇❛➈✘♣④❝✉➀➫rt③➢⑧➌✈➴➅❛➭ ➅q➸✠✇✘♣④③➢✈❛➎❚❼❚➝➛❼❾②④➎➌❝❩➡➣❼❾➝➢✇❛❝➑⑧⑩➜

η
❴❈❼❾♣➍rt❴❛❝➑♣④③➛❿q❝

❿❛②t❼➮➟✤➈✘❼➌➀❶➠❑⑧❾➜✟③➢✈❈➀✥②t❝✉❼❾♣④③➛✈❛➎✜r④❴✘❝✐②t③➛♣④➠❞⑧⑩➜✟➎➌❝✥r④r④③➛✈❛➎
γ

➀✥➝➛⑧➌♣④❝❺rt⑧✝➩✉❝✳②t⑧✘➭✚➹❬r✫❼❾➝➛♣④⑧❑➀✥⑧➌✈●r④②t③➢➈❛✇❛r④❝✉♣✴rt⑧❑③➛✈✘➀✥②t❝✉❼➌♣➤❝❣r④❴❛❝
♣④③➛➩✳❝❆⑧⑩➜

γ
❿❛❝✥➳✘✈❛❝❊❿➑➈♦♥✣➻Ò➉✺❁➮➪➫➸❛❼❾✈✘❿❱rt❴♦✇✘♣✤❼⑩➝⑥♣➤⑧✝r④❴✘❝➍❼❾❜❞❽❛➝➢③➢r④✇❈❿q❝✜⑧⑩➜✯r④❴❛❝✜➀✥⑧➌✈●r④②t⑧❾➝❰③➢✈✘❽❛✇qrt♣✤❿❛❝✥➳✘✈❛❝❊❿➑➈♦♥✣➻Ò➉❾➉➌➪➫➭

❫✫❴✘③➛♣✐③➢✈❚r④✇❛②t✈❚③➛✈✘➀✥②t❝✉❼➌♣➤❝❊♣✫r④❴❛❝✝②④③⑥♣④➠✑⑧❾➜✮♣④❼⑩r④✇❛②❶❼➣rt③➢✈❛➎❱r④❴❛❝❩❼❾➀➫rt✇✘❼➣rt⑧❾②❶♣✳➸❈➟✤③➺rt❴❚➠♦✈❛⑧➣➟✤✈❚❼❾♣t♣④⑧♦➀✳③➛❼⑩r④❝❊❿❍❿q❝✉♣➤rt❼❾➈❛③➺➲
➝➛③➛➩✳③➛✈❛➎❱❝ ✘❰❝✉➀✥rt♣✉➭✤❫✟⑧➑➀✳⑧❾❜❞❽❛➝➛♥✑➟✤③➢r④❴❚❼➌➀➫rt✇✘❼➣rt⑧❾②❶♣✤❽❈⑧➣➟➙❝✳②❣➝➢③➛❜❞③➺r❶❼➣r④③➛⑧❾✈❈♣✳➸❖❼❱♣➤❜➯❼❾➝➢➝✯➡➮❼❾➝➢✇✘❝☎⑧⑩➜

η
③➛♣❣❽❛②④❝✳➜➞❝✳②❶❼⑩➈❛➝➛❝❾➸

❼❾✈✘❿❞rt❴❛③➛♣✫③➛✈❱rt✇❛②t✈➑❜❞③➢➝➛③➢rt❼➣rt❝✉♣➙③➛✈❱➜ ❼➮➡❾⑧➌②✮⑧❾➜✔r④❴❛❝❆⑧❾✈❛➲✹➝➛③➢✈✘❝✐❜❞❝✉❼➌♣➤✇✘②④❝✉❜❩❝✉✈●r✮⑧❾②➙❝✉♣➤r④③➛❜➯❼➣r④③➛⑧❾✈✑⑧⑩➜✔rt❴❛❝➍❼⑩❽❛❽✘❼❾②④❝✉✈●r
❼➌➀✳➀✳❝✳➝➛❝✳②❶❼➣r④③➛⑧❾✈

γe
➭✫➹➘✈ ✿✷❁❊➅❋❃✚❼❱❴❛③➢➎➌❴❍➎➌❼❾③➢✈➼⑧❾➈❈♣➤❝✉②④➡➌❝✳②✤⑧⑩➜✠rt❴❛③➛♣❺➜➞⑧❾②❶➀✥❝☎➈❈❼❾♣④❝✉❿✪⑧❾✈➼rt❴❛❝☎❜❞❝✉❼➌♣➤✇❛②t❝✳❜❞❝✉✈➌r✐⑧⑩➜✠r④❴❛❝

➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣➙r④②❶❼⑩✈❈♣➤➝⑥❼➣rt③➢⑧➌✈✘❼⑩➝❰➡❾❝✉➝➢⑧q➀✳③➺rs♥
ẋ

❼❾✈✘❿✑⑧❾②t③➢❝✉✈➌r❶❼➣rt③➢⑧➌✈
R
➸✘❼⑩✈✘❿➑r④❴✘❝➍r④❴❛②t✇✘♣➤r❺③➢✈●r④❝✉✈✘♣④③➺rs♥

T
③⑥♣✤❽❛②t⑧❾❽❖⑧➌♣④❝✉❿✖➭

➆✚③➛➎❾✇❛②t❝❺➃❑♣④❴❛⑧➣➟❺♣✴♣➤③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈➯②④❝❊♣➤✇✘➝➺r❶♣▼⑧⑩➜✖rt❴❛❝✐➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②▼➟✤③➢r④❴✑③➢✈●r④❝✉➎❾②❶❼⑩➝✘➀✳⑧❾②t②④❝❊➀➫rt③➢⑧➌✈✔➸❾➟✤❴❛❝✉✈❱✇✘♣④③➢✈✘➎❑♣➤✇❈➀❶❴
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➉⑩➃ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

❼❾✈❍⑧❾➈✘♣④❝✳②t➡❾❝✉②✉➭❺❧♦❜➯❼❾➝➢➝➛❝✳②✐➡➮❼❾➝➢✇✘❝✉♣❺⑧❾➜
η

❼⑩✈✘❿
∆
✣➌rt❴❛❝❑➡➣❼⑩➝➛✇❛❝❑❼➌♣④♣④⑧q➀✥③⑥❼➣rt❝✉❿➼➟✤③➢r④❴❍rt❴❛❝☎➜➞✇❛✈❈➀➫r④③➛⑧❾✈❀♣④❼⑩r

∆
✣Ó➻ ③Ò➭ ❝❾➭

η = 6
➸
∆ = 1

➪✐❼⑩②t❝✝❼❾➝➛♣④⑧✑❼❾❽❛❽❛➝➛③➢❝❊❿✖➭❑❫✫❴❛❝❩➈❈❝✳r➤rt❝✳②❆r④②❶❼❾➀❶➠♦③➛✈❛➎➑❽❖❝✳②④➜➞⑧❾②t❜➯❼⑩✈✘➀✳❝❑⑧⑩➜✮r④❴❛③⑥♣➍➀✥⑧❾✈●rt②④⑧➌➝➢➝➛❝✳②❊➸❈➟✤❴✘③➛➀❶❴
③⑥♣➍❼⑩➝⑥♣➤⑧✪✇✘♣④❝✉❿❀③➢✈❀r④❴✘❝❩✈✘❝✥➵♦r☎♣➤③➛❜❑✇❛➝⑥❼➣rt③➢⑧➌✈❀➀✉❼❾♣④❝❾➸✔♣④❴❛⑧➣➟✤✈❚rt❴❛❝❞③➢✈●r④❝✉②④❝❊♣sr➍⑧⑩➜✫➀✥⑧➌❜❩❽✘➝➢❝✉❜❩❝✉✈●r④③➛✈❛➎➑rt❴❛❝❞③➢✈●rt❝✳➎❾②❶❼⑩➝
➀✳⑧❾②t②④❝❊➀➫rt③➢⑧➌✈✑❼❾➀✥r④③➛⑧❾✈✪➟✤③➺rt❴✪r④❴❛❝✜❝❊♣srt③➢❜➯❼➣rt③➢⑧➌✈✑⑧❾➜✟rt❴❛❝☎❼⑩❽❛❽❈❼⑩②t❝✳✈●r❺❼❾➀✳➀✳❝✳➝➛❝✳②❶❼➣rt③➢⑧➌✈✔➭

� ✠ ✎ ✌ ★Ò→q➓ ✠ Ð ☛ ✖ ↕ � ➔➣→✁� ❐ ↔❾➓ Ð ➔ ❒ ➓✉➔➮→✘↔ � ✠ ☛✄✂ Ï ✠➞➓ ✁ ➒✉➓✳➔ Ð☞☛✄✂ ✠ →q➔ ✠ →q➐ ★ ❐❘Ï ✠ ☛ Ñ✆☎ ★ →q➔ ✂❖❐ ✠ ☛ ✠ ➓ ✠ → ★
✞ Ð ➒✡✠➞➓✡✠ Ð☞☛➦❐ ➔➮➔ Ð ➔✝☎✠→ ☛ Ñ Ð ☛✟❮ ★✁✠ ☛✚❐✪❐ ➒✉➓ ✠ ✎➴→q➓ ✠ Ð ☛➦Ð �❣→ ❐ ➔ Ð Ñ ❒ ☛ → ✎ ✠Ò↔ � Ð ➔➮↔ ❐ ➒☞☛

❫✫❴❛❝☎➀✳⑧❾✈●r④②t⑧❾➝❰⑧➌➈q⑨s❝✉➀✥r④③➛➡❾❝➍③➛♣➙rt⑧❞r④②❶❼❾➀❶➠❞rt❴❛❝➍➜➞⑧❾➝➛➝➢⑧➣➟✤③➛✈❛➎❞②t❝✥➜➞❝✳②t❝✳✈❈➀✥❝✐r④②❶❼➣⑨s❝✉➀✥r④⑧➌②④♥

xr(t) = (10 cos(πt/10), 10 sin(πt/10),−t)T

❫✫❴✘❝❆③➛✈❛③➢r④③⑥❼⑩➝❰➡❾❝✉❴❛③⑥➀✥➝➛❝✩✓ ♣✴❽❖⑧➌♣④③➢r④③➛⑧❾✈➼❼⑩✈✘❿✑❼➣r➤rt③➺rt✇✘❿q❝☎❼❾②④❝✐➎❾③➛➡❾❝✳✈✑➈♦♥
x(0) = (45, 50,−10)T

❼⑩✈✘❿
R(0) = I3②t❝✉♣④❽❖❝✉➀➫rt③➢➡➌❝✳➝➛♥❾➭✠➹➘✈●r④❝✉➎❾②❶❼⑩➝✖➀✥⑧➌②④②t❝✉➀✥r④③➛⑧❾✈❱③➛✈➼❽❈⑧●♣➤③➢r④③➛⑧❾✈✪③➛♣✫✇❈♣➤❝❊❿✖➭▼❫✟⑧❩rt❝✉♣➤r✤r④❴❛❝✜②t⑧❾➈❛✇❈♣srt✈❛❝✉♣t♣➙⑧⑩➜✟rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝➛➝➢❝✉②

➟✜➭ ②❊➭ r❊➭❚❼⑩❝✳②t⑧q❿q♥♦✈✘❼⑩❜❞③⑥➀❞❽❈❝✉②➤rt✇❛②t➈✘❼➣rt③➢⑧➌✈✘♣✳➸❨❼✛✚④♣➤r④②t⑧❾✈❛➎ ✜❩➡➣❼⑩②t③➛❼❾➈❛➝➛❝❱➟✤③➢✈❈❿☛③➛♣✝♣➤③➛❜❑✇✘➝➛❼⑩r④❝✉❿Ó➟✤③➢r④❴➨➡❾❝✳➝➛⑧q➀✥③➢rs♥❀③➛✈q➲
rt❝✳✈✘♣④③➢rs♥❩➡➣❼❾②④③⑥❼➣rt③➢⑧➌✈✘♣▼②t❝✳❽❛②t❝✉♣④❝✳✈●rt❝✉❿❞⑧❾✈✑➆✯③➛➎❾✇✘②④❝➍➄♦➭▼❷✤➀➫rt✇✘❼⑩➝❰❼⑩✈✘❿❱❝✉♣➤r④③➛❜❞❼⑩r④❝❊❿❱❼⑩❽❛❽❈❼⑩②t❝✳✈●r➙❼➌➀✳➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈✘♣✮❼⑩②t❝
♣④❴❛⑧➣➟✤✈☛⑧➌✈➨➆✚③➢➎➌✇❛②④❝✪➂q➭Ó➚✔③➛❜❩③➢rt❼⑩r④③➛⑧❾✈✘♣✝⑧⑩➜✤rt❴❛❝➼❼❾➀➫rt✇✘❼➣rt⑧❾②❶♣☎❼⑩②t❝➑❼❾➝➛♣④⑧❚r❶❼⑩➠❾❝✉✈☛③➢✈●rt⑧❀❼❾➀✉➀✥⑧➌✇❛✈●r❑➈♦♥Ó♣t❼➣rt✇❛②❶❼➣r➤➲
③➛✈❛➎❍rt❴❛❝➑❼❾❽❛❽❛➝➛③➢❝❊❿✣r④❴❛②t✇✘♣➤r❑➜➞⑧❾②❶➀✥❝❱❼❾✈✘❿✣r④⑧➌②t⑤●✇❛❝✑➀✥⑧❾❜❞❽❖⑧❾✈❛❝✉✈●rt♣☎❼➌➀✳➀✥⑧➌②t❿❛③➢✈❛➎➼rt⑧❍r④❴✘❝➯➜➞⑧❾➝➛➝➢⑧➣➟✤③➛✈❛➎❍③➛✈❛❝✉⑤●✇✘❼❾➝➢③➢rs♥
➀✳⑧❾✈✘♣➤r④②❶❼⑩③➛✈●rt♣

0 ≤ T ≤ 1.8m∗g∗ = 56.5, |Γi=1,2,3| ≤ 0.3TL
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x1 (m)

x
2
(m

)

ref. trajectory : −−
act. trajectory : −

−20 −10 0 10 20 30 40 50
0

20

40

60

80

100

120
Fig. b) Projected trajectories on a vertical plane

x1 (m)

−
x
3
(m

)

ref. trajectory : −−
act. trajectory : −

0 20 40 60 80 100
−10

0

10

20

30

40

50
Fig. c) Position tracking error

t (s)

x̃
1

,
2

,
3
(m

) x̃1 : −
x̃2 : −−
x̃3 : .−

0 20 40 60 80 100
−100

−80

−60

−40

−20

0

20

40

60
Fig. d) Euler angles

t (s)

φ
,
θ
,
ψ

(o
)

φ : −
θ : −−
ψ : .−

0 20 40 60 80 100
25

30

35

40

45

50

55

60
Fig. e) Thrust control input

t (s)

T
=
m
u

(N
)

0 20 40 60 80 100
−2.5

−2

−1.5

−1

−0.5

0

0.5

1

1.5

2

2.5
Fig. f) Torque control inputs

t (s)

Γ
1

,
2

,
3
(N
.m

)

Γ1 : −
Γ2 : −−
Γ3 : .−

➆✚③➛➎❾✇❛②t❝ ❂✓✾✔❷✐♣④➀✳❝✳✈✘❿❛③➢✈❛➎✤②t❝✥➜➞❝✉②④❝✉✈✘➀✥❝❨♣④❽❛③➛②t❼❾➝❾❼⑩✈✘❿❆➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣❰r④②❶❼➣⑨s❝❊➀➫rt⑧❾②t♥❺③➢✈➍rt❴❛❝▼❽❛②t❝✉♣④❝✳✈❈➀✥❝✠⑧⑩➜❛♣➤r④②t⑧❾✈❛➎✫➡➣❼⑩②t③➛❼❾➈❛➝➛❝
➟✤③➛✈✘❿❚❼❾✈✘❿❍➝⑥❼⑩②t➎❾❝☎③➛✈❛③➢r④③⑥❼⑩➝✠❽❖⑧➌♣④③➺rt③➢⑧➌✈❚❝✳②t②④⑧➌②t♣✉➭ ✑ ⑧❾✈●rt②④⑧➌➝✟➟✤③➢r④❴➬③➛✈●r④❝✉➎❾②❶❼⑩➝✯➀✳⑧❾②t②④❝❊➀➫rt③➢⑧➌✈✔➸

η = 6
➸
∆ = 1

➸❰❼⑩✈✘❿
⑧➌✈q➲❬➝➢③➛✈❛❝➍❝✉♣➤r④③➛❜➯❼➣r④③➛⑧❾✈✪⑧⑩➜

γe
➭

í✯í Ö☛●✘õ❶ñ✣❍✡�

in
ri
a
-0

0
2
5
8
0
9
2
, 
v
e
rs

io
n
 2

 -
 2

8
 F

e
b
 2

0
0
8



➉❾➋ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

� �✂✁☎✄✪✭✴✡✥✒✪✓✟✲✳✁☎✄✑✓

❫✫❴✘③➛♣❩❽✘❼❾❽❈❝✉②➯③➛♣❞❼⑩✈➥❼➣r④r④❝✉❜❩❽❛r❩rt⑧✣♣④❝✥r❞rt❴❛❝✪➜➞⑧❾✇❛✈✘❿✘❼➣r④③➛⑧❾✈❈♣✝⑧❾➜❆❼❀➎❾❝✉✈❛❝✳②❶❼⑩➝✫❼⑩❽❛❽✘②④⑧●❼❾➀❶❴☛rt⑧❀rt❴❛❝❍➀✥⑧➌✈➌rt②④⑧➌➝✴⑧❾➜
❼✑➝⑥❼⑩②t➎❾❝☎➜ ❼❾❜❞③➢➝➛♥❚⑧⑩➜✮r④❴❛②t✇✘♣➤r➤➲❬❽❛②④⑧➌❽❈❝✉➝➢➝➛❝✉❿➬✇❛✈✘❿q❝✉②t❼➌➀➫rt✇✘❼➣rt❝✉❿❚➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✉➭ ✥✐❝✳➡➌❝✳➝➛⑧❾❽❛③➛✈❛➎✪❼✑➀✳⑧❾✈●r④②t⑧❾➝✚r④❴✘❝✳⑧❾②t♥✪➜➞⑧❾②
➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣❞♣④❝✳❝✉❜❩③➛✈❛➎➌➝➢♥➨❼➌♣❞❿q③ ✘❰❝✳②t❝✳✈●r❱❼❾♣➯❼❾✈➦⑧q➀✳❝✉❼⑩✈ ♣➤❴✘③➢❽✍❼⑩✈❈❿➦❼Ó♣④❽✘❼❾➀✳❝✑②t⑧q➀❶➠❾❝✥r❞❜➯❼➮♥❾➸➙❼➣r❞➳✘②❶♣sr➯➎❾➝⑥❼⑩✈❈➀✥❝❾➸
❼❾❽❛❽❖❝✉❼⑩②❺➜ ❼⑩②④➲Ò➜➞❝✳rt➀❶❴❛❝❊❿❍❼⑩✈✘❿❍✇✘✈❛②④❝❊❼⑩➝➛③➛♣➤r④③⑥➀⑩➭ ❇❣⑧➣➟✴❝✉➡❾❝✉②✉➸✘❼➑➀✥➝➛⑧➌♣④❝✳②❺➝➛⑧♦⑧❾➠➼❼➣r❺rt❴❛❝❑✇❛✈✘③➺➜➞♥♦③➛✈❛➎➑❜❞⑧q❿q❝✳➝✚❝✉⑤●✇✘❼⑩r④③➛⑧❾✈✘♣
⑧❾➜✮rt❴❛❝✉♣④❝➯♣➤♥q♣➤r④❝✳❜➯♣➍➈❛②t③➛✈❛➎➌♣❆❝✳➡♦③⑥❿q❝✳✈❈➀✥❝❞r④❴❈❼➣r➍r④❴❛❝➯③⑥❿q❝❊❼✑③⑥♣❆r④❝❊➀❶❴❛✈❛③⑥➀✳❼❾➝➢➝➛♥❚②t❝✳➝➛❝✳➡➣❼⑩✈●r✉➭❞❫✫❴❛❝❞③➛✈❛③➺rt③➛❼❾➝✮♣➤rt❼⑩➎➌❝✝⑧❾➜
rt❴❛③⑥♣✮➟➙⑧❾②t➠❑➝➛⑧❾➎➌③➛➀✉❼⑩➝➛➝➢♥❑➜➞⑧♦➀✳✇✘♣④❝✉❿➯⑧➌✈➯➎➌❼➣rt❴❛❝✳②t③➛✈❛➎☎③➛✈q➜➞⑧❾②t❜➯❼➣r④③➛⑧❾✈❞➜➞②t⑧❾❜ r④❴✘❝❣❝✥➵q③⑥♣srt③➢✈✘➎☎②④❝✉➝➛❼⑩r④❝❊❿❞➝➢③➢r④❝✉②t❼⑩r④✇❛②t❝❣❼⑩✈❈❿
❝✳➵♦r④②❶❼❾➀➫rt③➢✈✘➎✑rt❴❛❝➯❝✳➝➛❝✳❜❞❝✉✈➌r❶♣✳➸✚❼➣r✜rt❴❛❝➯❜❞⑧♦❿❛❝✳➝➛③➢✈❛➎❚❼❾✈✘❿Ó➀✥⑧➌✈➌rt②④⑧➌➝✠➝➢❝✉➡❾❝✳➝⑥♣✉➸✟⑧❾✈✣➟✤❴❛③⑥➀❶❴☛❼➼②④❝❊❼❾♣④⑧❾✈✘❼❾➈❛➝➢♥❍♣④⑧❾✇❛✈❈❿
rt❴❛❝✳⑧➌②④♥❩➀✥⑧➌✇❛➝➛❿❞➈❖❝❣➟➙⑧❾②t➠❾❝❊❿❑⑧➌✇qr✉➭❨❷❣❜❩⑧➌✈❛➎➍r④❴✘❝✳❜➼➸●r④❴❛❝❺➈❈❼❾♣④③➛➀✤❽✘②④③➛✈✘➀✥③➛❽❛➝➛❝❣❼❾➀✉➀✥⑧➌②t❿q③➛✈❛➎❆r④⑧❑➟✤❴❛③➛➀❶❴❞rt❴❛❝❺rt❴❛②t✇✘♣sr
❿❛③➢②t❝✉➀✥r④③➛⑧❾✈➑❴❈❼❾♣✴r④⑧❞➈❖❝✜❜❩⑧➌✈❛③➢r④⑧❾②t❝✉❿➑③➢✈✪⑧❾②❶❿q❝✉②✮rt⑧❞❼❾➝➢➝➛⑧➣➟✍➜➞⑧➌②✴rt❴❛❝✜➀✥⑧➌❜❩❽❖❝✳✈❈♣④❼⑩r④③➛⑧❾✈➑⑧❾➜✟rt❴❛❝✜②④❝❊♣➤✇✘➝➺r❶❼⑩✈●r➙⑧❾➜✟❝✥➵♦➲
rt❝✳②t✈✘❼⑩➝❰➜➞⑧➌②t➀✳❝✉♣✫❴✘❼➌♣✤➈❖❝✳❝✳✈✪rt❴❛❝☎➝➛❝✉❼❾❿❛③➢✈❛➎❞➎➌✇❛③➛❿❛❝❾➭ ✑ ⑧➌✈●r④②t⑧❾➝❰➝➛❼➮➟❺♣❣➀✥⑧❾✈❈➀✥❝✳③➛➡❾❝❊❿❱➜➞⑧➌②✤③➢✈❈➀✥②t❝✳❜❞❝✳✈●rt❼❾➝➢➝➛♥➑➀✳⑧❾❜❞❽❛➝➛❝✥➵
⑧➌➈q⑨s❝✉➀✥r④③➛➡❾❝❊♣✳➸➌②t❼❾✈❛➎❾③➛✈❛➎➍➜➞②t⑧❾❜❘⑨s⑧➣♥q♣srt③➛➀❶➠●➲➘❼⑩✇❛➎➌❜❩❝✉✈●r④❝✉❿q➲❬➀✳⑧❾✈●r④②t⑧❾➝●⑧⑩➜✖rt❴❛❝❣➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣✮❼⑩r➤r④③➢r④✇❈❿q❝❣rt⑧❑❼⑩✇❛r④⑧❾✈✘⑧❾❜❞⑧❾✇✘♣
rt②t❼⑩⑨s❝✉➀✥r④⑧❾②t♥❞r④②❶❼❾➀❶➠♦③➛✈❛➎✘➸♦❴✘❼➮➡➌❝✐➈❖❝✳❝✉✈❍❿q❝✳②t③➢➡➌❝✉❿✑➟✤③➺rt❴✪r④❴❛❝❑♣④✇❛❽❛❽❖⑧❾②④r✤⑧⑩➜✠②④③➛➎❾⑧➌②④⑧➌✇✘♣➙➚✔♥➌❼❾❽❛✇❛✈❛⑧➣➡❱♣➤rt❼❾➈❛③➛➝➢③➢rs♥➑❼⑩✈❈❿
➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✳✈✘➀✳❝➙❼❾✈✘❼⑩➝➛♥q♣➤❝❊♣✳➭✠❫✫❴❛❝❺✇✘✈✘❼➮➡❾⑧➌③➛❿❛❼❾➈❛③➛➝➢③➢rs♥☎⑧⑩➜✖③➛❜❞❽❛②④❝❊➀✥③⑥♣➤❝❣❜❩⑧q❿q❝✉➝➢③➛✈❛➎❑❼❾✈✘❿ ✛➣⑧❾②❨❜❞❝✉❼➌♣➤✇❛②t❝✳❜❞❝✉✈➌r▼⑧❾➜✖r④❴❛❝
❝ ✘❖❝❊➀➫r❶♣☎⑧⑩➜✫rt❴❛❝➑❝✉✈●➡♦③➛②④⑧➌✈❛❜❞❝✳✈●r☎⑧❾✈Órt❴❛❝❱➡➌❝✳❴❛③⑥➀✥➝➛❝✩✓ ♣❑❿q♥♦✈✘❼❾❜❞③➛➀✉♣✜♥♦③➢❝✉➝➛❿❛♣☎r④❴❛❝✑✈❛❝✉➀✳❝✉♣t♣➤③➢rs♥➬⑧❾➜✤❝ ✘❰❝✉➀➫rt③➢➡➌❝❱③➛✈➌rt❝✥➲
➎➌②t❼❾➝❖❼❾✈✘❿➑❼❾✈●r④③➛➟✤③➢✈✘❿❛✇❛❽✑➀✳⑧❾②t②④❝❊➀➫r④③➛⑧❾✈❱r④❝✳②t❜➯♣✳➸♦➟✤❴❛❝✉②④❝❊❼❾♣✮r④❴❛③⑥♣➙rs♥♦❽❈❝❆⑧⑩➜✚➀✥⑧❾②t②t❝✉➀➫rt③➢⑧➌✈❱③⑥♣✴⑧❾➜➽r④❝✉✈➑⑧➣➡❾❝✉②④➝➛⑧♦⑧❾➠➌❝✉❿❞③➛✈
❜➯❼❾✈●♥❩✈❛⑧➌✈❛➝➢③➛✈❛❝❊❼⑩②✮➀✳⑧❾✈●r④②t⑧❾➝✘♣➤r④✇❈❿q③➢❝❊♣✳➭✮❹✐✈❞rt❴❛❝❣⑧❾r④❴❛❝✉②✮❴✘❼❾✈✘❿✖➸➌r④❴❛❝❣➀✳⑧❾✈✘➀✳❝✳②t✈➯⑧⑩➜✖➎❾❝✉✈❛❝✳②t③⑥➀✥③➢rs♥✝❼⑩✈❈❿➯➎❾❝✉✈❛❝✳②❶❼⑩➝➛③➺rs♥
③➛✈✘❿q✇❈➀✥❝✉❿❞❼✜➀✳❝✳②④rt❼⑩③➛✈❩✈●✇✘❜❑➈❖❝✳②▼⑧❾➜❰♣④③➢❜❞❽❛➝➛③➢➜➞♥●③➛✈❛➎☎❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈❈♣✳➭✠➆❛⑧➌②❨③➢✈✘♣➤rt❼❾✈✘➀✥❝➌➸⑩rt❴❛❝❺❝✥➵q③⑥♣srt❝✳✈✘➀✳❝✫⑧⑩➜✖❼➣r➤rt③➺rt✇✘❿q❝
➀✳⑧❾✈●r④②t⑧❾➝❰❼❾➀✥r④✇✘❼⑩r④⑧➌②t♣✴❝✳✈❛⑧➌✇❛➎❾❴✪❽❖⑧➣➟✴❝✉②➤➜➞✇❛➝❖rt⑧✝⑧➣➡➌❝✳②❶➀✥⑧❾❜❞❝✐❝✳✈♦➡♦③➢②t⑧❾✈❛❜❞❝✉✈➌r❶❼⑩➝❖❽❈❝✉②➤rt✇❛②t➈✘❼➣rt③➢✈❛➎✝r④⑧➌②t⑤●✇❛❝❊♣➙➟➙❼➌♣➙❼➌♣s➲
♣④✇❛❜❞❝✉❿✔➭✣✥✐❝✳②t③➢➡♦③➛✈❛➎❱❼⑩✈❚❼❾❽❛❽❛②t⑧➌❼➌➀❶❴✪❼➌♣✤➝➢③➢r➤rt➝➢❝✝❿q❝✳❽❖❝✳✈✘❿❛❝✳✈●r✐❼❾♣❣❽❈⑧●♣④♣④③➛➈❛➝➢❝✜⑧➌✈➼➡❾❝✳❴✘③➛➀✳➝➢❝☎❽❈❼⑩②④r④③⑥➀✥✇❛➝⑥❼⑩②t③➺rt③➢❝❊♣✫➎❾⑧♦❝✉♣
➟✤③➢r④❴➨r④❴❛❝➼❿q❝❊➀✥⑧❾✇✘❽❛➝➢③➛✈❛➎❀⑧⑩➜❺rt❴❛❝✪➀✳⑧❾✈●r④②t⑧❾➝➙❼⑩②❶➀❶❴❛③➢r④❝✉➀✥r④✇❛②t❝❱③➛✈●r④⑧✣③➢✈❛✈✘❝✳②❩❴✘❼⑩②❶❿q➟✫❼⑩②t❝✥➲➘❿q❝✳❽❖❝✳✈✘❿❛❝✳✈●r✝❼⑩✈❈❿➴⑧❾✇❛r④❝✳②
➀✳⑧❾✈●r④②t⑧❾➝✠➝➛⑧♦⑧❾❽✘♣✉➭➯❫✫❴❛❝➯♣srt✇✘❿q♥❚➜➞⑧q➀✳✇✘♣➤❝❊❿➬⑧➌✈➬rt❴❛❝➯➝⑥❼➣r➤rt❝✳②✜⑧➌✈❛❝❾➸✟❼❾✈✘❿❀r④❴❛❝➯❼➮➡➣❼⑩③➛➝⑥❼⑩➈❛③➛➝➢③➢rs♥❚⑧❾➜✴➝➛⑧➣➟✫➲✹➝➛❝✳➡➌❝✳➝❨♣➤❝✉②④➡➌⑧
❜❞❝❊➀❶❴✘❼⑩✈❛③⑥♣④❜❞♣✮③➢✈✑➀❶❴✘❼⑩②t➎❾❝✤⑧❾➜✔❝ ✘❰❝✉➀➫rt③➢➡➌❝✳➝➛♥❞❽❛②④⑧q❿q✇❈➀✥③➛✈❛➎☎rt❴❛❝✐❿q❝❊♣➤③➛②t❝✉❿❩r④❴✘②④✇✘♣➤r➙➜➞⑧❾②❶➀✥❝❺③➛✈●r④❝✳✈❈♣➤③➢rs♥➯❼⑩✈✘❿❱❼❾✈❛➎❾✇✘➝➛❼❾②
➡➌❝✳➝➛⑧q➀✥③➢r④③➛❝✉♣✑✣➌r④❴✘❝❆❿q❝✳r④❝✉②④❜❞③➛✈✘❼➣rt③➢⑧➌✈➑⑧⑩➜✯➟✤❴❛③➛➀❶❴➼➀✥⑧➌✈✘♣➤r④③➢r④✇qrt❝✉♣✴r④❴❛❝➍➀✥⑧➌②④❝❆⑧⑩➜✟r④❴❛❝❆❽❛②t⑧❾❽❖⑧➌♣④❝✉❿❱②t❝✉♣④✇❛➝➢rt♣ ✣❩➟✫❼❾♣✴✈❛⑧⑩r
❿❛③➛♣t➀✥✇✘♣t♣④❝✉❿❱⑧➌②✉➸●❝✉⑤●✇❛③➛➡➣❼⑩➝➛❝✳✈●r④➝➛♥❾➸q➟✫❼❾♣➙❼❾♣t♣④✇❛❜❞❝✉❿✖➭❨❷❺✈✘⑧⑩r④❴✘❝✳②✫③➢❜❞❽❖⑧❾②④rt❼❾✈➌r✤❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈➑➀✳⑧❾✈✘➀✳❝✳②t✈✘♣✮r④❴❛❝✜❼➮➡➣❼⑩③➛➝➺➲
❼❾➈❛③➛➝➢③➢rs♥➼⑧⑩➜✴♣④❝✳✈✘♣④⑧❾②❶♣❺❽✘②④⑧➣➡♦③⑥❿q③➢✈✘➎❱⑧❾✈q➲❬➝➛③➢✈❛❝✝❜❞❝✉❼❾♣④✇❛②t❝✳❜❞❝✳✈●r❶♣❣⑧❾➜❨r④❴❛❝❩➡❾❝✉❴❛③➛➀✳➝➢❝ ✓ ♣✐❽❖⑧➌♣④❝✪➻ ❽❈⑧●♣➤③➢r④③➛⑧❾✈ ✣❆❼⑩r➤rt③➺rt✇✘❿q❝❊➪
❼❾✈✘❿➴⑧❾➜❺r④❴✘❝➼➀✳⑧❾②t②④❝❊♣➤❽❖⑧❾✈❈❿q③➢✈✘➎➬➡❾❝✉➝➢⑧q➀✳③➺rs♥☛➀✥⑧➌❜❞❽❈⑧➌✈❛❝✳✈●rt♣✉➭ ✥✐❝✳❽❖❝✳✈✘❿❛③➢✈❛➎Ó⑧➌✈➴r④❴✘❝✪➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣❞❼❾✈✘❿☛rt❴❛❝✳③➛②❱❿q⑧⑩➲
❜➯❼❾③➢✈✘♣❺⑧⑩➜✠⑧❾❽❖❝✳②❶❼➣r④③➛⑧❾✈✟➸♦r④❴❛③⑥♣✤❜❞❝✉❼➌♣➤✇❛②t❝✳❜❞❝✉✈➌r ✛➮❝❊♣srt③➢❜➯❼➣rt③➢⑧➌✈✑②t❝✉⑤●✇❛③➛②t❝✳❜❞❝✳✈●r❺➀✳❼❾✈✑➈❖❝❑➀✥②t③➢r④③⑥➀✳❼⑩➝✹➭ ✑ ➝➛❝✉❼❾②④➝➛♥❱❝✉❼➌➀❶❴
⑧❾➜❨r④❴❛❝❊♣➤❝❩♣➤③➛❜❞❽❛➝➛③➺➜➞♥♦③➛✈❛➎✑❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈❈♣❺✈❛❝✉❝✉❿❛♣❣r④⑧✑➈❈❝✝②④❝✳➲✹❝✉➡➮❼❾➝➢✇❈❼➣r④❝❊❿➼➟✤❴❛❝✳✈❀➀✥⑧❾✈❈♣➤③⑥❿q❝✳②t③➛✈❛➎➑❼⑩✈❀❼⑩❽❛❽❛➝➛③⑥➀✳❼➣rt③➢⑧➌✈
⑧➌✈❀❼✑❽❛❴♦♥q♣➤③⑥➀✳❼❾➝✠♣④♥q♣srt❝✳❜➼➭✝❫✫❴✘❝✳♥❚➀✥⑧➌✈✘♣➤r④③➢r④✇qrt❝❞➀✳⑧❾❜❞❽❛➝➛❝✳❜❞❝✳✈●r❶❼⑩②t♥✪②t❝✉♣④❝✉❼❾②t➀❶❴❚r④⑧❾❽✘③➛➀✉♣❣➜➞⑧➌②➍❝✥➵q③➛♣➤r④③➛✈❛➎➼❼⑩✈✘❿➬➜➞✇q➲
rt✇❛②t❝❚❿q❝✳➡➌❝✳➝➛⑧❾❽❛❜❞❝✳✈●r❶♣✳➭✎✥❀❝➬❼❾➝➛♣④⑧☛❝✳✈♦➡♦③⑥♣➤③➛⑧❾✈➦rs➟✴⑧☛③➛❜❞❽❈⑧➌②➤r❶❼⑩✈●r❱❝✥➵♦rt❝✳✈✘♣④③➢⑧➌✈✘♣❞rt⑧☛r④❴❛③⑥♣❱♣➤r④✇✘❿❛♥❾➭✏❫✫❴❛❝➼➳✘②❶♣sr
⑧➌✈❛❝❍➀✥⑧➌✈✘➀✥❝✉②④✈✘♣❩rt❴❛❝➬❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈➥❼❾➀✉➀✥⑧➌②t❿q③➛✈❛➎❀r④⑧☛➟✤❴❛③⑥➀❶❴➥❝✳✈♦➡♦③➢②t⑧❾✈✘❜❩❝✉✈●rt❼⑩➝❺❿❛②t❼❾➎❀➜➞⑧➌②t➀✳❝✉♣❞⑧➌✈❛➝➢♥➦❿q❝✳❽❖❝✳✈✘❿
⑧➌✈❚rt❴❛❝❞➡❾❝✳❴✘③➛➀✳➝➢❝ ✓ ♣❆➡❾❝✉➝➢⑧q➀✳③➺rs♥➌➭❑➹❬r✜③➛♣❆✈❛❝❊➀✥❝❊♣④♣t❼⑩②t♥✪r④⑧➼②④❝✉➝➛❼⑩➵➼r④❴❛③⑥♣✜❼❾♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈❚➜➞⑧➌②✜❼✑✈♦✇❛❜✝➈❈❝✉②➍⑧⑩➜✴➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣
✣q❼⑩❝✉②④⑧➌❽❛➝➛❼❾✈❛❝✉♣❑♣➤✇❛➈✘❜❩③➢r➤rt❝✉❿➨r④⑧✣➝➢③➢➜➽r❞➜➞⑧❾②❶➀✥❝❊♣✝❿q❝✉❽❈❝✉✈✘❿q③➛✈❛➎Ó⑧❾✈☛rt❴❛❝❍❼⑩✈❛➎➌➝➢❝✑⑧⑩➜✐❼⑩r➤r❶❼❾➀❶➠❰➸✠➜➞⑧❾②❞③➛✈✘♣sr❶❼⑩✈✘➀✳❝❾➭➴❫✫❴❛❝
⑧❾r④❴❛❝✉②▼⑧❾✈✘❝❣➀✥⑧➌✈✘➀✥❝✉②④✈✘♣❨r④❴❛❝❺❽❖⑧➌♣t♣④③➢➈❛③➛➝➛③➺rs♥❩⑧⑩➜✖②t❝✳❜❞⑧➣➡♦③➢✈❛➎➍rt❴❛❝❣❼➌♣④♣④✇❛❜❞❽qr④③➛⑧❾✈➯⑧❾➜✖✈❛⑧❾✈➯➩✉❝✳②t⑧⑩➲➘➀✥②t⑧➌♣t♣➤③➛✈❛➎❣✇✘❽❈⑧➌✈➯r④❴❛❝
♣④⑧⑩➲➘➀✳❼❾➝➢➝➛❝✉❿ ✚④❼⑩❽❛❽❈❼⑩②t❝✳✈●r✴❼❾➀✉➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈ ✜ ✣➌r④❴✘❝❣②t❝✉♣④✇❛➝➺r❶❼⑩✈●r✮⑧❾➜✔❝✥➵♦r④❝✉②④✈✘❼❾➝❛➜➞⑧➌②t➀✳❝✉♣✮❼❾✈✘❿❱❿q❝❊♣➤③➛②t❝✉❿❱❼➌➀✳➀✥❝✉➝➢❝✉②t❼⑩r④③➛⑧❾✈✘♣ ✣
➡♦③⑥❼❍❜❞⑧❾②t❝❱③➛✈●➡➌⑧❾➝➛➡❾❝❊❿✖➸✯✈✘⑧❾✈q➲➘➀✥➝⑥❼❾♣t♣➤③⑥➀✳❼❾➝Ò➸✚➀✥⑧➌✈➌rt②④⑧➌➝▼rt❝✉➀❶❴❛✈❛③⑥⑤●✇❛❝✉♣✝❼⑩③➛❜❞③➢✈❛➎❀❼➣r❑rt❴❛❝➑✇✘✈✘➀✥⑧➌✈✘❿q③➢r④③➛⑧❾✈✘❼❾➝✮❽❛②❶❼❾➀✥r④③⑥➀✳❼⑩➝
♣➤rt❼❾➈❛③➛➝➢③➢rs♥❑⑧❾➜❈rt❴❛❝❣♣④♥♦♣➤r④❝✉❜ ✿✥❁✽❊❋❃❬➭✠❻✴❝❊♣➤③⑥❿q❝❊♣✠r④❴❛❝❊♣➤❝❺➀✳⑧❾✈✘➀✳❝✳❽qrt✇✘❼⑩➝❈❿q❝✳➡➌❝✳➝➛⑧❾❽❛❜❞❝✳✈●r❶♣✳➸❾➀✳⑧❾✈✘❿❛✇✘➀➫rt③➢✈❛➎✜❝✳➵q❽❈❝✉②④③➛❜❞❝✳✈●rt♣
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V = 1 − γ̄3 = 1 − cos θ̃
➻Ò➅❾➋➌➪

✥✐③ ✘❖❝✉②④❝✉✈➌rt③➛❼⑩r④③➛✈❛➎
V

❼⑩➝➛⑧❾✈✘➎✑rt❴❛❝❱♣④⑧❾➝➛✇qr④③➛⑧❾✈✘♣➍⑧❾➜✴rt❴❛❝➑♣④♥q♣srt❝✳❜
Ṙ = RS(ω)

❼⑩✈✘❿✣✇✘♣④③➛✈❛➎❚➚✔❝✉❜❩❜➯❼➬➉➑➟✤③➢r④❴
|γ| = 1

➻ ♣④❝✳❝☎❷❣❽❛❽❈❝✉✈✘❿q③➢➵✪❷❑➭ ➋●➪➫➸❛⑧➌✈❛❝➍❴✘❼❾♣

V̇ =
(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+

(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)]

❧q✇❛➈✘♣➤r④③➢r④✇qrt③➢✈❛➎➯❝✳➵q❽❛②④❝❊♣④♣④③➛⑧❾✈✘♣➍➻✟❂❾➪➙⑧⑩➜
ω1, ω2

❼⑩✈✘❿✪✇✘♣④③➛✈❛➎❚➻➞➃●➊❾➪✥➸q⑧➌✈❛❝✜➎❾❝✳rt♣

V̇ = −k
γ̄2
1 + γ̄2

2

(1 + γ̄3)
2 = −k

1 − γ̄3

1 + γ̄3
= − kV

1 + γ̄3
≤ −kV

2
≤ 0

➻ ➅✯❊➌➪

❫✫❴✘③➛♣✪②t❝✳➝⑥❼➣r④③➛⑧❾✈✷❽❈⑧➌③➢✈●r❶♣✑⑧➌✇qr✪r④❴✘❼⑩r
V

➀✥⑧➌✈♦➡❾❝✳②t➎❾❝❊♣❱❝✳➵♦❽❖⑧❾✈✘❝✳✈●r④③⑥❼⑩➝➛➝➢♥➥rt⑧➦➩✉❝✳②t⑧➨➟✤❴❛③⑥➀❶❴✙❼⑩➝⑥♣➤⑧➦③➢❜❞❽❛➝➛③➢❝❊♣✪r④❴❛❝
❝✳➵q❽❈⑧➌✈❛❝✳✈●r④③⑥❼⑩➝➙➀✥⑧➌✈●➡➌❝✳②t➎❾❝✉✈✘➀✥❝➯⑧❾➜

θ̃
r④⑧❀➩✳❝✳②t⑧✘➭❀❷❣♣❑➜➞⑧❾②✝r④❴❛❝✪♣sr❶❼⑩➈❛③➛➝➢③➢rs♥Ó⑧⑩➜✤rt❴❛❝➑❝❊⑤➌✇✘③➢➝➛③➢➈✘②④③➛✇❛❜

θ̃ = 0
➸❨③➢r✝③⑥♣

❼❞❿q③➛②t❝✉➀➫r❺➀✳⑧❾✈✘♣④❝✉⑤●✇❛❝✉✈✘➀✥❝➍⑧⑩➜☎➻Ò➅❾➋❾➪✫❼❾✈✘❿❀➻Ò➅✫❊●➪➫➭

✂ ✠ ✟ ✂ ☛✖✍ ✍✆☎✢✍✆☎ ✂ ☛✖✍ ✆ ✍ ✠ ✕✗✏✓✕☞✍✙✘ ✟
➹❬r✤➜➞⑧➌➝➢➝➛⑧➣➟❺♣✴➜➞②④⑧➌❜ r④❴✘❝☎❿q❝✥➳✘✈✘③➺rt③➢⑧➌✈✪⑧❾➜

θ̃
rt❴✘❼➣r

tan2(θ̃/2) =
γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2 =

|γ| − γ̄3

|γ| + γ̄3
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V
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V

❼⑩➝➛⑧❾✈❛➎➑r④❴❛❝
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V̇ = ṽT (−ue3 + γ̄) +
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)]

= ṽ3 (−u + γ̄3) +
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)

+ |γ|k2

(

ṽ1

ṽ2

)]

❧q✇❛➈✘♣➤r④③➢r④✇qrt③➢✈❛➎➯❝✳➵q❽❛②④❝❊♣④♣④③➛⑧❾✈✘♣➍➻ ❁✯❁✉➪➙⑧⑩➜
u
➸
ω1

➸
ω2

❼⑩✈✘❿✪✇✘♣④③➛✈❛➎❚➻➞➃●➊❾➪➫➸❛⑧➌✈❛❝➍⑧❾➈qr❶❼⑩③➛✈✘♣

V̇ = −|γ|k1ṽ
2
3 − k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2 = −|γ|k1ṽ

2
3 − k3

k2
tan2(θ̃/2)

➻➞➃✴❁❊➪
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ṽ
③➛♣✴➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭❨❫✫❴❛❝❺✈❛❝✳➵♦r➙♣➤r④❝✳❽➯⑧❾➜✖r④❴❛❝✐❽❛②t⑧●⑧❾➜❰➀✳⑧❾✈✘♣④③⑥♣sr❶♣▼③➛✈❱♣➤❴❛⑧➣➟✤③➛✈❛➎✜rt❴✘❼➣r

V̇
③⑥♣▼✇❛✈✘③➺➜➞⑧➌②④❜❞➝➛♥❩➀✳⑧❾✈●r④③➛✈♦✇❛⑧❾✇✘♣

❼❾➝➢⑧➌✈❛➎❍❝✉❼➌➀❶❴➴♣➤♥q♣➤r④❝✉❜✠✓ ♣❑♣④⑧❾➝➛✇qrt③➢⑧➌✈☛③➢✈➴⑧➌②t❿❛❝✳②✜rt⑧❀❿q❝❊❿q✇✘➀✥❝➌➸✠➈●♥Ó❼⑩❽✘❽❛➝➢③⑥➀✳❼⑩r④③➛⑧❾✈☛⑧❾➜❣❻➙❼❾②④➈❈❼⑩➝⑥❼➣r✍✓ ♣✜➝➛❝✳❜❞❜➯❼➴➻ ♣④❝✳❝
✿✥❁❊➄❋❃➽➪✥➸▼r④❴✘❝➼➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✳✈✘➀✳❝➑⑧❾➜

ṽ3
❼⑩✈✘❿

θ̃
rt⑧Ó➩✳❝✳②t⑧✁�⑩➭➦❫✯⑧❀rt❴❛③⑥♣❞❽❛✇❛②t❽❈⑧●♣➤❝➌➸▼③➺r❱♣④✇q➷❱➀✥❝❊♣❩r④⑧Ó♣➤❴❛⑧➣➟ r④❴✘❼⑩r

V̈③⑥♣✝➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭☛➹➘✈➨➡♦③➛❝✳➟ ⑧⑩➜➼➻➞➃✴❁❊➪➫➸✴❷❣♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈ ➄♦➸✴❼⑩✈✘❿Órt❴❛❝✪➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝✉♣t♣❩⑧⑩➜
ṽ
➸❨r④❴✘③➛♣❞➀✥⑧➌✈✘❿q③➢r④③➛⑧❾✈➴③⑥♣

♣t❼➣rt③➛♣➤➳✘❝❊❿➑③➢➜
γ
➸
γ̇
➸ ˙̃v3

➸✘❼❾✈✘❿ d
dt tan2(θ̃/2)

❼⑩②t❝➍➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭
➆✘②④⑧➌❜ ❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈❚➃❛➸❖r④❴❛❝✝➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝❊♣④♣❣⑧⑩➜

ṽ
➸✖❼❾✈✘❿✪r④❴❛❝❩②t❝✳➝⑥❼➣r④③➛⑧❾✈

ṽ = RT (ẋ − ẋr)
➸❰③➺r✐➜➞⑧❾➝➛➝➢⑧➣➟❺♣

rt❴✘❼➣r
ẋ

③➛♣☎➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭✪❫✫❴✘❝✳②t❝✥➜➞⑧❾②t❝❾➸✯✇✘♣④③➢✈❛➎❚❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈✘♣ ❁❱❼⑩✈❈❿❀➃❈➸✯⑧➌✈❛❝❱❿q❝❊❿q✇✘➀✥❝❊♣➍r④❴❈❼➣r
γe

➸
γ

❼⑩✈✘❿
γ̄❼❾②④❝✐❼⑩➝⑥♣➤⑧✝➈❈⑧➌✇❛✈✘❿q❝❊❿✖➸q❼⑩✈✘❿❞rt❴✘❼➣r

u
➻➞➎❾③➛➡❾❝✉✈❱➈♦♥❚➻ ❁✯❁❊➪➤➪✮③⑥♣✴❼❾➝➛♣④⑧☎➟➙❝✳➝➛➝➺➲➘❿q❝✥➳❈✈❛❝✉❿✑❼⑩✈✘❿➯➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭✠❫✫❴✘③➛♣➙③➛❜❩❽✘➝➢③➛❝✉♣

rt❴✘❼➣r
ẍ

➎➌③➢➡➌❝✳✈➑➈♦♥
ẍ = −uRe3 + γe(ẋ, t)

➻➞➃♦➉❾➪
③⑥♣✫➈❖⑧❾✇❛✈✘❿❛❝✉❿✖➭✮❧♦③➛✈✘➀✳❝

γ̇e(ẋ, t) =
∂γe
∂ẋ

(ẋ, t)ẍ +
∂γe
∂t

(ẋ, t),

③➢r❑➀✥⑧➌❜❞❝✉♣✉➸❰➜➞②④⑧➌❜❦❷❣♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈✘♣ ❁❞❼⑩✈❈❿❀➃❍❼❾✈✘❿❚rt❴❛❝❩➜ ❼❾➀✥r✜r④❴✘❼⑩r
ẋ

❼❾✈✘❿
ẍ

❼❾②④❝❞➈❖⑧❾✇❛✈❈❿q❝✉❿✖➸✔r④❴✘❼⑩r
γ̇e

❼⑩✈❈❿
γ̇

❼⑩②t❝☎❼⑩➝⑥♣➤⑧➯➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭❺➚✔❝✥r✐✇✘♣❺✈❛⑧➣➟✏♣④❴❛⑧➣➟ rt❴✘❼➣r➍❼⑩➝➛⑧❾✈❛➎➯❝❊❼❾➀❶❴❍♣④♥♦♣➤r④❝✉❜ ✓ ♣✐♣➤⑧➌➝➢✇qrt③➢⑧➌✈✔➸❛rt❴❛❝✳②t❝☎❝✳➵♦③⑥♣➤rt♣
ε > 0♣④✇✘➀❶❴✑r④❴✘❼⑩r

|θ̃(t)| ≤ π − ε, ∀t
➻➞➃➌➅●➪

➹❬r✤➜➞⑧➌➝➢➝➛⑧➣➟❺♣✴➜➞②④⑧➌❜❦➻ ❁✯❁❊➪✥➸✟➻➞➃●➊❾➪➫➸✘❼❾✈✘❿✪➚✔❝✳❜❞❜➯❼❱➉❑r④❴✘❼⑩r

d

dt
(1 − cos θ̃) = −k2(γ̄1ṽ1 + γ̄2ṽ2) − k3

|γ| − γ̄3

|γ| + γ̄3
= −k2(γ̄1ṽ1 + γ̄2ṽ2) − k3 tan2(θ̃/2)

➻➞➃➌➃●➪

❧q③➢✈✘➀✳❝
γ̄

❼⑩✈✘❿
ṽ

❼⑩②t❝➍➈❈⑧➌✇❛✈✘❿q❝❊❿✖➸❛⑧❾✈✘❝➍➀✉❼⑩✈✪❝✳✈✘♣④✇❛②t❝❆r④❴✘❼⑩r✤r④❴❛❝✉②④❝➍❝✥➵q③⑥♣sr❶♣
ε1 > 0

♣④✇✘➀❶❴✑r④❴✘❼⑩r

|θ̃| > π − ε1 =⇒ d

dt
(1 − cos θ̃) < 0

✤✴⑤➌✇❈❼➣r④③➛⑧❾✈❍➻ ➃➌➅❾➪✠③⑥♣✠rt❴●✇❈♣▼♣④❼⑩r④③⑥♣s➳❈❝✉❿✝➟✤③➺rt❴
ε = min{ε1, π−|θ̃(0)|} ➻

> 0
➪✥➭✚❫✫❴❛③⑥♣❨③➛❜❞❽❛➝➢③➛❝✉♣❨r④❴❛❝❺➈❖⑧❾✇✘✈✘❿q❝✉❿q➲

✈✘❝✉♣t♣✴⑧❾➜
tan(θ̃/2)

❼⑩✈✘❿✑❼⑩➝⑥♣➤⑧❈➸●➜➞②④⑧➌❜ ➻ ➃➌➊●➪➫➸q⑧❾➜
1/(|γ|+ γ3)

➭▼❷❣➝➢⑧➌✈❛➎✝➟✤③➢r④❴➼❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈➼➄❑❼❾✈✘❿➯rt❴❛❝❆➜ ❼❾➀➫r
✂ ì✟á❶ê✹æ✠êÒ×➣Ütê✯óqÜ✥ç❊Ü❶à➶à➶æ☎✄ ß✖ê✹×➮æsá➫â æsè✍ã➮á✉æsß✟Ö➮á❶ê✯Ü❶÷➮÷➮à ✆❣ß✹Õ➶Ö❊Ú➤æ✠êÒ×➮æ▼Úsà➶á➫ß✹æsã❊ô➽à➶á✳á➫÷❆ã✝✆❊Ö➣Ü❶è✤Õ➶Úsß✔Õ➶ß✔Ö➮á❶ê✯Ü❶Ù❊êÒá➫Ö➮á➫è✤á➫Ù➮ß④ù
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rt❴✘❼➣r
ṽ, γ, γ̄, γ̇

❼⑩②t❝✤➈❖⑧❾✇❛✈✘❿❛❝✉❿✖➸➌r④❴❛③⑥♣✴❝✳✈✘♣④✇❛②t❝✉♣✠rt❴✘❼➣r▼rt❴❛❝❣➀✳⑧❾✈●r④②t⑧❾➝❛③➛✈❛❽❛✇❛rt♣
ω1

❼⑩✈✘❿
ω2

➸●❼⑩✈✘❿❩rt❴●✇❈♣
ω
➸♦❼⑩②t❝

➟➙❝✳➝➛➝➢➲❬❿q❝✳➳✘✈❛❝❊❿✑❼❾✈✘❿➑➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭✮❧♦③➢✈❈➀✥❝
γ, ṽ, ω, u

❼⑩②t❝❆➈❖⑧❾✇✘✈✘❿q❝✉❿✔➸q③➺r✤➜➞⑧➌➝➢➝➛⑧➣➟❺♣➙➜➞②④⑧➌❜❦➻✘❊⑩➈❈➪✮rt❴✘❼➣r ˙̃v
③⑥♣✤❼⑩➝⑥♣➤⑧

➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭➑➆✚③➢✈✘❼❾➝➢➝➛♥❾➸✚♣➤③➛✈✘➀✳❝➯➈❈⑧❾r④❴
γ̇

❼⑩✈✘❿
ω

❼⑩②t❝❩➈❖⑧❾✇✘✈✘❿q❝✉❿✔➸✯⑧➌✈❛❝➯❿q❝✉❿q✇❈➀✥❝✉♣✜r④❴✘❼⑩r
˙̄γ
③➛♣☎➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭➑❫✫❴❛❝

➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣✚⑧⑩➜ d
dt tan2(θ̃/2)

r④❴✘❝✳✈✝➜➞⑧❾➝➛➝➢⑧➣➟❺♣✟➜➞②④⑧➌❜ ➻➞➃●➊❾➪✚❼⑩✈✘❿✜➜➞②④⑧➌❜✙r④❴❛❝✫➈❖⑧❾✇❛✈✘❿❛❝✉❿q✈❛❝❊♣④♣✚⑧❾➜
1/(|γ|+γ3)

➭
❫✫❴✘③➛♣✐➀✥⑧❾✈❈➀✥➝➛✇✘❿q❝✉♣❺r④❴❛❝✝❽❛②t⑧●⑧❾➜❨⑧⑩➜▼✇❛✈❛③➢➜➞⑧❾②t❜ ➀✥⑧➌✈➌rt③➢✈♦✇❛③➢rs♥✪⑧⑩➜

V̇
❼❾✈✘❿➼⑧⑩➜❨rt❴❛❝✝➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✳✈✘➀✳❝❆⑧❾➜

ṽ3
❼❾✈✘❿

θ̃
r④⑧

➩✉❝✳②t⑧✘➭❨❡❺⑧❾r④❝❆➜➞②t⑧❾❜❦➻ ➃➌➊➌➪✴rt❴✘❼➣r
γ̄1

❼⑩✈✘❿
γ̄2

❼⑩➝⑥♣➤⑧❞➀✥⑧➌✈♦➡❾❝✳②t➎❾❝❣r④⑧➯➩✉❝✳②t⑧✘➭
❫✫❴❛❝✉②④❝❍②t❝✳❜➯❼❾③➢✈✘♣➯r④⑧➴♣④❴❛⑧➣➟ rt❴✘❼➣r

ṽ1
❼⑩✈✘❿

ṽ2
➀✳⑧❾✈♦➡❾❝✉②④➎➌❝➑rt⑧➴➩✳❝✉②④⑧❈➭ ➚✔❝✳r

γ̄1,2
❿q❝✉✈❛⑧⑩rt❝➼r④❴❛❝❚➡➌❝✉➀✥r④⑧❾②

(γ̄1, γ̄2)
T ➭▼❻➙♥➑❼❞❿q③➛②④❝❊➀➫r❣➀✉❼⑩➝⑥➀✥✇❛➝⑥❼➣rt③➢⑧➌✈✔➸♦⑧❾✈❛❝☎❿q❝❊❿q✇✘➀✳❝✉♣➙➜➞②t⑧❾❜➱➚✟❝✳❜❞❜➯❼❱➉✝❼❾✈✘❿✣➻ ❁✫❁❊➪✴r④❴✘❼⑩r

d

dt

γ̄1,2

|γ| = a(t) + b(t)
➻➞➃●➄➌➪

➟✤③➢r④❴

a(t) := γ̄3









−k2ṽ1 −
k3γ̄1

(|γ| + γ̄3)2

−k2ṽ2 −
k3γ̄2

(|γ| + γ̄3)2









, b(t) :=
1

|γ|

(

ω3 +
1

|γ|2 γTS(Re3)γ̇

)(

γ̄2

−γ̄1

)

➹❬r✝③➛♣✝♣srt②t❼❾③➢➎➌❴➌r④➜➞⑧❾②t➟➙❼❾②t❿❍r④⑧❚➡➌❝✳②t③➺➜➞♥➬r④❴✘❼⑩r
ȧ(t)

③⑥♣☎➈❖⑧❾✇❛✈✘❿❛❝✉❿✍➻ ♣④⑧➼r④❴❈❼➣r
a(t)

③➛♣✜✇✘✈❛③➺➜➞⑧➌②④❜❞➝➛♥✣➀✳⑧❾✈●r④③➛✈♦✇❛⑧❾✇❈♣t➪
➈❈❼❾♣④❝✉❿☛⑧➌✈➴r④❴✘❝✑➈❖⑧❾✇❛✈❈❿q❝✉❿q✈✘❝✉♣t♣✝⑧❾➜ ˙̃v, γ̄, ˙̄γ

➸✮❼❾✈✘❿
1/(|γ| + γ̄3)

➪➫➭➦❻✴❝❊➀✳❼❾✇✘♣➤❝
b(t)

③➛♣❩✈❛⑧❾r❩✈✘❝✉➀✥❝❊♣④♣t❼⑩②t③➛➝➢♥
✇✘✈❛③➺➜➞⑧➌②④❜❞➝➛♥✣➀✳⑧❾✈●r④③➛✈♦✇❛⑧❾✇❈♣➯➻➞➈❖❝✉➀✳❼❾✇✘♣④❝❱⑧⑩➜✫r④❴✘❝❱r④❝✉②④❜➯♣

ω3
❼⑩✈❈❿

γ̇
➪✥➸✯rt❴❛❝➑➀✳➝➛❼➌♣④♣④③➛➀✉❼⑩➝❨➡➌❝✳②❶♣➤③➛⑧❾✈Ó⑧⑩➜❺❻✫❼⑩②t➈✘❼⑩➝⑥❼➣r ✓ ♣

➝➛❝✳❜❞❜➯❼❚❿q⑧♦❝❊♣☎✈❛⑧❾r❩❼⑩❽✘❽❛➝➢♥➌➭❚❫✫❴❛③⑥♣❑❝✳➵♦❽✘➝➛❼❾③➢✈✘♣✜r④❴❛❝✑✇✘♣➤❝✑⑧⑩➜✫r④❴✘❝✑♣④➝➢③➛➎❾❴●r④➝➛♥✣➎❾❝✳✈✘❝✳②❶❼⑩➝➛③➢➩✉❝✉❿✣➡❾❝✉②t♣④③➢⑧➌✈Ó➎❾③➛➡❾❝✳✈Ó➈♦♥
➚✟❝✳❜❞❜➯❼☎➅➯➻ ♣④❝✳❝✐❷❺❽❛❽❖❝✳✈✘❿❛③➺➵❱❷☎➭ ❊➌➪✥➭❨❢❣♣④③➢✈❛➎☎r④❴❛❝✐➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝✉♣t♣▼⑧❾➜

ω3
➸♦❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈➑➄❛➸●❼❾✈✘❿❩r④❴❛❝❣❽❛②④⑧➌❽❈❝✉②➤➲

rt③➢❝❊♣✮⑧➌➈qrt❼❾③➢✈✘❝✉❿❱❽✘②④❝✉➡●③➛⑧❾✇❈♣➤➝➛♥✪➻ ③Ò➭ ❝❾➭❨➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✳✈✘➀✳❝❺⑧⑩➜
γ̄1,2

r④⑧✝➩✳❝✉②④⑧❩❼⑩✈✘❿➯➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣✮⑧❾➜
γ̇
➪✥➸♦⑧❾✈❛❝✐➡❾❝✳②t③➢➳✘❝✉♣

rt❴✘❼➣r
b(t)

➀✥⑧❾✈♦➡➌❝✳②t➎❾❝✉♣▼r④⑧❞➩✳❝✉②④⑧❈➭ ✥❣③➛②④❝❊➀➫r❺❼⑩❽✘❽❛➝➢③⑥➀✳❼⑩r④③➛⑧❾✈✪⑧⑩➜✠➚✔❝✳❜❞❜➯❼❞➅✝r④⑧❱❧♦♥q♣➤r④❝✳❜ ➻➞➃●➄❾➪➙❝✳✈✘♣④✇❛②t❝✉♣✴r④❴❛❝☎➀✳⑧❾✈q➲
➡➌❝✳②t➎❾❝✉✈✘➀✥❝✐⑧⑩➜ d

dt
γ̄1,2

|γ|
r④⑧❞➩✳❝✉②④⑧❈➭❨❧q③➢✈✘➀✳❝

γ̄1,2
➀✥⑧❾✈♦➡➌❝✳②t➎❾❝✉♣▼r④⑧❞➩✳❝✉②④⑧❞❼⑩✈❈❿ |γ|+ γ̄3 > 0

➸♦r④❴✘❝☎➀✥⑧❾✈♦➡➌❝✳②t➎❾❝✳✈❈➀✥❝❺⑧❾➜
ṽ1, ṽ2

rt⑧➯➩✳❝✳②t⑧✝➜➞⑧❾➝➛➝➢⑧➣➟❺♣✉➭
❷✐♣❆➜➞⑧❾②❆r④❴❛❝➯♣➤rt❼❾➈❛③➢➝➛③➢rs♥❍⑧⑩➜▼rt❴❛❝❞❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇❛❜

(ṽ, θ̃) = (0, 0)
➸✖③➢r➍③⑥♣✜❼✪❿q③➢②t❝✉➀✥r➍➀✳⑧❾✈✘♣④❝✉⑤●✇❛❝✉✈✘➀✥❝✝⑧⑩➜➯➻✍❁❊➉❾➪

❼❾✈✘❿✣➻➞➃✝❁❊➪✥➭

✂ ✠✚� ✂ ☛✖✍ ✍✆☎✢✍✆☎ ✂ ☛✖✍ ✆ ✍ ✠ ✕✗✏✓✕☞✍✙✘ �

➆✘②④⑧➌❜ r④❴✘❝☎❿q❝✥➳✘✈✘③➺rt③➢⑧➌✈✪⑧❾➜
γ

➎➌③➢➡➌❝✳✈✑➈●♥Ó➻ ❁❊➂❾➪➫➸✘❝✉⑤●✇✘❼➣rt③➢⑧➌✈✣➻✘❊⑩➈❈➪✫➀✉❼⑩✈✪➈❈❝✜②t❝✳➟✤②t③➢r➤r④❝✉✈✪❼➌♣

˙̃v = −S(ω)ṽ − ue3 + RTγ − RTh(|Iv|2)Iv + RT c
➻ ➃➌➂➌➪

✥✐❝✥➳❈✈❛❝
f : s 7−→ h(s2)s

❼⑩✈✘❿
f−1 ❼➌♣❨③➺r❶♣▼③➛✈♦➡❾❝✳②❶♣④❝✴➜➞✇✘✈✘➀➫rt③➢⑧➌✈✔➭▼❡❺⑧❾r④❝❾➸❾➜➞②④⑧➌❜ ➻✍❁❊➄⑩➪✥➸❾rt❴✘❼➣r

f
③⑥♣✮❼✜♣➤r④②t③⑥➀➫r④➝➛♥

③➛✈✘➀✳②④❝❊❼❾♣④③➢✈❛➎☎➀✳⑧❾✈●r④③➛✈♦✇❛⑧❾✇❈♣❨➜➞✇❛✈✘➀✥r④③➛⑧❾✈✔➭✮❧q③➢✈✘➀✳❝
h

③➛♣➙♣➤r④②t③➛➀✥r④➝➛♥✝❽❖⑧➌♣④③➺rt③➢➡➌❝❾➸●⑧❾✈❛❝✐❴✘❼❾♣
f(0) = 0

➭✠❫✫❴❛❝✳②t❝✥➜➞⑧➌②④❝➌➸❾rt❴❛❝
✇❈♣➤❝➍⑧⑩➜ ✝▼⑧❾✇✘✈❛➎ ✓ ♣✫③➢✈✘❝✉⑤●✇✘❼⑩➝➛③➢rs♥➬➻ ♣④❝✳❝ ✿ ➃☎❃➞➪✫❼⑩➝➛➝➢⑧➣➟❺♣✴r④⑧❞❝❊♣sr❶❼⑩➈❛➝➛③➛♣④❴✪r④❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎✝②t❝✳➝⑥❼➣rt③➢⑧➌✈

cT Iv ≤ |c||Iv| ≤
∫ |Iv |

0

f(s) ds +

∫ |c|

0

f−1(s) ds
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➅❾➃ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

❫✫❴✘③➛♣✫➝➛❝✉❼➌❿❛♣✫✇✘♣✫rt⑧❞➀✳⑧❾✈✘♣④③⑥❿q❝✳②✫rt❴❛❝➍➜➞⑧❾➝➛➝➢⑧➣➟✤③➛✈❛➎❞➀✳❼❾✈✘❿q③⑥❿❛❼➣rt❝➍➚✟♥➌❼❾❽❛✇❛✈❛⑧➣➡❞➜➞✇❛✈❈➀➫r④③➛⑧❾✈
V

❿q❝✳➳✘✈❛❝❊❿✑➈♦♥

V =
1

2
ṽT ṽ +

1

k2

(

1 − γ̄3

|γ|

)

+

∫ |Iv |

0

f(s) ds − cT Iv +

∫ |c|

0

f−1(s) ds
➻➞➃✺❂⑩➪

➹❬r➯③⑥♣➯♣srt②t❼❾③➢➎➌❴●r➤➜➞⑧❾②t➟✫❼⑩②❶❿➬rt⑧Ó➡❾❝✳②t③➢➜➞♥Ór④❴✘❼⑩r❩rt❴❛❝✪➜➞✇❛✈✘➀✥r④③➛⑧❾✈
V

③⑥♣❞❽❖⑧➌♣④③➺rt③➢➡➌❝✪❼❾✈✘❿➨❽✘②④⑧➌❽❈❝✉②❩➟✜➭ ②❊➭ r❊➭
ṽ
➭➥❹✐✈❛❝

➡➌❝✳②t③➺➳❈❝✉♣❣❼❾➝➛♣④⑧➯rt❴✘❼➣r
V

③⑥♣❣❽✘②④⑧➌❽❈❝✉②❣➟✜➭ ②✉➭ r✉➭
Iv

➈♦♥➼➡❾❝✉②④③➢➜➞♥♦③➢✈❛➎❱r④❴✘❼⑩r❣r④❴✘❝ ❇❣❝✉♣t♣➤③⑥❼⑩✈❚❜➯❼⑩r④②t③➺➵➼⑧⑩➜
V

➟✜➭ ②❊➭ r✉➭
Iv③⑥♣☎❿q❝✳➳✘✈❛③➢r④❝❱❽❖⑧➌♣④③➢r④③➛➡❾❝❾➸✚③✹➭ ❝➌➭ ∂2V

∂I2v
> 0

➸✯✇✘♣④③➛✈❛➎➼r④❴❛❝✑➀✥⑧❾✈❈❿q③➺rt③➢⑧➌✈ò➻ ❁➮➄⑩➪➍⑧❾➜➙rt❴❛❝➯➜➞✇❛✈❈➀➫r④③➛⑧❾✈
h
➭➼❢❣♣④③➢✈❛➎➦➻➞➃➌➂●➪➫➸

➚✟❝✳❜❞❜➯❼➯➉q➸❛❼⑩✈❈❿➑rt❴❛❝✜②t❝✳➝⑥❼➣r④③➛⑧❾✈
İv = Rṽ

➸q⑧➌✈❛❝✜➎❾❝✳rt♣

V̇ = ṽT (−ue3 + γ̄) +
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)] ➻ ➃➌➋➌➪

❧q✇❛➈✘♣➤r④③➢r④✇qrt③➢✈❛➎❞rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝❰❝✥➵q❽❛②t❝✉♣t♣➤③➛⑧❾✈✣➻ ❁✯❁❊➪➙③➛✈➌rt⑧❍➻➞➃➌➋➌➪➫➸❛⑧➌✈❛❝➍⑧❾➈qr❶❼⑩③➛✈✘♣

V̇ = −|γ|k1ṽ
2
3 − k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2

➻ ➃✯❊➌➪

❫✫❴✘❝✳✈✔➸qrt❴❛❝☎❽❛②t⑧♦⑧⑩➜✠⑧⑩➜❨➀✥⑧➌✈●➡➌❝✳②t➎❾❝✉✈✘➀✥❝❆⑧⑩➜
(Iv, ṽ, θ̃)

r④⑧
(I∗v , 0, 0)

❽❛②④⑧q➀✳❝✳❝✉❿✘♣❺❼❾♣➙➜➞⑧➌②❺⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➼➉❛➭✴❡❣⑧⑩r④❝
③➛✈❚❽✘❼❾②➤rt③➛➀✳✇❛➝⑥❼⑩②❺rt❴✘❼➣r❆r④❴✘❝❩➀✳⑧❾✈✘❿q③➢r④③➛⑧❾✈➦➻ ❁❊➄❾➪❺⑧❾➜❨r④❴❛❝✝➜➞✇❛✈✘➀✥r④③➛⑧❾✈

h
③⑥♣✐✇❈♣➤❝✳➜➞✇❛➝✟rt⑧✑❝✉✈✘♣④✇❛②④❝☎r④❴❛❝❩➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝❊♣④♣

⑧❾➜
γ̇
➸✔❼❾✈✘❿❚③➢rt♣✜➀✳⑧❾❜✝➈❛③➢✈❈❼➣r④③➛⑧❾✈➬➟✤③➺rt❴❀❷❣♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈ ✵✤✵✤✵ ✁ ⑧⑩➜✮⑦✮②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈❀➅➑③➛❜❞❽❛➝➢③➛❝✉♣✐rt❴❛❝❞❝✥➵q③➛♣➤r④❝✉✈✘➀✥❝✝⑧⑩➜✴❼

✇✘✈❛③➛⑤●✇❛❝❞➡➌❝✉➀➫rt⑧❾②
I∗v

♣④✇✘➀❶❴❀r④❴✘❼⑩r
h(|I∗v |2)I∗v = c

➭❞➆❛✇❛②④r④❴✘❝✳②t❜❩⑧➌②④❝➌➸❰r④⑧➼❽❛②t⑧➣➡❾❝❑r④❴✘❼⑩r
Iv

➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✉♣✤rt⑧
I∗v⑧➌✈❛❝✜➀✳❼❾✈✪❼❾❽❛❽❛➝➛♥➑❻✫❼⑩②t➈✘❼⑩➝⑥❼➣r ✓ ♣➙➝➛❝✳❜❞❜➯❼❞➎❾③➛➡❾❝✳✈✑③➢✈❍❷❣❽❛❽❈❝✉✈✘❿q③➢➵➼❷❑➭ ❊✝rt⑧➼➻ ➃➌➂●➪➙➟✤③➺rt❴

a(t) := −RTh(|Iv|2)Iv + RT c , b(t) := −S(ω)ṽ − ue3 + RTγ

❷✐♣✠➜➞⑧❾②✠rt❴❛❝❺♣sr❶❼⑩➈❛③➛➝➛③➺rs♥☎⑧❾➜✘rt❴❛❝✤❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇✘❜ ❽❈⑧➌③➢✈●r
(Iv, ṽ, θ̃) = (I∗v 0, 0)

➸⑩③➢r❨③➛♣✮❼❆❿❛③➢②t❝✉➀✥r❨➀✳⑧❾✈✘♣④❝✉⑤●✇❛❝✉✈✘➀✥❝
⑧❾➜☎➻➞➃✓❂⑩➪➫➸✟➻ ➃✯❊❾➪✳➸❛❼⑩✈✘❿✑rt❴❛❝➍➜ ❼❾➀✥r➙rt❴✘❼➣r✤rt❴❛③⑥♣✤❽❈⑧➌③➢✈●r❺③⑥♣➙r④❴❛❝✜✇✘✈❛③➛⑤●✇❛❝✜❜❞③➛✈❛③➛❜❑✇❛❜ ⑧⑩➜✚r④❴❛❝➍➜➞✇❛✈❈➀➫r④③➛⑧❾✈

V
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➆✘②④⑧➌❜❦➻✶❊❾➈❈➪✫❼⑩✈❈❿❀➻✹➉⑩➊❾➪✳➸q③➺r✤➜➞⑧➌➝➢➝➛⑧➣➟❺♣➙r④❴❈❼➣r✤r④❴✘❝➍r④③➛❜❩❝✳➲❬❿❛❝✳②t③➢➡➣❼➣rt③➢➡➌❝✐⑧❾➜
v̄

♣t❼➣rt③➛♣➤➳✘❝❊♣➙r④❴❛❝➍➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎✝❝❊⑤➌✇❈❼➣r④③➛⑧❾✈

˙̄v = −S(ω)v̄ − ue3 + RT z̈ + RT (γe − ẍr)

➟✤❴✘③➛➀❶❴➼➀✳❼❾✈✑➈❖❝✜②④❝✉➟✤②④③➢r➤rt❝✳✈❍❼❾♣

˙̄v = −S(ω)v̄ − ue3 − RTh(|y|2)y + RTγ + RT c
➻✹➄⑩➊➌➪

➟✤③➢r④❴
γ

❿q❝✳➳✘✈❛❝❊❿✑➈♦♥✣➻Ò➉✺❁➮➪➫➭ ✑ ⑧➌✈✘♣➤③⑥❿q❝✉②✴rt❴❛❝☎➀✳❼❾✈✘❿q③⑥❿❛❼➣rt❝☎➚✔♥●❼⑩❽❛✇❛✈✘⑧➣➡✝➜➞✇✘✈✘➀➫rt③➢⑧➌✈

V =
1

2
v̄T v̄ +

1

k2

(

1 − γ̄3

|γ|

)

+

∫ |y|

0

f(s) ds − cT y +

∫ |c|

0

f−1(s) ds
➻Ò➄ ❁❊➪
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➟✤❴✘❝✳②t❝❚r④❴✘❝✣❿q❝✳➳✘✈❛③➢r④③➛⑧❾✈✷⑧⑩➜
f

③⑥♣✑➎➌③➢➡➌❝✳✈✍③➛✈òrt❴❛❝❀❽✘②④⑧♦⑧⑩➜☎⑧❾➜❑⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈ò➅➦❼❾✈✘❿
γ̄

③➛♣✪➎❾③➛➡❾❝✉✈✍➈♦♥✂➻ ➂●➪➫➭
❷❣✈✘❼⑩➝➛⑧❾➎➌⑧❾✇✘♣④➝➛♥➯r④⑧➯rt❴❛❝❑❽✘②④⑧♦⑧⑩➜❨⑧❾➜✠⑦✮②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈❚➅q➸❖⑧❾✈✘❝☎➡❾❝✉②④③➢➳✘❝✉♣✤r④❴✘❼⑩r

V
③⑥♣❺❽❖⑧➌♣④③➺rt③➢➡➌❝❑❼⑩✈❈❿➼❽❛②④⑧➌❽❈❝✉②❺➟✜➭ ②✉➭ r✉➭

ṽ
❼❾✈✘❿

y
➭▼❢✐♣➤③➛✈❛➎❚➻✹➄⑩➊❾➪✳➸✔➻Ò➉➌➉❾➪✥➸✘❼⑩✈✘❿➑r④❴✘❝✜②④❝✉➝➛❼⑩r④③➛⑧❾✈

ẏ = Rv̄
➸✘⑧❾✈❛❝➍➎❾❝✳rt♣

V̇ = −|γ|k1v̄
2
3 − k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2

➻✹➄❾➉❾➪

➆✘②④⑧➌❜ ➻ ❁❋❂❾➪➫➸q⑧➌✈❛❝❣➡➌❝✳②t③➺➳✘❝❊♣▼rt❴✘❼➣r
z, ż

➸q❼⑩✈✘❿
z̈
❼❾②④❝✐➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭▼➆❛②t⑧❾❜ ➻✹➄✺❁➮➪✮❼❾✈✘❿➬➻✹➄❾➉⑩➪✳➸♦⑧❾✈❛❝➍❿q❝✉❿❛✇✘➀✥❝❊♣✮rt❴✘❼➣r

y
❼⑩✈✘❿

v̄
❼⑩②t❝❆➈❈⑧➌✇❛✈✘❿q❝❊❿✖➭✴❧♦③➛✈✘➀✥❝

z
❼❾✈✘❿

ż
❼⑩②t❝✐➈❖⑧❾✇❛✈❈❿q❝✉❿✖➸❛r④❴❛❝✜②t❝✳➝⑥❼➣rt③➢⑧➌✈✘♣

y = x̃ + z
❼❾✈✘❿

v̄ = ṽ + RT ż③➛❜❞❽❛➝➛♥❀rt❴✘❼➣r
x̃

❼⑩✈❈❿
ṽ

❼❾②④❝✑❼⑩➝⑥♣➤⑧❚➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭❀❫✫❴❛❝✉✈➴③➺r✝➜➞⑧❾➝➛➝➢⑧➣➟❺♣☎➜➞②④⑧➌❜û⑦▼②④⑧➌❽❈❝✉②➤rs♥ ✙ ✂ ⑧⑩➜✤r④❴✘❝❱➜➞✇❛✈✘➀✥r④③➛⑧❾✈
♣t❼➣r

∆
➸●⑦▼②t⑧❾❽❖❝✳②④rs♥❚➻ ❁➮➄⑩➪❨⑧❾➜✖r④❴❛❝❣➜➞✇❛✈✘➀➫rt③➢⑧➌✈

hz
➸q❼⑩✈❈❿❱❧♦♥q♣srt❝✳❜ ➻ ❁☛❂➣➪✠rt❴✘❼➣r

z(3) ②t❝✳❜➯❼⑩③➛✈✘♣▼➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭ ✥✐❝✳✈✘⑧⑩r④❝
z∗

r④❴✘❝➯✇❛✈❛③⑥⑤➌✇✘❝❞♣④⑧❾➝➛✇qrt③➢⑧➌✈➬rt⑧
h(|z∗|2)z∗ = c

➭❱➆✘②④⑧➌❜ r④❴❛❝✉②④❝➌➸✔➟✤③➢r④❴✣r④❴❛❝❱♣t❼⑩❜❞❝➯❼⑩②t➎❾✇✘❜❩❝✉✈●rt♣➍❼❾♣➍③➛✈✣r④❴❛❝
❽✘②④⑧♦⑧⑩➜✔⑧❾➜✔⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➑➅❛➸♦⑧❾✈✘❝✐❿q❝❊❿q✇✘➀✥❝❊♣✴r④❴❛❝➍➀✥⑧➌✈●➡➌❝✳②t➎❾❝✉✈✘➀✥❝✤⑧❾➜

(y, v̄, θ̃)
r④⑧

(z∗, 0, 0)
❼❾✈✘❿❞rt❴❛❝❆♣➤rt❼❾➈❛③➛➝➢③➢rs♥

⑧❾➜✟rt❴❛③➛♣❺❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇❛❜ ⑧⑩➜✯r④❴❛❝
(y, v̄, θ̃)

♣➤✇✘➈✘♣➤♥q♣➤r④❝✉❜✪➭
✥✐❝✥➳✘✈✘❝

ȳ := y − z∗, z̄ := z − z∗, w := ż,

gz(ȳ, z̄) := hz(|ȳ − z̄|2)(ȳ − z̄) + hz(|z̄|2)z̄❡❣⑧⑩rt❝✜r④❴✘❼⑩r
gz(ȳ, z̄)

③➛♣❣➈❈⑧➌✇❛✈✘❿q❝❊❿❚❼⑩✈❈❿➼➡➮❼❾✈❛③⑥♣➤❴❛❝❊♣❺✇❛➝➢r④③➛❜➯❼➣rt❝✳➝➛♥➼♣④③➛✈✘➀✥❝
ȳ

➀✥⑧➌✈●➡➌❝✳②t➎❾❝❊♣➙r④⑧❱➩✉❝✳②t⑧✘➭❺❡❺⑧❾r④❝❑❼❾➝➛♣④⑧
rt❴✘❼➣r

x̃ = y − z = ȳ − z̄
➭▼❫✫❴❛❝✉✈✔➸❈❧♦♥q♣➤r④❝✳❜ ➻✍❁☛❂➣➪✫➀✳❼❾✈✑➈❖❝✜②④❝✉➟✤②④③➢r➤rt❝✳✈➼❼❾♣

{

˙̄z = w
ẇ = −2kzw − k2

z z̄ + k2
z(

♣t❼➣r
∆(z̄ + z∗) − z∗) − kzhz(|z̄|2)z̄ + kzgz(ȳ, z̄)

⑧➌②✫③➢✈✪r④❴✘❝✜❜❩⑧➌②④❝✜➀✳⑧❾❜❞❽✘❼❾➀✥r✫➜➞⑧❾②t❜
Ż = F (Z) + G(ȳ, Z)

➻✹➄⑩➅●➪
➟✤③➢r④❴

Z := (z̄, w)T
➸

F (Z) :=

(

w
−2kzw − k2

z z̄ + k2
z(

♣t❼➣r
∆(z̄ + z∗) − z∗) − kzhz(|z̄|2)z̄

)

,

❼❾✈✘❿
G(ȳ, Z) := (0, kzgz(ȳ, z̄))

T ➟✤❴❛③⑥➀❶❴✑➡➣❼❾✈❛③➛♣④❴❛❝❊♣✫✇❛➝➺rt③➢❜➯❼⑩r④❝✳➝➛♥❾➭
❹✐✈❛❝➯➡➌❝✳②t③➺➳❈❝✉♣✐r④❴✘❼⑩r

Z = 0
③➛♣❆rt❴❛❝➯➎❾➝➛⑧❾➈✘❼❾➝➢➝➛♥❚❼❾♣④♥♦❜❞❽qr④⑧❾r④③⑥➀✳❼⑩➝➛➝➛♥➬♣sr❶❼⑩➈❛➝➛❝❞❽❈⑧➌③➢✈●r☎⑧❾➜✴rt❴❛❝❱♣➤♥q♣➤r④❝✉❜

Ż =
F (Z)

➈♦♥➑➀✳⑧❾✈✘♣④③➛❿❛❝✳②t③➢✈❛➎✝r④❴✘❝➍➜➞⑧❾➝➛➝➢⑧➣➟✤③➛✈❛➎❞➀✳❼⑩✈❈❿q③➛❿✘❼➣r④❝✜➚✟♥➌❼⑩❽✘✇❛✈❛⑧➣➡❞➜➞✇❛✈✘➀✥r④③➛⑧❾✈

U =
1

2kz

∫ |z̄|2

0

hz(s) ds +
1

2
|z̄|2 +

1

2

∣

∣

∣

∣

z̄ +
w

kz

∣

∣

∣

∣

2 ➻✹➄➣➃●➪

➹➘✈❈❿q❝✳❝❊❿✖➸q❿q③ ✘❰❝✳②t❝✳✈●rt③➛❼⑩r④③➛✈❛➎❩❢❘❼⑩➝➛⑧❾✈✘➎✜r④❴❛❝✜♣④⑧❾➝➛✇qr④③➛⑧❾✈➑⑧⑩➜✔rt❴❛❝❆♣④♥q♣srt❝✳❜
Ż = F (Z)

❼⑩✈❈❿❱✇✘♣④③➢✈✘➎❑⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙ ☎
⑧❾➜✟rt❴❛❝➍➜➞✇❛✈✘➀✥r④③➛⑧❾✈❍♣④❼⑩r

∆
❼❾✈✘❿➼❷❣♣t♣➤✇✘❜❩❽❛r④③➛⑧❾✈ ✵✄✂ ✁ ⑧⑩➜✚⑦▼②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈✪➃❛➸❛⑧➌✈❛❝➍⑧❾➈qr❶❼⑩③➛✈✘♣

U̇ = −hz(|z̄|2)|z̄|2 − kz

(

|z̄|2 +

∣

∣

∣

∣

z̄ +
w

kz

∣

∣

∣

∣

2

−
(

z̄T + (
♣t❼➣r

∆(z̄ + z∗) − z∗)
)T
(

z̄ +
w

kz

)

)

≤ −hz(|z̄|2)|z̄|2 − kz |z̄|2 − kz

∣

∣

∣

∣

z̄ +
w

kz

∣

∣

∣

∣

2

+ 2kz|z̄|
∣

∣

∣

∣

z̄ +
w

kz

∣

∣

∣

∣
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❧q③➢✈✘➀✳❝
z

③⑥♣✜➈❖⑧❾✇❛✈✘❿❛❝✉❿✖➸
z̄

③⑥♣☎❼⑩➝⑥♣➤⑧❍➈❖⑧❾✇✘✈✘❿q❝✉❿✣➜➞②t⑧❾❜ ③➺r❶♣❑❿q❝✳➳✘✈❛③➢r④③➛⑧❾✈✔➭➼❷❣♣✝❼❍➀✥⑧➌✈✘♣➤❝❊⑤●✇❛❝✳✈✘➀✳❝❾➸✟r④❴❛❝✉②④❝➯❝✳➵♦③⑥♣➤rt♣
δz > 0

♣➤✇❈➀❶❴☎r④❴❈❼➣r
hz(|z̄|2) > δz

➭✠❫✫❴❛③⑥♣✳➸⑩❼❾➝➢⑧➌✈❛➎❣➟✤③➢r④❴➼➻Ò➄➌➄⑩➪➫➸❾③➢❜❞❽❛➝➛③➢❝❊♣✯r④❴✘❼⑩r✯rt❴❛❝✳②t❝✴❝✳➵q③➛♣➤r✠♣④⑧❾❜❞❝✫➀✥⑧➌✈✘♣sr❶❼⑩✈●rt♣
αz, αw > 0

♣④✇✘➀❶❴✑r④❴✘❼⑩r

U̇ ≤ −αz|z̄|2 − αw

∣

∣

∣

∣

z̄ +
w

kz

∣

∣

∣

∣

2 ➻✹➄⑩➂➌➪
❷❣❽❛❽❛➝➛♥♦③➢✈❛➎➯➚✟♥➌❼⑩❽✘✇❛✈❛⑧➣➡ ✓ ♣✮r④❴✘❝✳⑧❾②t❝✳❜ ⑧➌✈❛❝❆r④❴❛❝✉✈✪♣④❴❛⑧➣➟❺♣✴r④❴❈❼➣r

z̄
➸
w
➸❈❼⑩✈✘❿❱r④❴♦✇✘♣

U
➀✥⑧❾✈♦➡➌❝✳②t➎❾❝❺rt⑧✝➩✉❝✳②t⑧✘➭❨❫✫❴❛❝

♣➤rt❼❾➈❛③➛➝➢③➢rs♥❱⑧⑩➜✚r④❴✘❝❆❝❊⑤●✇❛③➢➝➛③➛➈❛②④③➛✇❛❜
Z = 0

⑧⑩➜✯r④❴❛❝☎♣④♥q♣srt❝✳❜
Ż = F (Z)

②④❝❊♣➤✇✘➝➺r❶♣➙➜➞②④⑧➌❜ ➻✹➄➣➃➌➪✫❼❾✈✘❿✣➻Ò➄⑩➂●➪➫➭
❧♦③➛✈✘➀✳❝

Z = 0
③⑥♣❆r④❴❛❝➯➎➌➝➢⑧➌➈✘❼⑩➝➛➝➢♥❚❼➌♣➤♥♦❜❞❽qrt⑧⑩r④③⑥➀✳❼❾➝➢➝➛♥❚♣➤rt❼⑩➈✘➝➢❝❞❽❖⑧❾③➛✈➌r☎⑧❾➜✮rt❴❛❝❱♣➤♥q♣➤r④❝✉❜

Ż = F (Z)
➸
Z

③⑥♣
➈❖⑧❾✇✘✈✘❿q❝✉❿✔➸✘❼⑩✈✘❿

G(ȳ, Z)
➀✥⑧➌✈♦➡❾❝✳②t➎❾❝❊♣▼rt⑧➯➩✳❝✉②④⑧❈➸♦r④❴❛❝✉✈✑➜➞⑧➌②✐❧♦♥q♣➤r④❝✳❜ ➻✹➄⑩➅❾➪

Z
➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✉♣➙❼⑩➝⑥♣➤⑧❩rt⑧➯➩✳❝✳②t⑧✘➭▼❧♦⑧

rt❴✘❼➣r
(z, ż)

➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✉♣✴r④⑧
(z∗, 0)

➭✴❫✫❴✘❝❑➀✥⑧➌✈●➡➌❝✳②t➎❾❝✉✈✘➀✥❝❆⑧⑩➜
z̄

❼⑩✈✘❿
y := z̄ + x̃

r④⑧➑➩✳❝✳②t⑧❞③➢❜❞❽❛➝➛③➛❝✉♣✤rt❴✘❼➣r
x̃➀✳⑧❾✈♦➡❾❝✉②④➎➌❝✉♣✫rt⑧➑➩✉❝✳②t⑧✘➭➍➆✯③➛✈✘❼❾➝➢➝➛♥❾➸✖♣④③➢✈✘➀✳❝

v̄ := ṽ + RT ż
❼❾✈✘❿

ż
➀✳⑧❾✈♦➡❾❝✉②④➎➌❝➍r④⑧✪➩✳❝✉②④⑧❈➸

ṽ
❼⑩➝⑥♣➤⑧✑➀✥⑧❾✈♦➡➌❝✳②t➎❾❝✉♣✤r④⑧

➩✉❝✳②t⑧✘➭
➚✟❝✥r▼✇✘♣✠➳❈✈✘❼⑩➝➛➝➢♥❑❝✉♣➤rt❼⑩➈✘➝➢③⑥♣➤❴❩rt❴❛❝❺♣sr❶❼⑩➈❛③➛➝➛③➺rs♥☎⑧❾➜❈rt❴❛❝✤❝✉⑤●✇❛③➛➝➛③➢➈❛②t③➛✇❛❜✂❽❖⑧❾③➛✈●r

(z, ż, x̃, ṽ, θ̃) = (z∗, 0, 0, 0, 0)
➭

➆✘②④⑧➌❜❦➻Ò➄ ❁✉➪✫❼⑩✈❈❿❀➻✹➄❾➉⑩➪✳➸
(v̄, ȳ, θ̃) = (0, 0, 0)

③➛♣✤❼❞♣➤rt❼❾➈❛➝➢❝➍❝❊⑤➌✇✘③➢➝➛③➢➈✘②④③➛✇❛❜➱⑧❾➜✟rt❴❛❝☎➀✥⑧➌✈➌rt②④⑧➌➝➢➝➛❝✉❿✑♣➤♥q♣➤r④❝✉❜✪➸❛❼❾✈✘❿
➜➞②t⑧❾❜ ➻Ò➄⑩➃➌➪❱❼❾✈✘❿✏➻Ò➄❾➂❾➪➫➸

Z = 0
③⑥♣➑❼⑩✈ò❼➌♣➤♥♦❜❞❽qrt⑧⑩r④③⑥➀✳❼❾➝➢➝➛♥➦♣➤rt❼❾➈❛➝➛❝❚❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇✘❜ ❽❖⑧❾③➛✈●r➑⑧⑩➜✜rt❴❛❝➬♣④♥♦♣➤r④❝✉❜

Ż = F (Z)
➭✴❧q③➢✈✘➀✳❝➍r④❴❛❝➍➜➞✇✘✈✘➀➫rt③➢⑧➌✈

G
③➛✈☛➻Ò➄❾➅❾➪✫③⑥♣❺➀✥⑧➌✈●r④③➛✈●✇✘⑧❾✇✘♣✫❼⑩✈❈❿✑③⑥❿q❝✉✈➌rt③➛➀✉❼⑩➝➛➝➢♥✑➩✳❝✉②④⑧❩➟✤❴❛❝✳✈

ȳ = 0
➸q⑧➌✈❛❝

❿❛❝✉❿q✇✘➀✳❝✉♣➍rt❴✘❼➣r
(v̄, ȳ, θ̃, Z) = (0, 0, 0, 0)

③➛♣☎❼❾➝➛♣④⑧➼❼❍♣sr❶❼⑩➈❛➝➛❝➯❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇✘❜❦⑧⑩➜➙r④❴✘❝❱➀✥⑧❾✈●rt②④⑧➌➝➢➝➛❝✉❿✣♣➤♥q♣➤r④❝✉❜✪➭
❫✫❴✘③➛♣✤❿q③➛②t❝✉➀➫rt➝➢♥✑③➢❜❞❽❛➝➛③➛❝✉♣➙r④❴✘❝☎♣sr❶❼⑩➈❛③➛➝➢③➢rs♥❱⑧❾➜✯rt❴❛❝✜❝✉⑤●✇❛③➛➝➢③➛➈❛②t③➢✇✘❜

(z, ż, x̃, ṽ, θ̃) = (z∗, 0, 0, 0, 0)
➭
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❫✫❴✘❝❑❽❖⑧➌♣④③➺rt③➢➡♦③➢rs♥✪⑧❾➜❨r④❴❛❝❑r④❴❛②t✇✘♣➤r✐③➛✈❛❽❛✇qr
u

③➛♣❣❝✉❼❾♣④③➛➝➢♥➼➡❾❝✉②④③➢➳✘❝❊❿✪➜➞②④⑧➌❜➱rt❴❛❝❩❿❛❝✥➳✘✈❛③➢r④③➛⑧❾✈➬⑧⑩➜
u

➎❾③➛➡❾❝✳✈❍③➛✈➨➻✹➉⑩➅➌➪
❼❾✈✘❿❍rt❴❛❝❞❼❾♣t♣➤✇❛❜❞❽qrt③➢⑧➌✈✘♣❆⑧❾✈

σ
➸✔➎❾③➛➡❾❝✉✈❚③➢✈❀⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈✣➄♦➭ ✑ ⑧➌✈✘♣④③➛❿q❝✉②➍✈❛⑧➣➟✙r④❴❛❝➯➀✉❼⑩✈✘❿q③⑥❿❛❼⑩r④❝❞➚✔♥➌❼❾❽❛✇❛✈❛⑧➣➡

➜➞✇✘✈✘➀➫rt③➢⑧➌✈✪➎➌③➢➡➌❝✳✈✪➈♦♥❀➻Ò➄ ❁✉➪✳➭▼❢❣♣④③➢✈❛➎❚➻✹➄⑩➊❾➪✫❼❾✈✘❿➼➚✔❝✉❜❩❜➯❼➯➉✪➻ ♣④❝✳❝☎❷❣❽❛❽❈❝✉✈✘❿q③➢➵✪❷❑➭ ➋●➪➫➸❛⑧➌✈❛❝➍➎❾❝✥r❶♣

V̇ = v̄T (−ue3 + γ̄) +
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)]

= v̄3 (−u + |γ|) − v̄3 (|γ| − γ̄3)

+
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)

+ |γ|k2

(

v̄1

v̄2

)]

= v̄3 (−u + |γ|)

+
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)

+ |γ|k2

(

v̄1

v̄2

)

− |γ|k2v̄3

|γ| + γ̄3

(

γ̄1

γ̄2

)]

➻✹➄✯❂⑩➪
❧q✇❛➈✘♣➤r④③➢r④✇qrt③➢✈❛➎❞rt❴❛❝☎➀✥⑧➌✈●r④②t⑧❾➝❰❝✥➵q❽❛②t❝✉♣t♣➤③➛⑧❾✈✣➻Ò➉❾➅➌➪➙③➛✈➌rt⑧❍➻Ò➄✯❂⑩➪➫➸❛⑧➌✈❛❝➍⑧❾➈qr❶❼⑩③➛✈✘♣

V̇ = −|γ|k1σ(v̄3)v̄3 −
k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2

➻✹➄⑩➋➌➪

➆✘②④⑧➌❜ r④❴✘③➛♣✤❝❊⑤●✇✘❼⑩➝➛③➺rs♥➌➸♦r④❴❛❝✜❽✘②④⑧♦⑧⑩➜✚⑧⑩➜✯r④❴❛③⑥♣✤❽❛②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈➑❽❛②t⑧q➀✥❝✉❝✉❿❛♣✫➝➛③➢➠➌❝❆r④❴❛❝✜❽❛②t⑧♦⑧⑩➜✚⑧⑩➜✠⑦▼②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈✪➃❛➭
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✂ ✠✁� ✂ ☛✖✍ ✍✆☎✢✍✆☎ ✂ ☛✖✍ ✆ ✍ ✠ ✕✗✏✓✕☞✍✙✘✂�

❫✫❴✘❝✜✇❛✈❛③➢➜➞⑧❾②t❜ ✇❛➝➢r④③➛❜❞❼⑩r④❝☎➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣✫⑧⑩➜
ẋ

②④❝❊♣➤✇✘➝➺r❶♣✫➜➞②④⑧➌❜❦➻Ò➉❾➂❾➪✫❼⑩✈❈❿✪❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈➼➅❩➈♦♥✑➀✉❼⑩➝⑥➀✥✇❛➝⑥❼➣rt③➢✈✘➎
rt❴❛❝➍r④③➛❜❞❝✥➲➘❿q❝✳②t③➛➡➮❼⑩r④③➛➡❾❝➍⑧⑩➜

V = 1
2 |ẋ|2

❼⑩✈❈❿✪♣④❴❛⑧➣➟✤③➛✈❛➎❩r④❴✘❼⑩r❺③➺r❺③⑥♣✤✈❛❝✉➎➌❼⑩r④③➛➡❾❝❆➟✤❴❛❝✳✈ |ẋ| ❝✳➵❛➀✥❝✳❝❊❿❛♣✤❼➯➀✥❝✉②➤r❶❼⑩③➛✈
rt❴❛②t❝✉♣④❴❛⑧❾➝⑥❿✖➭❨❤❍⑧❾②t❝➍❽❛②t❝✉➀✥③⑥♣④❝✳➝➛♥❾➸♦⑧❾✈❛❝✜❴❈❼❾♣

V̇ = ẋT (−uRe3 + γe(ẋ, t))

❢✐♣➤③➛✈❛➎➯❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈❍➅❞❼⑩✈✘❿➑r④❴✘❝✜③➢✈❛❝❊⑤●✇✘❼⑩➝➛③➺rs♥Ó➻Ò➉❾➂❾➪➫➸✘⑧❾✈❛❝➍⑧❾➈❛rt❼⑩③➛✈✘♣

V̇ ≤ |ẋ||u| + c3

m
|ẋ| − c4

m
|ẋ|3

≤ |ẋ|
(

β1 + (β2 +
c3

m
)|ẋ| − c4

m
|ẋ|2
)

♣④⑧❩r④❴✘❼⑩r
ẋ

③➛♣✫✇✟➭ ✇✔➭ ➈✔➭❨➈♦♥

−1

2

(

β2 +
c3

m

)

+
1

2

√

(

β2 +
c3

m

)2

+
4β1c4

m
➹➘✈✑➡♦③➢❝✉➟ò⑧⑩➜✯❷✐♣④♣④✇❛❜❞❽qrt③➢⑧➌✈ ❁⑩➸♦rt❴❛❝❆✇❛✈❛③➢➜➞⑧❾②t❜ ✇❛➝➺rt③➢❜➯❼⑩r④❝➍➈❈⑧➌✇❛✈✘❿q❝❊❿q✈❛❝❊♣④♣➙⑧⑩➜

γe
➜➞⑧❾➝➛➝➢⑧➣➟❺♣✉➭✠❧q③➢✈✘➀✳❝

ẋ
③⑥♣➙✇✔➭ ✇✟➭ ➈✔➭➛➸

rt❴❛❝✜rt❴❛②④✇❈♣sr❣③➛✈❛❽❛✇❛r
u

③⑥♣❣❼❾➝➛♣④⑧➯✇✔➭ ✇✔➭ ➈✟➭➢➭❺❫✫❴❛❝✉✈✔➸✘⑧➌✈❛❝❑❿q❝❊❿q✇✘➀✳❝✉♣✫➜➞②t⑧❾❜û➻➞➃♦➉⑩➪✫rt❴✘❼➣r
ẍ

③⑥♣❺✇✟➭ ✇✔➭ ➈✔➭➛➭ ✑ ⑧❾❜✝➈❛③➢✈✘③➢✈❛➎
➟✤③➢r④❴❍❷✐♣④♣④✇❛❜❞❽qr④③➛⑧❾✈✳❁⑩➸❛r④❴❛③⑥♣✤③➛❜❩❽✘➝➢③➛❝✉♣➙rt❴✘❼➣r

γ̇e
③➛♣✤❼❾➝➛♣④⑧✝✇✟➭ ✇✔➭ ➈✔➭➛➭

✂ ✠☎✄ ✂ ☛✖✍ ✍✆☎✢✍✆☎ ✟✡✠✡☛ ✍ ☛ ☛✍✌ ☛
❫✫❴✘❝✐➜➞⑧➌➝➢➝➛⑧➣➟✤③➛✈❛➎❩r④❝✉➀❶❴✘✈❛③➛➀✉❼⑩➝✖➝➛❝✳❜❞❜➯❼❩③➛♣✤✇❈♣➤❝❊❿➑③➛✈✪r④❴❛❝✜❽❛②t⑧♦⑧⑩➜✚⑧⑩➜❨❫✫❴❛❝✳⑧➌②④❝✉❜ ❁

✞ ❐ ✎ ✎➴→ ✌ ✁ ✢✬✆
γe,d

✭❋✖ ✦✯✢ ☎❀✄✪✢✱✦ ✂ � ➻Ò➅❾➊❾➪
✑

✒ ✌
M ≥ c̄1 + c̄2(κ(c̄i, v̄r))

2 ✞✂✆✤✑✝✢✣✄ ∀(ẋ, t)
✞

ṽTRT (γe,d(ẋ, t) − ♣t❼➣r
M (γe,d(ẋ, t))) ≤ 0

➻Ò➄✫❊➌➪
� ➔ Ð✔Ð � ❫✯➟✴⑧➯➀✉❼❾♣④❝✉♣✤❼⑩②t❝➍➀✥⑧❾✈❈♣➤③⑥❿q❝✳②t❝✉❿ ✾

③➽➪✖➹❬➜ |γe,d(ẋ, t)| < M
➸➮⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙ � ⑧❾➜●rt❴❛❝✴♣t❼➣rt✇❛②❶❼➣r④③➛⑧❾✈❆➜➞✇❛✈❈➀➫r④③➛⑧❾✈ ♣④❼⑩r

M
③➢❜❞❽❛➝➛③➛❝✉♣✟r④❴✘❼⑩r

γe,d(ẋ, t) =♣t❼➣r
M (γe,d(ẋ, t))

➸❈❼⑩✈✘❿➑r④❴❛❝✜②t❝✉♣④✇❛➝➢r✤➜➞⑧❾➝➛➝➢⑧➣➟❺♣✉➭
③➛③⑥➪▼➹❬➜ |γe,d(ẋ, t)| ≥ M

➸❾③➢r✮➜➞⑧➌➝➢➝➛⑧➣➟❺♣✠➜➞②t⑧❾❜ ➻Ò➅➌➉⑩➪❨❼❾✈✘❿❩r④❴✘❝✐➀❶❴❛⑧➌③➛➀✳❝✤⑧⑩➜✔❤ r④❴✘❼⑩r |ẋ| > κ(c̄i, v̄r)
➭✠❫✫❴✘❝✳✈✔➸

✇❈♣➤③➛✈❛➎❞⑦▼②t⑧❾❽❖❝✳②④rs♥ ✙ ☎ ⑧❾➜✯rt❴❛❝☎♣④❼⑩r④✇❛②❶❼➣rt③➢⑧➌✈➑➜➞✇✘✈✘➀➫rt③➢⑧➌✈ ♣t❼➣r
M

➸✯➻ ➅➌➉➌➪➫➸qrt❴❛❝✜②t❝✳➝⑥❼➣r④③➛⑧❾✈❈♣
φ(γe,d(ẋ, t)) ≤ 1

❼⑩✈✘❿
Rṽ = ẋ − ẋr

➸q⑧❾✈❛❝➍➎❾❝✳rt♣

ṽTRT (γe,d(ẋ, t) − ♣t❼➣r
M (γe,d(ẋ, t))) = (1 − φ(γe,d(ẋ, t)))(ẋ − ẋr)

T γe,d(ẋ, t)

≤ (1 − φ(γe,d(ẋ, t)))(ẋγe,d(ẋ, t) + v̄r|γe,d(ẋ, t)|)
≤ −(1 − φ(γe,d(ẋ, t)))(c̄4|ẋ|3 − c̄2v̄r|ẋ|2 − c̄3|ẋ| − c̄1v̄r)

➆✘②④⑧➌❜ r④❴✘❝☎❿q❝✥➳✘✈✘③➺rt③➢⑧➌✈✪⑧❾➜✟rt❴❛❝➍➜➞✇❛✈✘➀✥r④③➛⑧❾✈
κ
➸❛r④❴❛❝✜③➛✈❛❝✉⑤●✇✘❼❾➝➢③➢rs♥ |ẋ| > κ(c̄i, v̄r)

③➛❜❞❽❛➝➢③➛❝✉♣

c̄4|ẋ|3 − c̄2v̄r|ẋ|2 − c̄3|ẋ| − c̄1v̄r ≥ 0
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❫✫❴♦✇✘♣✉➸q③➛✈❛❝✉⑤●✇✘❼❾➝➢③➢rs♥❀➻✹➄☎❊➌➪✴➜➞⑧➌➝➢➝➛⑧➣➟❺♣✉➭
➆✘②④⑧➌❜ ➻Ò➉➌➄⑩➪❨❼❾✈✘❿➼➻ ➅ ❁❊➪➫➸❾②t❝✳➝⑥❼➣rt③➢⑧➌✈❍➻Ò➉⑩➂➌➪✚❴❛⑧❾➝⑥❿❛♣✠rt②④✇❛❝✫➜➞⑧➌②✮♣④⑧❾❜❞❝✫❽❈⑧●♣➤③➢r④③➛➡❾❝❺➀✳⑧❾✈✘♣➤rt❼❾✈➌r❶♣

β1, β2
➭✚⑦✮②④⑧➌❽❈❝✉②➤rs♥

➉➬⑧⑩➜➍❫✫❴❛❝✳⑧➌②④❝✉❜ ❁☛➻➽r④⑧➌➎❾❝✳r④❴❛❝✉②❩➟✤③➢r④❴➦r④❴✘❝❚➀✥⑧❾❜❞❽❛➝➛❝✥rt❝✳✈❛❝❊♣④♣❩⑧❾➜❣r④❴✘❝➼♣④♥q♣srt❝✳❜ ✓ ♣❩♣④⑧❾➝➛✇qrt③➢⑧➌✈✘♣t➪❑rt❴❛❝✳✈➥❿q③➛②④❝❊➀➫r④➝➛♥
➜➞⑧➌➝➢➝➛⑧➣➟❺♣✜➈♦♥❀❼❾❽❛❽❛➝➛③➛➀✉❼➣rt③➢⑧➌✈☛⑧⑩➜✤⑦▼②t⑧❾❽❖⑧➌♣④③➺rt③➢⑧➌✈Ó➂❛➭➬❧♦③➢✈❈➀✥❝➑❷✐♣④♣④✇❛❜❞❽qr④③➛⑧❾✈ ❁➑❴❛⑧❾➝⑥❿❛♣✉➸✯⑦▼②t⑧❾❽❖⑧➌♣④③➢r④③➛⑧❾✈☛➂❍③➛❜❩❽✘➝➢③➛❝✉♣
❼❾➝➛♣④⑧✐r④❴✘❼⑩r

γe
➸
γ̇e

➸
ẍ

❼⑩②t❝➙➈❖⑧❾✇✘✈✘❿q❝✉❿✔➭✠❧♦③➛✈✘➀✳❝
γ̇d(t)

③⑥♣✠➈❖⑧❾✇❛✈✘❿❛❝✉❿✖➸➌⑧❾✈❛❝✤❿q❝❊❿q✇✘➀✥❝❊♣✠➜➞②t⑧❾❜➱➻Ò➅❾➊❾➪✯rt❴✘❼➣r
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♣t❼➣r
M

➸✘r④❴❛③⑥♣✤③➛❜❞❽❛➝➢③➛❝✉♣❺r④❴✘❼⑩r
γ̇(ẋ, t)
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u

❼❾✈✘❿
ω1,2

❼⑩②t❝✐➟➙❝✳➝➛➝➢➲❬❿q❝✳➳✘✈❛❝❊❿➑❼⑩✈❈❿❱➈❖⑧❾✇❛✈✘❿❛❝✉❿➑❼❾➝➢⑧➌✈❛➎❩❝✉❼❾➀❶❴✑♣➤♥q♣➤r④❝✳❜ ✓ ♣✫♣➤⑧➌➝➢✇qrt③➢⑧➌✈✔➭❨❫✫❴❛③⑥♣✳➸❛❼❾➝➢⑧➌✈❛➎❑➟✤③➢r④❴✑r④❴❛❝
➈❖⑧❾✇✘✈✘❿q❝✉❿❛✈❛❝✉♣t♣✫⑧⑩➜

ω3
➸❛❼⑩➝➛➝➢⑧➣➟❺♣➙rt⑧❞❿❛❝✉❿q✇✘➀✳❝✜⑦▼②t⑧❾❽❖❝✳②④rs♥ ❁✜⑧⑩➜✟rt❴❛③⑥♣✫r④❴❛❝✉⑧❾②t❝✳❜➼➭

➚✟❝✥r❺✇✘♣✤✈✘⑧➣➟ò❝✉♣➤rt❼❾➈❛➝➢③⑥♣④❴✪⑦✮②④⑧➌❽❈❝✉②➤rs♥❱➅✘➭✑✥❀❝✜❴✘❼➮➡➌❝❣rt❴✘❼➣r❑➻Ò➀✥⑧➌❜❩❽❈❼⑩②t❝✐➟✤③➢r④❴➴➻✘❊⑩➈✘➪t➪

˙̃v = −S(ω)ṽ − ue3 + RTγ(ẋ, t) + RT (γe,d(ẋ, t) − ♣④❼⑩r
M (γe,d(ẋ, t)))
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V̇ =ṽ3 (−u + γ̄3) + ṽTRT (γe,d −
♣④❼⑩r

M (γe,d))

+
1

|γ|k2

(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)

+ |γ|k2

(

ṽ1

ṽ2

)]

❸❺❝✳❽❛➝⑥❼❾➀✳③➢✈❛➎
u, ω1, ω2
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V̇ = −|γ|k1ṽ
2
3 − µτ (|γ| + γ̄3)

k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2 + ṽTRT (γe,d −

♣t❼➣r
M (γe,d))

+
(1 − µτ (|γ|))

|γ|3k2
(−γ̄1γ

TS(Re2)γ̇ + γ̄2γ
TS(Re1)γ̇)
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♣④❼⑩r

M (γe,d(ẋr(t), t)) = γe,d(ẋr(t), t)

➟✤❴✘❝✳✈
M ≥ c̄1 + c̄2v̄

2
r

➭ ❢❣♣④③➢✈❛➎➥❷❣♣t♣④✇❛❜❞❽qr④③➛⑧❾✈✏➉♦➸➍⑧❾✈❛❝Ó❿q❝❊❿q✇✘➀✥❝❊♣✑r④❴✘❼⑩r➼➟✤❴✘❝✳✈
M > c̄1 + c̄2v̄

2
r

➸
♣t❼➣r

M (γe,d(ẋ, t)) = γe,d(ẋ, t)
➜➞⑧❾②

ẋ
③➛✈➨❼❍✈❛❝✉③➢➎➌❴●➈❖⑧❾②t❴❛⑧♦⑧q❿✣⑧⑩➜

ẋr
➭➬➆✘✇❛②➤rt❴❛❝✳②t❜❞⑧❾②t❝❾➸❨♣④③➢✈✘➀✳❝

τ ∈ (0, δ)➈♦♥❍❼❾♣t♣④✇❛❜❞❽qr④③➛⑧❾✈❚⑧➌✈❛❝✝❿❛❝✉❿q✇✘➀✳❝✉♣❣➜➞②④⑧➌❜ ➻Ò➉➣➃♦➪✤rt❴✘❼➣r
µτ (|γ|) = 1

③➛✈➬❼❱✈❛❝✉③➢➎➌❴♦➈❈⑧➌②④❴❛⑧♦⑧q❿❍⑧❾➜
ẋr

➭ ✤✮⑤●✇✘❼➣rt③➢⑧➌✈
➻Ò➂ ❁✉➪➙➈❖❝✉➀✳⑧❾❜❞❝✉♣

V̇ = −|γ|k1ṽ
2
3 − µτ (|γ| + γ̄3)

k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2

❼❾✈✘❿✪r④❴✘❝☎❽❛②t⑧●⑧❾➜✚⑧❾➜❨➝➢⑧q➀✳❼❾➝✟❼❾♣④♥♦❜❞❽qr④⑧❾r④③⑥➀☎♣sr❶❼⑩➈❛③➛➝➛③➺rs♥✑❽❛②④⑧q➀✳❝✳❝✉❿✘♣✤➝➢③➛➠❾❝☎r④❴❛❝☎❽✘②④⑧♦⑧⑩➜✠⑧⑩➜❨⑦▼②t⑧❾❽❖⑧➌♣④③➢r④③➛⑧❾✈❚➉q➭✤➚✔❝✳r❣✇✘♣
✈✘⑧➣➟✂➀✥⑧➌✈✘♣➤③⑥❿q❝✉②❣rt❴❛❝➯➀✳❼❾♣④❝❑➟✤❴✘❝✳✈

M ≥ c̄1 + c̄2(κ(c̄i, v̄r))
2 ❼❾✈✘❿ |γ(ẋ, t)| ≥ τ, ∀(ẋ, t)

➭❩❫✫❴❛③⑥♣✐➝⑥❼➣r④r④❝✉②
➀✳⑧❾✈✘❿❛③➺rt③➢⑧➌✈✑③➛❜❞❽❛➝➢③➛❝✉♣✤r④❴✘❼⑩r

µτ (|γ|) = 1, ∀(ẋ, t)
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V̇ = −|γ|k1ṽ
2
3 − µτ (|γ| + γ̄3)

k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2 + ṽTRT (γe,d −

♣④❼⑩r
M (γe,d))
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V̇ ≤ −|γ|k1ṽ
2
3 − µτ (|γ| + γ̄3)

k3

k2

γ̄2
1 + γ̄2

2

(|γ| + γ̄3)
2
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d

dt

(

γ̄

|γ|

)

=
1

|γ|S (γ̄)

(

ω − 1

|γ|2 RTS(γ)γ̇

)

d

dt

(

1 − γ̄3

|γ|

)

=
1

|γ|
(

γ̄1 γ̄2

)

[(

−ω2

ω1

)

+
1

|γ|2
(

−γTS(Re2)γ̇
γTS(Re1)γ̇

)]

� ➔ Ð✔Ð � ❡❣⑧⑩r④❝➍rt❴✘❼➣r γ̄
|γ| = RT γ

|γ|
➭ ✥❣③ ✘❰❝✳②t❝✳✈●r④③⑥❼➣rt③➢✈❛➎❩rt❴❛③➛♣❺❝✉⑤●✇✘❼➣rt③➢⑧➌✈✔➸q⑧❾✈✘❝❆➎➌❝✥r❶♣

d

dt

(

γ̄

|γ|

)

= −S(ω)RT γ

|γ| + RT d

dt

(

γ

|γ|

)

= −S(ω)
γ̄

|γ| + RT d

dt

(

γ

|γ|

)

=
1

|γ|S(γ̄)ω + RT d

dt

(

γ

|γ|

)
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d

dt

(

γ

|γ|

)

=
(|γ|2I3 − γγT )γ̇

|γ|3 = −S(γ)2γ̇

|γ|3
❫✫❴♦✇✘♣✉➸

RT d

dt

(

γ

|γ|

)

= − 1

|γ|3 RTS(γ)2γ̇ = − 1

|γ|3 S(γ̄)RTS(γ)γ̇
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d

dt

(

1 − γ̄3

|γ|

)

= − 1

|γ|e
T
3 S(γ̄)

(

ω − 1

|γ|2 RTS(γ)γ̇

)

= − 1

|γ|
(

−γ̄2 γ̄1 0
)

(

ω − 1

|γ|2 S(γ̄)RT γ̇

)

=
1

|γ|
(

γ̄1 γ̄2

)

(−ω2

ω1

)

+
1

|γ|3
(

γ̄1 γ̄2

)

(−γTS(Re2)γ̇

γTS(Re1)γ̇

)
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1 + γ̄3
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ω3
➭
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➃●➊ � ✵✤✄✓✑✺✗✂✁ ✔✝✮☎✄ ✧✝✆☎✞ ✎✝✭☎✞✠✢✠✟✡✄ ✭☞☛ ✢✣✡✌✞ ✙ ✭❋✖✬✮✱✭☛✡ �✎✍✑✏✓✒✕✔ ✞❀✭☛✄✒✦ �❆✡✷✭☎✔✝✦✫✢✡✖✗✆ � ✖ ✍✑✔

✂ ✠✁� ✂ ✒ ☛☎✄ ✒ ✒☞✒✔✏✝✆ ✠ ✒ ☛✍✌ ✌ ✒✟✞ ✠ ☛ ☛ ☛✙✠ ✓ ✠✡✠✗☛ �☞☛✍✌

✞ ❐ ✎ ✎➴→ � ✂✏✎ ✭☎✞ ✂✜✭☎✡✷✭☛✆ ✁ ✁ ✢✣✆
x(t)

✦✫✢✬✄✪✁☎✆✻✢ ✭ ✖✬✁☛✡ ✔✺✆✘✵✶✁☎✄ ✆✻✁ ✆✤✑✝✢ ✦☎✵ ✒ ✢✣✞✜✢✣✄✴✆✘✵✶✭☎✡✩✢☎✄✣✔✝✭☎✆✘✵✶✁☎✄
ẋ = a(t) + b(t)✓ ✵✤✆ ✑

a(t)
✭✏✔✺✄✝✵ ✌✣✁☎✞✥☛ ✡☎� ✮✱✁☛✄✝✆✟✵✤✄✝✔✝✁☎✔✓✖❆✌✱✔✺✄✒✮✣✆✟✵✶✁☛✄

✑
✆ ✖✜✖✕✔✗☛ ✢ ✆ ✑ ✭☎✆

lim
t→+∞

x(t) = c
✭☎✄✪✦

lim
t→+∞

b(t) = 0
✞

✓ ✵✤✆ ✑
c
✭✏✮✱✁☛✄✝✖✱✆✰✭☛✄✴✆✙✂☛✭☛✡ ✔✝✢

✑
✎✒✑ ✢✬✄ ✞

lim
t→+∞

ẋ(t) = 0 ✑

❡❣⑧⑩rt❝✐rt❴✘❼➣r✤rt❴❛❝☎➀✳❼➌♣➤❝
b = 0

➀✥⑧➌②④②t❝✉♣④❽❖⑧❾✈✘❿❛♣✴rt⑧✝rt❴❛❝☎➀✥➝⑥❼❾♣t♣④③➛➀✉❼⑩➝❰➡❾❝✉②t♣④③➢⑧➌✈➑⑧❾➜✠❻✫❼⑩②t➈✘❼❾➝➛❼⑩r✍✓ ♣✴➝➛❝✳❜❞❜➯❼❛➭

✂ ✠ ☛✒✑ ✓ ✒✑✕☞✘ ✏ ✄✦✘ ✕☞✘✡✓
❷✷➟✫❼➮♥✝rt⑧❩❿❛❝✥r④❝✉②④❜❞③➛✈❛❝❆r④❴❛❝➍➀✥⑧➌✈●r④②t⑧❾➝❖➎➌❼⑩③➛✈✘♣➙➀✥⑧➌✈✘♣➤③⑥♣➤rt♣➙③➢✈✪➀✥⑧➌✈✘♣➤③⑥❿q❝✉②④③➛✈❛➎☎rt❴❛❝❆➝➢③➛✈❛❝✉❼❾②④③➛➩✉❼⑩r④③➛⑧❾✈❱⑧❾➜✚❧♦♥q♣➤r④❝✳❜ ➻✶❊➌➪
➀✳⑧❾❜❞❽❛➝➛❝✳❜❞❝✳✈●rt❝✉❿Ó➟✤③➢r④❴ ➻✍❁❋❂➣➪✜❼⑩r☎r④❴✘❝➑❝✉⑤●✇❛③➛➝➛③➢➈❛②t③➛✇❛❜ ➻

z = 0, ż = 0, x̃ = 0
➸
ṽ = 0

➸
R = I3

➸
u = g

➸
ω = 0

➪❣➜➞⑧➌②✐rt❴❛❝➯❽✘❼❾②➤rt③➛➀✳✇❛➝➛❼❾②❆➀✉❼❾♣④❝✝➟✤❴✘❝✳②t❝❑rt❴❛❝❞②④❝✳➜➞❝✳②t❝✳✈✘➀✳❝❑rt②t❼⑩⑨s❝✉➀➫rt⑧❾②t♥➼③➛♣✜❼✑➳❛➵q❝✉❿➬❽❈⑧➌③➢✈●r❊➸
Fe = mge3

➸
❼❾✈✘❿➼rt❴❛❝✝❿q❝❊♣➤③➛②t❝✉❿➼♥➌❼➮➟✏❼❾✈❛➎❾✇❛➝⑥❼⑩②✐➡❾❝✉➝➢⑧q➀✥③➢rs♥✪③➛♣✐❝✉⑤●✇✘❼❾➝✔r④⑧✑➩✳❝✉②④⑧❈➭❺➹➘✈❍r④❴✘③➛♣❆❼⑩❽❛❽❖❝✳✈❈❿q③➺➵✖➸❖r④❴✘❝✝➎●❼⑩③➛✈➼r④✇❛✈❛③➛✈❛➎✑③➛♣
❽❖❝✳②④➜➞⑧❾②t❜❞❝✉❿❀➜➞⑧❾②☎r④❴❛❝❱❽❖⑧➌♣④③➢r④③➛⑧❾✈➴➀✥⑧➌✈●r④②t⑧❾➝➛➝➢❝✉②✜⑧⑩➜✫⑦▼②④⑧➌❽❈⑧●♣➤③➢r④③➛⑧❾✈➴➄❛➸✚❼❾✈✘❿✣r④❴❛❝✑♣④❼❾❜❩❝❞rt❝✉➀❶❴❛✈✘③➛⑤●✇❛❝➑❼❾❽❛❽❛➝➛③➢❝❊♣➍r④⑧
rt❴❛❝✜⑧⑩rt❴❛❝✳②❺➀✳⑧❾✈●r④②t⑧❾➝➛➝➛❝✳②❶♣✳➭

❡❣❝✉❼⑩②✫rt❴❛❝☎❿q❝❊♣➤③➛②④❝❊❿➑❝❊⑤●✇❛③➢➝➛③➛➈❛②④③➛✇❛❜➼➸
γ

❼➌♣✫➎❾③➛➡❾❝✳✈✪➈♦♥❀➻✹➉✺❁✉➪✫➀✉❼⑩✈✪➈❈❝☎❼❾❽❛❽❛②t⑧➮➵♦③➛❜➯❼➣rt❝✉❿❱➈♦♥

γ ≈ ge3 + (h(0) + kzhz(0))x̃ + h(0)z − 2kz ż

❧q❝✥r➤rt③➢✈✘➎
w := ż

❼❾✈✘❿✑✇✘♣➤③➛✈❛➎❞rt❴❛❝➍➜ ❼❾➀✥r➙rt❴✘❼➣r ∂σ(s)
∂s |s=0 = 1

➸q⑧❾✈✘❝☎❿q❝✉❿q✇❈➀✥❝✉♣➙➜➞②t⑧❾❜ ➻Ò➉❾➅❾➪✴r④❴✘❼⑩r


















u ≈ g + (h(0) + kzhz(0))x̃3 + gk1ṽ3 + h(0)z3 + (gk1 − 2kz)w3

ω1 ≈ −k3
4g (h(0) + kzhz(0))x̃2 − gk2ṽ2 − k3h(0)

4g z2 − (gk2 − k3kz

2g )w2 − k3
4 (eT2 RT e3)

ω2 ≈ k3
4g (h(0) + kzhz(0))x̃1 + gk2ṽ1 + k3h(0)

4g z1 + (gk2 − k3kz

2g )w1 + k3
4 (eT1 RT e3)

ω3 ≈ 0

✥✐❝✥➳❈✈❛❝
θ1 := eT1 RT e3

➸✴❼⑩✈✘❿
θ2 := eT2 RT e3

➭Ó➹❬r➯➀✥⑧➌❜❩❝❊♣☎➜➞②t⑧❾❜
ṘT = −S(ω)RT ➸

ω3 ≈ 0
➸▼❼⑩✈✘❿

R ≈ I3
r④❴✘❼⑩r

θ̇1 ≈ −ω2, θ̇2 ≈ ω1

❢✐♣➤③➛✈❛➎❑r④❴❛❝➍❼⑩➈❖⑧➣➡❾❝❆❼⑩❽❛❽❛②t⑧➮➵q③➢❜➯❼⑩r④③➛⑧❾✈✘♣✉➸❾⑧➌✈❛❝❣⑧➌➈qrt❼❾③➢✈✘♣✮r④❴✘❝❣➜➞⑧➌➝➢➝➛⑧➣➟✤③➢✈✘➎❑➝➛③➢✈❛❝❊❼⑩②✫♣➤♥q♣➤r④❝✉❜ ➟✤❴✘③➛➀❶❴✑③➛♣✴r④❴✘❝✐➝➛③➢✈✘❝✉❼⑩②
❼❾❽❛❽❛②t⑧➮➵q③➢❜➯❼➣rt③➢⑧➌✈❱⑧⑩➜✚r④❴✘❝☎➀✥⑧❾✈●rt②④⑧➌➝➢➝➛❝✉❿➑❝✳②t②④⑧➌②✫♣④♥q♣srt❝✳❜❦➻✘❊➌➪✫➀✳⑧❾❜❞❽❛➝➛❝✳❜❞❝✳✈●r④❝❊❿➑➟✤③➢r④❴☛➻✍❁❋❂➣➪



































ż = w
ẇ = −2kzw + kzhz(0)x̃
˙̃x = ṽ
˙̃v = (gθ1, gθ2,−(h(0) + kzhz(0))x̃3 − gk1ṽ3 − h(0)z3 − (gk1 − 2kz)w3)

T

θ̇1 = −k3
4g (h(0) + kzhz(0))x̃1 − gk2ṽ1 − k3h(0)

4g z1 − (gk2 − k3kz

2g )w1 − k3
4 θ1

θ̇2 = −k3
4g (h(0) + kzhz(0))x̃2 − gk2ṽ2 − k3h(0)

4g z2 − (gk2 − k3kz

2g ))w2 − k3
4 θ2
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�✂✁☎✄✝✆✟✞✠✁☛✡☞✁✍✌✏✎✒✑✓✞✕✔✓✖✕✆✘✗✘✙✚✞✠✁✜✛✝✢✣✡✤✡✥✢✜✦★✧✩✄✪✦✫✢✬✞✠✭✯✮✣✆✟✔✝✭☛✆✰✢✱✦✳✲✴✢✱✑✓✵✶✮✬✡✷✢✕✖ ➃✴❁

❫✫❴✘❝❆❽✘②④❝❊➀✥❝✉❿❛③➢✈❛➎➯♣④♥q♣srt❝✳❜➱➀✉❼⑩✈➼➈❈❝☎❿❛❝✉➀✥⑧➌❜❞❽❈⑧●♣➤❝❊❿❱③➛✈➌rt⑧❞r④❴❛②t❝✳❝➍③➛✈✘❿q❝✉❽❈❝✉✈✘❿q❝✳✈●r❣♣④✇❛➈✘♣④♥q♣srt❝✳❜➯♣

(Σ3) :















ż3 = w3

ẇ3 = −2kzw3 + kzhz(0)x̃3

˙̃x3 = ṽ3

˙̃v3 = −(h(0) + kzhz(0))x̃3 − gk1ṽ3 − h(0)z3 − (gk1 − 2kz)w3

(Σi) :























żi = wi
ẇi = −2kzwi + kzhz(0)x̃i
˙̃xi = ṽi
˙̃vi = gθi
θ̇i = −k3

4g (h(0) + kzhz(0))x̃i − gk2ṽi − k3h(0)
4g zi − (gk2 − k3kz

2g )wi − k3
4 θi

(i = 1, 2)

➟✤❴✘⑧➌♣④❝➍➀❶❴❈❼⑩②❶❼❾➀➫rt❝✳②t③➛♣➤r④③⑥➀❺❽❖⑧❾➝➛♥♦✈❛⑧❾❜❞③⑥❼⑩➝⑥♣✤❼⑩②t❝✐➎➌③➢➡➌❝✳✈✪➈♦♥

P3(λ) = λ4 + (2kz + gk1)λ
3 + (h(0) + 2gkzk1 + kzhz(0))λ2

+ (2kzh(0) + gkzhz(0)k1)λ + kzhz(0)h(0)

Pi(λ) = λ5 +

(

2kz +
k3

4

)

λ4 +

(

g2k2 +
kzk3

2

)

λ3 +

(

2g2kzk2 +
h(0)k3

4
+

kzhz(0)k3

4

)

λ2

+

(

g2kzhz(0)k2 +
kzh(0)k3

2

)

λ +
kzhz(0)h(0)k3

4
❷❣❜❞⑧❾✈❛➎❞❜➯❼⑩✈♦♥❱❽❖⑧➌♣t♣➤③➛➈❛③➛➝➢③➢r④③➛❝✉♣✉➸q⑧❾✈✘❝☎➀✳❼⑩✈✟➸♦➜➞⑧❾②✤③➛✈✘♣sr❶❼⑩✈✘➀✳❝❾➸q❽❛②t⑧q➀✥❝✉❝✉❿✪❼❾♣➙➜➞⑧❾➝➛➝➛⑧➣➟❺♣✳➭❨❫✚❼⑩➠❾❝

h(0) = 2gk1kz − 4k2
z , k2 =

k1k3

4g
, kz <

gk1

2

➻Ò➂⑩➃●➪

❫✫❴✘❝✳✈✔➸

P3(λ) = (λ + 2kz)

(

λ3 + gk1λ
2 + (2gk1kz − 4k2

z + kzhz(0))λ +
1

2
hz(0)(2gk1kz − 4k2

z)

)

Pi(λ) = (λ + 2kz)

(

λ4 +
k3

4

(

λ3 + gk1λ
2 + (2gk1kz − 4k2

z + kzhz(0))λ +
1

2
hz(0)(2gk1kz − 4k2

z)

))

❻➙♥❀rt❼❾➠●③➛✈❛➎
2kz < gk1

➸❨⑧❾✈❛❝✑⑧❾➈qr❶❼⑩③➛✈✘♣☎➈♦♥☛❼⑩❽❛❽✘➝➢③⑥➀✳❼⑩r④③➛⑧❾✈☛⑧⑩➜✫rt❴❛❝✪❸❺⑧❾✇qrt❴q➲✻❇❣✇❛②t➟✤③➺rt➩➑➀✥②t③➺rt❝✳②t③➢⑧➌✈Ór④❴✘❼⑩r❩❼❾➝➢➝
②t⑧♦⑧⑩r❶♣❺⑧⑩➜

P3(λ)
❴✘❼➮➡➌❝☎✈❛❝✳➎●❼➣rt③➢➡➌❝☎②④❝❊❼⑩➝✯❽✘❼⑩②④rt♣✉➭❣❫✫❴❛❝❞➀✥⑧➌❜❩❽✘➝➢❝✉❜❩❝✉✈●rt❼⑩②t♥➑❽❖⑧➌♣t♣④③➢➈❛③➛➝➛③➺rs♥➼⑧⑩➜▼❴❈❼➮➡●③➛✈❛➎➑❼❾➝➢➝✚②t⑧●⑧❾rt♣

⑧❾➜
P3(λ)

②t❝✉❼❾➝❰✈❛❝✳➎●❼➣r④③➛➡❾❝✜❼❾✈✘❿➑❝❊⑤●✇✘❼⑩➝✖➝➛❝✉❼➌❿❛♣➙r④⑧➯➀❶❴❛⑧♦⑧➌♣④❝
k1, kz, hz(0)

❼➌♣➙➜➞⑧❾➝➛➝➢⑧➣➟❺♣

k1 =
3λ0

g
, kz = λ0, hz(0) = λ0

➻Ò➂➌➄❾➪

➟✤③➢r④❴
λ0

❿q❝✉✈❛⑧⑩rt③➢✈❛➎❚❼❾✈✣❼❾②④➈✘③➺rt②t❼❾②④♥❍❽❖⑧➌♣④③➺rt③➢➡➌❝➯✈♦✇❛❜❑➈❖❝✳②❊➭❱❡❺⑧❾r④❝❞r④❴❈❼➣r
h(0) = 2λ2

0

❼⑩✈✘❿
k2 = 3λ0k3

4g2
③➛✈

rt❴❛③⑥♣❺➀✳❼➌♣➤❝➌➭▼❹✐✈✘❝❆⑧➌➈qrt❼❾③➢✈❈♣

P3(λ) = (λ + λ0)
4

Pi(λ) = (λ + λ0)

(

λ4 +
k3

4
(λ + λ0)

3

)
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❫✫❴✘❝✳✈✔➸⑩③➢r▼♣➤✇❛➷➯➀✳❝✉♣✚rt⑧➍➀❶❴✘⑧●⑧●♣➤❝
k3

♣④✇✘➀❶❴✝r④❴✘❼⑩r
k3 ≫ 4λ0

③➛✈❩⑧❾②❶❿q❝✳②✚r④⑧❆➎❾❝✳r✠r④❴❛❝✫②t⑧●⑧❾rt♣✚⑧⑩➜
Pi(λ)

✈❛❝✉❼❾②✚r④❴❛⑧●♣➤❝
⑧❾➜

P̄i(λ) := (λ + λ0)
3
(

λ + k3
4

) ➭▼❫✫❴✘❝❆➎●❼⑩③➛✈✘♣
k1

➸
k2

➸
kz

➸
hz(0)

➸
h(0)

✇✘♣④❝✉❿➑➜➞⑧❾②✫rt❴❛❝☎♣➤③➛❜❑✇✘➝➛❼⑩r④③➛⑧❾✈✘♣➙⑧⑩➜
❧q❝✉➀➫rt③➢⑧➌✈➼➄✝❴✘❼➮➡➌❝➍➈❈❝✉❝✳✈❍➀✳❼❾➝➛➀✳✇❛➝➛❼⑩r④❝❊❿➑➟✤③➢r④❴

λ0 = 0.8
❼⑩✈✘❿

k3 = 12.8
➭

✂ ✠ ☛ ☛ � ✍ ✎✑☛✍✒ ✍✆☎ ✒ ☛ ☛ ✍ ✎✡✞ ✘ ✒ ✌ ✕✌✍ ☎ ✍ ☛ ✍ ☛✍✠ ✒✑✘✑✎ ✏✓✍ ☛✂✁ ✄✑☛✍✠

➹❬r❨③⑥♣❨❼❾♣t♣➤✇✘❜❩❝❊❿☎rt❴✘❼➣r✠rt❴❛❝✤②④❝❊♣➤✇✘➝➺r❶❼⑩✈●r✯➜➞⑧➌②t➀✳❝ −→
F ae

⑧⑩➜❰❼⑩❝✉②④⑧q❿q♥♦✈✘❼❾❜❩③⑥➀❨➜➞⑧➌②t➀✳❝✉♣❨❼❾❽❛❽❛➝➛③➢❝❊♣✚❼⑩r▼❼✐❽❖⑧❾③➛✈●r
P

❿q❝✳➳✘✈❛❝❊❿
➈♦♥ −−→

GP = 0.05
−→
k
➭ ✥❣❝✳➳✘✈❛❝ −→v e := −→v P −−→v f

➟✤❴❛⑧●♣➤❝✤➡➌❝✉➀➫rt⑧❾②❨⑧❾➜❰➀✳⑧●⑧➌②t❿❛③➢✈✘❼⑩r④❝❊♣✠❝✥➵q❽❛②t❝✉♣t♣➤❝❊❿❑③➛✈❞r④❴❛❝❣➈✘❼❾♣④③➛♣
rt❴❛❝✜➈❖⑧♦❿❛♥➌➲✹➳❛➵q❝✉❿➑➜➞②❶❼⑩❜❞❝ B ③➛♣

ve = vP − vf = (v + 0.05[ω1, ω2, 0]T ) − RT ẋf

➚✟❝✥r −→
F a

❿q❝✳✈✘⑧⑩r④❝❚r④❴❛❝✣♣➤✇❛❜ ⑧⑩➜✜➝➛③➺➜➽r➼❼⑩✈✘❿➥❿q②❶❼⑩➎Ó➜➞⑧➌②t➀✳❝✉♣✉➸ −→
Dm

r④❴❛❝❀❜❩⑧➌❜❞❝✳✈●r④✇❛❜ ❿q②❶❼⑩➎❈➸✫❼❾✈✘❿ −→
F ae :=−→

F a +
−→
Dm

rt❴❛❝❑②t❝✉♣④✇❛➝➢rt❼⑩✈●r❺➜➞⑧➌②t➀✳❝❾➭ ✥✍③➢r④❴
Fa

❼⑩✈✘❿
Dm

❿q❝✳✈❛⑧❾r④③➛✈❛➎❱rt❴❛❝❑➡➌❝✉➀✥r④⑧❾②✐⑧⑩➜▼➀✥⑧♦⑧➌②t❿q③➛✈✘❼⑩r④❝✉♣❣⑧⑩➜ −→
F a❼❾✈✘❿ −→

Dm
❝✳➵q❽❛②④❝❊♣④♣④❝✉❿✑③➛✈✑rt❴❛❝✜➈✘❼➌♣➤③⑥♣✫⑧⑩➜✚r④❴❛❝✜➡➌❝✳❴❛③⑥➀✥➝➛❝✉♣✍✓ ♣➙➜➞②t❼❾❜❩❝ B ➸❛❼⑩✈✘❿

Fae
r④❴❛❝✜➡➌❝✉➀➫rt⑧❾②✤⑧❾➜✚➀✥⑧♦⑧➌②t❿q③➛✈✘❼⑩r④❝✉♣

⑧❾➜ −→
F ae

❝✥➵q❽❛②t❝✉♣t♣➤❝❊❿❱③➛✈✪r④❴❛❝✜➈✘❼➌♣➤③⑥♣✫⑧⑩➜✯r④❴❛❝✜③➛✈❛❝✉②➤rt③➛❼❾➝❰➜➞②t❼❾❜❩❝ I ➸✘⑧❾✈❛❝✜❴✘❼➌♣

Fae = R(Fa + Dm)

➆✘⑧❾②✫rt❴❛❝☎♣➤③➛❜❑✇✘➝➛❼⑩r④③➛⑧❾✈✘♣➙➟➙❝✜❴✘❼➮➡❾❝❆✇✘♣④❝✉❿

Fa,i = −ke1

√

v2
e,1 + v2

e,2ve,i − ke2|ve|ve,i, i = 1, 2

Fa,3 = −ke3(v
2
e,1 + v2

e,2) − ke4|ve,3|ve,3
➟✤③➢r④❴

ke1 = 0.13, ke2 = 0.03, ke3 = 0.03, ke4 = 0.005
✼✐❼❾✈✘❿

Dm = −0.28
√

|T |ve
➟✤③➺rt❴

Trt❴❛❝☎rt❴❛②t✇✘♣sr✐➜➞⑧❾②❶➀✥❝ ✓ ♣✤③➛✈●r④❝✉✈✘♣➤③➢rs♥❾➭❆❫✫❴❛❝✜rt⑧❾②❶⑤➌✇✘❝☎③➢✈❈❿q✇✘➀✥❝❊❿❍➈♦♥✪r④❴❛❝✝❝✥➵♦r④❝✉②④✈✘❼❾➝✔➜➞⑧➌②t➀✳❝✉♣✤❴✘❼➌♣❺➈❖❝✳❝✉✈❀➀✳❼❾➝➛➀✳✇❛➝⑥❼➣r④❝❊❿
❼➌➀✳➀✳⑧❾②❶❿q③➢✈✘➎❑rt⑧

Mae = −0.05S(e3)R
TFae
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